
TABLE OF CONTENTS

DESCRIPTION

TACLE  OF  CONTENTS

ABBREVIATIONS

MAKER PAGE

ACURA 1

ALFA ROMEO 1

AMC 1

AP RACING 1

AUDI 1

AUDI  (CONT'D) 2

BMW 2

BMW TRUCK 3

BRAVADA 3

BUICK 3

BUICK  (CONT'D) 4

BLUEBIRD 5

CADILLAC 5

CADILLAC  (CONT'D) 6

CHECKER  MOTORS 6

CHEVROLET 5

CHEVROLET (CONT'D) 7

CHEVROLET TRUCK 8

BRAKE  CALIPER  CASTING APPLICATIONS

BRAKE  CALIPER  COMPONENT PARTS APPLICATION

MANUFACTURER TO PAGE NUMBER GUIDE



CHRYSLER 9

GMC  & CHEVROLET TRUCK
(CONT'D)

27

HONDA 28

HONDA (CONT'D) 28

HONDA TRUCK 29

HYUNDAI 29

IHC 30

INFINITY 30

INFINITY  TRUCK 30

INTERNATIONAL 30

ISUZU 31

ISUZU TRUCK 31

JAGUAR 32

JEEP 32

KIA 33

LAND ROVER 33

LEXUS 33

LEXUS TRUCK 34

LINCOLN 34

LINCOLN  TRUCK 31

MACK 35

MAZDA 35

MAZDA TRUCK 36

MERCEDES-BENZ 36

MERCURY 38

MERCURY  (CONT'D) 38

MERCURY  TRUCK 40

MINI 40

MITSUBISHI 40

MITSUBISHI  TRUCK 40

NISSAN 41



ABBREVIATIONS

2WD Two Wheel Drive

4WD Four  Wheel Drive

ABS Anti-Lock  Brakes

Auto Automatic

AWD All  Wheel Drive

Cyl Cylinder

DOHC Dual Overhead Cam

Dr Door

DRW Dual Rear  Wheel

Eng Engine

Exc Except

FR Front

FWD Front Wheel Drive

gvw Gross  Vehicle  Weight

H.D Heavy  Duty

L.D Light Duty

Disclaimer

resulting  thereform.

believes  this  information to be  correct,  no warranty  is  made  or  implied  as to

the  accuracy  of this  information ans  Although J&C  Ind.,  does

not accept or  assume  responsibility  errors,  changes,  omissions,  or  for  harm

The  information listed  herein is  correct to the  best of our  knowledge  and  belief,

Having  been compiled  from  reliable  and  official sources  of  information believed

to be  accurate  at the  of publication,  Although J&C  Ind.  Co.,  Ltd



PAGE

1

MAKER PAGE

CHRYSLER  (CONT'D) 9

CHRYSLER TRUCK 11

CITROEN 11

DAEWOO 11

DODGE 11

DODGE  (CONT'D) 11

DODGE  TRUCK 13

DODGE  TRUCK  (CONT'D) 14

EALGE 16

EALGE (CONT'D) 16

FIAT 17

FORD 17

FORD  (CONT'D) 17

FORD  TRUCK 19

FORD  TRUCK  (CONT'D) 20

GEO 23

GMC 23

GMC  (CONT'D) 24

BRAKE  CALIPER  COMPONENT PARTS APPLICATION

MANUFACTURER TO PAGE NUMBER GUIDE



GMC  TRUCK 26

NISSAN  (CONT'D) 42

NISSAN  TRUCK 42

OLDSMOBILE 43

OLDSMOBILE  (CONT'D) 44

PEUGEOT 45

PLYMOUTH 45

PLYMOUTH (CONT'D) 45

PLYMOUTH TRUCK 46

PONTIAC 47

PONTIAC  (CONT'D) 47

PONTIAC  TRUCK 49

SAAB 49

SAMSUNG 49

SATURN 49

SATIRN TRICK 49

SCION 50

SUBARU 50

SUZUKI 50

RENAULT 50

TOYOTA 51

TOYOTA (CONT'D) 51

TOYOTA TRUCK 52

VOLKSWAGEN 53

VOLKSWAGEN  (CONT'D) 53

VOLKSWAGEN  TRUCK 54

VOLVO 54

VOLVO (CONT'D) 55

TUNING&RACING CAR 56



M.D                        Medium  Duty

Ibs                           Pounds

LH                           Left Hand  Side

Man                        Manual

PB                             Power  Brake

Perf                          Performance

RH                           Right Hand  Side

RR                           Rear

RWD                       Rear  Wheel Drive

S/W                        Station

SOHC                     Single  Overhead Cam

SRW                        Single  Rear  Wheel

Trans                     Transmission

TRK                          Trucks

w/                             With

w/o                           With out

believes  this  information to be  correct,  no warranty  is  made  or  implied  as to

the  accuracy  of this  information ans  Although J&C  Ind.,  does

not accept or  assume  responsibility  errors,  changes,  omissions,  or  for  harm

The  information listed  herein is  correct to the  best of our  knowledge  and  belief,

Having  been compiled  from  reliable  and  official sources  of  information believed

to be  accurate  at the  of publication,  Although J&C  Ind.  Co.,  Ltd



MAKER PAGE MAKER
GMC  & CHEVROLET TRUCK  (CONT'D) 24

HONDA 25 PEUGEOT

HONDA (CONT'D) 26 PLYMOUTH

HONDA TRUCK 26

HYUNDAI 27

IHC 27 PONTIAC

INFINITY  TRUCK 27

INTERNATIONAL 27

ISUZU 28 SAAB

ISUZU TRUCK 28 SAMSUNG

JAGUAR 28 SATURN

JEEP 29 SUBARU

KIA 30 SUZUKI

LEXUS 30 RENAULT

LEXUS TRUCK 30 TOYOTA

LINCOLN 31

LINCOLN  TRUCK 31 TOYOTA TRUCK

MACK 31 VOLKSWAGEN

MAZDA 32

MAZDA TRUCK 32

MERCEDES-BENZ 33 VOLVO

MERCURY 34 JAPAN ETC

MERCURY  (CONT'D) 35 USA ETC

MERCURY  TRUCK 36

MITSUBISHI 36

MITSUBISHI  TRUCK 36

NISSAN 37

NISSAN  (CONT'D) 38

NISSAN  TRUCK 38

OLDSMOBILE 39

TOYOTA (CONT'D)

VOLKSWAGEN  (CONT'D)

VOLKSWAGEN  TRUCK

OLDSMOBILE  (CONT'D)

PLYMOUTH (CONT'D)

PLYMOUTH TRUCK

PONTIAC  (CONT'D)

PONTIAC  TRUCK



PAGE

40

40

40

41

42

42

43

44

44

44

45

45

45

46

46

47

48

49

49

49

50

51

51



ABBREVIATIONS

2WD Two Wheel Drive

4WD Four  Wheel Drive

ABS Anti-Lock  Brakes

Auto Automatic

AWD All  Wheel Drive

Cyl Cylinder

DOHC Dual Overhead Cam

Dr Door

DRW Dual Rear  Wheel

Eng Engine

Exc Except

FR Front

FWD Front Wheel Drive

gvw Gross  Vehicle  Weight

H.D Heavy  Duty

L.D Light Duty

Disclaimer

resulting  thereform.

not accept or  assume  responsibility  errors,  changes,  omissions,  or  for  harm

The  information listed  herein is  correct to the  best of our  knowledge  and  belief,

Having  been compiled  from  reliable  and  official sources  of  information believed

to be  accurate  at the  of publication,  Although J&C  Ind.  Co.,  Ltd

believes  this  information to be  correct,  no warranty  is  made  or  implied  as to

the  accuracy  of this  information ans  Although J&C  Ind.,  does



M.D                        Medium  Duty

Ibs                           Pounds

LH                           Left Hand  Side

Man                        Manual

PB                             Power  Brake

Perf                          Performance

RH                           Right Hand  Side

RR                           Rear

RWD                       Rear  Wheel Drive

S/W                        Station

SOHC                     Single  Overhead Cam

SRW                        Single  Rear  Wheel

Trans                     Transmission

TRK                          Trucks

w/                             With

w/o                           With out

not accept or  assume  responsibility  errors,  changes,  omissions,  or  for  harm

The  information listed  herein is  correct to the  best of our  knowledge  and  belief,

Having  been compiled  from  reliable  and  official sources  of  information believed

to be  accurate  at the  of publication,  Although J&C  Ind.  Co.,  Ltd

believes  this  information to be  correct,  no warranty  is  made  or  implied  as to

the  accuracy  of this  information ans  Although J&C  Ind.,  does



MODEL

YEAR

93-95 All 2191/92 FR

95-91 2199/2200 FR

95 Slx 2013/14 RR

97-99 CL 200 Ltr 2189/90 FR

96-97 RL Sedan 2205/06 FR

96-97 TL Sedan 3.2 Ltr 2205/06 FR

96-98 RL Sedan 2013/14 RR

07 MDX REAR 2365/66 FR

97-99 CL 200Ltr 2275/76 FR

07-12 RDX 3407/08 FR

01-03 CL, CL type S 2423/24

99-08 TL 2423/24

01-05 EL(Canada) 2433/34

02-06 RSX 2433/34

95-93 2487/88 FR

91-93 Sedan & Coupe 2069/70 FR

86-89 Sedan & Coupe 2055/56 FR

90-93 All 2075/76 FR

97        2417/18 RE

89-86 2481/82 FR

95-91 2201/02 FR

91-92 2Dr Coupe 2205/06 FR

91-95 4De Sedan 2205/06 FR

88-90 4Dr. Sedan 2069/70 FR

86-90 All 2075/76 FR

91-95 4Dr Sedan & 2Dr Coupe 2013/14 RE

96-98 Acura Truck SLX 2177/78 RR

09- Mito 1177/78

65-70 Ambassador Amx Marlin Rambler Classic 3375/76 FR

82-83 All 3137/38 FR

82-87 All 3137/38 FR

80-81 3125/26 FR

AP RACING 6005/06 RE

AP RACING 6007/08 RE

83-88 All 1005-1/06-1 RE

87-92 All 1005/06 RE

DESCRIPTION ITEM NO(R/L) AXLE

ACURA

AUDI

Integra

Legend

ALFA ROMEO

AP RACING

AMC

Concord, Sprirt, (Amx, Hornet, Javelin, Rambler, Rogue)

Engle, Kammback, SX4

1



MODEL

YEAR

93-95 All 1007/08 RE

09-07 A4, A4 Quattro 1171/72 FR

06-02 1169/70 FR

11/87-7/91 2WD Sedan (RR) 1001/02 RE

9/86-10/87 2WD Sedan (RR) 1003/04 RE

12/87-09/91 2WD Quattro (RR) 1005/06 RR

08/88-09/91 2.2, 2.3 Quattro 1005/06 RE

92-3/93 2WD 2.8 Ltr. Sedan (RR) 1003/04 RR

89-91 2WD 2.3 Ltr. Sedan & S/W (RR) 1003/04 RR

01/88-12/90 2WD 1.8 Quattro 1005/06 RR

89-92 2WD Turbo Sedan & S/W (RR) 1003/04 RR

08/84-10/88 Coupe 2.2 1005/06 RR

02/87-10/88 Coupe 2.3 1005/06 RR

11/87-88 2WD Sedan & S/W (RR) 1003/04 RR

84-87 2WD Sedan & S/W (RR) 1001/02 RR

73-77 Fox With Indicator 3249/50 RE

96 A3 1.6 & 1.8 1119/20 RE

05-06 A4 Quattro 1121/22 FR

06-09 A6 Quattro 1121/22 FR

94 1.6CH 8DV160001- 1155/56 FR

94-95 A4 1.6 CH-8DV160000, 1.9 Tdi,55,66kWCH-8 1153/54 FR

94-97 A6 2.0, 74kW. & 85kW 1053/54 RR

94-97 A6 Avant 2.5 Tdi 1053/54 RR

87/1-87 All 1001/02 RR

93-96 Coupe 2.6 1007/08 RR

93-96 Coupe 2.0 1053/54 RR

09-06 325i, 328i 1141/42 FR

84-89 1037/38 FR

99-99 M3 1189/90 RR

02/01, 00-98 Z3 1189/90 RR

10-09, 08-08 535i 1193/94 RR

05-04 545i, 645Ci, 541i 1193/94 RR

10-10, 09-06 550i 1193/94 RR

10-06 650i 1193/94 RR

05-02 745i, 745Li 1193/94 RR

08-06 750i, 750Li, 550i, 650i 1195/96 FR

06-04 760i 1193/94 RR

DESCRIPTION ITEM NO(R/L) AXLE

AUDI

AUDI (CONT'D)

5000 Series

A3,A4,A6

BMW

Coupe Coupe GT 2WD Coupe

100 Series

200 Series

80,90 Series

2



MODEL

YEAR

08-03 760Li 1193/94 RR

10-08 M3 1193/94 RR

10-06 M5, M6 1193/94 RR

08-08 531i 1195/96 FR

07-04 525i 1199/1200 RR

07-06 525xi, 530xi 1199/1200 RR

08-08 528i, 535xi 1199/1200 RR

07-04 530i 1199/1200 RR

06-06 330i, 330Xi 1205/06 RR

10-09 335d 1205/06 RR

10-07 335i 1205/06 RR

08-07 335xi 1205/06 RR

71-68 1600, 1800, 2000Ti 1209/10 FR

68-68 1600Ti 1209/10 FR

71-71 1802 1209/10 FR

70-68 2000Tii 1209/10 FR

76-68 2002 1209/10 FR

06-04, 03-00 X5 1191/92 RR

97 3277/78 FR

98 3279/80 FR

04-06 RAINIER 3541/42 FR

05-07 Terraza 2WD 3815/16

05-06 Terraza AWD 3815/16

10-06 Lucerne 3843/44 FR

74-73 3281/82 FR

73-74 All 3015/16 FR

94-97 Electra, Park Avenue, Limited FWD 3021/22 FR

92-95 Roadmaster RWD 3103/04 FR

92-93 LeSabre, Custom, Limited FWD 3177/78 FR

91-93 Electra, Park Avenue, Limited FWD 3177/78 FR

85-90 Electra, Park Avenue, Limited FWD 3175/76 FR

00-04 H.W Body LeSabree w/15" 3353/54 FR

79-88 RWD 3103/04 FR

00-04 H.G Body LeSabre w/16" 3339/40 FR

91 Park Avenue 3181/82 FR

79-80 RWD (RR) 3221/22 FR

77-78 RWD (RR) 3219/20 RR

97-04 G BODY PARK AVENUE 2285/86 FR

DESCRIPTION ITEM NO(R/L) AXLE

BMW

Apollo

Centurion, Electra, Estate, LeSabre, Limited, Park Avenue, Road Master, S/W, Widcat

 BUICK

BRAVADA

BMW TRUCKS

3



MODEL

YEAR

00-04 H BODY} LESABREE W/16" 2285/86 FR

78-77 3803/04

73-71 Centurion 3809/10

76-71 Electra, Estate Wagon, LeSabre, Riviera 3809/10

89-93 FWD Manual Transmission (RR) 3233/34 RR

88 FWD Auto. Transmission (RR) 3229/30 RR

67 3479/80 FR

88-91 FWD 3167/68 FR

88-91 FWD (RR) 3231/32 RR

96-94 3283/84 RR

88-96 FWD 3107/08 FR

97-04 W Body 3357/58 FR

82-88 RWD 3091/92 FR

94-96 FWD (RR) 3019/20 RR

89-93 FWD Manual Transmission (RR) 3233/34 RR

88 FWD Auto. Transmission (RR) 3229/40 RR

02-04 w/All Wheel Drive (B Body) 3453/54 FR

94-95 All 3021/22 FR

86-91 FWD 3167/68 FR

79-81 All 3223/24 FR

78 RWD 3103/04 FR

86-91 All (RR) 3231/32 RR

79-85 RWD (RR) 3225/26 RR

85-79 All 3285/86 RR

78 All 3287/88 RR

78-77 3803/04

88-91 All 3167/68 FR

88-91 All 3231/32 RR

82-83 FWD w/Solid Rotor 3129/30 FR

82-83 FWD w/Vented Rotor 3101/02 FR

84-89 All 3131/32 RR

82 W/Solid Rotor 3289/90 FR

82-83 FWD 3101/02 FR

78-79 RWD 3103/04 FR

69-79 All 3017/18 FR

85-89 All 3131/32 RR

90 w/S6 Susp (N Body) 3179/80 FR

91-98 N Body 3179/80 FR

79-78 3287/88 RR

Gran Sport

Reatta

Regal

DESCRIPTION ITEM NO(R/L) AXLE

BUICK (CONT'D)

Rendezvous

Riviera

Reatta

Skyhawk

Skylark

4



MODEL

YEAR

67-68 3479/80 FR

89-91 All 3557/58 FR

81-95 All 3205/06 FR

91-93 All 3177/78 FR

00-03 Commercial Deville Limo 3349/50 RR

02-03 Escalade A3421/22 FR

02-03 ESCALADE REAR A3499/3500 FR

07-08 ESCALADE, ESCALADE ESV,  ESCALADE EXT 3654/56 FR

97-01 V Body Catera Sedan 3615/16 FR

10-07 Escalade, Escalade ESV, Escalade EXT 3821/22 RR

08-04 SRX 3845/46 FR

06-03, 02-02 Escalade 3849/50 RR

87-92 FWD 3167/68 FR

87-92 FWD (RR) 3231/32 RR

90-93 FWD W/155, All W/155 3099/100 FR

78-77 Commercial Chassis, Fleetwood 3809/10

82-83 FWD 3101/02 FR

84-88 3331/32 FR

84-88 All 3131/32 FR

94-95 FWD 3021/22 FR

91 Sedan & Coupe 3181/82 FR

85-90 Sedan & Coupe 3175/76 FR

90-93 w/H.D Brake 3181/82 FR

85-86 All 3175/76 FR

78-89 All 3103/04 FR

79-84 All 3105/06 FR

93 W/ABS 3287/88 RR

81-80 Deville, Fleetwood, Brougham 3287/88 RR

78-77 Deville, Fleetwood 3803/04

86-91 AWD 3167/68 FR

79-81 AWD 3223/34 FR

86-91 AWD (RR) 3231/32 RR

79-81 RWD (RR) 3225/26 RR

99-02 E Body Coupe 3339/40 FR

76-78 E Body 3377/78 RR

92-95 All 3181/82 FR

85-79 All 3285-86 RR

67-68 3463/64 FR

BUICK (CONT'D)

Deville, Fleetwood, Brougham, Limo-RWD

CADILLAC

Allante

Hed Duty Truck

DESCRIPTION ITEM NO(R/L) AXLE

BLUEBIRD

Cimarron

Eldorado

Commercial chassis Funeral Coach

CADILLAC (CONT'D)

Deville, Deville Concours, Fleetwood, Brougham, Limo-FWD

5



MODEL

YEAR

67-68 3643/44 FR

97-02 E BODY ELDORADO COUPE 2285/86 FR

94-95 AWD 3021/22 FR

80-81 AWD 3223/34 FR

78-79 AWD 3103/04 FR

86-91 AWD 3167/68 FR

97-98 K Body 3377/78 RR

86-91 AWD (RR) 3231/32 RR

80-85 AWD (RR) 3225/36 RR

85-80 All 3285/86 RR

79-78 3287/88 RR

72-71 Biscayne, Brookwood 3809/10

80-82 All 3015/06 FR

85-88 Nova Exc. 88 Twin cam 2155/56 FR

02-03 Trailblazer SWB & LWB 2321/22 RR

02-03 Avalanche 1500 2500 A3349/50 RR

03 Suburbah 2500 w/Quaraster A3349/50 RR

03-04 Astro Van 3347/48 FR

02-03 Trailblazer Lwb Suv 3401/02 FR

04 Trailblazer 5.3 Ltr Suv 3401/02 FR

02-03 Suburan 1500 Std 3421/22 FR

02-03 Avalanche 1500 3421/22 FR

95-99 C3500 Pickup Cab & Chassis for Recker Vehicle 3595/96 FR

02-03 SUBURBAN 1500 STD. REAR A3499/3500 FR

02-03 AVALANCHE 1500 SUT L/D BRAKE REAR A3499/3500 FR

08-04 Colorado 3527/28 FR

98-00 Prizm 2369/70 FR

92-96 BERETTA L BLDY 3179/80 FR

08-05 Cobalt 3823/24 FR

95-96 RWD Police & Taxi 3215/16 FR

78-93 RWD 3103/04 FR

96-94 Caprice Impala W/Police Pack 3291/82 FR

00-04 W Body Impala Sedan & Monte Carlo 3339/40 FR

00-04 Impala 3357/58 FR

93-78 All 3287/88 RR

94-96 Police 3441/42 RR

00-04 W BODY IMPALA SEDAN & MONTE CARLO 2285/86 FR

76-71 Caprice 3809/10

75-76 Bel Air 3809/10

10-06 Impala 3843/44 FR

07-06 Monte Carlo 3843/44 FR

DESCRIPTION ITEM NO(R/L) AXLE

CADILLAC (CONT'D)

Seville, STE

CHECKER MOTORS

BelAir, Biscayne, Caprice, Impala, Kingswood, Townsman

6



MODEL

YEAR

82-92 Standard Brake 3091/92 FR

79-81 RWD 3103/04 FR

82-89 RWD (RR) 3227/28 RR

69 All Exc. 2-28 3015/16 FR

94-97 All 3021/22 FR

89-93 F Body Firebird w/HD J65 Brakes 2301/02 RR

98-02 F Body 3455/56 FR

67-68 Camaro 3811/12

97-94 All 3021/22 FR

88-82 Camaro 3293/94 RR

81-78 Camaro 3287/88 RR

69 Camaro 3281/82 FR

92-97 All 3179/80 FR

82-83 w/Vented Rotor 3101/02 FR

84-91 Cavalier 3331/32 FR

82-83 w/Solid Rotor 3129/30 FR

84-82 w/Solid Rotor JA2 3289/90 FR

82-83 FWD L.D JA1 3101/02 FR

90 All 3175/76 FR

84-89 JA-2, JA-8 3175/76 FR

84 JA-2 S/W JA-3 3175/76 FR

83 JA-2 3175/76 FR

91-84 JA-2 3131/32 FR

82-88 RWD 3091/92 FR

72-69 3017/18 FR

97-03 N Body-P90 3459/60 FR

83-87 FWD 3135/36 FR

80-82 FWD 3111/12 FR

76-77 FWD 3083/84 FR

88 Nova SL DOHC 3073/74 FR

78-79 RWD 3103/04 FR

88-85 Nova Exc. Twin Cam. 3073/74 FR

79-78 All 3287/88 RR

74-69 Nova 3281/82 FR

67-68 CHEVY II, NOVA 3611 FR

67-68 CHEVY II, NOVA 3811/12

DESCRIPTION ITEM NO(R/L) AXLE

Celebrity

Chevette

Chevelle, Malibu, Monte Carlo

Chevy ll, Nova

CHEVROLET (CONT'D)

Camaro, Berlinetta

Camaro, Iroc-Z, SS

Cavalier, Z24, Cadet

7



MODEL

YEAR

80-83 FWD 3101/02 FR

91-96 Lumina APV 3217/18 FR

88-97 FWD Sedan & Coupe 3107/08 FR

95-97 FWD Sedan & Coupe (RR) 3019/20 RR

89-94 FWD Sedan & Coupe Manual Transmission (RR 3233/34 RR

03 3500 Van w/DUAL 3251/52 RR

03 2500 Van w/8500 & 8600 3253/54 RR

03-04 2500 H/D w/8500 & 8600 3393/94 FR

03 3500 Van 3253/54 RR

91-93 All 3177/78 FR

84-91 All 3131/32 FR

65-82 w/Stainless Steel Sleeve (RR) 3571/72 RR

05-08 Uplander 2WD 3815/16

05-06 Uplander AWD 3815/16

91 All 3517/18 FR

94-97 All 3021/22 FR

85-90 Exc. Turbo 3059/60 FR

85-88 All 3061/62 FR

01-04 1500 DOHC 4Dr Crew Cab 3393/94

01-04 3500 2WD & 4WD 3433/34 FR

97-03 U Body Bonneville 2WD Van 3353/54 FR

03-04 Minivan 3453/54 FR

81-95 All 3271/72 FR

90-95 All 3199/200 FR

91-93 All 3177/78 FR

91-92 All 3181/82 FR

05-06 Equinox 3261/62 FR

71 C15, C1500, C25, C2500 Pickup, C15, C1500, 3517/18 FR

71 P20 Van 3517/18 FR

03 C4 SERIES, C5 SERIES 4053/54 FR

08-04 C4, C5 SERIES 4055/56 FR

DESCRIPTION ITEM NO(R/L) AXLE

CHEVROLET (CONT'D)

Lumina, Euro, Z234

CHEVROLET TRUCK

Citation

Express

Lumina APV

Spectrum

Sprint

Silverado

Venture

8



MODEL

YEAR

05-08 AVALANCHE 1500,  SILVERADO 1500,  TAHOE 3645/46 FR

SUBURBAN 1500 3645/46 FR

09-06 S10 TRAILBLAZER 3655/56 FR

71-78 4WD 140/20 Pickup Blazer

03 C4 SERIES 3805/06

09-03 C5 SERIES 3805/06

09-03, 02 C7 SERIES 3805/06

10-08, 07-07 Suburban 3821/22 RR

0603 Express 2500 3847/48 FR

06-03 Savana 2500 3847/48 FR

06-03 Avalanche 1500 3849/50 RR

10-03 Express 1500 3849/50 RR

05-05 Silverado 1500 3849/50 RR

06-03, 02-02 Suburban 1500 3849/50 RR

06-02 Tahoe 3849/50 RR

03-98, 00 Light Trucks & Vans 3857/87 RR

89-95 All 3267/68 FR

01-04 PT Cruiser w/Std 2305/06 FR

01-04 Van-Town & Country Voyager 2307/08 RR

66-68 NEWPORT 3659/60 FR

05-07 300 3419/20 FR

10-06, 05-05 300 3817/18 FR

08-06 300(2.7 Liters, 3.5,5.7 Liters RWD Exc. 3819/20 RR

93-95 Sedan 3197/98 FR

80-83 Sedan 3117/18 FR

78-79 Sedan 3087/88 FR

95 3007/08 FR

97-95 All 3295/96 FR

93-97 New Yorker, LHS Sedan 3197/98 FR

91-93 FWD Exc. Imperial 3189/90 FR

88-90 FWD C, Y Body 3141/42 FR

83-89 RWD Exc. E & C Body 3117/18 FR

83-87 FWD 3123/24 FR

79-82 RWD 3087/88 FR

90-93 RWD 3141/42 FR

DESCRIPTION ITEM NO(R/L) AXLE

CHEVROLET TRUCK

Fifth Avenue, New Yorker, New Port

Imperial, Royal

CHRYSLER

Cordoba

CHRYSLER (CONT'D)

Cirrus

Concorde (LH Series)

9



MODEL

YEAR

81-83 RWD 3117/18 FR

91-94 All 3189/91 FR

66-69 300,  IMPERIAL,  NEW YORKER 3659/60 FR

74-78 All 3089/90 FR

84-87 Coupe 2 Pin 3123/24 FR

84-87 Coupe 1 Pin 3151/52 FR

84-86 2 Pin w/o Sensor 3439/40 RR

91-93 All 3185/86 FR

91-95 2Dr. Coupe Turbo H.D w/15" & 16" Wheel 3185/86 FR

91-95 2Dr. Coupe L.D w/14" Wheel 3184/88 FR

91-94 Sedan H.D w/15" & 16" Wheel 3185/86 FR

91-94 Sedan H.D w/14" Wheel 3187/88 FR

90 Sedan 3151/52 FR

84-90 2Dr. Coupe Turbo w/14" & 15" Wheel 3151/52 FR

88-89 4Dr. Sedan 3151/52 FR

83-87 4Dr. Sedan H.D.C, K Body 3123/24 FR

84-87 4Dr. Sedan GTS 3151/52 FR

80-81 4Dr. Sedan 3117/18 FR

77-79 4Dr. Sedan 3087/88 FR

89-90 All 3155/56 FR

95-98 w/5 Stud Wheels 3211/12 FR

95-93 New Yorker 3197/98 FR

95-93 New Yorker 3197/98 FR

93-91 All 3189/90 FR

90-89 All 3141/42 FR

88 Exc. Turbo 3141/42 FR

89-91 All 3123/24 FR

97-96 APV 3005/06 FR

95-93 All 3197/98 FR

95-93 All 3197/98 FR

90 w/14" Wheels 3153/54 FR

02-03 2323/24 FR

10-08 3531/32 FR

66-68 3659/60 FR

90 APV 3155/56 FR

96-00 JX-Convertible 3295/96 FR

10-07 3511/12 FR

01-04 Sedan & Convertible 3429/30 FR

DESCRIPTION ITEM NO(R/L) AXLE

CHRYSLER (CONT'D)

Laser, XE

Neon

Sebring

LeBaron-EXC. GTS

LeBaron (Cont'd)

New Yorker, New Yorker Landau, New Yorker Turbo

 TC by Maserati

Town & Country Van

10



MODEL

YEAR

05-01 Town & Country, Voyager 3519/20 FR

97-99 3457/58 FR

02/94- 27-31 ABS (1 Inlet) 3617/18 FR

27-31 ABS (2 Inlet) 3619/20 FR

27-31 ABS (13+32), 1 Inlet 3625/26 FR

27-31 ABS (13+32), 2 Inlet 3627/28 FR

35 (1.8T), (1), ABS (1 Inlet) 3621/22 FR

35 (1.8T), (1), ABS (2 Inlet) 3623/24 FR

07.96-10.01 Berlingo Solid Disk 1185/86 FR

Damas, Tico 4021/22 FR

Matiz 4023/24 FR

Damas 4025/26 FR

Espero, Lanos(Nexia) DOHC 4027/28 FR

Espero, Lanos(Nexia) SOHC 4029/30 FR

LACETTI - REAR 3505/06 FR

LACETTI - FRONT 3503/04 FR

93-96(E) Elantra(16V DOHC) 4031/32 FR

Kalos, Gentra, AVEO 4061/62

86-94 All 3029/30 FR

74-70 3297/98 FR

65-72 A Body 3247/48 FR

02-05 1500 R1 Pickup 2WD 2327/28 RR

07-08 AVENGER, CALIBER 3511/12 FR

05-07 Magnum 3419/20 FR

05-05, 08-06 Magnum 3817/18 FR

08-06 Magnum(3.5,5.7 Liters RWD Exc., 2.7 Liters 3819/20 RR

83 Sedan 3123/24 FR

81-82 Sedan 3121/22 FR

83-87 2 Pin

84-88 4Dr. Sedan & Coupe 3123/24 FR

84-86 2Dr. & Convertible 3151/52 FR

83 Sedan & Coupe 3123/24 FR

83-87 2 Pin 4DR 3439/40 FR

DESCRIPTION ITEM NO(R/L) AXLE

CITROEN

Jumper

DAEWOO

DODGE

400

DODGE (CONT'D)

CHRYSLER TRUCK

Town & Country

600, 600 ES

11



MODEL

YEAR

88-89 Sedan H.D 10.25" Rotor 3151/52 FR

83-87 Sedan H.D 10.5" Rotor 3123/24 FR

81-89 Sedan L.D 9.5" Rotor 3121/22 FR

80 Sedan 3117/18 FR

76-79 Sedan 3087/88 FR

70-73 w/Pin Mount 3049/50 FR

71-74 3297/98 FR

10-09 3817/18 FR

80-81 All 3117/18 FR

78-79 Sedan 4103/04 FR

70-72 All 3049/50 FR

06-07 3419/20 FR

70-72 3297/98 FR

10-06 3817/18 FR

88-83 All 3301/02 FR

95-92 3299/3300 FR

6/92-94 FWD E21 2Dr. 3071/72 FR

85/90 1.5Ltr. Exc. 4WD S/W Turbo & Vista 3053/54 FR

79/83 1600, 2000 Vista Hatchback 3251/52 FR

74/78 1600, 2000 Vista w/Sumitomo-1Piston 3253/54 FR

84-88 w/4&5 Stud Wheel Exc. Turbo 3065/66 FR

91-93 w/Rear Disc Brake 3185/86 FR

91-93 w/Rear Drum Brake 3187/88 FR

90 w/14" Wheel 3151/52 FR

84-89 w/KH Casting 3151/52 FR

84-88 w/Ate Casting 3123/24 FR

84-87 Changer 3439/40 FR

80-89 Sedan 3117/18 FR

77-79 Sedan 3087/88 FR

91-93 Sedan 3189/90 FR

88-90 Sedan 3141/42 FR

93-97 Sedan 3197/98 FR

85-89 Coupe 3151/52 FR

Colt

Conquest

Diplomat

Dynasty

Charger, Charger 2.2 Coronet, Super Bee

Colt 1600, 2000, Vista

Daytona, Pacifica, Shelby, Turbo Z

DESCRIPTION ITEM NO(R/L) AXLE

DODGE (CONT'D)

Intrepid

Aries

Aspen

Challenger

Charger

Lancer, Shelby Lancer

12



MODEL

YEAR

80-83 Sedan 3117/18 FR

91-92 Sedan w/KH 3189/90 FR

74-78 Royal Monaco Sedan 3089/90 FR

74-76 Sedan 3089/90 FR

65-68 MONACO,  POLARA 3659/60 FR

90 All 3273/74 FR

94-97 3211/12 FR

83-90 Sedan & Coupe 3139/40 FR

84-89 Sedan & Coupe 3123/24 FR

90-83 All 1 Pin 3301/02 FR

98-95 All 3295/96 FR

01-04 Sedan 3429/30 FR

91-95 w/14" Wheels 3187/88 FR

88-90 Sedan 3151/52 FR

87 Sedan 3123/24 FR

91-95 Sedan L.D 14" Wheel 3187/88 FR

91-92 Sedan H.D 15" Wheel 3185/86 FR

88-90 Sedan 3151/52 FR

79-81 Sedan 3087/88 FR

74-78 Sedan 3089/90 FR

99-02 R1500 VAN 3495/96 FR

00-01 R1500 RAM PICKUP 2WD W/INDEPENDENT

FR

3495/96 FR

98 B1500 VAN 3495/96 FR

08-03 Ram 3500 Pickup 3639/40 FR

86-94 3033/34 FR

11-07 Nitro 3835/36 RR

04-03, 00 Sprinter 3500 3833/34 RR

08-07 R1500 Pickup 3841/42

03-03 R2500, R3500 Pickup 3841/42

08-04 R2500, R3500 Pickup 3841/42

08-07 Sprinter 3500 3853/54 RR

10-09 R2500, R3500 Pickup 3855/56 FR

DODGE TRUCK

Neon

Stratus

St. Regis

DESCRIPTION ITEM NO(R/L) AXLE

Monaco, Polara, Royal Monaco

DODGE (CONT'D)

Mirada

Omni, Charger 024, GHL

Shadow, Shadow Turbp, Shelby CSX

Sprit, Sprit R/T Turbo

13



MODEL

YEAR

78-97 All 3089/90 FR

73-77 All 3079/80 FR

78-97 All 3089/90 FR

73-77 All 3079/80 FR

78-97 All 3089/90 FR

73-77 All 3079/80 FR

96-97 All 3005/06 FR

91-94 H.D Long Wheel Base w/15" Wheel 3185/86 FR

91-94 L.D w/14" Wheel 3189/90 FR

89-90 w/15" Wheel 3155/56 FR

87-88 w/ATE 2 Pin 3157/58 FR

84-90 w/KH 1 Pin 14" Wheel 3153/54 FR

02-03 w/Disc 2323/24 FR

05-01 Caravan, Grand Caravan 3519/20 FR

10-08 3531/32 FR

97-99 3457/58 FR

97-99 Caravan, Grand Caravan 3831/32 RR

78-81 2WD 3089/90 FR

83-87 4WD 3067/68 FR

87-93 2WD 2187/88 FR

80-86 2WD 3069/70 FR

87-93 3029/30 FR

80-86 2WD 3465/66 FR

94-97 T300/R1 3099/100 FR

78-93 All 3089/90 FR

73-77 All 3079/80 FR

97 All 3303/04 FR

00-02 Pickup 2315/16 FR

05-07 3435/36 FR

97-98 3045/46 FR

03-04 Pickup 2WD/4WD 3425/26 FR

97 2 & 4WD 3045/46 FR

91-92 2 & 4WD 3173/74 FR

87-90 2 & 4WD 3169/70 FR

98-99 3305/06 FR

03-04 2 & 4WD 3425/26 FR

02-00 3837/38 RR

B100, 150 2WD (1/2TON)

DODGE TRUCK (CONT'D)

DESCRIPTION ITEM NO(R/L) AXLE

Dakota

B200, 250 2WD (3/4TON)

B300, 350 2WD (1TON)

Caravan, Grand Caravan, Mini Ram, Royal

CB300, 400, MB300, 350, 400, 450, D400, W450 (1 to 1 1/2 Ton)

D50, Ram 50, Power Ram 50, Arrow Pick-up

D100, 150S, R Series 2WD (1/2 Ton)

14



MODEL

YEAR

00-02 Suv 2315/16 FR

98 All 3305/06 FR

03-05 Sport Utility 2WD & 4WD 2327/28 RR

03 Suv 3405/06 FR

02-00 3837/38 RR

06 Pickup(Exc.10 Cyl) 3435/36 FR

07 Pickup 3435/36 FR

03 B1500 & B2500 Van 2327/28 RR

03 B1500 Ram Van F/S 3405/06 FR

98-02 B1500 Ram Van F/S 3405/06 FR

99-02 R1500 Van 3589/90 FR

08-03 RAM 1500 PICKUP, RAM 2500 PICKUP, RAM 3 3523/24 FR

00-01 R1500 Ram Pickup 2WD w/Independent Suspen 3589/90 FR

92-75 MR400, 500, 600 W/H.D 3307/08 FR

95-75 W/4500Ibs. Front Axle 3307/08 FR

92-84 W/3500Ibs. Front Axle 3089/90 FR

94-97 T300/R2 3119/20 FR

78-93 All 3089/90 FR

03 2WD & 4WD R2500 3397/98 RR

73-77 All 3079/80 FR

78-93 All 3089/90 FR

73-77 All 3079/80 FR

03 2WD & R3500 w/45x45mm 3397/98 FR

79-81 Exc. M300 3553/54 FR

79-80 M400, R400 3089/90 FR

78-81 M500 3089/90 FR

78-80 M300 3089/90 FR

76-77 M350, R350 3553/54 FR

75-92 M , R400, 500, 600 3081/82 FR

73-78 M400, R400 3553/54 FR

73-77 M500, M600, R500 3553/54 FR

94-95 R2500, R3500, pickup 3199/3200 FR

03-05 2WD & 4WD R3500 1ton 3431/32 RR

01-02 2WD & 4WD R3500 1ton 3431/32 RR

78-94 2WD 3089/90 FR

76-93 4WD 3089/90 FR

73-77 2WD 3079/80 FR

DESCRIPTION

Durango

Ram 1500

Pickup

Ramcharger

M300 M400 M500 M600 R300 R400 R500

ITEM NO(R/L) AXLE

DODGE TRUCK (CONT'D)

W300, W350, W400, 4X4 1 TON

D200, 250, R Series 2WD (3/4 Ton)

D300, 350, R Series 2WD (1 Ton)

M, R300, 350, 400, 500, 600 (1 to 2 Ton)

15



MODEL

YEAR

83-84 All 3139/40 FR

94-97 T300/R6 3099/100 FR

76-93 All 3089/90 FR

74-75 All 3079/80 FR

76-93                                                                                           All  3089/90 FR

95-75 W/4500lbs, Front Axle 3307 FR

92-84 W/3500lbs, Front Axle 3089/90 FR

10-09, '11-13 3533/34 FR

94-89 All

92-91

95-98 Tolon Esi, Tsi W/2WD

92-91 All

90-88 All

97-93 All 3197/98 FR

97-93 All 3197/98 FR

6/92-95 3071/72 FR

68-78

79-83

74-82

73-68 3309/10 FR

66-65 3263-1/3284-1 RR

68-71 ELITE, FAIRLANE, FALCON, TORINO 3513/14

87-93 Festiva 4007/08 FR

95-97 Police & Taxi 3207/08 FR

92-96 Rear 3013/14 FR

91-93 Exc. Police & Taxi 3081/84 FR

95-99 Crown Victoria Passenger & Police 3243/44 FR

80-90 Police & Taxi 3113/14 FR

80-82 Passenger 3113/14 FR

99-02 Ltd 2317/18 FR

92-95 Police & Taxi (RR) 3243/44 FR

Ram 3500

W100, 150, 150S 4WD (1/2 Ton)

06-09

W200, 250, R Series, D5, D6, D7, D8 4WD (3/4 Ton)

W300, 350, W400, 4X4  (1 Ton)

Attitude

Vison

Summit

EAGLE

       3265/66              FR

       3299/300            FR

                                  FR

       3189/90              FR

       3273/74              FR

EAGEL (CONT'D)

Premier

Brougham, LTD, Crown Victoria, Country Squire, Galaxy

Rampage

DESCRIPTION ITEM NO(R/L) AXLE

DODGE TRUCK (CONT'D)

16



MODEL

YEAR

75-78 Police & Taxi (RR) 3235/36 RR

95-67 COUNTRY SEDAN, CUSTOM, GALAXIE,

RENCH

3641/42 FR

98-02 Crown Victoria A BODY 3387/88 FR

95-98 Svt 3203/4 FR

Bravo Ⅱ

1.4, 1.6, 1.9, 2.0 1177/78

Multipla

1.6, 1.9 1177/78

Stilo Multi Wagon

11-01 1.4, 1.6, 1.8, 1.9 1177/78

82-80 All 3311/12 FR

75-78 3451/52 FR

65-67 3461/62 FR

02-04 3475/76 FR

91-97 1.9Ltr w/13" Wheel. 14" 3213/14 FR

91-97 1.8Ltr. GT LX-E w/14" Wheel 3037/38 FR

4/83-90 All 3145/46 FR

81-3/83 All 3115/16 FR

02-03 4Dr 2309/10 FR

01-02 Sport 2 Dr 2309/10 FR

01-02 Sport-Trac 2309/10 FR

95-01 L/Rear 3047/48 FR

01 Sport-Trac Suv 3047/48 FR

02-03 4DR REAR 2309/10 FR

01-02 SPORT 2DR REAR, SPORT-TRAC P/U REAR 2309/10 FR

65-66 w/KH 4Piston 3/8" Bleeder Screw 3027/28 FR

65-66 All 3263/64 RR

88-93 Festiva 3247/48 RR

65-66 3245/46 RR

11/82-83 All 3149/50 FR

77-80 Festiva 3245/46 RR

75-78 All (RR) 3239/40 RR

AXLE

EAGEL (CONT'D)

Escort, EXP, Tempo

Fairlane, Falcon, Torino

Fairmont, Futura

Escape

Explorer

Granada

FORD (CONT'D)

Custom, Galaxie, XL

Contour

DESCRIPTION ITEM NO(R/L)

FIAT

17



MODEL

YEAR

11/82-86 All 3149/50 FR

95-94 All 3313/14 FR

98-96 Crown Victoria 3315/16 FR

90-80 Exc. Police & Taxi 3311/12 FR

02-01, 00-98, 97-96 Feb-01 FR

94-97 Exc. SVO. Cobra 3209/10 FR

87-93 w/4Cyl. Exc. Turbo 3149/50 FR

87-90 w/8Cyl. Exc. SVO & Cobra 3551/52 FR

11/82-86 w/4Cyl. Exc. Turbo 3147/48 FR

11/82-86 w/4Cyl. Exc. Turbo, 6Cyl & 8Cyl. 3149/50 FR

80-10/82 w/4Cyl. Exc. Turbo 3093/94 FR

79 w/4Cyl. Turbo & 6 Cyl. 3093/94 FR

73-68 All 3035/36 FR

67 4 Piston Kelsey Hayes Type 3025/26 FR

65-66 Exc. SVO w/KH 4Piston 3/8" Bleeder 3027/28 FR

84-86 SVO (RR) 3241/42 RR

93-87 8Cyl. 3317/18 FR

65-66 3245/46 RR

94-97 Cobra 5.7L 3447/48 FR

65-66 3509/10 FR

71-73 3513/14 FR

03-04 w/MACH 1 SPECIAL EDITION 3493/94 FR

68-73 3035/36 FR

94-97 All 2083/84 FR

89-92 All 2179/80 FR

94-97 SHO & Police 3193/94 FR

89-92 SHO & Police 3165/66 FR

86-95 Exc. SHO & Police w/Phenolic Piston 3163/64 FR

94-95 SHO 3275/76 FR

89-93 SHO & Wagon 3163/64 FR

93-89 SHO & Wagon 3319/20 FR

93-03 Sedan & Wagon (S Body) 3249/50 RR

93-03 SHO & Police (S Body) 3249/50 RR

89-92 3427/28 RR

93-97 All 3209/10 FR

87-88 Turbo Coupe 3551/52 FR

83-88 All 3149/50 FR

FORD (CONT'D)

Mustang

Probe

Taurus

Thunderbird

LTD ll

Import

LTD Crown Victoria, Country Squire

DESCRIPTION ITEM NO(R/L) AXLE

18



MODEL

YEAR

75-76 All (RR) 3337/38 FR

89-92 All 3163/64 FR

92-89 All 3319/20 FR

87-88 All 3317/18 FR

87-88 3427/28 RR

11/00-08/04 3443/44 RR

11/00-08/04 3445/46 RR

96-97 All 3047/48 RR

85-80 Note: V Slider Groove 3321/22 FR

73-68 3309/10 FR

92-94 w/Kelsey Brake 3449/50 FR

92-94 E250 & E350 Van/Club Wagon 3449/50 FR

00-03 Excurion Suv 3409/10 FR

98-02 E450 Superduty 3563/64 FR

89-03 F BODY w/KELSEY HAYES H/D BRAKE 3549/50 RR

93-86 W/6000, W/7000 3497/98 FR

95-02 LIGHT TRUCK w/BENDIX-BOSCH BRAKE 3507/08 FR

05-06 ESCAPE 3525/26 FR

05-07 FIVE HUNDRED, FREESTYLE 3529/30 FR

09-08 E-450 SUPER DUTY REAR 3651/52 FR

00-04 EXCURSION SUV 3607 FR

09-07 Escape 3827/28 FR

11/92-95 All 3159/60 FR

86-87 All 3161/62 FR

87-97 AEROSTAR 2WD/4WD VAN 3489/90 FR

77-83 Courier 2135/36 FR

94-96 All 3201/02 FR

87-92 All 3171/72 FR

80-85 All 3125/26 FR

94-96 F/S 3201/02 FR

76-79 All 3085/86 FR

95-02 Light Truck w/Bendix-Bosch Brake 3579/80 FR

07 3437/38 FR

3/87-90 All 3159/60 FR

86-87 All 3161/62 FR

80-85 All 3159/60 FR

87-90 BRONCO II 3 3489/90 FR

95-02 RANGER PICKUP 4WD 3507/08 FR

97-95 All 3579/80 FR

DESCRIPTION ITEM NO(R/L) AXLE

FORD (CONT'D)

FORD TRUCK

Mondeo

Bronco ll, Ranger

Aerostar

Bronco

Edge

19



MODEL

YEAR

97 F-150 3011/12 FR

95-96 All 3579/80 FR

06-07 Explorer 3259/60 FR

07 Explorer Sport Trac 3259/60 FR

01-02 Explorer Sport 2Dr 3411/12 FR

01-02 Explorer Trac P/u 3411/12 FR

03-04 Ranger Pickup 3411/12 FR

91-97 EXPLORER 3489/90 FR

95-01 ALL 3507/08 FR

91-94 All 3159/60 FR

98-97 F-150 3323/24 FR

97 Rear 3325/26 FR

97 Rear 3051/52 RR

03-04 Suv 3403/04 FR

97-95 3327/28 FR

95 All 3195/95 FR

99-03 3361/62 FR

95-97 All 3579/80 FR

91-94 All 3159/60 FR

95-97 All (RR) 3047/48 RR

95-96 E Series w/KH 3563/64 FR

95-96 F350 w/KH 3563/64 FR

92-94 E Series w/2.88" Bendix 3555/56 FR

86-91 F350 3543/44 FR

89-91 E Series 3543/44 FR

10/85-88 E Series 3559/60 FR

10/85-88 F350 3559/60 FR

80-85 E Series 3541/42 FR

80-85 F350 3541/42 FR

76-79 E Series 3539/40 FR

76-79 F350 3549/50 FR

72-75 E Series 3537/38 FR

72-75 F350 3537/38 FR

98-99 F250 & F350 SD 3409/10 FR

00-03 F250 & F350 SD R 3409/10 FR

89-94 Dayton w/Larger 3559/60 FR

05-07 F350 3469/70 FR

DESCRIPTION ITEM NO(R/L) AXLE

FORD TRUCK

Explorer, Ranger

FORD TRUCK (CONT'D)

Explorer, Ranger

E, F300, 350 (1 Ton)

Expedition

Windstar

20



MODEL

YEAR

05-07 F350 3467/68 FR

05-07 F350 3471/72 FR

99-05 E350 Econoline 3395/96 FR

02-07 E350 Super Duty 3395/96 FR

95-97 F350 Pickup 2WD/4WD 3563/64 FR

11-05 F-350 super Duty pickup 3657/58 FR

98-03 F350SD 2WD/4WD PICKUP 3607 FR

95-96 E Series w/KH 3563/64 FR

95-96 F250 w/KH 3563/64 FR

92-95 E Series w/2.88" Bendix 3541/42 FR

86-93 F250 3541/42 FR

86-91 E Series 3559/60 FR

86-93 E Series 3325/26 FR

86-93 F 250 3541/42 FR

80-85 2WD 3541/42 FR

80-85 E Series 3541/42 FR

98-99 F 250 Pickup 3325/26 FR

80-85 F 250 3541/42 FR

76-79 E Series 3539/40 FR

76-79 F 250 3539/40 FR

72-75 E Series All 3537/38 FR

72-75 F 250 3537/38 FR

97-99 F 250 Pickup 3011/12 FR

05-08 F250 3471/72 FR

05-07 F250 3467/68 FR

05-08 F250 3469/70 FR

99-07 E250 Econoline 3395/96 FR

03-04 E250 Super Duty 3395/96 FR

95-97 F250 Pickup 2WD/4WD 3563/64 FR

11-05 F-250 super Duty pickup 3657/58 FR

98-03 F250SD 2WD/4WD PICKUP 3607 FR

F650, 750

03-00 3805/06

94-96 All 3201/02 FR

94-03 Van 3201/02 FR

87-92 All 3171/72 FR

73-83 All 3085/86 FR

98-03 Lightning 2WD/4WD Pickup 3011/12 FR

02-03 Econoline Van E250 & E350 3399/3400 FR

09-08 E-150/250 Econoline, E-350/450 Super Duty 3647/48 FR

09-08 3647/48 FR

99-03 Econoline Van E250 & E350 3417/18 RE

07-04 E-150 Econoline 3829/30 RR

DESCRIPTION ITEM NO(R/L) AXLE

FORD TRUCK (CONT'D)

E, F200, 250 (3/4 Ton)

E100, 150, Econoline Van (1/2 Ton)

21



MODEL

YEAR

97 4X2, 4X4 Wheel 3041/42 FR

94-96 All 3201/02 FR

87-92 All 3201/02 FR

84-85 All 3125/26 FR

80-83 4600-4700 gvw, 5000-5100 gvw 3125/26 FR

94-96 Pickup 3201/02 FR

80-83 4600-4700 gvw 3127/28 FR

73-79 All 3085/86 FR

04 Heritage Pickup 3041/42 FR

05-09 F150 Pickup 3473/74 FR

94-96 3201/02 FR

87-95 3171/72 FR

80-85 3125/26 FR

86-95 3171/72 FR

88-97 FR/RR

96-03 FR/RR

94-95 800, 8000 w/2.88" Dayton 3581/82 FR

92-95 600, 6000 w/2.88" Dayton 3581/82 FR

84-95 700, 7000 w/2.88" Dayton 3581/82 FR

84-95 600, 6000 w/2.50" Dayton

5010/10

3545/46 FR/RR

84-90 700, 7000, 800, 8000 w/2.88" Dayton 3581/82 FR

84-90 600, 700, 7000, 8000 w/2.50" Dayton 3545/46 FR/RR

84-97 600, 6000, 700, 7000, 800, 8000 w/2.50" Dayt 3545/46 FR

84-97 600, 6000, 700, 7000, 800, 8000 w/2.88" Dayt 3581/82 FR/RR

84-91 800, 8000 w/2.88" Dayton 3581/82 FR/RR

84-97 LN 700, 7000 w/2.50" Dayton 3545/46 FR/RR

84-97 L, LN800, 8000 w/2.50" Dayton 3545/46 FR/RR

84-97 LNT, LT LTS800, 8000 w/2.50" Dayton 3545/46 FR/RR

84-90 LN 600 w/2.50" Dayton 3545/46 FR/RR

67 4 Piston Kelsey Hayes Type 3025/26 FR

68-71 All 3035/36 FR

95-97 FR

95 FR

99-03 Pickup 1/2ton w/4 Wheel Disc Brake 3415/16 FR

F100, 150, 4WD (1/2 Ton)

F450 (Super Duty), F53 (Stripped Chassis/ Motor Home)

Ranchero

Medium Duty B Series School Bus

Medium Duty C Series

Medium Duty F & FT Series

Medium duty L, LN, LNT, LTS Series

AXLE

FORD TRUCK (CONT'D)

DESCRIPTION ITEM NO(R/L)

                                                                         3195/96

F150 4X2, 4X4 Weel

                                                                         3043/44

F100, 150, 2WD (1/2 Ton)

F450, 470, F53, 59 (FR & RR)                     3549/50

F53/F59 Cab & Chassis Vehicles                3549/50

Windstar

22



MODEL

YEAR

97 All 3583/84 FR

93-84 TRUCK 600, 6000 SCHOOL BUS, 800, 850, 80 3585/86 FR

92-84

FR

92-84 3585/86 FR

89-93 All 3269/70 FR

88-92 All 2183/84 FR

90 Exc. Gsi 3073/74 FR

93-97 Sedan & Wagon 2001/02 FR

90-8/90 SOHC 2015/16 FR

96-97 4Dr. 2077/78 FR

96-97 2Dr. 2073/74 FR

89-95 All 2073/74 FR

96-89 2Dr. 2203/04 FR

89-87 3059/60 FR

95-90 All 3199/3200 FR

95-79 3143/44 FR

93-91 All 3177/78 FR

92-91 All 3181/82 FR

02-03 Envoy & Exvoy-Ext Suv 2321/22 RR

02-03 Envoy-Xl Lwb Suv 3401/02 FR

00-04 YUKON & DENALI 1500 STD. REAR A3499/3500 FR

00-04 Yukon & Denali A3421/22 FR

84-97 AWD 3099/100 FR

86-95 w/Power Brake 3103/34 FR

95-85 Astro, Safari 2WD 3287/88 RR

03-04 Safari Van 3347/48 FR

92-95 4WD 3099/100 FR

88-91 4WD 3109/10 FR

83-97 2WD 3091/92 FR

79-80 2WD 3104/05 FR

79-82 Blazer, Jimmy 3271/72 FR

79-91 All 3097/98 FR

GEO

GMC

Astro, Safari, Mini Van

Blazer, Jimmy

600, 6000 Series School Bus

700, 7000 Series School Bus

92-84                                                                                  3585/86

800, 850, 880, 8000 Seres, School Bus

Prizm

Tracker

Spectrum

DESCRIPTION ITEM NO(R/L) AXLE

FORD TRUCK (CONT'D)

23



MODEL

YEAR

79-91 All 3191/92 FR

82-87 All 3091/92 FR

69-72 All 3017/18 FR

94-95 H.D JD7 Diesel 3118/19 FR

93-88 C1500, C10 3099/100 FR

79-86 C10 3271/72 FR

88-93 C1500, C10 3109/10 FR

81-86 L.D JB1 & JB3 3103/04 FR

88-95 R1500, R10 3105/06 FR

81-83 H.D W/L.D 3155/56 FR

90-95 H.D 8600 gvw 3119/20 FR

88-97 L.D 7200 gvw 3099/100 FR

79-86 C20 3271/72 FR

88-95 H.D JB7 & JD7 3143/44 FR

88-95 R2500, R20 3105/06 FR

88 C2500, C20 3099/3100 FR

84-89 C2500, C20, R2500, R20 3105/06 FR

79-83 C2500, C20 3155/56 FR

90-95 H.D JB8 w/DRW 3199/200 FR

88-95 L.D Single Rear Wheel 3199/200 FR

80-95 H.D JB & JF9 3133/34 FR

80-89 M.D JB7 3133/34 FR

79-87 L.D JB6 & JD6 3143/44 FR

79-86 H.D JB7 & JB8 3133/34 FR

79 H.D JB8 3133/34 FR

88-95 R3500 3143/44 FR

77-78 H.D JB7 & JB8 3081/82 FR

88-95 C3500 3119/3120 FR

88-95 C3500, C30 3099/3100 FR

84-85 4WD 3133/34 FR

82-88 All 3091/92 FR

84-95 Metric Inlet 3105/06 FR

79-95 G10 3271/72 FR

81-91 H.D JB7 & JD7 3143/44 FR

79-95 G20 3271/72 FR

84-95 H.D Metric Inlet 3105/06 FR

79-83 G 2500, G30 3155/56 FR

90-96 L.D JB6, JB7, JD7 3143/44 FR

DESCRIPTION ITEM NO(R/L) AXLE

GMC

C15/1500 Suburban 2 WD (1/2 Ton)

GMC (CONT'D)

C25/2500 Suburban 2WD (3/4 Ton)

 C35/3500 Suburban 2 WD (1 Ton)

G15/1500 Van (1/2 Ton)

G25/2500 Van (3/4 Ton)

D300

EL Camino

G35/3500 Van ( 1 Ton)

Caballero, EL Camino, Sprint

24



MODEL

YEAR

79-95 H.D 8900-10000gvw JB8 3133/34 FR

79-89 L.D 7100-8600 gvw 3143/44 FR

79-80 L.D JB6 & JD6 3105/06 FR

77-78 H.D JB7 & JB8 3081/82 FR

79-83 G3500, G30 3155/56 FR

94-95 H.D JD7 Diesel 3119/20 FR

92-97 Exc. 94 H.D Diesel 3099/100 FR

88-91 H.D w/155" Wheel Base 3099/100 FR

88-91 L.D w/177" & 131" Wheel Base 3109/10 FR

85-86 All 3109/10 FR

79-87 Metric Inlet 3097/98 FR

71-78 SAE Inlet 3075/76 FR

88-91 V1500, V10 3097/98 FR

79-87 V1500, V10 3191/92 FR

94-95 H. D JD7 Diesel 3119/20 FR

89-95 H.D 8600 gvw 3119/20 FR

88-97 L.D 7200 gvw 3099/100 FR

87-89 H.D JB7 & JD7 3143/44 FR

87-89 L.D JB6 & JD6 3109/10 FR

79-86 H.D JB7 & JD7 3143/44 FR

79-84 L.D JB6 & JD6 3097/98 FR

71-78 SAE Inlet 3075/76 FR

90-95 H.D JB w/DRW 3199/200 FR

88-95 L.D Single Rear Wheel 3119/20 FR

79-86 All 3133/34 FR

77-78 H.D JB7 & JB8 3081/82 FR

87-79 K3500 3133/34 FR

78-77 K3500, K30 3307/08 FR

79-80 C1500, C10 3105/06 FR

79-80 L.D JB6 & JD6 3105/06 FR

79-83 P2500, P10 3155/56 FR

79-95 G3500 3143/44 FR

79/95 All JB7, JD7, JB8, JF9 3133/34 FR

77/78 H.D 90000-14500 gvw 3081/82 FR

79/94 P3500, P30 3143/44 FR

87 L.D JB1 & JB3 3103/04 FR

90-91 All 3143/44 FR

87-89 H.D JB7 & JD7 3143/44 FR

DESCRIPTION ITEM NO(R/L) AXLE

GMC (CONT'D)

K35/3500 Suburban 4WD (1 Ton)

P15 Van (1/2 Ton)

P25/2500 Van (3/4 Ton)

P35/3500 Van (1 Ton)

R15/1500, Suburban 2WD (1/2 Ton)

R/25/2500 Suburban 2WD (2/4 Ton)

K15/1500 Suburban 4WD (1/2 Ton)

K25/2500 Suburban 4WD (3/4 Ton)

25



MODEL

YEAR

87-92 H.D 3133/34 FR

83-95 2WD 3091/92 FR

87/91 All 3109/10 FR

90-91 All 3143/44 FR

87-89 L.D JB6 & JD6 3191/92 FR

93-97 B7P042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

93-95 B7P042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

83-91 B6P042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

83-91 B6P042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

91-97 C6H042, C7H042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

91-95 C7H042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

91-95 C6H042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

90-97 C5H042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

88-90 C6D042, C7D042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

83-90 C6D042, C7D042/064 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

83-90 C7D042/064 w/2.88" Bendix (FR/RR) 3557/58/ FR/RR

88-90 P4T042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

84-95 P6T042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

83-96 P6T042 w/2.50" Dayton (FR/RR) 3547/48 FR/RR

83-90 S7T042 w/2.88" Bendix (FR/RR) 3557/58 FR/RR

03 3500 Van w/Dual 3251/52 RR

03 2500 Van w/8500 & 8600 3253/54 RR

03 3500 w/SRwhs 3253/54 RR

03 2500 H/D w/8500 & 8600 3393/94 FR

01-04 3500 2WD & 4WD 3433/34 FR

08-04 3527/28 FR

71 G25, G2500 Van(71), Jimmy(71), P15, P1500, 3517/18 FR

71 C15, C1500, C25, C2500 Pickup, C15, C1500, 3517/18 FR

03 C4 SERIES, C5 SERIES 4053/54 FR

08-04 C4, C5 SERIES 4055/56 FR

05-08 SIERRA 1500, YUKON,  YUKON XL 1500 3645/46 FR

09-06 ENVOY 3655/56 FR

81-95 All 3205/06 FR

DESCRIPTION ITEM NO(R/L) AXLE

GMC (CONT'D)

Medium Duty C Series

Medium Duty P Series

Medium Duty S Series

GMC TRUCK

Savana

Sierra

R35/3500 Suburban 2WD (1 Ton)

V15/2500 Suburban 4WD (1/2 Ton)

V25/2500 Suburban 4WD (3/4 Ton)

Medium Duty B Series School Bus

Sonoma

26



MODEL

YEAR

09-03 C5, C6, C7 SERIES 3805/06

95-02 Medium Duty 3807/08

97-99  S/T BODY} 1/2 TON W/F46 ALL-WHEEL-DRIVE REAR 1997-99 3811/12

10-03 Savana 1500 3849/50 RR

05-05 Sierra 1500 3849/50 RR

06-03, 02-02 Yukon, Yukon XL 1500 3849/50 RR

98-03  T10 BLAZER & SONOMA P/U 1998-03 3813/14

78-74 All 3307/08 FR

73 All W/Dual Rear Wheels 3307/08 FR/RR

93-83 Dayton 3545/46 FR/RR

93-83 Dayton 3547/48 FR/RR

93-83 Dayton/Bendix (2.5 Piston) 3545/46 FR/RR

93-83 Dayton/Bendix (2.5 Piston) 3547/48 FR/RR

95-78 IHC School Bus (2.6 Piston) 3561/62 FR

93-83 Bendix (2.88 Piston) 3557/58 FR

78-74 Bendix 3307/08 FR

93-83 Dayton/Bendix 4 wheel Disc(Front) (2.5Piston) 3543/44 FR/RR

93-83 Dayton/Bendix 4 wheel Disc(Front) (2.5Piston) 3547/48 FR/RR

87-81 C1500, C10W/L/D.Brakes 3287/88 FR

95-88 R2500, R20 W/JB-7, JD-7 3143/44 FR

95-89 C2500, C20 3119/20 FR

97-89 C2500, C20 W/7200 Ibs. GVW 3099/3100 FR

88 C2500, C20 3099/3100 FR

87-79 C2500, C20 W/ JB-7, JD-7 3143/44 FR

95-88 C3500, C30 W/Dual Wheels 3199/3200 FR

95-88 R3500, R30 W/JB-7, JD-7 3143/44 FR

95-88 C3500, C30 Exc. DRW 3119/20 FR

95-88 C3500, C30 Exc. DRW 3099/3100 FR

78-74 C3500, C30 W/JB-8 Bendix 3307/08 FR

78-74 G3500, G30 W/JB-8 Bendix 3307/08 FR

78 P3500, P30 W/JB-9 & 4Wheel Disk 3307/08 FR

DESCRIPTION ITEM NO(R/L) AXLE

GMC TRUCK

G3500 Series (Van)

P3500 Series (Forward Control)

60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series

GMC & CHEVROLET TRUCK (CONT'D)

40, 400, 4000, W45042 Series, Motor home Chassis

50, 500, 5000, C5D042 Truck & Bus Serues

70, 700, 7000, 7500, C7D064, S7T042 Truck & Bus Series

C1500 Series (Conventional), R Series, Suburban (2WD)

C2500 Series (Conventional), R Series, Suburban (2WD)

C3500 Series (Conventional), R Series, Suburban (2WD)

27



MODEL

YEAR

03- Sedan w/6 Cyl Eng 3373/74 FR

03-04 Sedan w/6 Cyl Eng & Auto Trans 3373/74 FF

93-95 Coupe 2063/64 FR

90-97 All 2063/64 FR

90-92 Exc. SE 2063/64 FR

88-89 Lxi, Sei 2069/70 FR

95-97 Sedan 2/V6 Eng 2189/90 FR

86-89 All Exc. Lxi 2055/56 FR

84-85 All 2023/24 FR

82-83 All 2021/22 FR

90-93 Accord 2075/76 FR

76-81 Auebono 2157/58 FR

83-82 All (1Piston) 2207/08 FR

95-97 SEDAN w/V6 ENG 2275/76 FR

07-05 Coupe, Sedan Japan Built, Hybrid 2373/74 FR

07-05 Coupe, Sedan Japan Built, Hybrid 2375/76 FR

03-07 3373/74 FR

88-86 Exc. LXI 2481/82 FR

87-85 Prelude W/Fuel Injection 2481/82 FR

90-97 2483/84 RR

88-90 Civic S/W 4X4 2065/66 FR

88-89 1.6Ltr Si 2061/62 FR

84-87 1300 & Hf 2209/10 FR

84-87 1.5Ltr Si 2029/30 FR

84-87 1.3L, 1.5HF 2159/60 FR

88-89 All 2061/62 FR

83-87 1.5Ltr, DX, Si w/Vented Rotor 2027/28 FR

82-83 1.3Ltr w/Solid Rotor 2025/26 FR

80-81 1.3L 2159/60 FR

10-09 2467/68 FR

90-93 1.6Ltr EX w/10.3" Rotor 2069/70 FR

88-89 All 2061/62 FR

84-87 1.3Ltr w/Solid Rotor 2025/26 FR

84-87 1.5Ltr, DX, Si w/Vented Rotor 2027/28 FR

88-91 4WD 2065/66 FR

88-89 2WD 2061/62 FR

84-87 All 2029/30 FR

83 All 2027/28 FR

80-82 All 2157/58 FR

DESCRIPTION ITEM NO(R/L) AXLE

HONDA

HONDA (CONT'D)

Civic Hatchback

Civic Station Wagon 2WD & 4WD

Accord

Civic CRX

Civic Sedan

28



MODEL

YEAR

88-91 SE, Si w/Fuel Injection 2069/70 FR

88-90 DX & S 2065/66 FR

85-87 Si w/Fuel Injection 2055/56 FR

83-87 DX Exc. Fuel Injection 2031/32 FR

92-93 All 2063/64 FR

91-90 Civic Hatchback 1500CC, SW 2209/10 FR

91-90 Civic CRX 1/5 DX, Si 2211/12 FR

87-84 Civic Hatchback 1300CC, DX 2213/14 FR

91-97 2189/90 FR

87-83 Civic Sedan 2209/10 RE

87-84 Civic SW 2211/12 RE

87-83 W/Fuel Injection, DX 2215/16 FR

91-97 WAGON 2275/76 FR

13-11 2411/12 FR

Insight

06-04, 03-00 2465/66 FR

94-89 Passport 2177/78 RR

94-95 Passport 2013/14 RR

94-01 Passport 2WD & 4WD w/6Cyl 2277/78 FR

94-02 Passport 2WD-V6 & 4WD-V6 Sportutility 2217/18 RR

95-94 2217/18 RR

95-91 2199/2200 FR

05-07 Odyssey 2351/52 FR

06-07 Ridgeline 2351/52 FR

05 Odyssey 3407/08

05-07 CR-V 2365/66 FR

03-09 Element 2WD, 4WD 2423/24

10-11 Element EX 2WD, 4WD, Element LX 2WD, 4WD 2423/24

10 Element SC 2WD 2423/24

PORTER-Ⅱ 4049/50 FR

GRANDEUR XG TUNING 6013/14 FR

GRANDEUR XG TUNING 4045/46 FR

10-15 Tuscon 4065/66

96-97 Sedan & Wagon w/ABS 4017/18 RR

4037/38 FR

07-08 3375/76 FR

89-94 All 4003/04 FR

All 4005/06 RE

06-10 4063/64

HONDA TRUCK

HYUNDAI

DESCRIPTION ITEM NO(R/L) AXLE

HONDA (CONT'D)

Prelude

Odyssey

Avante

Entourage

Sonata ll, lll

Civic Station Wagon, wagon 4X4, Wagon Van

29



MODEL

YEAR

All 4003/04 FR

All 4005/06 RE

94-95 w/ABS 4015/16 RR

07-10 4063/64

06-07 4059/60 FR

12-13 4057/58 RE

91-96 M. D1154FC, 1452, 1652, M1400, 1600 w//2.6 3561/62 RR

90-96 M. D4500, 4600/LP/UH, 4700/LP, 4800, 4900, 3561/62 RR

90-95 M. D3600, 3600FC, 3700, 3800, 3900FC w/Air 3561/62 RR

87-90 M Series H.D w/2.88" Bendix (FR&RR) 3557/58 FR/RR

84-86 CO Series w/2.88" Bendix (FR&RR) 3557/58 FR/RR

82-89 S Series School Bus H.D w/2.88" Bendix (FR&R 3557/58 FR/RR

82-95 Truck 3557/58 FR

92-86 2219/20 FR

7/97-99 2x4 Utility Vehicle 2279/80 FR

91-96 All 2067/68 FR

74-75 3/4 TON w/HEAVY DUTY BRAKE 3081/82 FR

04-03 M45 2441/42 RR

06-02 Q45 2441/42 RR

08-08, 07-07, 06-06, 05-05 G35 2473/74 FR

08-06 M35, M45, 350Z 2473/74 FR

08-08 EX35 2473/74 FR

06-04 QX56 3653/54 FR

03 G35 2385/86 FR

03-05 FX35, FX45 3255/56 FR

02-99 G20 2415/16 FR

01-99 G20 2431/32

08-03 FX35 2439/40 RR

07-03 FX45 2439/40 RR

98-00 1652SC 3603 FR

98-00 1652SC 3665/66 FR

98-00 3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP 3665/66 FR

98-00 (2.88" Piston) 3665/66 FR

98-00 1652SC  REAR 3667/68 FR

98-00 3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP 3667/68 FR

IHC

Navistar

DESCRIPTION ITEM NO(R/L) AXLE

HYUNDAI

G20

200 SERIES

INTERNATIONAL

Marcia

Elantra

Accent

INFINITI TRUCK

INFINITI

30



MODEL

YEAR

98-00 (2.60" Piston) 3667/68 FR

98-00 3000Fe, 3000, 3600, 3800, 4700Lp, 4900 3603 FR

89-93 All 3269/70 FR

96-97 Oasis Van 2013/14 RE

03 Ascender Suv 2321/22 RR

03 Ascender A3401/02 FR

04-05 E-D825-S 2475/76 FR

99-99 E-D827-S 2477/78 FR

97-99 E-D826-S 2479/80 FR

88-90 All 3033/34 FR

85-89 Exc. Turbo 3059/60 FR

92-96 2013/14 RR

06-08 i-280, i-290, i-350, i-370 3527/28 FR

02-04 Axiom Sportutility 2217/18 RR

10-04 FTR, FVR, FXR 3805/06

00-98 Light Trucks & Vans 3857/58 RR

89-93 All 2081/82 FR

88-02 Sportutility 2217/18 RR

93-97 2WD & 4WD Sport Utility 2277/78 FR

98-01 2WD & 4WD Sport Utility 2277/78 FR

95-94 2217/18 FR

88-93 2WD & 4WD 2081/82 FR

84-11/87 w/Vented Rotor 2051/52 FR

87-8/90 4WD 2081/82 FR

81-83 All 2153/54 FR

95-89 2WD 2221/22 FR

11/92-95 2WD w/4Cyl. 2081/82 FR

91-10/92 2WD & 4WD 2081/82 FR

94-01 2WD & w/6 Cyl Sport Utility 2277/78 FR

83-03 2Dr SUV 2217/18 RR

92-98 All 2177/78 FR

86/11-91 All 2081/82 FR

84-87 All 2051/52 FR

92-98 All 2177/78 RR

INTERNATIONAL

ISUZU TRUCK

Pick-up 1800, 2000, 2200, 2300, 2600 Diesel

Trooper, Trooper ll

ISUZU

Optima

I-Mark

Amigo

Rodeo

DESCRIPTION ITEM NO(R/L) AXLE

31



MODEL

YEAR

73-87 Rear Wheel 3039/40 FR

87-73 2223/24 RE

02-07 x-type 1127/28 FR

11-07 COMPASS, PATRIO 3511/12 FR

02-05 Liberty 3379/80 FR

97-94 Cherokee 3003/04 FR

93-97 ZJ 3077/78 FR

90-92 XJ 4WD 3077/78 FR

90-93 XJ 2WD 3137/38 FR

85-91 SJ Grand Wagoneer 3191/92 FR

84-89 XJ 3137/38 FR

79-84 SJ 3097/98 FR

74-78 SJ 3075/76 FR

94-96 Cherokee, Grnad Cherokee (RR) 3003/04 RR

06-07 Exc. 6.1 Liter 3257/58 FR

99-04 Grand Cherokee 2297/98 RR

05 3257/58 FR

99-03 Grand Cherokee 2WD & 4WD 3389/90 FR

99-04 3521/22 FR

99-03 Grand 4WD (MOD : WJ) 3593/94 FR

06-07 3257/58 FR

90-92 All 3077/78 FR

90-92 2WD 3077/78 FR

84-90 All 3137/38 FR

90-97 All 3077/78 FR

82-89 All 3137/38 FR

90-92 All 4X2 3137/78 FR

85-86 All 3191/92 FR

79-84 All 3097/98 FR

90-84 All 3137/38 FR

95-90 4X4 3077/78 FR

95-90 4X4 3077/78 FR

86-82 All 3137/38 FR

Wrangler, Laredo, Renegade

CJ5, 6, 7, XJ, CJ8 Scrambler

Commanche

JAGUAR

XJ6, XJ12

DESCRIPTION ITEM NO(R/L) AXLE

JEEP

Cherokee, Grand Cherokee, Wagoneer, Grand Wagoneer

Comanche Sport Truck

Laredo, Renegade, Scrambler, Wrangler

J Series, Gladiator

Commander

32



MODEL

YEAR

SORENTO-Front 4051/52 FR

BONGO-Ⅲ 4047/48 FR

06-10 Optima 4063/64

10-13 Soul 4063/64

Besta

All 4009/10 FR

Hi Besta

All 4011/12 FR

Carnival All 3077/78 FR

FR

Presio

All 4037/38 FR

Pride

All 4007/08 FR

Sedona

All 4037/38 FR

Wide Bongo

All 4009/10 FR

Sephia All 4019/20 RR

Spectra All 4019/20 RR

Forte,Rio,

Rio5

                4059/60

Sportage                 4059/60

11-15 4065/66

02-98 4067/68 FR

09-06 Range Rover 1173/74

90-91 Sedan (RR) 2117/18 FR

90-92 All 2017/18 FR

91-90 2421/22

92-93 All 2181/82 FR

06-02 2379-80 FR

92-95 Sedan 2117/18 RR

98-00 GS400 2363/64 FR

98-05 GS300 2363/64 FR

90-92 Sedan (RR) 3001/02 RR

5/89-92 Sedan 2225/26 RE

KIA

                                                                      4035/36

GS400,GS300

LEXUS

ES250

ES300

LS400

DESCRIPTION ITEM NO(R/L) AXLE

LAND ROVER

33



MODEL

YEAR

98-02 Sport Utility 2347/48 FR

02-08 2363/64 FR

IS300

01-05 2429/30

96-97 Sport Utility 2341/42 RR

LX470

07-04, 03-03, 02-00 2461/62 RR

GX470

03-07 2443/44 FR

98-02 Navigator Suv 3325/26 RR

02-03 Blackwood 3325/26 RR

03-04 Navigator Suv 3403/04 FR

95-97 Town Car All 3207/08 FR

93-95 Continental All 3193/94 FR

90-95 Town Car w/Phenolic Piston 3183/84 FR

88-92 Continental w/Phenolic Piston 3163/64 FR

91-95 Town Car All (RR) 3243/44 RR

84-87 Continental All (rr) 3241/42 RR

75-79 All (RR) 3243/44 RR

88-93 All 3243/44 RR

88-89 Continental Models w/Phenolic Piston Caliper 3319/20 FR

89-88 Town Car RWD 3311/12 FR

87-80 All 3311/12 FR

03-04 Towncar A Body 3365/66 RR

93-02 DC Body 3249/50 RR

75-79 Sedan 3451/52 RR

98-02 Navigator F/S Sport Utility 3011/12 FR

03-07 Towncar Limousine 3325/26 RR

03-04 Towncar (A Body) 3601 FR

65-69 3461/62 RR

65-69 3641/42 FR

98-02 Town car (A Body) 3387/88 FR

88-92 Continental 3427/28 RR

02-01 Feb-01 FR

LEXUS TRUCK

LINCOLN

RX300

SC430

LX450

Continental, Town Car

DESCRIPTION ITEM NO(R/L) AXLE

LEXUS

34



MODEL

YEAR

93-95 VII All 3193/94 FR

84-90 VIII All (RR) 3241/42 RR

77-79 V All (RR) 3237/38 RR

75-76 IV (RR) 3237/38 RR

89-80 exc. Mark Vlll 3311/12 FR

91-92 Mark VII A3427/28 RR

77-80 All (RR) 3239/40 RR

02-03 Blackwood Sport Utility p/u 3415/16 FR

MKX

07 3437/38 FR

06-08 LT 3475/76 FR

73-93 w/2.88" Bendix 3557/58 FR/RR

81-86 GLC. RWD 2137/38 FR

81-83 S.W 2137/38 FR

81-85 GLC. Exc. S.W 2161/62 FR

05-01 MIATA 2407/08 FR

90-98 3037/38 FR

86-89 Sedan & Hatchback 2059/60 FR

94-99 Hatchback 3037/38 FR

92-94 Hatchback 3213/14 FR

93-96 All 2083/84 FR

7/83-2/84 All 2057/58 FR

88-92 All 2179/80 FR

98-02 Sedan w/2.0 LTR 4 Cyl 2083/84 FR

91 1.8/2.0 GE REAR, 2.5 GE REAR 2391/92 FR

12/83 After 2151/52 FR

92-95 All 3037/38 FR

92-95 2WD 2085/86 FR

89-91 Van & Wagon 2WD + 4 WD 2103/04 FR

92-96 4WD 2003/04 FR

323

Versailles

MAZDA

626, MX6

MX-3

MPV Van & S/W

Mark lll, IV, V, VI,VII, VIII

LINCOLN TRUCK

MACK

CS200, MS200

DESCRIPTION ITEM NO(R/L) AXLE

LINCOLN

35



MODEL

YEAR

94-98 2WD 2003/04 FR

94-95 B2300, 3000, 4000 3159/60 FR

86-93 B2600 2WD 2047/48 FR

86-92 B2200 & Diesel 2047/48 FR

8/85-88 B1800, 2000 2047/48 FR

95-96 All 3579/80 FR

76-85 B200, B2600 2135/36 FR

91-95 All 3159/60 FR

90-97 SE w/13" Wheel 3213/14 FR

90-94 LX w/14" Wheel 3037/38 FR

90-97 1.5L Sedan 3037/38 FR

87-89 Exc. MPV 2059/60 FR

76-85 B1800, B2000 2135/36 FR

91-94 NAVAJO 2WD/4WD 3489/90 FR

94 PICKUP B2300, B3000, B4000 3489/90 FR

95-02 PICKUP 4WD B2300, B3000, B4000 3507/08 FR

02-04 TRIBUTE 3475/76 FR

08-08, 06-05 Tribute 3827/28 FR

09/87 MB 100Van 1065/66 FR

05/77- 207D/209D, 208/210, 307D,308/310 1067/68 FR

09/96- BM638 V200&vv200CDI 1089/90 FR

03/99- V220 1089/90 FR

09/96- V230 & Turbo Diesel V280 1089/90 FR

03/96- BM638 Vito 108D&108CDI Vito 1110D& 110C 1089/90 FR

03/99- Vito 112 1089/90 FR

03/96- Vito 113 1089/90 FR

12/96- Vito 114 1089/90 FR

1/85-6/93 200D, 200CE & 200E, 250D 4DR, 300CE, 300D 1117/18 FRR

10/92-6/93 220CE & 200E 1117/18 FR

5/87-9/92 230CE, 1117/18 FR

1/85-9/92 230E, 260E 4DR, 300E 1117/18 FR

9/88-6/93 250D Turbo-Diesel 1117/18 FR

12/86-8/91 300D 4WD 1117/18 FR

5/85-8/91 260E 4WD 1117/18 FR

10/92-6/93 280E 4DR 1117/18 FR

9/87-6/93 300D Turbo-Diesel 1117/18 FR

11/86-6/93 300E 4WD 1117/18 FR

7/93 E200 Limousine & Coupe, E200 Diesel 1117/18 FR

E250 Turbo-Diesel Limousine, E280 4DR, E300

Navajo

MAZDA TRUCK

 Pick-up

 Protege Sedan

MERCEDES-BENZ

E220 Limousine & Coupe, E250 Diese Limousine 4DR

DESCRIPTION ITEM NO(R/L) AXLE

MAZDA

36



MODEL

YEAR

E300 Diesel, E300 Turbo-Diesel

7/84-8/88 W201 190E2.3 16V 1117/18 FR

9/88-5/93 190E 2.5 16V 1117/18 FR

86-89 560 SL 1131/32 FR

81-85 380 SL 3485/86 FR

81 380 SL 3485/86 FR

73-80 450 SL 3485/86 FR

73-80 450 SLC 3485/86 FR

77-80 280SE 3487/88 FR

78-85 380SD 3487/88 FR

84-85 380SE 3487/88 FR

81-83 380SEL 3487/88 FR

73-80 450SEL 3487/88 FR

84-85 500SEL 3487/88 FR

W124 REAR 1147/48 FR

85-93 280E, 4 Door (-ASR), 300CE, (-ASR), 300D 1147/48 RE

86-93 300D, 4WD, 300D Turbo-Diesel 1147/48 FR

93 E300, E300Diesel, E300Turbo-Diesel 1147/48 FR

88-93 W201 190E2.3 16V, 190E 2.5 16V 1147/48 FR

86-89 560SL 1161/62 FR

77-85 280SE, 380SD, 380SE, 380SEL 1163/64 FR

73-85 450SEL, 500SEL 1163/64 FR

1165/66 FR

W124 REAR 1167/68 FR

85-93 280E, 4 Door (-ASR), 300CE, (-ASR), 300D 1167/68 FR

86-93 300D, 4WD, 300D Turbo-Diesel 1167/68 FR

93 E300, E300Diesel, E300Turbo-Diesel 1167/68 FR

84-93 W201 190E2.3 16V, 190E 2.5 16V 1167/68 FR

09-03 E320, E350, E500, SL500 1139/40 FR

73-86 560SE, SEL, SE 1179/80

450SE, -SEL, -SEL6.9 1179/80

500SE, -SEL, -SEC 1179/80

76-79 300TD Wagon, 300TE Wagon 1181/82

02, 95- Sprinter 200-300 Series 1187/88 RR

06-06, 08-07 CL5500 1197/98 RR

06-06 E320 1197/98 RR

05-04 E320 AWD 1197/98 RR

05-05 E320 RWD 1197/98 RR

08-07 E350 1197/98 RR

06-06 E350 AWD, RWD Sedan 1197/98 RR

06-07 E350 RWD Sedan 1197/98 RR

06-05 E500 AWD, RWD 1197/98 RR

08-07 E550 1197/98 RR

03-04 SL500 1197/98 RR

10-08 C300 1203/04 RR

w/Cast Iron Caliper(2011) 1203/04 RR

73-68 220D 1211/12 FR

79-67 230 1211/12 FR

83-74 240D 1211/12 FR

72-70 250C 1211/12 FR

76-73 280C, 450SE 1211/12 FR

DESCRIPTION ITEM NO(R/L) AXLE

MERCEDES-BENZ

37



MODEL

YEAR

81-78 280CE 1211/12 FR

81-77 280E 1211/12 FR

80-77 280SE 1211/12 FR

85-78 300CD 1211/12 FR

85-74,76-76 300D 1211/12 FR

85-82 300DT 1211/12 FR

87-86 300SD, 300SDL 1211/12 FR

91-88 300SE, 300SEL 1211/12 FR

91-91 350SD 1211/12 FR

90-90 350SDL 1211/12 FR

85-84 380SE 1211/12 FR

83-82 380SEC, 380SEL 1211/12 FR

81-81 380SLC 1211/12 FR

91-86 420SEL 1211/12 FR

80-7. 450SEL 1211/12 FR

73-68 3309/10 FR

03-04 Marauder Sport Sedan 3365/66 RR

05-07 MONTEGO 3529/30 FR

65/67 COLONY PARK, COMMUTER, MARAUDER,

MO

3641/42 FR

5053/54 Marauder Sport Sedan 3601 FR

91-93 SA Australian Production 2059/60 FR

79-10/82 J U.S.A Production w/4Cyl. Exc. Turbo 3093/94 FR

79-81 J U.S.A Production w/4Cyl. Turbo 3093/94 FR

79 J U.S.A Production w/6Cyl. 3093/94 FR

11/82-86 J U.S.A Production w/4Cyl. 3147/48 FR

11/82-86 J U.S.A Production w/6Cyl. & 8Cyl. 3149/50 FR

68-73 All 3035/36 FR

68-71 COMET, MONTEGO 3513/14 FR

67-68 All 4 Piston Kelsey Hayes Type 3025/26 FR

93-97 All 3209/10 FR

89-92 w/Steel Piston 3165/66 FR

11/82-88 All 3149/50 FR

89-92 All 3163/64 FR

87-88 Turbo 3317/18 FR

87-88 sable w/abs 3427/28 RR

82-80 All 3311/12 FR

75-78 3451/52 RR

DESCRIPTION ITEM NO.(R/L) AXLE

MERCEDES-BENZ

MERCURY

Capri

Comet

Lynx, LN7

Capri (Cont'd)

Cougar & XR7

MERCURY (CONT'D)

Marquis, Montclair, Monterey

38



MODEL

YEAR

4/83-87 All 3145/46 FR

81-3/83 All 3115/16 FR

95-97 Passenger & Police 3207/08 FR

90-93 Exc. Police & Taxi 3183/84 FR

92-95 All (RR) 3243/44 RR

03-04 Grand Marquis (A Body) 3365/66 RR

75-78 Marquis (RR) 3235/36 RR

98-96 Grand Marquis 3315/16 FR

92-95 Grand Marquis Passenger & Police 3243/44 RR

89-80 Exc. Police & Taxi 3311/12 FR

03-04 Grand Marquis (A Body) 3601 FR

65-67 Montclair 3461/62 FR

98-02 Grand Marquis (A BODY) 3387/88 FR

02-01, 00-98 3801/02 FR

02-98 Passenger 3839/40

11/82-86 Marquis MG All 3149/50 FR

88-89 Scorpion 1015/16 RR

85-88 XR4Ti w/Large (10mm) Clip Hole 3057/58 FR

88-89 All 1011/12 FR

75-78 All (RR) 3239/40 RR

95-97 All 3139/94 FR

95-98 All 3203/04 FR

94-95 All 3193/94 FR

86-95 w/Phenolic Piston 3163/64 FR

89-93 SHO & Wagon 3163/64 FR

93-03 Sedan & Wagon (MS Body) 3249/50 RR

91-92 w/ABS A3427/28 RR

84-94 All 3145/46 FR

91-98 w/13" Wheel 3213/14 FR

90-96 w/13" Wheel 3213/14 FR

91-97 w/14" Wheel 3037/38 FR

87-90 Sedan 2059/60 FR

93-97 All 3205/06 FR

11/82-83 All 3149/50 FR

Grand Marquis, Marquis, Colony Park, Montclair

Marquis

Merkur

Monarch

Mystique

Sable

Topaz

Tracer

Villager

Zephyr

DESCRIPTION ITEM NO.(R/L) AXLE

MERCURY (CONT'D)

39



MODEL

YEAR

97 All 3579/80 FR

06-07 3259/60 FR

02-03 Suv 2309/10 RR

02-04 Suv 3411/12 FR

96-01 L/Rear 3047/48 RR

97-01 MOUNTAINEER 2WD & AWD 3507/08 FR

02-03 SUV REAR 2309/10 RR

89-94 All 3265/66 FR

94-91 3299/3300 FR

87-95 3029/30 FR

96 L200 2000i, 2400i, 2500D , 2500TD K6 2401/02 FR

94 Pajero 2500 Diesel, V34, 2500TD, V24,V34 &V4 2401/02 FR

94-91 Pajero 2800 Diesel, V36/2800TD, V46, 3000i, V 2401/02 FR

98-94 Pajero 3000, V6 GLS, K9, 3500i, V25 & V45 2401/02 FR

94 Space Gear 2.4, PD4V/W, 4WD, 2.5TD, PD5V/ 2401/02 FR

6/92-96 Coupe 1.5Ltr 2Dr. 3071/72 FR

84-90 All 3053/54 FR

09-07 3827/28 FR

83-89 Coupe 3065/66 FR

03-02 Cooper 1219-20 RR

87-95 All 3029/30 FR

87-96 Mighty Max & Spx Pickup 2187/88 FR

87-90 Passenger Van 2187/88 FR

89-93 3031/32 FR

87-95 3033/34 FR

06-03 2419/20 FR

83-87 4WD 3067/68 FR

87-89 Precis Solid Rotor 3251/52 FR

06-01 2377/78 FR

01-06 2359/60 FR

Starion

Lancer

Montero

MITSUBISHI TRUCK

MITSUBISHI TRUCK

MERCURY TRUCK

DESCRIPTION ITEM NO.(R/L) AXLE

Mountaineer

Mirage

MINI

40



MODEL

YEAR

6/82-4/86 4WD 3067/68 FR

6/82-4/86 2WD 3069/70 FR

80-86 2WD 3465/66 FR

06-07 3435/36 FR

88 Patrol Y60 2.8 TD 2393/94 FR

08 VERSA 2387/88 FR

5/87-88 Sedan & Coupe 4Cyl. (CA 20E Engine) 2033/34 FR

6/86-88 Sedan & Coupe 4Cyl. Turbo 2033/34 FR

73-75 B210 2145/46 FR

75-82 B210 2131/32 FR

81-83 2171/72 FR

86-88 4Cyl 2127/28 FR

78-05/81 200SX 2123/24 FR

11/94-8/97 Coupe 2.0 2343/44 FR

95-98 2367/68 RE

92 Coupe Exc. Turbo From 4/92 2381/82 FR

93-96 2381/82 FR

03-07 350Z, Murano, Quest 2385/86 FR

97-84 Non-Turbo 2219/20 FR

89 300ZX Coupe & Convertible Z31 Exc. 87 Turbo 2035/36 FR

84-86 300ZX Coupe & Convertible Z31 Exc. Turbo 2035/36 FR

79-83 280ZX 2119/20 FR

79-81 280ZX 2121/22 FR

79-83 310 Tokico 2147/48 RE

92 Coupe Exc. Turbo From 4/29 2361/62 FR

82-06/84 Maxima 2127/28 FR

84-88 Maxima 2129/30 FR

86-89 Stanza 2129/30 FR

81-06/84 Maxima 2173/74 RE

04/96-07/00 2.0i GTI 2271/72 RR

01/98-07/00 Diesel 2.0 2271/72 RR

96-00 2.0i - 2.0i GTI REAR 2405/06 FR

98-00 Diesel 2.0 REAR 2405/06 FR

98-00 1.4i with ABS REAR 2405/06 FR

98-00 1.6i with ABS REAR 2405/06 FR

Pick-up

Raider

280Z, 280ZX, 300ZX

810, 910

Almera

200SX

300ZX

NISSAN

DESCRIPTION ITEM NO.(R/L) AXLE

MITSUBISHI TRUCK

41



MODEL

YEAR

01/98-07/00 1.4i w/ABS 2271/72 RR

93-97 Sedan 2067/68 FR

02-04 Sedan 2313/14 RR

02-04 Sedan 2319/20 FR

93-01 Sedan 2325/26 FR

7/91- P10 2303/04 RR

10/96-6/96 P10 2353/54 RR

89-94 Sedan J30, A32B 2067/68 FR

84-88 All 2129/30 FR

2/94-98 Sedan 2269/70 RR

82-84/6 All 2127/28 FR

07/84-11/87 All 2175/76 FR

94-98 Sedan(Mod:A32B) REAR 2403/04 FR

04 Sedan 2313/14 RR

91-93 B13, 1.6Ltr w/240 x 18mm Rotor 2071/72 FR

91-94 1.6 Exc ABS 2071/72 FR

2/92-93 2.0L 2337/38 FR

90-94 Sedan & S/W B13 1.6Ltr w/240 x 18mm Rotor 2071/72 FR

82-01/86 Sedan 2125/26 FR

83-86 Sedan Diesel Engline 2169/70 FR

8/90-94 2.0L 2337/38 FR

8/98-99 1.6(B14X) 2343/44 FR

7/98-99 2.0(B14X) 2343/44 FR

95-99 2367/68 RE

06-05, 04, 03-02, 01-00 2431/32

90-93 All 2067/68 FR

84-1/86 Exc. S/W 2053/54 FR

11/82-83 Sedan & S/W 2053/54 FR

86-89 All 2129/30 FR

07-04 ARMADA,  TITAN 3653/54 FR

98-04 Frontier 3423/24 FR

07-03 Murano 2457/58 FR

11-08 Rogue 2469/70 FR

82-89/11 All 2129/30 FR

DESCRIPTION ITEM NO.(R/L)

NISSAN (CONT'D)

Pulsar, NX, NX Coupe

NISSAN TRUCK

620, 720, Pickup, D21

Maxima

Sentra

Stanza

Altima

Primera

AXLE

NISSAN

42



MODEL

YEAR

92-97 D21 Pickup 3423/24 FR

89-92 All 2067/68 FR

87-90 All 2087/88 FR

89-95 All 2087/88 FR

7/97-12/98 4WD 2279/80 FR

88-95 SE6 CYL 2333/34 RR

05-07 2357/58 FR

87-88 Pathfunder 4WD 2019/20 FR

9/89-97 D21 2WD w/6Cyl. 2087/88 FR

9/89/92 D21 4WD w/4&6Cyl. 2087/88 FR

89-95 2WD w/6Ctl. 2087/88 FR

93-97 All 3205/06 FR

87-90 GC22/W-W, Dual Piston 2087/88 FR

00-01 SENTRA 2.0L 2067/68 FR

02-04 SENTRA 2.5L SE-R Exc. V-SPEC 2067/68 FR

97 Bravada 3257/58 FR

98 Bravada 3259/60 FR

02-03 Bravada Suv 2321/22 RR

98-02 Intrigue W Body 3357/58 FR

98-03 Bravada 3813/14

01-97 Light Trucks & Vans 3857/58 RR

99-03 N Body-P90 3459/60 FR

92-95 Achieva 3179/80 FR

91 Calais 3179/80 FR

85-87 Calais 3331/32 FR

97-99 N Body-P90 A3459/60 FR

82-88 All 3091/92 FR

91-96 Cutlass Ciera - A Body 3217/18 FR

84-90 All 3175/76 FR

03-04 Minivan 3453/54 FR

Cutlass, Supreme, Calais, Custom Cruiser RWD

Silhouette

OLDSMOBILE

Achieva, Cutlass Calais FWD

Axxess

Passenger

Pathfinder

Pick-up

Quest

Wagon

SENTRA

Alero

DESCRIPTION ITEM NO.(R/L) AXLE

NISSAN TRUCK

43



MODEL

YEAR

96-94 All 3021/22 FR

84-89 All 3175/76 FR

82-83 L.D JA1 3101/02 FR

88-97 All 3107/08 FR

94-95 All (RR) 3019/20 RR

88 w/Auto. Transmission (RR) 3229/30 RR

88 w/Man. Transmission (RR) 3233/34 RR

69-72 All 3017/18 FR

89-95 All 3233/34 RR

85-90 FWD 3175/76 FR

78-80 Metric Inlet 3103/04 FR

84-78 All 3287/88 FR

67-68 98 3479/80 FR

Firenza

82-83 w/Vented Rotor 3101/02 FR

84-88 3331/32 FR

82-84 w/Solid Rotor 3129/30 FR

89-93 All 3233/34 RR

82-83 All 3101/02 FR

80-81 FWD 3101/02 FR

78-79 RWD w/Metric Inlet 3103/04 FR

73-74 All 3015/16 FR

79-78 3287/88 FR

74-73 3281/82 FR

91 All 3181/82 FR

94-96 Brougham 3021/22 FR

92-95 All 3181/82 FR

91 All 3217/18 FR

90 All 3175/76 FR

86-91 All 3167/68 FR

79-81 All 3223/24 FR

Brougham, Regency- Elight (FWD)

Cutlass Ciera, Cutlass Cruiser FWD

Cutlass Supreme FWD

Delta, 88, Royal LS, LSS FWD

Delta, 88, 98, Custom Cruiser, Royale RWD

OLDSMOBILE

OLDSMOBILE (CONT'D)

F/85. Cutlass Vista Cruiser

Regency, Regency Elite FWD

Silhouette, Van

 Toronado, Trofeo

Omega

DESCRIPTION ITEM NO.(R/L) AXLE

44



MODEL

YEAR

79-85 RWD (RR) 3225/26 FR

86-91 All (RR) 3231/32 RR

85-79 All 3285/86 RR

67-68 3643/44 FR

67-68 3463/64 FR

88-91 S/W 1003/04 RR

88-91 405, S.W 1009/10 RR

07.96-10.01 Partner 1185/86 FR

74-70 3297/98 FR

Duster, Scamp, Valiant 3247/48 RR

91-95 L.D w/14" Wheel 3187/88 FR

91-94 All 3185/86 FR

90 2 Pin 3439/40 FR

70-74 All 3049/50 FR

70-74 Barracuda 3297/98 FR

77 w/Slider Type Casting 3087/88 FR

70-72 All 3049/50 FR

75-81 3087/88 FR

70-72 Roadrunner 3297/98 FR

70-72 Satellite 3297/98 FR

84-87 All 3123/24 FR

79-83 Champ Sumitomo-1 Piston 3251/52 FR

85-87 2 Pin 3439/40 FR

85-90 1.5Ltr. 3Dr. 4Dr 2WD S/W 3053/54 FR

93-94 2Dr 3071/72 FR

75-81 w/Slider Type Casting 3087/88 FR

74 All 3157/58 FR

82-89 All 3117/18 FR

75-77 All 3089/90 FR

PLYMOUTH (CONT'D)

Belvedere, Roadrunner, Satelite RWD

 Caravelle, SE, Turbo

Fury, Sport, Vip Salon

Colt

Grand Fury

PLYMOUTH

Baracuda, Cuda RWD

PEUGEOT

405

Acclaim

DESCRIPTION ITEM NO.(R/L) AXLE

OLDSMOBILE (CONT'D)

45



MODEL

YEAR

83-90 All 3089/90 FR

89-94 All 3265/66

84-90 All 3053/54 FR

94-97 All 3211/12 FR

83-90 L.D 9.5" Rotor 3121/22 FR

83-87 H.D 10.5" Rotor 3123/24 FR

91-95 All 3187/88 FR

87-90 L.D Exc. Turbo 3121/22 FR

87 H.D Turbo 3123/24 FR

98-96 All 3295/96 FR

95-92 All 3299/3300 FR

94-91 All 3299/3300 FR

80 All 3117/18 FR

76-79 All 3087/88 FR

80-86 2WD 3069/70 FR

75-81 Fire Arrow Sumitomo-1 Piston 3253/54 FR

80-83 2WD 3465/66 FR

78-91 3089/90 FR

83-84 3139/40 FR

84-83 3089/90 FR

97-96 3005/06 FR

95-91 3185/86 FR

95-91 3189/90 FR

95-91 3187/88 FR

90-88 3155/56 FR

90-88 3153/54 FR

88-87 3157/58 FR

87 3155/56 FR

Horizon, TC3, Turismo

PLYMOUTH TRUCK

Voyager, Grand Voyager

Import

Neon

Reliant

Sundance

Breeze

Col Vista

LASER

Volare

 Arrow Pick-up

Scamp

PB100, 150, 200, 250, 300, 350 (Van)

PLYMOUTH (CONT'D)

DESCRIPTION ITEM NO.(R/L) AXLE

46



MODEL

YEAR

87 3153/54 FR

86-84 3153/54 FR

97-99 3457/58 FR

02-03 2323/24 FR

01-04 2307/08 RR

99-97 Grand Voyager 3831/32 RR

05 G6 3527/28 FR

05-06 Montana 2WD, AWD 3815/16

08-07 GS 3823/24 FR

06-05 Pursuit(Canada) 3823/24 FR

09-08 C8 3851/52 RR

83-89 H.D JA2, JA3, J41 3175/76 FR

83-84 L.D JA1, M.D JA8 3101/02 FR

82 All 3101/02 FR

84-89 H.D 3175/76 FR

91 Sedan & Wagon 2WD

83 STE 1815-2000Kg 3175/76 FR

02-04 w/All Wheel Drive 3453/54 FR

87-91 All 3175/76 FR

82-86 All 3091/92 FR

00-04 H Body Bonneville w/17" & 18" Wheels 3339/40 FR

00-04 H Body Bonneville w/16" Wheels 3353/54 FR

78-80 RWD 3103/04 FR

00-04 H BODY BONNEVILLE W/17" % 18" WHEELS 3353/54 FR

69-70 Executive 3097/98 FR

92-95 All 3177/78 FR

90-91 All, Transport APV 3217/18 FR

94-97 Bonneville 3021/22 FR

87-95 Bonneville 3175/76 FR

69-70 Catalina 3075/76 FR

93-95 All 3177/78 FR

82-92 Standard Brake 3091/92 FR

78-80 Metric Inler 3103/04 FR

94-97 All 3021/22 FR

98-02 F Body 3455/56 FR

Bonneville, Catalina, Safari, Safari Wagon

PONTIAC (CONT'D)

Bonneville SE, SSE, SSEi

Firebird, Trans AM

PONTIAC

DESCRIPTION ITEM NO.(R/L) AXLE

PLYMOUTH TRUCK

6000LE, SE, STE

Aztek

47



MODEL

YEAR

82-88 All (RR) 3227/28 RR

88-82 All 3293/94 RR

81-78 All 3287/88 FR

69 3281/82 FR

99-04 3345/46 RR

91-97 All 3179/80 FR

99-04 A3459/60 FR

88-96 FWD 3107/08 FR

82-88 RWD 3091/92 FR

94-95 All (RR) 3019/20 RR

89-93 w/Manual Transmission (RR) 3233/34 RR

88 w/Auto. Transmission (RR) 3229/30 FR

97-03 Grand Prix 3357/58 FR

69-72 All 3017/18 FR

88 Man. Trans. 3233/34 RR

67-68 3479/80 FR

95 Sunfire 3179/80 FR

92-94 Sunbird 3179/80 FR

91-84 All 3131/32 FR

82-83 w/Vented Rotor 3101/02 FR

82-83 w/Solid Rotor 3129/30 FR

89-84 All 3331/32 FR

83-82 Solid Rotor 3289/90 FR

82-83 All 3101/02 FR

80-81 FWD 3101/02 FR

78-79 RWD 3103/04 FR

83-87 All 3135/36 FR

81-82 All 3111/12 FR

81-87 All 3287/88 RR

94-87 All 3329/30 FR

87-94 3033/34 FR

87-84 8325/26 FR

94-87 All 3329/30 FR

87-94 3033/34 FR

87-94 3329/30 FR

86-83 All 3287/88 RR

Grand AM

Grand Prix

 Phoenix

T1000

Fiero

Lemans

Bonneville, Catalina, Safari, Safari Wagon

Firebird, Trans AM (Cont'd)

J2000, Sunbird, Sunfire

DESCRIPTION ITEM NO.(R/L) AXLE

PONTIAC (CONT'D)

Parisienne

48



MODEL

YEAR

88-87 3059/60 FR

79-78 All 3287/88 RR

74-71 Ventura ll 3281/82 FR

92-95 All 3181/82 FR

91 All 3217/18 FR

90 All 3175/76 FR

94-97 All 3021/22 FR

06 3261/62 FR

97-99 9-5 2.0 Turbo REAR 1157/58 FR

98-99 9-5 3.0 V6 Turbo REAR 1157/58 FR

97-99 9-5 2.3 Turbo REAR 1157/58 FR

87-86 2031/32 FR

78-87 All/Tous, W/Solid Rotor 1017/18 FR

9/97-9/99 2.3 Turbo 1027/28 FR

01/98-9/99 3.0 V6 Turbo 1027/28 FR

9/97/9/99 2.0 Turbo 1027/28 FR

09-07, 05-05, 04-02 1201/02 RR

SM625 2271/72 RE

SM5 2405/06 FR

TRK YAMOUZINE 4033/34 FR

91-97 Sedan & Coupe & Wagon 3369/70 FR

91-96 SC 3009/10 FR

09-08 3535/36 RR

07-04 ION 3823/24 FR

04-07 3261/62 FR

Sunburst (CANADA)

Phonenix, Ventura ll

Trans Sport Van

Torrent

900

9-5

SAMSUNG

SATURN

 Saturn

VUE

PONTIAC TRUCK

SAAB

SATURN TRUCK

DESCRIPTION ITEM NO.(R/L) AXLE

PONTIAC (CONT'D)

49



MODEL

YEAR

11-08 xB 2485/86 RR

90-94 All 2185/86 FR

 Brat

83-86 All 3055/56 FR

90-95 All 3261/62 RR

90-98 Wagon 4WD & Outback 2335/36 RR

95-96 2WD Wagon 2335/36 RR

93-96 4WD Wagon 2335/36 RR

98 Sedan&Coupe 2335/36 RR

85-86 Sedan 2Dr. 3055/56 FR

84 All 3055/56 FR

80-82 1600, 1800, DL, GL, GF, GLF, XT 3255/56 FR

1600, 1800 3063/64 FR

07-06 B9 Tribeca 2463/64 RR

09-08 Tribeca 2463/34 RR

03-99 Grang Vitara 2447/48 FR

03-01 XL-7 2447/48 FR

91-97 2Dr. 2073/74 FR

91-97 4Dr. 2077/78 FR

89-90 All 2073/74 FR

96-89 2Dr. Conv 2203/04 FR

98-96 4Dr. 2447/48 FR

84-91 2000 Turbo D & DX (J115) 3481/82 RR

83 Turbo R1365 3481/82 RR

86 GTX/TXE 3483/84 FR

87 TD 3483/84 FR

3481/82 FR

82 R18 3481/82 FR

SUBARU

Legacy

Impreza

Sedan, S/W

SUZUKI

RENAULT

Sidekick

Espace

Fego

Nevada

R18, R21, R25, R30

DESCRIPTION ITEM NO(R/L) AXLE

SCION

SUBARU TRUCK

50



MODEL

YEAR

84 R25 3481/82 FR

84 R30 3481/82 FR

87 R21 3483/84 FR

90-95 All 2195/96 FR

88-92 All 2183/84 FR

92-88 3333/34 FR

03-01 PRIUS 2383/84 FR

91-96 2.2, SXV 10, Carina E 1.6, AT190 (28mm.Disc 2389/90 FR

92-96 1.8, 2.0i, ST191, 2.0 Diese, 2.0 Turbo-diesel 2389/90 FR

96 Picnic 2.0/2.2D SMX10/CM10 2389/90 FR

96 Sports Van 2.0/2.2D SMX10/CMX10 2389/90 FR

96-00 RAV 4 Sport Utility 2345/46 FR

9/87-91 SV21, SZV21, SV25 AWD 2017/18 FR

8/86-9/87 SV21 2093/94 FR

8/85-7/86 CV11, SV11 2037/38 FR

9/93-95 S/W w/4Cyl. (RR) 2117/18 FR

3/92-9/94 S/W w/6Cyl. Exc. ABS (RR) 2117/18 FR

88-95 Sedan All (RR) 2117/18 FR

86 All 2001/02 FR

92-96 6Cyl. 2181/82 FR

92-96 4Cyl. 2197/98 FR

02- Sedan 4Cyl. & 6Cyl. "LE" 2349/50 FR

02- Sedan 6Cyl. "SE"&"LXE" 2349/50 FR

06-02 2379/80 FR

92-93 Camry 2.2 &3.0 V6, SXV10 & VCV10 Wagon 2389/90 FR

06-02 4cyl, 6cyl LE 2311/12 RR

91-90 2421/22

01-00 2435/36 RR

06-04, 03-02 2437/38 RR

Avalon

00-04 2425/26

07-05 2437/38 RR

04-00 2471/72 FR

89-92 All 2011/12 FR

77-80 All 2141/42 FR

88-93 FWD ST162, GT-S w/ABS 2017/18 FR

TOYOTA (CONT'D)

Cressida

Celica

TOYOTA

 Camry

DESCRIPTION ITEM NO(R/L) AXLE

RENAULT

51



MODEL

YEAR

94-95 All 2181/82 FR

88-89 GE-S w/ABS 2017/18 FR

90-91 All 2093/94 FR

86-89 ST, GT 2037/38 FR

86-91 All 2001/02 FR

93-92, 91-90, 89-88 2421/22

1/86-92 MA7 2111/12 FR

81-85 RWD 2163/64 FR

8/88-7/92 MX83 2115/16 FR

8/84-7/88 MX3 Sedan, MX72 S/W 2043/44 FR

97-93 All 2001/02 FR

93-97 All 2001/02 FR

83-87 FWD 2155/56 FR

9/86-88 3073/74 FR

87-88 FX16 3073/74 FR

70-74 2TC 2133/34 FR

74-79 3KC 2139/40 FR

74-79 w/Anti-Rattle 2149/50 FR

75-79 Corolla 2TC 2143/44 FR

83-88 Coupe 2167/68 FR

8/89-8/90 Sedan All-Trac 2015/16 FR

8/89-92 Wagon All-Trac 2015/16 FR

80-08/83 Sumitomo- 1 Piston 2165/66 FR

02-98 2369/70 FR

93-97 Sedan & Wagon (Mods:AE101/AE102) 2001/02 FR

74-82 Sumitomo- 2 Piston 2141/42 FR

8/86-7/88 AW11 2041/42 FR

96 All 2195/96 FR

8/82-1/88 AL21, 25 2091/92 FR

79-8/82 AL10, 12 2089/90 FR

96-91 All 2195/96 FR

09-03 4 Runner 2427/28

11-07 FJ Cruiser 2427/28

03-07 4 Runner 2443/44 FR

08-04 Sienna 2445/46 RR

Celica Supra, Supra

Corolla, FX-16

DESCRIPTION ITEM NO(R/L) AXLE

TOYOTA (CONT'D)

Cressida

Paseo

FR

MR2

TOYOTA TRUCKS

52



MODEL

YEAR

07-06 RAV 2447/48 FR

08-05 Tacoma 2453/54 FR

08-03 4Runner 2455/56 RR

08-07 FJ Cruiser 2455/56 RR

08-06 RAV4 2456/60 RR

07-40, 03-03, 02-00 Land Cruiser 2461/62 RR

88-93 All 1013/14 RR

85-89 All 1023/24 RR

93-96 1.9 Turbo Diesel, 55kW, 1.9 Turbo Diesel, 55kW 1151/52 FR

94-96 2.0 Syncro,4WD 1151/52 FR

92-94 Vento 1.6, Aut., 55kW CH1S430001-, 1.6 CL/G 1151/52 FR

67-72 W/Single Pin 1019/20 FR

73-73, 72-71 1207/08 FR

2/93-94 G60 & VR 6 1011/12 RR

3/90-2/93 G60 & VR 6 1013/14 RR

75-77 A.T.E 3249/50 RR

2/93-96 All (RR) 1011/12 RR

90-2/93 All (RR) 1013/14 RR

85-89 All (RR) 1001/02 RR

94 Golf III 1.6 CL/GL, 74kW, (-ABS) 1151/52 FR

85-89 All (RR) 1023/24 RR

96-98 Passat IV 1.6&1.8, 1.8 Syncro, 4WD (1/98-), 1 1155/56 FR

96 Passat IV Variant 1.9 Tdi, 66kW 1155/56 FR

2/93-96 All (RR) 1011/12 RR

5/90-9/92 All (RR) 1013/14 RR

85-1/88 GL. Gli (RR) 1001/02 RR

85-1/88 Sedan (RR) 1023/24 RR

05-00 1217/18

86-88 All (RR) 1001/02 RR

86-88 Scirocco Sports (RR) 1023/24 RR

07/95 T4 15" 1025/26 FR

Karman Ghia, Super Beetle

VOLKSWAGEN (CONT'D)

Jetta, Jetta lll

DESCRIPTION ITEM NO(R/L) AXLE

TOYOTA TRUCKS

VOLKSWAGEN

Dasher

Carrado

Golf, Golf lll

Passat

Scirocco

Transporter

53



MODEL

YEAR

75-96 LT 28-31, LT 35 1123/24 FR

72-90 Typ.2 1043/44 FR

8/78-11/80 LT 40/45 1175/76

12/82-96 LT 50 1175/76

8/85 LT 55 1175/76

04.97- LT 35 1187/88 RR

70-72 All 1029/30 FR

85-78 All 1041/42 FR

71-71 All 1043/44 FR

72-68 Transporter 1183/84

72 Type 2 1183/84

03-01 Eurovan 1215/16

92-85 2 INLETS 1039/40 FR

92-84 740, 760, 780, 940, 960 1027/28 FR

90-84 740, 760, 780, 940, 960 1033/34 FR

90-88 1 INLET 1045/46 FR

82-86 740, 760, 780 1047/48 FR

1031/32 FR

06/75- 262-264-265 1113/14 FR

09/80- 242-244-245 1113/14 FR

09/80- 244 Turbo w/2 Inlets 1115/16 FR

06/75- 262-264-265 w/2 Inlets 1115/16 FR

96 S40/V40 1.6 REAR, 1.8 REAR 1143/44 FR

98-97 2.0/2.0T Turbo REAR, S70 2.0, 2.3, 2.5 & 2.5T 1143/44 FR

97-00 V70 2.0, 2.3, 2.5 & 2.5Tdi REAR 1143/44 FR

04/82 1027/28 FR

04/82 1031/32 FR

04/82 1033/34 FR

91-92 Sedan w/ABS 1101/02 FR

04/82 1105/06 FR

04/82-90 With ABS 1027/28 FR

04/82 1031/32 FR

04/82 1033/34 FR

04/82 1105/06 FR

92.04-82.08 ALL 1213/14

740

760

VOLVO

Van

VOLKSWAGEN TRUCK

DESCRIPTION ITEM NO(R/L) AXLE

VOLKSWAGEN (CONT'D)

54



MODEL

YEAR

86 1027/28 FR

86 1031/32 FR

86 1033/34 FR

91 Bertone Coupe 1101/02 FR

86 1105/06 FR

87.05- 1213/14

93 Sedan 4DR 1111/12 FR

93 Wagon 5DR 1111/12 FR

08/90 1027/28 FR

08/90 1031/32 FR

08/90 1033/34 FR

91-95 Sedan & Wagon w/ABS 1101/02 FR

08/90 1105/06 FR

08/90 1105/06 FR

64-68 1159/60 FR

64-68 1125/26 FR

6/97- T-5 1055/56 FR

98-00 Sedan w/15" Wheels 1111/12 FR

98-00 Wagon w/15" Wheels 1111/12 FR

12/96- 1055/56 FR

780

850GLT

940, 960

Amazone

VOLVO (CONT'D)

C70

S70

V70

DESCRIPTION ITEM NO(R/L) AXLE

VOLVO

55



MODEL

YEAR

Al 2 Piston

6028/29 RR/FR

6031/32 RR/FR

6013/14 RR/FR

Al 4 Piston

6001/02 RR/FR

6003/04 RR/FR

6005/06 RR/FR

6007/08 RR/FR

6009/10 RR/FR

6011/12 RR/FR

6015/16 RR/FR

6017/18 RR/FR

6019/20 RR/FR

6033/34 RR/FR

Al 6 Piston

MONO BOLCK 6035/36 RR/FR

6023/24 RR/FR

6025/26 RR/FR

6027/28 RR/FR

6037/38 RR/FR

DESCRIPTION ITEM NO.(R/L) AXLE

TUNINR & RACING CAR, Carbon-Ceramic Disc

56



REAR

OEM No.: 191615424A(RH)

Bore Size: 36.15

Air Gap: 50.8

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 1832-5/1831-5

Application

AUDI 80, 90 2WD Sedan (88-10/87); 5000 2WD S.W (11/87-8/83);

         Coupe, Coupe GT 2WD Coupe (87-1/87)

VOLKSWAGEN Golf, Golf lll Hatchback (89-85); Jetta lll Sedan (1/88-85); Scirocco Sports Coupe(88-86)

REAR

OEM No.: 853615424(RH)

Bore Size: 38.22

Air Gap: 55.2

Pin Mounting: 118.0

Port Size: M10x1.0

casting No.: 2619-3/2618-3

Application

AUDI 80, 90 2WD Sedan (92-10/87); 100 2WD 2.8Ltr. S.W (3/93-92);

         100 2WD 2.3 Ltr. (91-89) 200 2WD Turbo S.W (92-89)

PEUGEOT 405 S.W (91-88)

REAR

OEM No.: 8A0615423

Bore Size: 38.22

Air Gap: 55.2

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 2625-4/2624-4

Application

AUDI: (92-87) 80 1.8 Quattro all(12/87-09/91), 100 1.8 Quattro(01/88-12/90)

90 2.0 Quattro(08/88-09/91), 90 2.0 Quattro(01/88-09/91)

90 2.2 Quattro(2/87-09/91) Coupe 2.2(08/84-10/88) Coupe 2.2 Quattro(11/88-  )

OEM No.:

Bore Size: 36.15

Air Gap: 51.0

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 1693/1692

Application

AUDI: (88-83) 80 1.8  Quattro, 66Kw, Ch. 89 J 240000(09/86- ). 

80 1.8  Quattro, 82Kw, Ch. 89 J 240000(09/86- ). 

80 1.8  Quattro (08/84-08/86)

80 2.0  Quattro (08/83-07/84)

80 1.8  Quattro (09/86-11/87)

80 2.2  Quattro (09/83-03/87)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1001/02 R/L

1003/04 R/L

1005/06 R/L

1005-1/06-1 R/L



REAR

OEM No.: 8A0615423A

Bore Size: 38.22

Air Gap: 55.0

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 406113/406013

Application

AUDI: (95-93) Coupe 2.0,  Cabrio 2.0-2.8, 100 2.0-100 2.8,  A6 2.0 16V  (06/94-02/97)

A6 Avant 1.5-2.5 TDI (06/94-12/95) , Coupe 2.6 (5/93-96)

REAR

OEM No.:

Bore Size: 38.22

Air Gap: 55.2

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 2710-7/2709-7

Application

PEUGEOT 405 S.W (88-91)

REAR

OEM No.: E7RY2552A(RH)

Bore Size: 42.90

Air Gap: 48.7

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 0659-4/0658-4

Application

MERCURY Merkur Scorplo (89-88)

FORD

REAR

OEM No.:

Bore Size: 38.22

Air Gap: 50.8

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 2729-5/2728-5

Application

Corrade G60&Vr 6(90-93), Golp Golp111(90-93), Scirocco Sports Coupe(86-88)

(05/90-09/91)

Jetta Jetta 111 (88-93)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

Passat Sedan& S/W

VOLKSWAGEN (93-88)

1011/12 R/L

1013/14 R/L

1007/08 R/L

1009/10 R/L



REAR

OEM No.: E7RY2552A

Bore Size: 42.90

Air Gap: 48.70

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 0659-7/0658-7

Application

MERCURY Merkur Scorpio (89-88)

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: N/A

Pin Mounting: 89.00

Port Size: M10x1.0

Casting No.:

Application

SAAB 900 (78-87)

FRONT

OEM No.:

Bore Size: 42.00

Air Gap: N/A

Pin Mounting: 56.50

Port Size: M10x1.0

Casting No.:

Application

VOLKSWAGEN Beetel(67-72)

FRONT

OEM No.:

Bore Size: 56.80

Air Gap: N/A

Pin Mounting: 86.70

Port Size: M10x1.0

Casting No.: 281615107/108

Application

VOLKSWAGEN Transpoter

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1015/16 R/L

1017/18 R/L

1019/20 R/L

1021/22 R/L



REAR

OEM No.:

Bore Size: 36.15

Air Gap: 50.8

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 2451-1/2450-1

Application

VOLKSWAGEN Golf, Golf III, Hatchback (85-99)

Jetta III Sedan (85-1/88)

Scirocco Sports Coupe (86-88)

FRONT

OEM No.:

Bore Size: 36.15

Air Gap: 50.8

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: 2451-1/2450-1

Application

VOLKSWAGEN (89-85)

FRONT

OEM No.: 1330416-7/1330417-5

Bore Size: 36.00

Air Gap: 62.2 X 21.3

Pin Mounting: 82.5

Port Size: M10x1.0

Casting No.: 38

Application

VOLVO (92-84) 740(04/82- ), 760 (04/82- ), 780 (86- )

SAAB 9-5 2.3 Turbo 9/97-9/99

9-5 3.0 V6 Turbo 01/98-9/99

9-5 2.0 Turbo 9/97-9/99

FRONT

OEM No.:

Bore Size: 53.80

Air Gap: N/A

Pin Mounting: 87

Port Size: M10x1.0

Casting No.:

Application

Volvo (70-72)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1023/24 R/L

1027/28 R/L

1025/26 R/L

1029/30 R/L



FRONT

OEM No.: 1330414-2/415-9

Bore Size: 36

Air Gap: 62.2 X 21.3

Pin Mounting: 82.5

Port Size: M10x1.0

Casting No.: 36

Application

Volvo 740(04/82- ), 760 With ABS(04/82-90)

780(86)

940(08/90- ), 960(08/90- )

FRONT

OEM No.: 1387945-7(L) / 1387946-5®

Bore Size: 40.00

Air Gap: 46.20

Pin Mounting: 82.4

Port Size: M10x1.0

Casting No.: 40

Application

VOLVO 740(04/82- ), 760(04/82- ), 780(76- ), 940(08/90- ), 960(08/90- )

FRONT

OEM No.:

Bore Size: 57.10

Air Gap: 73.20

Pin Mounting: 94.00

Port Size: M10x1.0

Casting No.: 57/25 BMW

Application

BMW (89-84)

FRONT

OEM No.:

Bore Size: 40.50

Air Gap: 66.00

Pin Mounting: 159.00

Port Size: M10x1.0

Casting No.: 67321205/67321204

Application

VOLVO (2 INLETS) (92-85)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1033/34 R/L

1037/38 R/L

1039/40 R/L

1031/32 R/L



FRONT

OEM No.:

Bore Size: 54.05

Air Gap: 57.50

Pin Mounting: 88.80

Port Size: M10x1.0

Casting No.: 99G, 2G 14

Application

(85-78)

FRONT

OEM No.:

Bore Size: 54.03

Air Gap: 77.2 X 27.0

Pin Mounting: 88.8

Port Size: M10x1.0

Casting No.: 30 (99G, 2G 14)

Application

VOLKSWAGEN Transporter Typ.2 (8/72-90) 

FRONT

OEM No.:

Bore Size: 40.50

Air Gap: 66.00

Pin Mounting: 159.00

Port Size: M10x1.0

Casting No.: 67321205/67321204

Application

VOLVO (1 INLET) (90-88)

FRONT

OEM No.:

Bore Size: 57.27

Air Gap: 66.0

Pin Mounting: 159.10

Port Size: M10x1.0

Casting No.: 1551-4 R/L

Application

VOLVO (12/96- )

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

VOLKSWAGEN TRUCK

1041/42 R/L

1043/44 R/L

1045/46 R/L

--------------------------------------------------------------------------------------------------------

1047/48 R/L



FRONT

OEM No.: 281615107/8

Bore Size: 57.00

Air Gap: 64.40

Pin Mounting: 89.00

Port Size: M10x1.0

Casting No.:

Application

VOLKSWAGEN Landrover Didcovery/09.89-02.94, RANGER ROVER 00.81-08.89

FRONT

OEM No.: 281615107

Bore Size: 57.50

Air Gap: 90.2 X 62.7 

Pin Mounting: 88.8

Port Size: M10x1.0

Casting No.: None

Application

VOLKSWAGEN TRANSPORTER LT 40/45 (8/78-11/80)

TRANSPORTER LT 40/45 (12/80-96)

TRANSPORTER LT 50 (12/82-96)

TRANSPORTER LT 55 (8/85)

REAR

OEM No.: 4A0615423 

Bore Size: 38.20

Air Gap: 55.00

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: L-4060/5

R-4061/3

Application

AUDI A4 1.9 Tdi QUARRTO (9.96-), Coupe 2.0  REAR (5/93-96)

        A4 2.5 Tdi QUARRTO (10/97-), Cabrio 2.0, Ch.8GP005534-REAR

        (1/93-) 100 2.0 (-16V) (+ABS), Ch 4AP078949-REAR (-7/94)

        A6 2.0, 74kW. & 85kW REAR (6/94-2/97) A6 Avant 2.5 TDi REAR (6/94-) 

FRONT

OEM No.: 25163179

Bore Size: 38.00

Air Gap: 62.2 X 21.3 

Pin Mounting: 62.5

Port Size: M10x1.0

Casting No.: 82.38

Application

VOLVO 850 GLT (91-93), V70(12/97- )

           850 GLT (94-), C70 T-5(06/97- )

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1049/50 R/L

1051/52 R/L

1053/54 R/L

1055/56 R/L



FRONT

OEM No.: GIR/LUCAS

Bore Size: 38.20

Air Gap: 56.00

Pin Mounting: 118.0

Port Size: M10x1.0

Casting No.: R-4432/3

L-4433/2

Application

VOLKSWAGEN GOLF 2.0 (7/95-)

GOLF 2.0 Gti (7/95)

GOLF 2.0 Gti 16V (7/95-)

GOLF 2.8 VR6 (7-95-)

GOLF 2.9 VR6 SYNCRO, CH.1T00001-(10/94-)

VENTO 1.6GT, 74kW. (7/95-)

VENTO 2.0CL/GL (7/95-)

VENTO 2.0 VR6 (7/95-)

FRONT

OEM No.: LUCAS

Bore Size: 38.20

Air Gap: 56.00

Pin Mounting: 1340

Port Size: M10x1.0

Casting No.: L-32325075

R-32325076

Application

VOLKSWAGEN 2.0, 1.9 TD &2.4 SD, CH.-120000 (3/96-)

2.0, 1.9 TD &2.4 SD, CH.-120001 (3/96-)

2.0, 2.5 Tdi &2.8 VR6, CH.-120000 (3/96-)

2.0, 2.5 Tdi &2.8 VR6, CH.-120001 (3/96-)

FRONT

OEM No.: BREMBO

Bore Size: 48.05

Air Gap: 59.00

Pin Mounting:

Port Size:

Casting No.: 20381200

Application

ALFA ROMEO Alfa 75 1.8 Turbo (1) (86-)

Alfa 75 2.0 TS (1) (2/87-)

Alfa 75 2.5 (1) (85-)

Alfa 75 3.0 V6 (1) (87-)

Alfa 90 2.5 (1) (07/84-)

1057/58 R/L

1059/60 R/L

1061/62 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 8D0615423

Bore Size: 38.20

Air Gap: 55.00

Pin Mounting: 118.0

Port Size: M10X1.0p 

Casting No.: L-5215/2

R-5216/2

Application

AUDI A4 1.6 Ch.-8DV160000 (11/94-)

A4 1.8 Ch.-8DV160000 (8/96-)

A4 1.8 Turbo, Ch.-8DV160000 (5/95-)

A4 2.6, Ch.-8DV160000 (11/94-)

A4 1.9 TD, 55kW. Ch.-8DV160000 (3/96-)

A4 1.9 TDI, 66kW. Ch.-8DV160000 (1/95-)

A4 1.9 TDI, 81kW. Ch.-8DV160000 (10/95-)

FRONT

OEM No.: DBA

Bore Size: 48.04

Air Gap: 52.80

Pin Mounting: 155.0

Port Size: M10X1.0p 

Casting No.: 216093

Application

MB 100Van (9/87-90)

FRONT

OEM No.:

Bore Size: 44.03

Air Gap: 124.5 x 29.5 

Pin Mounting: 160.0

Port Size: M10X1.0p 

Casting No.: L-14183011(LH)

R-14183012(RH)

Application

297D/209D (5/77-)

208/210 (5/77-)

307D/309D (5/77-)

308/310 (5/77-)

1065/66 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MERCEDES-BENZ 

MERCEDES-BENZ 

1063/64 R/L

--------------------------------------------------------------------------------------------------------

1067/68 R/L



FRONT 1 inlet

OEM No.: DBA

Bore Size: 40.00

Air Gap: 64.00

Pin Mounting:

Port Size:

Casting No.: L-330037

R-330038

Application

VOLVO 740/760 ABS (2/82-88)

FRONT 2 inlet

OEM No.: DBA

Bore Size: 40.00

Air Gap: 64.00

Pin Mounting:

Port Size:

Casting No.: L-330037

R-330038

Application

VOLVO 740/760 (2/82-88)

REAR

OEM No.: 308633163/155

Bore Size: 38.20

Air Gap: 56.00

Pin Mounting:

Port Size:

Casting No.: L-5512/2

R-5513/2

Application

VOLVO S40/V40 1.6 (3/96-), 1.8 (3/96-), 1.9T4 TURBO (1/98-)

2.0/2.0T Turbo (1/98-), S70 2.0, 2.3, 2.5 & 2.5Tdi (97-)

V70 2.0, 2.3, 2.5 &2.5 Tdi (97-02/00)

FRONT

OEM No.: ATE

Bore Size: 42.02

Air Gap: 56.2 X 21.6

Pin Mounting: 56.2

Port Size: M10X1.0p

Casting No.: 26. 43

Application

BMW 2.5CS (74-77), 2500 (69-77), 2800 (69-77), 528 E12 (1/75-7/77), 528i E12 (3/77-6/81)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1069/70 R/L

1071/72 R/L

1075/76 R/L

1077/78 R/L



FRONT

OEM No.: ATE

Bore Size: 38.20

Air Gap: 56.20

Pin Mounting:

Port Size:

Casting No.: I-155R, O-113R

Application

ALFA ROMEO GT1300 Junior (69-78)

Giulia 1.3/1.6 (69-79)

Giulia Nuova Super (72-79)

Spider 1.3/1.6 Junior (5/68-8/80)

FRONT

OEM No.: ATE

Bore Size: 60.05

Air Gap: 62.00

Pin Mounting: 150

Port Size: M10X1.0p

Casting No.: MO. DE

Application

VOLKSWAGEN Transporter Typ.2 (8/85-7/90)

Transporter Syncro (14˝hjul/wheels/Rad) (2/85-7/90)

Transporter Syncro (16˝hjul/wheels/Rad) (10/84-7/90)

FRONT

OEM No.: 10541.22053.00(L)

Bore Size: 48.00

Air Gap: 77.30

Pin Mounting: 89.0

Port Size: M10X1.0p

Casting No.: G13

Application

ALFA ROMEO Giulia 1300 (66-79), 1300 Super, 1600 Super, GT Junior 1300(66-78)

Spider 1300(5/68-8/80), 1600 (5/68-8/80), 2000 (78-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1079/80 R/L

1081/82 R/L

1083/84 R/L



FRONT

OEM No.:

Bore Size: 54.10

Air Gap: 61.00

Pin Mounting:

Port Size:

Casting No.:

Application

VOLKSWAGEN GolfⅢ 1.6 CL/GL, 74kW, (-ABC) (7/94-)

1.8 Aut. CH1S246941- (11/91-). 1.8 Syncro CH1S089451-(1/93-)

1.9 Tdi, 66kW, (-ABS) (10/93-), 1.9 Tdi Syncro, 66kW, 4WD (-ABS)(3/95)

1.9 Turbo Diesel, 55kW (7/93-4/96), 1.9 Turbo Diesel, 55kW(-ABS)(5/96)

GolfⅢ Cabrio 1.6 CH 1V000001-(10/94-), 1.8,55kW(9/93-), 1.8,66kW(9/93-)

1.9 Tdi, 66kW(8/95-), 1.9Tdi, 81kW(9/96-),

GolfⅢ Vaiant 1.8(7/93-), 1.8 Syncro,4WD CH1SW369001-(7/94-)

1.9 Diesel & Sdi (7/93-4/96), 1.9 Diesel & Sdi, (-ABS)(5/96)

1.9 TD, 55kW (7/93-4/96), 1.9TD, 55kW, (-ABS) (5/96-), 1.9Tdi (7/93-4/96)

1.9Tdi, (-ABS) (5/96-)

Passat Ⅲ 1.9 Tdi, 66kW CH3AS300001-(-12/96), 2.0 (10/93-12/96)

2.0 Syncro, 4WD (1/94-12/96)

Vento 1.6, Aut., 55kW CH1S430001- (9.92-), 1.6 CL/GL, 74kW (7/94-)

1.8, Aut., 55kW(1/92-), 18CL/GL, 66kW CH1S430001- (1/92-)

1.9 Turbo Diesel,, 55wW CH1S430001- (1/92-)

OEM No. :

Bore Size : Ø34.02

Air Gap : 50

Pin Mounting : 126

Inlet Port Size : M10x1.0

Casting No. : BC141182 R / BC140182 L

Application

FRONT

OEM No.: 4400G9

Bore Size: 33.04

Air Gap: 52.6

Pin Mounting: 102.6

Port Size: M10X1.0p

Casting No.: 66 AFC 68273

L-65

R-66

Application

PEUGEOT 406 1.8i16V (11/95-)

406 2.0 (11/95-)

406 2.0 Turbo (7/96-)

406 3.0 V6 (10/96-)

406 2.1 TD (11/95-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1085/86 R/L

1087/88 R/L

1085/86 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: ATE

Bore Size: 33.04

Air Gap: 52.6

Pin Mounting: 102.6

Port Size: M10X1.0p

Casting No.: L-65, R-66

Application

Mercedes-Benz BM638 V200 &VV200Cdi (9/96-), V220 CDI (3/99-)

V230 & V230 Turbo Diesel (9/96-), V280 (9/96-)

BM638 Vito108D&108Cdi (3/96-), Vito110D&110Cdi(3/96-)

Vito112CDI 93/99-), Vito113 (3/96-), Vito114 (12/96-)

FRONT

OEM No.: ATE

Bore Size: 33.00

Air Gap: 53.00

Pin Mounting:

Port Size:

Casting No.: 65 AFC1 8027(0071)

Application

PEUGEOT 605 (-3.0) (10/89-)

605 3.0i (10/89-6/94)

605 3.0i V6 (7/94-)

605 3.0i V6, 24V (7/94-)

FRONT

OEM No.: ATE

Bore Size: 33.00

Air Gap: 53.00

Pin Mounting:

Port Size:

Casting No.: 65 AFC1 8027(0071)

Application

AUDI A4 1.6 CH-8DV160000 (11/94-), 1.9 Tdi,55,66kWCH-8DV160000(1/95-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1089/90 R/L

1091/92 R/L

1093/94 R/L



FRONT

OEM No.: 8E0 615 123(L), 8E0 615 124®

Bore Size: 54.04

Air Gap: 70.00

Pin Mounting: 159

Port Size: M10x1.0p

Casting No.: 5842/2(L),  5843/2®

Application

AUDI A4 1.6CH 8DV 160001- (11/94-)

A4 1.8 Quattro CH8DV160001- (11/94-)

1.9 Tdi, 55, 66kW CH8DV160001- (1/95-)

VOLKSWAGEN Passat IV 1.6&1.8 (10/96-), 1.8 Syncro, 4WD (1/98-), 1.9 Tdi, 66kW (10/96-)

Passat IV Variant 1.6 (10/96-), Vatiant 1.8 Syncro, 4WD (1/98-)

Passat IV variant 1.9 Tdi, 66kW (10/96-)

FRONT

OEM No.:

Bore Size: 48.13

Air Gap: 68.75

Pin Mounting: 144.0

Port Size: M10x1.0p

Casting No.: 3843/2, 3844/2

Application

PEUGEOT 405 1.6/1.8, (-ABS) (7/92-)

FRONT

OEM No.: 3516840-0(L) / 3516841-0®

Bore Size: 57.02

Air Gap: 73.00

Pin Mounting: 94.00

Port Size:

Casting No.: 71 , 72 VOLVO

Application

Volvo (93-95)

FRONT

OEM No.:

Bore Size: 57.45

Air Gap: 65.50

Pin Mounting: 159

Port Size: M10x1.0

Casting No.: 1551/2

Application

Volvo 740 Sedan W/ABS 1991-92

780 Bertone Coupe 1991

940 Sedan&Wacton W/ABS 1991-95

960 Sedan&Wacton W/ABS 1991-94

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1097/98 R/L

1099/100 R/L

1101/02 R/L

1095/96 R/L



FRONT

OEM No.:

Bore Size:

Air Gap: 

Pin Mounting:

Port Size:

Casting No.: 34/10 995, 34/10 996

Application

Volvo (91-95)

FRONT

OEM No.: 1330416-7/1330417-5

Bore Size: 40.00

Air Gap: 62.2 X 21.3

Pin Mounting: 82.5

Port Size: M10x1.0

Casting No.: 40

Application

Volvo 740 REAR (04/82-) 760 REAR (04/82-)

780 REAR (86-) 940 REAR (08/90-) 

960 REAR (08/90-) 

FRONT

OEM No.: 5003813-2/5003814-0

Bore Size: 38.00

Air Gap: 61.20

Pin Mounting: 82.40

Port Size: M10x1.0

Casting No.: 38

Application

Volvo V70(96.12-), C70 T-5(97.06-)

FRONT

OEM No.: 3342828-5/3342827-7

Bore Size: 33.00

Air Gap: 47.00

Pin Mounting: 88.00

Port Size: 3/8"-24UNF

Casting No.:

Application

Volvo 480 ES, Turbo(86.03-), 440, 460(88-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

AL 1103/04 R/L

1105/06 R/L

1107/08 R/L

1109/10 R/L



FRONT

OEM No.: 3516840-0(L) / 3516841-0(R)

Bore Size: 57.02

Air Gap: 73

Pin Mounting: 94

Port Size: M10x1.0p

Casting No.: 71 Volvo, 72 Volvo

Application

VOLVO  850GLT SEDAN 4DR (TO CH# 114946) 1993

 850GLT WAGON 5DR (TO CH# 23009) 1993

 S70 SEDAN W/15" WHEELS 1998-00

 V70 WAGON W/15" WHEELS 1998-00

FRONT

OEM No.:

Bore Size: 38.2

Air Gap: 98.5 x 29.5

Pin Mounting: 76.2

Port Size: M10x1.0p  (1 inlet)

Casting No.: 0026(I), 0029(O)

Application

 VOLVO 262 - 264 - 265 with ABS and 1 inlet (USA)  06/75-

242 - 244 - 245 with ABS and 1 inlet (USA)  09/80-

FRONT

OEM No.: 1228345-3(L) / 1228346-1®

Bore Size: 38.2

Air Gap: 98.5 x 29.5

Pin Mounting: 76.2

Port Size: M10x1.0p  (2 inlet)

Casting No.: 0026(I), 0029(O)

Application

 VOLVO 244 Turbo with 2 inlets  09/80-

262 - 264 - 265 with 2 inlets  06/75-

1115/16 R/L

1113/14 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1111/12 R/L



FRONT

OEM No.:

Bore Size: 35

Air Gap: 62.2

Pin Mounting:

Port Size:

Casting No.:

Application

Mercedes-Benz W124 REAR

200/D (1/85-6/93), 200CE&200E (1/85-6/93)

220CE&200E (10/92-6/93), 230CE (5/87-9/92), 230E (1/85-9/92)

250D, 4Door (1/85-6/93), 250D Turbo-Diesel (9/88-6/93)

260E, 4Door (1/85-9/92), 260E, 4WD (5/85-8/91)

280E, 4 Door (-ASR) (10/92-6/93), 300CE, (-ASR), 300D (1/85-6/93)

300D, 4WD (12/86-8/91), 300D Turbo-Diesel (9/87-6/93)

300D Turbo-Diesel, 4WD (9/87-6/93), 300E, (-ASR) (1/85-9/92)

300E, 4WD, (-ASR) (11/86-6/93)

E-Klasse (W124) E200 Limousine & Coupe (7/93-)

E200 Diesel (7/93-6/95), E220 Limousine&Coupe (7/93-)

E250 Diesel Limousine, 4Door (7/93-)

E250 Turbo-Diesel Limousine (7/93-), E280, 4Door (7/93-)

E300 (7/93-), E300Diesel (7/93-), E300Turbo-Diesel (7/93-)

W201 190E2.3 16V (7/84-8/88), 190E 2.5 16V (9/88-5/93)

OEM No.: 1J0 615 423(L)

Bore Size: Ø38.2

Air Gap: 55.0

Pin Mounting: 118.0

Port Size: M12x1.0P

Casting No.: 607/7

Application

AUDI (VW) A3 1.6 & 1.8 (96- )

OEM No.:

Bore Size: Ø57.03

Air Gap: 

Pin Mounting: N/A

Port Size: M10X1.0p

Casting No.: 981 / 982

Application

AUDI A4, A4 QUATTRO 2005-06

A6 2006-09, A6 QUATTRO 2005-09

S4 2004-06

1117/18 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1121/22 R/L

1119/20 R/L

--------------------------------------------------------------------------------------------------------



OEM No.: 281615107 / 281315108

Bore Size: 57.05

Air Gap: 90.2 X 62.7

Pin Mounting: 88.8

Port Size: M10X1.0p

Casting No.:

Application

VOLKSWAGEN TRANSPORTER LT 28-31 (75-1/81); (2/82-96)

TRANSPORTER LT 35 (75-11/80); (12/80-96)

OEM No.: 657846-2(L)

Bore Size: i=54 , o=38

Air Gap: x 26.5

Pin Mounting: 89.0

Port Size: M10X1.0p

Casting No.: i-E64323816

o-64325793

Application

VOLVO Amazone (64-68)

OEM No.:

Bore Size: 57.02

Air Gap: 63.0

Pin Mounting:

Port Size: M10X1.0p

Casting No.: 0204 Y01128/29 57

Application

JAGUAR X-Type 2002-07

OEM No.:

Bore Size: 2-Ø40 / 2-Ø44

Air Gap: 

Pin Mounting: 110

Port Size: M10X1.0p

Casting No.: in : 20.7047.04 / 03

out : 20.7046.04 / 03

Application

MERCEDES BENZ

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1123/24 R/L

1125/26 R/L

1127/28 R/L

AL 1129/30 R/L



OEM No.: 107 420 04 83(L), 107 420 05 83®

Bore Size: 4-Ø40.05

Air Gap: 59.0

Pin Mounting:

Port Size: M10X1.0p

Casting No.: in : 68 26P

out : 65 3P

Application

MERCEDES 560SL 1986-89

OEM No.:

Bore Size: Ø34.03

Air Gap: 36.0

Pin Mounting: N/A

Port Size: 3/8-24 UNF

Casting No.: 4182767(L)/4182768(R)

Application

FIAT 124 1968-78

SPIDER 2000 1979-83

X-1/9 1974-82

OEM No.: 8N0 615 423C(L) / 8N0 615 424C®

Bore Size: Ø38.2

Air Gap: 69.5

Pin Mounting: 118.0

Port Size: M12X1.0p

Casting No.: 38

Application

AUDI TT QUATTRO 2000-06

OEM No.:

Bore Size: 44.32

Air Gap: 101.6

Pin Mounting: 65.0

Port Size: 1/8-27 NPT

Casting No.:

Application

1131/32 R/L

1133/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1137/38 R/L

1135/36 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : Ø42.0

Air Gap : 57.0

Pin Mounting : 84.0

Inlet Port Size : M10x1.0p

Casting No. : 89 5.8 (RL), 89 11 (RR)

Application

E320(09-07, 05-04, 05, 04-03), E350(06), E500(06-05), SL500(06-04, 03)

FRONT

OEM No. :

Bore Size : Ø42.01

Air Gap : 67.1

Pin Mounting : 81.9

Inlet Port Size : M10X1.0p

Casting No. : 911 42/20

Application

BMW 325i(06), 328i(09, 08-07)

FRONT

OEM No. : 308633163/155

Bore Size : Ø38.15

Air Gap : 56.0

Pin Mounting : 118.0

Inlet Port Size : M10X1.0p

Casting No. : 5512/6 (L), 5513/6 (R)

Application

VOLVO S40/V40 1.6 REAR (3/96-), 1.8 REAR (3/96-),

2.0/2.0T Turbo REAR (1/98-), S70 2.0, 2.3, 2.5 & 2.5Tdi REAR (97-)

V70 2.0, 2.3, 2.5 & 2.5Tdi REAR (97-02/00)

FRONT

OEM No. : 10526.26003.01 / 10526.26004.01

Bore Size : 2-Ø38.08

Air Gap : 56.2 X 21.6

Pin Mounting : 56.2

Inlet Port Size : M10X1.0p

Casting No. : In-155R, Out-113R

Application

ALFA ROMEO GT1300 Junior REAR (69-78)

Giulia 1.3/1.6 REAR (69-79)

Giulia Nuova Super REAR (72-79)

Spider 1.3/1.6 Junior REAR (5/68-8/80)

MERCEDES BENZ

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1139/40 R/L

1141/42 R/L

1143/44 R/L

1145/46 R/L



FRONT

OEM No. :

Bore Size : 2-Ø35.03

Air Gap : 62.2 X 21.2

Pin Mounting : 75.0

Inlet Port Size : M10X1.0p

Casting No. : 98, 11

Application

Mercedes-Benz W124 REAR

280E, 4 Door (-ASR) (10/92-6/93), 300CE, (-ASR), 300D (1/85-6/93)

300D, 4WD (12/86-8/91), 300D Turbo-Diesel (9/87-6/93)

E300 (7/93-), E300Diesel (7/93-), E300Turbo-Diesel (7/93-)

W201 190E2.3 16V (7/84-8/88), 190E 2.5 16V (9/88-5/93)

FRONT

OEM No. : 10541.22053.00(L), 10541.22052.00®

Bore Size : 2-Ø48.04

Air Gap : 77.2 X 23

Pin Mounting : 89.0

Inlet Port Size : M10X1.0p

Casting No. : G13

Application

ALFA ROMEO Giulia 1300 (66-79), 1300 Super, 1600 Super, GT Junior 1300 (66-78)

Spider 1300 (5/68-8/80), 1600 (5/68-8/80), 2000 (78-)

FRONT

OEM No. : 1H0 615 123B(L), 1H0 615 124B®

Bore Size : Ø54.04

Air Gap : 61.0

Pin Mounting : 159.0

Inlet Port Size : M10X1.0p

Casting No. : 4782/2(L), 4783/2(R)

Application

VOLKSWAGEN Golf III 1.6 CL/GL, 74kW, (-ABS) (7/94-)

1.9 Turbo Diesel, 55kW(7/93-4/96), 1.9 Turbo Diesel, 55kW,(-ABS)(5/96-)

2.0 Syncro,4WD (1/94-12/96)

Vento 1.6, Aut., 55kW CH1S430001- (9/92-), 1.6 CL/GL, 74kW (7/94-)

FRONT

OEM No. :

Bore Size : Ø54.04

Air Gap : 61.0

Pin Mounting : 159.0

Inlet Port Size : M10X1.0p

Casting No. : 32325188/1L,

32325187/1R

Application

AUDI A4 1.6 CH-8DV160000 (11/94-), 1.9 Tdi,55,66kWCH-8DV160000(1/95-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1147/48 R/L

1149/50 R/L

1151/52 R/L

1153/54 R/L



FRONT

OEM No. : 8E0 615 123(L), 8E0 615 124®

Bore Size : Ø54.04

Air Gap : 70.0

Pin Mounting : 159.0

Inlet Port Size : M10x1.0p

Casting No. : 5842/2(L), 5843/2(R)

Application

AUDI A4 1.6CH 8DV160001- (11/94-)

1.9 Tdi, 55, 66kW CH8DV160001- (1/95-)

VOLKSWAGEN Passat IV 1.6&1.8 (10/96-), 1.8 Syncro, 4WD (1/98-), 1.9 Tdi, 66kW (10/96-)

Passat IV Variant 1.9 Tdi, 66kW (10/96-)

FRONT

OEM No. : 4566873(L) / 4566881®

Bore Size : 2-Ø38.05

Air Gap : 62.4 x 21

Pin Mounting : 76.2

Inlet Port Size : M10x1.0p

Casting No. :

Application

SAAB 9-5 2.3 Turbo REAR 9/97-9/99

9-5 3.0 V6 Turbo REAR 01/98-9/99

9-5 2.0 Turbo REAR 9/97-9/99

FRONT

OEM No. : 657846-2(L), 657847-0®

Bore Size : i=Ø54 , o=Ø38

Air Gap : x 26.5

Pin Mounting : 89.0

Inlet Port Size : M10X1.0p

Casting No. : I-E64323816

O-64325793

Application

VOLVO Amazone (64-68)

FRONT

OEM No. : 107 420 04 83(L), 107 420 05 83®

Bore Size : 4-Ø40.05

Air Gap : 59.0

Pin Mounting :

Inlet Port Size : M10X1.0p

Casting No. : In : 68 26P

Out : 65 3P

Application

MERCEDES 560SL 1986-89

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1155/56 R/L

1157/58 R/L

1159/60 R/L

1161/62 R/L



FRONT

OEM No. :

Bore Size : 2-Ø60.04

Air Gap : 59.0

Pin Mounting :

Inlet Port Size : M10X1.0p

Casting No. : In : 60

Out : 31

Application

MERCEDES 280SE 1977-80, 380SD 1978-85, 380SE 1984-85, 380SEL 1981-83

450SEL 1973-80, 500SEL 1984-85

FRONT

OEM No. : 163 420 00 83(L), 163 420 01 83®

Bore Size : Ø60.04

Air Gap : 66.4

Pin Mounting : 110

Inlet Port Size : M10X1.0p

Casting No. : 4904

Application

MERCEDES BENZ

FRONT

OEM No. :

Bore Size : 2-Ø35.03

Air Gap : 62.2 X 21.2

Pin Mounting : 75.0

Inlet Port Size : M10X1.0p

Casting No. : 98, 11

Application

Mercedes-Benz W124 REAR

280E, 4 Door (-ASR) (10/92-6/93), 300CE, (-ASR), 300D (1/85-6/93)

300D, 4WD (12/86-8/91), 300D Turbo-Diesel (9/87-6/93)

E300 (7/93-), E300Diesel (7/93-), E300Turbo-Diesel (7/93-)

W201 190E2.3 16V (7/84-8/88), 190E 2.5 16V (9/88-5/93)

OEM No.:

Bore Size: Ø38.2

Air Gap: 55

Pin Mounting: 118

Port Size: M12X1.0

Casting No.: 737(L)  38

738(R)  38

5780/2

Application

AUDI (06-02)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

1169/70 R/L

1163/64 R/L

1165/66 R/L

1167/68 R/L



1171/72 R/L
OEM No.:

Bore Size: Ø59.96

Air Gap: 83.5

Pin Mounting: 104

Port Size: M10X1.0

Casting No.: I: 973 (L), 974 ®

O: 6008

716

Application

 AUDI A4, A4 Quattro(09-07)

1173/74 R/L
OEM No.: SOB500050 / SOB500040

Bore Size: Ø44.98

Air Gap: 64

Pin Mounting: 144

Port Size: M10X1.0

Casting No.: 2895/B 2896/B  

Application

LAND ROVER Range Rover(09-06)

1175/76
OEM No.: 291615107

Bore Size: 2-Ø57.05

Air Gap: 90.2 X 62.7

Pin Mounting: 88.8

Port Size: M10X1.0p

Casting No.: 13

Application

VOLKSWAGEN TRANSPORTER LT 40/45 (8/78-11/80);     (12/80-96)

TRANSPORTER LT 50 (12/82-96)

TRANSPORTER LT 55 (8/85)

1177/78
OEM No.: 77363519/20

Bore Size: Ø38.05

Air Gap: 51.6

Pin Mounting: 120

Port Size: M10X1.0p

Casting No.: 0204Y01611  38

Application

ALFAROMEO Mito(09-  )

FIAT Bravo Ⅱ 1.4, 1.6, 1.9, 2.0 / Multipla 1.6, 1.9 / Stilo / 

Stilo Multi Wagon 1.4, 1.6, 1.8, 1.9 (11-01)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



1179/80
OEM No.:

Bore Size: 1-Ø38.04

Air Gap: 21

Pin Mounting:

Port Size: M10X1.0

Casting No.: I: 38  17G

O: 52G

Application

450SE, -SEL, -SEL6.9,

500SE, -SEL, -SEC,

560SEC, SEL, SL (73-86)

1181/82
OEM No.:

Bore Size: Ø42.02

Air Gap: 21.2

Pin Mounting: 76

Port Size: M10X1.0

Casting No.: I: 23 / O: 27

Application

300TD Wagon,  300TE Wagon(76-79)

1183/84
OEM No.:

Bore Size: Ø54.0

Air Gap: 22.7

Pin Mounting:

Port Size: M10X1.0

Casting No.: I: 124 VW / O: 82

Application

Transporter(72-68), Type 2(72)

FRONT 1185/86
OEM No.:

Bore Size: 54.05

Air Gap: 61.60

Pin Mounting: 159.00

Port Size: M10×1.0

Casting No.:

Application

PEUGEOT Partner (07.96-10.01)

CITROEN Berlingo Solid disc (07.96-10.01)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MERCEDES BENZ

MERCEDES BENZ

VOLKSWAGEN TRUCK



REAR 1187/88 L/R
OEM No.:

Bore Size: 52.05

Air Gap: Air Gap 65.80

Pin Mounting: Pin Mounting 93.90

Port Size: Port Size M10×1.0

Casting No.:

Application

LT 35 (04.97- )

Sprinter 200 - 300 Serie (02.95- )

REAR 1189/90 L/R
OEM No.:

Bore Size: 40.00

Air Gap: 61.20

Pin Mounting: 75.00

Port Size: M10×1.0

Casting No.: 40/312

Application

BMW M3(99-99), Z3(02-01, 00-98)

REAR 1191/92 L/R
OEM No.:

Bore Size: 42.03

Air Gap: 58.50

Pin Mounting: 82.00

Port Size: M10×1.5

Casting No.: 42/12

Application

BMW TRUCKS X5(06-04, 03-00)

REAR 1193/94 L/R
OEM No.:

Bore Size: 46.00

Air Gap: 69.80

Pin Mounting: 84.00

Port Size: M10×1.0

Casting No.: 46/24

Application

BMW 535i(10-09, 08-08), 545i(05-04), 550i(10-10, 09-06), 645Ci(05-04), 650i(10-06), 745i(05-02), 745Li(05-02)

750i(08-06), 750Li(08-06), 760i(06-04), 760Li(08-03), M3(10-08), M5(10-06), M6(10-06)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

VOLKSWAGEN L. COMM.

MERCEDES-BENZ L. COMM.



FRONT 1195/96 L/R
OEM No.:

Bore Size: 60.00

Air Gap: 82.80

Pin Mounting: 104.10

Port Size: M10×1.0

Casting No.: 60/30/348

Application

BMW 531i(08-08), 541i,645Ci(05-04), 550i,650i,750i,750Li(08-06), 745i,745Li(05-02), 760i(06-04), 760Li(08-03)

REAR 1197/98 L/R
OEM No.:

Bore Size: 42.00

Air Gap: 67.20

Pin Mounting: 84.00

Port Size: M10×1.0

Casting No.: No. 91

Application

MERCEDES CL5500(06-06,08-07) E320(06-06, AWD 05-04, RWD 05-05),

E350(08-07, AWD 06-06, RWD Sedan 06-06, RWD Wagon 06-07)

E500(AWD 06-05, RWD 06-05, 04-03) E550(08-07), SL500(03-04)

REAR 1199/1200 L/R
OEM No.:

Bore Size: 42.00

Air Gap: 68.50

Pin Mounting: 82.00

Port Size: M10×1.0

Casting No.: 977, 42/20, BMW

Application

BMW 525i(07-04), 525xi(07-06), 528i(08-08), 528xi(08-08), 530i(07-04), 530xi(07-06), 535xi(08-08)

REAR 1201/02 L/R
OEM No.:

Bore Size: 40.00

Air Gap: 61.80

Pin Mounting: 75.00

Port Size: M10×1.0

Casting No.: 949, 40/20

Application

SAAB 9-5(09-07, 05-05, 04-02)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



REAR 1203/04 L/R
OEM No.:

Bore Size: 38.00

Air Gap: 56.80

Pin Mounting: 141.80

Port Size: M10×1.0

Casting No.: 950/949, 38

Application

MERCEDES C300 (10-08), w/Cast Iron Caliper(2011)

REAR 1205/06 L/R
OEM No.:

Bore Size: 44.02

Air Gap: 70.50

Pin Mounting: 82.00

Port Size: M10×1.0

Casting No.: 44/22, 957

Application

BMW 330i(06-06), 330Xi(06-06), 335d(10-09), 335i(10-07), 335xi(08-07)

FRONT 1207/08 L/R
OEM No.:

Bore Size: 40.05

Air Gap: 44.40

Pin Mounting: 56.30

Port Size: M10×1.0

Casting No.: 85, 66

Application

Volkswagen Beetle(73-73, 72-67), Karmann Ghla(72-67), Super Beetle(73-73, 72-71)

FRONT 1209/10 L/R
OEM No.:

Bore Size: 34.02

Air Gap: 43.80

Pin Mounting: 76.10

Port Size: M10×1.0

Casting No.: 65R, 136R/171R, 118R

Application

BMW 1600(71-68), 1600Ti(68-68), 1800(71-68), 1802(71-71), 2000Ti(71-68), 2000Tii(70-68), 2002(76-68)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT 1211/12 L/R
OEM No.:

Bore Size: 38.02

Air Gap: 12.60

Pin Mounting: 76.30

Port Size: M10×1.0

Casting No.: 1493400(IN), 1494400(OUT)

Application

MERCEDES 220 220D(73-68), 230(79-67), 240D(83-74), 250(72-68), 250C(72-70), 280 280C(76-73), 280CE(81-78), 280E(81-77)

280SE(80-77), 300CD(85-78), 300D(85-74, 76-76), 300DT(85-82), 300SD(87-86), 300SDL(87-86), 300SE 300SEL(91-88)

350SD(91-91), 350SDL(91-90), 380SE(85-84), 380SEC(83-82), 380SEL(83-82), 380SLC(81-81)

420SEL(91-86), 450SE(76-73), 450SEL(80-73)…

1213/14 L/R
OEM No.: 1330418-3/1330419-1

Bore Size: 40.00

Air Gap: 46.20

Pin Mounting: 82.40

Port Size: M10×1.0

Casting No.: 40

Application

VOLVO 740, 760 all Model (92.04 - 82.08), 780 (87.05- )

1215/16 L/R
OEM No.:

Bore Size: 38.22

Air Gap: 55.00

Pin Mounting: 118.00

Port Size: M12×1.0

Casting No.: 046/047

Application

Eurovan(03-01)

1217/18 L/R
OEM No.:

Bore Size: 41.05

Air Gap: 55.00

Pin Mounting: 118.00

Port Size: M12×1.0

Casting No.: 313/1 314/1, 41

Application

Audi TT Quattro(06-00)

Volkswagen Jetta(05-00)

Volkswagen Trucks

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



REAR 1219/20 L/R
OEM No.:

Bore Size: 34.00

Air Gap: 55.30

Pin Mounting: 144.00

Port Size: M12×1.0

Casting No.: 996/995, BMW

Application

Mini Cooper(03-02)

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 61.00

Pin Mounting: 161.00

Port Size: M10x1.0

Casting No.: 54-22 3A R/54-22 3B L,

54-22 5401 R/L

Application

GEO/CHEV Sedan&Wagon (Mod:S) 1993-97

TOYOTA Camry (86); Celica (91-86)

COROLLA SEDAN & WAGON (Mods:AE101/AE102)  93-97

FRONT

OEM No.: LA1233980E (RH)

Bore Size: 43.00

Air Gap: 65.40

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: FS12W E

Application

MAZDA TRUCK MPV 4 WD. (96-92)

MVP 2WD (1994-98)

FRONT

OEM No.:

Bore Size: 44.40

Air Gap: 60.50

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 25-14

Application

TOYOTA Previa(91)

2005/06 R/L

2001/02 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2003/04 R/L



FRONT

OEM No.:

Bore Size: 42.90

Air Gap: 51.00

Pin Mounting: 155.00

Port Size: M10x1.0

casting No.: 43-182G(4515)

Application

TOYOTA Previa(97-92)

FRONT

OEM No.: 477302815084(RH)

Bore Size: 60.50

Air Gap: 58.00

Pin Mounting: 158.0

Port Size: M10x1.0

Casting No.: 2318 R/L, AD60 25-14

Application

TOYOTA TRUCKPrevia W/o ABS (95-91)

FRONT

OEM No.:

Bore Size: 42.90

Air Gap: 53.4

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: P12E R/L

Application

TOYOTA Cressida (92-89)

Mod MX83C(8/88-92)

REAR

OEM No.:

Bore Size: 38.30

Air Gap: 45.00

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.: 10CL15SN

Application

HONDA Passport Rear (94~95)

ACURA SLX Rear(95)

Legend 4DR Sedan&2DR Coupe 1991-95

RL Sedan 1996-98

ISUZU TRUCK Rear (92-96)

Oasis Van 1996-97

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2009/10 R/L

2011/12 R/L

2013/14 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2007/08 R/L



FRONT

OEM No.: 4773012310(RH)

Bore Size: 51.15

Air Gap: 53.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 54-18 2B/2A

Application

TOYOTA Corolia Sedan All-Trac/4WD (Mod:AE95) 8/1989-8/90

Corolia Wagon All-Trac/4WD (Mod:AE95) 8/1989-92

GEO Prizm Sohc (Mod:SK) From LZ0903111 1990-8/90

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 59.90

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 57-25 R/L

Application

LEXUS ES250 (92-90)

TOYOTA Camry (88-87); Celica (93-88)

Celica GE-S W/ABS (Mod:ST162) 1988-89

FRONT

OEM No.: 41001N7190RE(H)

Bore Size: 42.92

Air Gap: 70.00

Pin Mounting: 190.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN (Datsun) 720 P/U

NISSAN TRK Pathfunder 4WD (87-88)

FRONT

OEM No.: 45210SA5671(RH)

Bore Size: 50.80

Air Gap: 49.00

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Accord Akebono-1 Piston (83-82)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2015/16 R/L

2017/18 R/L

2021/22 R/L

2019/20 R/L



FRONT

OEM No.: 45210SA6673(RH)

Bore Size: 50.82

Air Gap: 54.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2028 L/R

Application

HONDA Accord (85-84)

FRONT

OEM No.: 45210692671(RH)

Bore Size: 51.15

Air Gap: 53.50

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Civic Hatchback 1300CC, DX (87-84)

FRONT

OEM No.: 45210SA5602(RH)

Bore Size: 51.15

Air Gap: 50.00

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Civic Hatchback 1500CC & S.W (83); Civic Sedan (87-83)

FRONT

OEM No.: 45210SH3A05(RH)

Bore Size: 51.15

Air Gap: 51.50

Pin Mounting: 138.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Civic CRX 1.5 DX, Si (91-90); Civic S.W (87-84)

--------------------------------------------------------------------------------------------------------

2023/24 R/L

2025/26 R/L

2027/28 R/L

2029/30 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 

Pin Mounting: 89.00

Port Size:

Casting No.:

Application

SAAB (87-86)

FRONT

OEM No.: 4100126L91(RH)

Bore Size: 54.00

Air Gap: 50.00

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.: 2129 L/R

Application

NISSAN 200SX W/4 Cyl. Turbo (CA 18 ET Engine) (88-6/86); 200SX W/4 Cyl. (CA 20 E Engine) (88-5/87)

FRONT

OEM No.: 4100103P90RE(RH)

Bore Size: 40.67

Air Gap: 61.30

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: 28AB L/R

Application

NISSAN 300ZX, Non-Turbo (87-84)

FRONT

OEM No.: 4773032041(RH)

Bore Size: 54.04

Air Gap: 57.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Camry (7/86-8/85)

Celica ST, GT (Mod:ST161) 1986-89

2031/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2033/34 R/L

2035/36 R/L

2037/38 R/L



FRONT

OEM No.: 4773032022(RH)

Bore Size: 54.04

Air Gap: 57.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Camry (7/85-83)

FRONT

OEM No.: 8943867020(RH)

Bore Size: 51.15

Air Gap: 57.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 51-22 No.1

51-22 No.2

Application

TOYOTA Camry LE (85-3/84)

FRONT

OEM No.: 4773012171(RH)

Bore Size: 57.25

Air Gap: 63.00

Pin Mounting: 118.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Cressida After 8/84 (88-85)

FRONT

OEM No.: 4773012310(RH)

Bore Size: 51.15

Air Gap: 53.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA MR2 (86-85)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2045/46 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2039/40 R/L

2041/42 R/L

2043/44 R/L



FRONT

OEM No.: UB3933980B(RH)

Bore Size: 54.00

Air Gap: 54.30

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2132 R/L, AD 54-20

Application

MAZDA TRUCK B2600 2WD (93-86); B2200 (92-86)

FRONT

OEM No.: 4773035010(RH)

Bore Size: L:42.90 S:34.00

Air Gap: 51.50

Pin Mounting: 89.00

Port Size: M10x1.0

Casting No.: S12+8

Application

TOYOTA TRUCK Pickup, Hi-Lux Long Bed 4WD (85-80)

4-Runner (Mods:RN6-) W/Solid Rotors 1984-85

FRONT

OEM No.: 894124771(RH)

Bore Size: 57.20

Air Gap: 53.00

Pin Mounting: 135.80

Port Size: M10x1.0

Casting No.: 2208 R/L

Application

ISUZU TRUCK Pickup Thru 11/87 (87-84); Trooper, Trooper ll Thru 10/86 (87-84)

FRONT

OEM No.: 41000D1711(RH)

Bore Size: 51.16

Air Gap: 50.10

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.: 2009 A/B

Application

NISSAN Stanza Exc. Wagon(86-81)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2047/48 R/L

2049/50 R/L

2051/52 R/L

2053/54 R/L



FRONT

OEM No.:

Bore Size: 51.15

Air Gap: 55.90

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 18-14

Application

FRONT

OEM No.: G04033980(RH)

Bore Size: 54.00

Air Gap: 47.00

Pin Mounting: 143.70

Port Size: M10x1.0

Casting No.: 2124

Application

MAZDA 626, MX-6 Before 12/83 (Solide Rotor) (83)

(Models With Splid Rotors)

FRONT

OEM No.: B10733980(RH)

Bore Size: 51.18

Air Gap: 54.00

Pin Mounting: 12.00

Port Size: M10x1.0

Casting No.: 15A-18V

Application

MAZDA 323, Protégé (86); 323, Protégé Exc. MPV & Wagon (89-87)

MERCURY Capri (93-91); Tracer (89-87)

FRONT

OEM No.: 45210SH3A06(RH)

Bore Size: 50.85

Air Gap: 52.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Civic, CRX, DX, Si (90-88); Civic Sedan (89-88); Civic S.W, Wagon Van 2WD (89-88)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2055/56 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2061/62 R/L

2059/60 R/L

2057/58 R/L



FRONT

OEM No.: 45210SM4A02(RH)

Bore Size: 57.00

Air Gap: 64.00

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 2227 R/L, 2224 R/L

Application

HONDA Accord Coupe (95-93); Exc. SE (92-90); Prelude (93-92)

FRONT

OEM No.: 45210SH3G33(RH)

Bore Size: 53.95

Air Gap: 52.60

Pin Mounting: 159.00

Port Size: M10x1.0

Casting No.: 16CL13VN R/L

Application

HONDA Civic S/W 4x4 (91-88); Prelude DX, S(90-88)

FRONT

OEM No.: 4100188E00(RH)

Bore Size: 57.25

Air Gap: 61.50

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: 19(68, 89)

Application

INFINITY G20 (93-91)

NISSAN Altima (94-93); Stanza (93-91); 4 WD (89-85); Maxima (94-89)

NISSAN TRUCK Axxess (92-89)

SENTRA 2.0L(Mod:B15U) 1/2000-01 

SENTRA 2.5L SE-R Exc. V-SPEC(Mod:B15U) 2002-04 

FRONT

OEM No.: 452105SD4671(RH)

Bore Size: 57.30

Air Gap: 59.50

Pin Mounting: 159.00

Port Size: M10x1.0

Casting No.: 17CL14VN R/L

Application

ACURA Integra (93-90); Legend (90-86)

HONDA Accord LX, SE W/Fuel Injection (89-88); Prelude (91)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2069/70 R/L

2063/64 R/L

2065/66 R/L

2067/68 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 4100160Y02(RH)

Bore Size: 48.15

Air Gap: 61.00

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: B61/B60

Application

NISSAN Sentra 1.6L (94-90); NX 1600 (93-91)

NX COUPE 1.6 (Mod:B13) EXC.ABS  1991-94

((USA+JAP BUILT CARS WITH 240X18mm ROTOR))

FRONT

OEM No.: 30010282(RH)

Bore Size: 48.15

Air Gap: 53.70

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: TOKICO

Application

GEO Tracker 2Dr. (97-89)

SUZUKI Sidekick 2 Dr. (96-89)

FRONT

OEM No.: 45210SM4A00

Bore Size: 57.25

Air Gap: 63.50

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 17CL14VN R/L

Application

ACURA Integra (93-90); Legend (90-86)

HONDA (91-88)

FRONT

OEM No.: 30014541(RH)

Bore Size: 54.00

Air Gap: 60.30

Pin Mounting: 142.00

Port Size: M10x1.0

Casting No.: 89x6D22A/T4

Application

GEO Tracker 4Dr. (98-96)

SUZUKI Sidekick 4Dr. (96-91)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2071/72 R/L

2073/74 R/L

2075/76 R/L

2077/78 R/L



FRONT

OEM No.: LA1233980E (RH)

Bore Size: 43.00

Air Gap: 65.40

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.:

Application

MAZDA MPV 4WD. (96-92)

FRONT

OEM No.: 8944386851(RH)

Bore Size: 60.60

Air Gap: 59.00

Pin Mounting: 158.30

Port Size: M10x1.0

Casting No.: 2307 L/R

AD60-22-14

Application

ISUZU TRUCK Trooper, Trooper ll (91-86); Pickup 4 WD (93-88);

Amigo (93-89); Rodeo (93-91)

Pickup 4WD 1987-8/90

FRONT

OEM No.: GA2A3361X(RH)

Bore Size: 57.30

Air Gap: 64.20

Pin Mounting: 160.20

Port Size: M10x1.0

Casting No.: 5708/5707

Application

FORD Probe (95-93)

MAZDA MX-6, 626 (95-93)

626 Sedan, W/2.0 LTR 4 CYL 1998-02

FRONT

OEM No.: LAY333982R(RH)

Bore Size: 43.00

Air Gap: 67.40

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: FS12WD

Application

MAZDA TRUCK MPV 2WD (95-92)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2081/82 R/L

2083/84 R/L

2079/80 R/L

2085/86 R/L



FRONT

OEM No.: 41001N7190RE(RH)

Bore Size: 43.00

Air Gap: 70.00

Pin Mounting: 190.00

Port Size: M10x1.0

Casting No.: T1, T3

Application

NISSAN TRUCK Pathfinder (95-9/88); Pickup 4WD, W/4 & 6Cyl. (1/92-9/89);

                      Pickup 2WD W/6Cyl. (95-9/89); Wagon W/Dual Piston (90-87)

PASSENGER VAN(Mod:GC22/W) 1987-90 

FRONT

OEM No.: 4773016011(RH)

Bore Size: 48.13

Air Gap: 42.00

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: No.1/No.2

Application

TOYOTA Tercel (8/82-79)

FRONT

OEM No.: 4773016040(RH)

Bore Size: 48.18

Air Gap: 46.20

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 48-11 M/48-11 N

Application

TOYOTA Tercel (90-86)

FRONT

OEM No.: 4773032070(RH)

Bore Size: 57.15

Air Gap: 57.10

Pin Mounting: 155.60

Port Size: M10x1.0

Casting No.: 57-22 R/L

Application

TOYOTA Camry (10/87-8/86); Celica (91-90)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2087/88 R/L

2089/90 R/L

2091/92 R/L

2093/94 R/L



FRONT

OEM No.: 4773026040(RH)

Bore Size: 60.38

Air Gap: 64.50

Pin Mounting: 171.60

Port Size: M10x1.0

Casting No.: AISIN

Application

TOYOTA TRUCK Pickup. Hi-Lux 2WD, Single REAR Wheel 1/2 Ton (91-8/83)

FRONT

OEM No.: 4773060021(RH)

Bore Size: L:42.90 S:34.00

Air Gap: 59.50

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: S12-8

Application

TOYOTA TRUCK 4 Runner 4Cyl. (87-84); Landcruiser (90-75);

                       Pickup, Hi-Lux Long Bed 4WD W/4Cyl. (88-86)

FRONT

OEM No.: 4773028100(RH)

Bore Size: 60.20

Air Gap: 56.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2317

Application

TOYOTA Van, Wagon 2WD(87-90)

FRONT

OEM No.: 4773035050(RH)

Bore Size: 60.50

Air Gap: 57.70

Pin Mounting: 118.00

Port Size: M10x1.0

Casting No.: F18Q R/L

Application

TOYOTA TRUCKPickup, Hi-Lux Long Bed (91-89)

2099/100 R/L

2097/98 R/L

2101/02 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2095/96 R/L



FRONT

OEM No.: 8943867020(RH)

Bore Size: 60.62

Air Gap: 66.00

Pin Mounting: 156.00

Port Size: M10x1.0

Casting No.: F18H R/L

Application

MAZDA TRUCK MPV Van/Wagon 2WD+4WD 1989-91

FRONT

OEM No.: 4773035030(RH)

Bore Size: 57.20

Air Gap: 63.00

Pin Mounting: 118.00

Port Size: M10x1.0

Casting No.: 17S R/L

Application

TOYOTA TRUCK Pickup, Hi-Lux 2WD 4Cyl. (95-89)

(Models W/4 Speed Trans Atfer 8/88-)

FRONT

OEM No.: 4773035080(RH)

Bore Size: 42.90

Air Gap: 57.40

Pin Mounting: 89.000

Port Size: M10x1.0

Casting No.: S12W R/L-SH56

Application

TOYOTA TRUCK Pickup 4WD 1988-95

4-RUNNER 2WD/4WD(Mods:RN120/130, VZN120/130)  1988-6/91

FRONT

OEM No.: 4773035090(RH)

Bore Size: 45.40

Air Gap: 63.00

Pin Mounting: 89.00

Port Size: M10x1.0

Casting No.: S13WB

Application

TOYOTA TRUCK 4 Runner (95-91); T100 Pickup 4WD 1/2 Ton (95-91)

PICKUP T100 4WD(Mods:VCK20/21) 1993-98

2103/04 R/L

2109/10 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2105/06 R/L

2107/08 R/L



FRONT

OEM No.: 4773014200/20(RH)

Bore Size: 60.40

Air Gap: 59.00

Pin Mounting: 158.30

Port Size: M10x1.0

Casting No.: 2313 L/R

Application

TOYOTA Supra (92-1/86)

FRONT

OEM No.: 477302815084(RH)

Bore Size: 60.50

Air Gap: 58.00

Pin Mounting:

Port Size: M10x1.0

Casting No.: 2321 L/R

Application

TOYOTA  PREVIA VAN FWD & AWD(Mods:TRC10/20)  1/1990-96

 PREVIA-DX w/Rr DRUM(USA Only) (Mods:TRC10/20)  1/1994-97

 PREVIA-LE w/Rr DISC Exc.ABS(Mods:TRC10/20)  1/1990-8/1991

 PREVIA-DX w/Rr DISC Exc.ABS(Mods:TRC10/20)  8/1991-1/1994

 PREVIA-DX w/Rr DISC Exc.ABS-CAN Only (Mods:TRC10/20)  1/1994-8/94

FRONT

OEM No.: 4773022180(RH)

Bore Size: 60.70

Air Gap: 57370

Pin Mounting: 118.00

Port Size: M10x1.0

Casting No.: F18N L/R

Application

TOYOTA Cressida (7/92-8/88)

REAR

OEM No.: 4773020260(RH)

Bore Size: 35.00

Air Gap: 45.10

Pin Mounting: 145.00

Port Size: M10x1.0

Casting No.: 35-10 R/L

Application

LEXUS ES250 Sedan (91-90); ES300 Sedan 995-92)

TOYOTA Camry S/W (9/94-3/92); S/W W/4Cyl. (95-9/93); Sedan (95-88);

              Celica ST165, ST185 4WD W/Turbo (93-88)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2111/12 R/L

2113/14 R/L

2115/16 R/L

2117/18 R/L



FRONT

OEM No.: 41001P9190RE(RH)

Bore Size: 60.65

Air Gap: 64.20

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: KL3, KR3

Application

NISSAN 280ZX (83-79)

REAR

OEM No.: 44011P7290RE(LH)

Bore Size: 42.90

Air Gap: 58.00

Pin Mounting: 96.00

Port Size: M10x1.0

Casting No.: 12

Application

NISSAN 280ZX (81-79)

FRONT

OEM No.: 4400FS400(RH)

Bore Size: 40.50

Air Gap: 58.00

Pin Mounting: 96.00

Port Size: 3/8"-24

Casting No.: 11

Application

NISSAN 200SX (5/81-78)

FRONT

OEM No.: 4100105A90(RH)

Bore Size: 48.13

Air Gap: 54.00

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: PD212 L/R

Application

NISSAN Sentra (1/86-82); ALL Exc. Wagon, 4WD & Diesel (90-86); Pulsar Gasoline W/SOHC (91-82)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2119/20 R/L

2121/22 R/L

2123/24 R/L

2125/26 R/L



FRONT

OEM No.: 41001W2291(RH)

Bore Size: 54.04

Air Gap: 57.20

Pin Mounting: 132.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN 200SX, 240SX 4Cyl. (88-86); 810, 910 Maxima (6/84-82)

FRONT

OEM No.: 4100113E00(RH)

Bore Size: 60.67

Air Gap: 67.00

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN 810, 910, Maxima (88-84); Stanza (89-86)

NISSAN TRUCK 620, 720, Pickup, D21 (82-11/83)

FRONT

OEM No.: 41000U9500(RH)

Bore Size: 51.15

Air Gap: N/A

Pin Mounting: 76.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN B210 (82-75); 610 (76-74)

FRONT

OEM No.: 4773012030(RH)

Bore Size: 65.00

Air Gap: 39.50

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.: 1708A/B

Application

TOYOTA Corolla, 1600cc, 2TC (74-70)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2133/34 R/L

2127/28 R/L

2129/30 R/L

2131/32 R/L



FRONT

OEM No.: D77Z2B120A(RH)

Bore Size: 54.00

Air Gap: 43.00

Pin Mounting: 101.00

Port Size: M10x1.25

Casting No.: AKEBONO L/R

Application

FORD TRUCK Courier (83-77)

MAZDA TRUCK B1800, B2000, Rotary Pick-up, B2200, B2600 (85-76)

FRONT

OEM No.: D8RZ2B120A(RH)

Bore Size: 48.05

Air Gap: 50.50

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.:

Application

FORD Fiesta (80-77)

FRONT

OEM No.: 4773012070(RH)

Bore Size: 48.15

Air Gap: 41.00

Pin Mounting: 104.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Corolla 3KC, 1200cc (79-74)

FRONT

OEM No.: 4773020060(RH)

Bore Size: 54.04

Air Gap: 50.00

Pin Mounting: 89.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Cressida (80-77); Corona, Corona Mark ll Sumitomo 2 Piston (82-74)

TOYOTA TRUCKPick-up, Hi-Lux Sumitomo 2 Piston (7/83-74)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2135/36 R/L

2137/38 R/L

2139/40 R/L

2141/42 R/L



FRONT

OEM No.: 477301250(RH)

Bore Size: 50.90

Air Gap: 39.50

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Corolla 2TC, 1600cc (79-75)

FRONT

OEM No.: 41000H6200(RH)

Bore Size: 51.18

Air Gap: N/A

Pin Mounting: 76.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN B210, 210 (75-73)

FRONT

OEM No.: 41000M6600(RH)

Bore Size: 48.15

Air Gap: N/A

Pin Mounting: 84.00

Port Size: M10x1.0

Application

NISSAN 310 Tokico-2Piston (83-79)

FRONT

OEM No.: 4773014041(RH)

Bore Size: 50.90

Air Gap: 39.50

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Corolla, FX, FX16 2TC W/Anti-Rattle Clip (79-74)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2149/50 R/L

--------------------------------------------------------------------------------------------------------

2147/48 R/L

2143/44 R/L

2145/46 R/L



FRONT

OEM No.: GA9933980(RH)

Bore Size: 54.00

Air Gap: 53.00

Pin Mounting: 143.70

Port Size: M10x1.0

Casting No.: 2123

Application

MAZDA 626, MX-6 After 12/83 (Vented Rotor) (85-83)

FRONT

OEM No.: 94230529(RH)

Bore Size: 54.00

Air Gap: 45.00

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.: 2108

Application

GMC LUV (84-81)

ISUZU Pick-up (83-81)

FRONT

OEM No.: 4773012210(RH)

Bore Size: 51.15

Air Gap: 48.70

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 51-13-5 NO 2/1

Application

CHEVROLET Nova Exc. 88 Twin Cam. (88-85)

TOYOTA Corolla, FX, FX16 FWD (87-8/83)

FRONT

OEM No.: 45210SA3671(RH)

Bore Size: 50.80

Air Gap: 43.10

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.: 2016B/A

Application

HONDA Accord Akebono-1 Piston (81-76); Civic S.W (82-80)

2151/52 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2153/54 R/L

2155/56 R/L

2157/58 R/L



FRONT

OEM No.: 45210SA0772(RH)

Bore Size: 51.15

Air Gap: 46.30

Pin Mounting: 142.00

Port Size: M10x1.0

Casting No.:

Application

HONDA Civic CRX 1.5 HF, 1.3L (87-84); Civic Hatchback (81-80); 1.3L 4 Speed (83-82)

FRONT

OEM No.: B00133980A(RH)

Bore Size: 54.05

Air Gap: 50.00

Pin Mounting: 115.00

Port Size: M10x1.0

Casting No.:

Application

MAZDA GLC Exc. S.W (85-81)

FRONT

OEM No.: 4773014140(RH)

Bore Size: 57.15

Air Gap: 56.10

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2204

Application

TOYOTA Celica, RWD (85-81)

FRONT

OEM No.: MB150653(RH)

Bore Size: 51.15

Air Gap: 46.00

Pin Mounting: 102.00

Port Size: M10x1.0

Casting No.:

Application

DODGE Colt 1600, 2000, Vista Hatchback (83-79); S.W (80-78)

HYUNDAI Excel W/Manual Transmission Before 9/87 (87-86)

MITSUBISHI Precis Solid Rotor (89-87)      

PLYMOUTH Champ Sumitomo-1 Piston (9/83-79)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2165/66 R/L

2159/60 R/L

2161/62 R/L

2163/64 R/L



FRONT

OEM No.: 4773032040(RH)

Bore Size: 50.90

Air Gap: 51.50

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.:

Application

TOYOTA Corolla Coupe (88-8/83)

FRONT

OEM No.: 4100106R00(RH)

Bore Size: 51.16

Air Gap: 55.00

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN Sentra Diesel Engine (86-83)

REAR

OEM No.: 41001B9800/01(RH)

Bore Size: 38.02

Air Gap: 49.80

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN 200SX (9/83-6/81)

REAR

OEM No.: 4400104S90(RH)

Bore Size: 38.00

Air Gap: 49.80

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN 810, 910, Maxima (6/84-81)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2167/68 R/L

2169/70 R/L

2171/72 R/L

2173/74 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



REAR

OEM No.: 4400107F90(RH)

Bore Size: 38.00

Air Gap: 49.80

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.:

Application

NISSAN 200SX (6/86-10/83), 200SX 4Cyl. (88-87)

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 60.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2153 R/L AD 54 24-14

Application

FORD Probe (92-89)

MAZDA 626, MX6 (92-88)

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 68.00

Pin Mounting: 161.00

Port Size: M10x1.0

Casting No.: 57-28 3/57-28 4

Application

LEXUS ES300 (93-92)

TOYOTA Camry 6Cyl. (96-92); Celica (95-94)

FRONT

OEM No.:

Bore Size: 54.08

Air Gap: 53.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 54-18 2A/54-18 2B

54-18 R/L

Application

GEO (92-88)

TOYOTA (92-88)

2175/76 R/L

2179/80 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2183/84 R/L

2181/82 R/L



FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 63.80

Pin Mounting: 164.00

Port Size: M10x1.0

Casting No.: B37 R/B36 L

Application

SUBARU (94-90)

FRONT

OEM No.:

Bore Size: 57.23

Air Gap: 59.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2211 R/L

Application

DODGE  2WD RAM D50 PICKUP  1987-93

 2WD MIGHTY MAX & SPX PICKUP  1987-96

 PASSENGER VAN  1987-90

FRONT

OEM No.: 45018-SDB-A01

Bore Size: 57.25

Air Gap: 63.80

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 17CL15VN 53AT

Application

HONDA Accord Sedan W/V6 Eng 1995-97

Acura Cl 200 Ltr 1997-99

Wagon 1991-97

FRONT

OEM No.:

Bore Size: 38.20, 42.90

Air Gap: 66.50

Pin Mounting: 174.0

Port Size: M10x1.0

Casting No.: 17CL15VN R/L

Application

ACURA (95-93)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MITSUBISHI TRUCK

2187/88 R/L

2189/90 R/L

2191/92 R/L

--------------------------------------------------------------------------------------------------------

2185/86 R/L



FRONT

OEM No.: 8EO 615 123(L) 8EO

Bore Size: 42.90

Air Gap: 64.30

Pin Mounting: 128.0

Port Size: M10x1.0

S12WE

Application

(95)

FRONT

OEM No.:

Bore Size: 48.18

Air Gap: 54.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 48-18 1702 R/L

Application

TOYOTA (95-90)

FRONT

OEM No.: 8563/64

Bore Size: 57.25

Air Gap: 68.00

Pin Mounting: 161.00

Port Size: M10x1.0

Casting No.: 57-28 1/57-28 2

Application

TOYOTA Camry 4Cyl (96-92)

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 63.50

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 17CL15VN R/L

Application

ACURA (95-91)

HONDA

HONDA TRUCK (95-91)

TOYOTA TRUCK

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2193/94 R/L

2195/96 R/L

2197/98 R/L

2199/200 R/L



FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 63.80

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 17CL15VN 23T R/L

Application

ACURA Legend (95-91)

FRONT

OEM No.: 30010282(RH)

Bore Size: 48.15

Air Gap: 53.70

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: T2-080N

Application

GEO Tracker 2DR (96-89)

SUZUKI Sidekick 2DR Conv (96-89)

FRONT

OEM No.: 45210SM4A00(RH)

Bore Size: 57.26

Air Gap: 63.70

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 17CL14VN 23T R/L

Application

HONDA Legend 2DR, Coupe 1991-92

Legend 4DR, Sedan (Exc.94-95) 1991-95

RL Sedan 1996-97, TL Sedan 3.2 Ltr 1996-97

FRONT

OEM No.: 45210SA5671(RH)

Bore Size: 50.80

Air Gap: 49.00

Pin Mounting: 136.00

Port Size: M10x1.0

Casting No.: 2017 R/L

Application

HONDA Accord Akebono (1 Piston) (83-82)

2205/06 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2201/02 R/L

2203/04 R/L

2207/08 R/L



FRONT

OEM No.: 45210SA5602(RH)

Bore Size: 51.15

Air Gap: 50.00

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: TOKICO

Application

HONDA (Short Piston) Civic Hatchback 1500CC & SW (91-90); Civic Sedan (87-83)

Civic crx 1300&Hf 1984-87

FRONT

OEM No.: 45210SH3A05(RH)

Bore Size: 51.15

Air Gap: 51.50

Pin Mounting: 138.00

Port Size: M10x1.0

Casting No.: V R/V L

Application

HONDA Civic CRX 1.5 DX, Si (91-90); Civic S.W (87-84)

FRONT

OEM No.: 45210692671(RH)

Bore Size: 51.15

Air Gap: 53.50

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: TOKICO R/L

Application

HONDA Civic Hatchbark 1300CC, DX (Tall Piston) (87-84)

FRONT

OEM No.: 45210SB0674(RH)

Bore Size: 51.15

Air Gap: 53.50

Pin Mounting: 138.00

Port Size: M10x1.0

Casting No.: V II

Application

HONDA Prelude W/o Fuel Injection, DX (87-83)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2211/12 R/L

2213/14 R/L

2215/16 R/L

2209/10 R/L



REAR

OEM No.:

Bore Size: 41.64

Air Gap: 55.00

Pin Mounting: 144.00

Port Size: M10x1.0

Casting No.: 4101 R/L

Application

HONDA TRUCK (95-94) Passport 2WD-V6&4WD-V6 Sport Utility 1994-02

ISUZU TRUCK (95-94) Rodeo Sport 2DR SUV 1983-03

Amigo Sport Utility 1988-02

Axiom Sport Utility 2002-04

FRONT

OEM No.: 4100103P90RE(RH)

Bore Size: 40.67

Air Gap: 61.30

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: 28AB 28 R/28AB 28 L

Application

DATSUN (92-86)

INFINITY (92-86)

NISSAN 300ZX, Non-Turbo(97-84)

FRONT

OEM No.:

Bore Size: 60.30

Air Gap: 59.00

Pin Mounting: 142.00

Port Size: M10x1.0

Casting No.: 2329 R/L

Application

ISUZU TRUCK PICKUP 2WD (95-89)

REAR

OEM No.:

Bore Size: 43.00

Air Gap: 49.00

Pin Mounting: 79.00

Port Size: 3/8-24 UNF

Casting No.:

Application

JAGUAR XJ6, XJ12 (87-73)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2217/18 R/L

2219/20 R/L

2221/22 R/L

2223/24 R/L



REAR

OEM No.:

Bore Size: 38.02

Air Gap: 52.50

Pin Mounting: 136.00

Port Size: M10-1.0

Casting No.: 38-16V R/L

Application

LEXUS LS400 Sedan (Mod:ucF10) 5/89-1992)

OEM No.:

Bore Size: 60.36

Air Gap: 58.00

Pin Mounting: 131.00

Port Size: M10x1.0

Casting No.: S13WA

Application

Landcruiser (92-91)

OEM No.:

Bore Size: 44.40

Air Gap: 60.50

Pin Mounting: 158.00

Port Size: M10-1.0

Casting No.: 2403

Application

Previa (97-91)

OEM No.:

Bore Size: 60.35

Air Gap: 58.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2321 R/L

Application

PREVIA (96-91)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

TOYOTA TRUCK

TOYOTA TRUCK

TOYOTA TRUCK

2227/28 R/L

2225/26 R/L

2229/30 R/L

2231/32 R/L



REAR

OEM No.:

Bore Size: 42.92

Air Gap: 51.00

Pin Mounting: 155.00

Port Size: M10-1.0

Casting No.: 43-18 2G R/43-18 2H L

Application

Previa (95-90)

FRONT

OEM No.:

Bore Size: 66.50

Air Gap: 69.60

Pin Mounting: 172.00

Port Size: M10x1.0

Casting No.: AISIN 1 R/L

Application

PICKUP DRW (95-89)

FRONT

OEM No.:

Bore Size: 60.35

Air Gap: 56.20

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2306 R/L

Application

VAN (86)

FRONT

OEM No.: 4773012210(RH)

Bore Size: 51.15

Air Gap: 48.70

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 51-13.5 C NO.1/51-13.5 C NO.2

Application

CHEVROLET Nova Exc.88 Twin Cam. (88-85)

TOYOTA Corolla, FX, FX16 FWD (88-83)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

TOYOTA TRUCK

TOYOTA TRUCK

TOYOTA TRUCK

2239/40 R/L

2237/38 R/L

2233/34 R/L

2235/36 R/L



FRONT

OEM No.: AKE

Bore Size: 30.25

Air Gap: 43.00

Pin Mounting: 132.0

Port Size: M10X1.0p

Casting No.: 1106(AD30-10)

Application

MAZDA 626 2.0i, SEDAN GD (5/87-91)

626 2.21, GD (5/88-91)

626 2.0I KOMBI GV (3/88-)

REAR

OEM No.: NKB

Bore Size: 41.33

Air Gap: 50.00

Pin Mounting: 80.1

Port Size: M10X1.0p

Casting No.: NKB

Application

ISUZU TROOPER 2.6, UBS17 (88-)

TROOPER 2.8 TD, UBS55(+INTERCOOLER) (88-)

REAR

OEM No.: BK/T266/XA

Bore Size: 35.10

Air Gap: 40.00

Pin Mounting: 132.0

Port Size: M10X1.0p

Casting No.: AD35P 3509(05R, 81L)

Application

MAZDA 626 1.8 GF (6.97-), 1.8 kombi, GW (6/97-), 2.0 GF (6/97-)

2.0 kombi, GW (6/97-), 2.0 Diesel kombi, GW (6/97-)

2.5 V6 GF (6/97-)

REAR

OEM No.:

Bore Size: 30.05

Air Gap: 40.50

Pin Mounting:

Port Size:

Casting No.: AD30-9, 56, 1112R

Application

MAZDA MX3 1.6iDOHC, EC(95/91-), 1.8IDOHC V6, EC (5/91-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2241/42 R/L

2245/46 R/L

2247/48 R/L

2243/44 R/L



REAR

OEM No.: 47840-87101-000(L)

Bore Size: 30.00

Air Gap: 45.50

Pin Mounting:

Port Size:

Casting No.: NBK, 18, M, 065

Application

MAZDA 626 1.8/2,0 GE (8/91-), 2.5 GE (8/91-)

REAR

OEM No.: 44011-62C00(L), 44001-62C00®

Bore Size: 34.04

Air Gap: 53.80

Pin Mounting: 130.0

Port Size: M10X1.0p

Casting No.: 42L, 42R

Application

NISSAN 100NX 1.6 (10/90-10/94), 2.0 (10/90-10/94)

REAR

OEM No.: 44011-78N00(L) / 44001-78N00®

Bore Size: 38.20

Air Gap: 53.80

Pin Mounting: 130.0

Port Size: M10X1.0p

Casting No.: 41L, 41R

Application

NISSAN Primera 2.0 Wagon, W10 (10/90-98). Van/Kastenwagen, W10 (10/90-98-)

2.0 Diesel Wagon, W10 (10/90-98)

REAR

OEM No.: MR235664(L)

Bore Size: 35.00

Air Gap: 45.00

Pin Mounting: 130.0

Port Size: M10X1.0p

Casting No.: 3502, 52

Application

MITSUBISHI Carisma 1.8, DA2a (7/95-), 1.8 16V Gdi (7/97-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2253/54 R/L

2255/56 R/L

2249/50 R/L

2251/52 R/L



REAR

OEM No.: 44011-99B02(L), 44001-99B02®

Bore Size: 30.20

Air Gap: 50.00

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: 1926/1, 1927/1

Application

NISSAN Micra K11 (8/92-)

FRONT

OEM No.: 44011-05J00(L), 44001-05J00®

Bore Size: 51.18

Air Gap: 60.00

Pin Mounting: 158.0

Port Size: M10X1.0p

Casting No.: AD20VC, 22-15 2038R

Application

NISSAN Patrol Y60 2.8TD (9/88-), Y60 4.2 (10/91-)

REAR

OEM No.: 4401125500

Bore Size: 34.04

Air Gap: 52.00

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: 2187/2-L, 2188/2-R

Application

NISSAN Primera 1.6, P11 (6/96-), 1.6 Stationcar, P11 (01/98-), 2.0, P11 (6/96-)

2.0 SE, P11 (01/98-), 2.0GT, P11 (6/96-), 2.0 Stationcar, P11 (01/98-)

2.0 Diesel, P11 (6/96-), 2.0D. Stationcar, P11 (01/98-)

FRONT

OEM No.: MR249220(L), MR249221®

Bore Size: 54.04

Air Gap: 62.70

Pin Mounting: 144.0

Port Size: M10X1.0p

Casting No.: 32325198/5-R, 

32325197/5-R

Application

MITSUBISHI Carisma 1.6, DA1A (7/95-), 1.9TD (10/96-)

--------------------------------------------------------------------------------------------------------

2257/58 R/L

2259/60 R/L

2261/62 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2263/64 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 47750-17-140(L), 47730-17-140®

Bore Size: 36.55

Air Gap: 65.00

Pin Mounting: 161.0

Port Size: M10X1.0p

Casting No.: 36T30, AISIN

Application

TOYOTA MR2 2.0i, SW20 (18) (9.2-),

FRONT

OEM No.: MB858404/05

Bore Size: 43.00

Air Gap: 60.00

Pin Mounting: 184

Port Size:

Casting No.: 3, (L,G) T

Application

MITSUBISH L200 2000i, 2400i, 2500D, 2500TD K6 (6/96-)

Pajero 2500 Diesel, V34 (94-), 2500TD, V24, V34&V44 (94-)

Pajero 2800 Diesel, V36/2800TD, V46 (94-), 3000i, V23&43 (2/91-)

Pajero 3000, V6 GLS, K9 (98-), 3500i, V25 & V45 (94-)

Space Gear 2.4, PD4V/W, 4WD, 2.5TD, PD5V/W, 4WD (12/94-)

REAR

OEM No.: 44011-0N600(L) , 44001-0N600®

Bore Size: 34.00

Air Gap: 

Pin Mounting:

Port Size:

Casting No.: 51

Application

Nissan Maxima Sedan (Mod:A32B) 2/94-98

REAR

OEM No.: 48350-51210(LH)

Bore Size: 34.00

Air Gap: 

Pin Mounting:

Port Size:

Casting No.: 52L ,  52R

Application

SAMSUNG SM525

Nissan Almera 2.0i - 2.0i GTI  REAR   04/96-07/00

Almera Diesel 2.0  REAR  01/98-07/00

Almera 1.4i with ABS  REAR  01/98-07/00

Almera 1.6i with ABS  REAR  01/98-07/00

2271/72 R/L

2267/68 R/L

2269/70 R/L

2265/66 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: NIS

Bore Size: 68.10

Air Gap: 64.00

Pin Mounting:

Port Size:

Casting No.: NONE

Application

NISSAN Patrol Y60 2.8 TD (9/88-)

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 63.50

Pin Mounting: 174.00

Port Size:

Casting No.: 17CL 15VN

Application

FRONT

OEM No.:

Bore Size: 60.35

Air Gap: 64.00

Pin Mounting: 174.00

Port Size:

Casting No.: 6005

Application

ISUZU  PASSPORT 2WD & 4WD w/6 Cyl SPORT UTILITY 1994-01

HONDA  RODEO 2WD & 4WD w/6 Cyl SPORT UTILITY 1993-97

 AMIGO 2WD & 4WD SPORT UTILITY 1998-01

 AXIOM SPORT UTILOTY 02-10/01

FRONT

OEM No.:

Bore Size: 44.53

Air Gap: 66.00

Pin Mounting: 184.00

Port Size: M10X1.0p

Casting No.: 4503

Application

 NISSAN  PATHFINDER 2WD & 4WD (Mod:R50) 7/97-12/98

 INFINITI  ZX4 SPORT UTILITY VEHICLE (Mod:JR50) 7/97-99

2275/76 R/L

2277/78 R/L

2279/80 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2273/74 R/L



REAR

OEM No.: 47730-60110(R) / 47750-60110(L)

Bore Size: 48.13

Air Gap: 53.80

Pin Mounting: 118.00

Port Size:

Casting No.: F14

Application

TOYOTA LANDCRUISER REAR (93-97)

FRONT

OEM No.: 47730-04030®, 47750-04030(L)

Bore Size: 60.67

Air Gap: 61.70

Pin Mounting: 118.00

Port Size: M10X1.0p

Casting No.: F18Z

Application

TOYOTA  TACOMA 2WD STD MODEL (Mod:RZN140/150 & VZN150) 1/95-04

FRONT

OEM No.: 18048674/75 

Bore Size: 63.60

Air Gap: 71.50

Pin Mounting: 178.00

Port Size: M10x1.5

Casting No.: 16 154 R/L

Application

BUICK H BODY} LESABREE W/16" 2000-04 

G BODY} PARK AVENUE 1997-04 

CADILLAC E BODY} ELDORADO COUPE 1997-02

CHEVROLET W BODY} IMPALA SEDAN & MONTE CARLO 2000-04

PONTIAC H BODY} BONNEVILLE W/17" % 18" WHEELS 2000-04 

FRONT

OEM No.: 4400 G9(L) / 4400 H0®

Bore Size: 33.04

Air Gap: 52.60

Pin Mounting: 102.60

Port Size: M10x1.0

Casting No.: 66/65

Application

CADILLAC DEVILLE COMMERCIAL CHASSIS (w/J55 H-DUTY) 1990-00; ESCALADE 1990-00

CHEV/GMCTRK  C,K2500 3/4T. PICKUP(w/C5ZL-DUTY to 7200 GVWR) 1988-99

C,K1500 1/2T. PICKUP(w/JB6&L05 L-DUTY BRAKES) 1999

C,K1500 1/2T. PICKUP(ALL) 1992-93; EXT CAB PICKUP(w/155"WB) 1988-91

CHEVROLET L10 ASTRO-4WD VAN 1990-02; BLAZER & TAHOE(w/F44 H-DUTY Exc.POLICE SPEC) 1992-00

2281/82 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2283/84 R/L

2285/86 R/L

2287/88 R/L



FRONT

OEM No.:

Bore Size: 48.05

Air Gap: 55.00

Pin Mounting: 84.00

Port Size: M10x1.5

Casting No.: 48/12.7 387

Application

JEEP TRK GRAND CHEROKEE (Mod:W J) REAR 1999-04

FRONT

OEM No.:

Bore Size: 57.20

Air Gap: 76.50

Pin Mounting: 159.00

Port Size: M10x1.0

Casting No.: 32325291/5, 290/5

Application

FRONT

OEM No.:

Bore Size: 57.02

Air Gap: 77.30

Pin Mounting: 94.00

Port Size: M10x1.0

Casting No.: 870/869

Application

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 74.00

Pin Mounting: 104.00

Port Size: M10x1.0P

Casting No.: 648/647

Application--------------------------------------------------------------------------------------------------------

2295/96 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2293/94 R/L

2291/92 R/L

2289/90 R/L



REAR

OEM No.: 3516840-0

Bore Size: 48.00

Air Gap: 60.00

Pin Mounting: 84.00

Port Size: 3/8"-24

Casting No.: 4829 (8135)

Application

JEEP Grand Cherokee (Mod:WJ) 1994-04

FRONT

OEM No.: T750

Bore Size: 68.12

Air Gap: 64.20

Pin Mounting: 172.00

Port Size: M10x1.0

Casting No.: T545, R2

Application

REAR

OEM No.:

Bore Size: 40.50

Air Gap: 80.00

Pin Mounting: 144.00

Port Size: M10x1.0

Casting No.: K241-022C

Application

CHEVORET F Body Camaro Firebiro W/HD J65 Brakes 1989-93

REAR

OEM No.: 44011-71J00(L), 44001-71J00®

Bore Size: 34.00

Air Gap: 52.00

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: L : 1531/4, R : 1532/4

Application

NISSAN Primera P/O 7/91-

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2303/04 R/L

2299/2300 R/L

2301/02 R/L

2297/98 R/L



FRONT

OEM No.: 5017832AA / 33AA

Bore Size: 57.25

Air Gap: 72.50

Pin Mounting: 159.00

Port Size: M10X1.25p

Casting No.: 134469C

Application

CHRYSLER PT Cruiser (Exc. TURBO) w/STD BRAKE  2001-04

REAR

OEM No.: 5003891AB

Bore Size: 42.00

Air Gap: 53.20

Pin Mounting: 99.00

Port Size: 7/16-20UNF

Casting No.: 4203

Application

CHRYSLER VAN-TOWN & COUNTRY, VOYAGER-FWD (S BODY) REAR 2001-04

PLYMOUTH TRK VOYAGER-FWD (S BODY) REAR 2001-04

FRONT

OEM No.:

Bore Size: 48.04

Air Gap: 50.20

Pin Mounting: 92.00

Port Size:

Casting No.: 477

Application

FORD EXPLORER 4DR REAR 2002-03

EXPLORER SPORT 2DR REAR 2001-02

EXPLORER SPORT-TRAC P/U REAR 2001-02

MERCURY MOUNTAINEER SUV REAR 2002-03

REAR

OEM No.: 47730-08030(F), 47750-08030(F)

Bore Size: 63.50

Air Gap: 68.60

Pin Mounting: 161.00

Port Size:

Casting No.: 63-28 AISIN

Application

TOYOTA Camry 4cyl, 6cyl LE(06-02)

 FORD EXPLORER 4DR REAR 2002-03

EXPLORER SPORT 2DR REAR 2001-02

EXPLORER SPORT-TRAC P/U REAR 2001-02

 MERCURY MOUNTAINEER SUV REAR 2002-03

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2305/06 R/L

2307/08 R/L

2309/10 R/L

2311/12 R/L



REAR

OEM No.: 44001-8J100®, 44011-8J100(L)

Bore Size: 34.95

Air Gap: 43.00

Pin Mounting: 120.00

Port Size: M10x1.0

Casting No.: 3513

Application

 NISSAN  ALTIMA SEDNA REAR 2002-04

 MAXIMA SEDAN REAR 2004

FRONT

OEM No.:

Bore Size: 70.04

Air Gap: 71.40

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.: 7019.9

Application

DODGE TRK Dakota Pickup 2000-02

Durahgo SUV 2000-02

FRONT

OEM No.:

Bore Size: 48.04

Air Gap: 55.80

Pin Mounting: 92.00

Port Size: M10x1.5p

Casting No.: 296

Application

FORD Crown Victoria LTD (1999-02)

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 64.00

Pin Mounting: 160.00

Port Size: M10X1.0p

Casting No.: TOKICO 41

Application

NISSAN Altima Sedan 2002-04

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2313/14 R/L

2319/20 R/L

2315/16R/L

2317/18 R/L



Rear

OEM No.:

Bore Size: 48.17

Air Gap: 60.50

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: BC140053 GM/MANDO

Application

CHEVORET Trailblazer SWB&LWB Mod S/T 2002-03

GMC Enjoy&Exvoy SUV 2002-03

ISUZU Ascender SUV 2003

OLDSMOBILE Bravada SUV 2002-03

FRONT

OEM No.: 5019806AA/07AA

Bore Size: 66.00

Air Gap: 73.40

Pin Mounting: 110.00

Port Size: 7/16-20

Casting No.: 66239 3265

Application

CHRYSLER Town&Country VAN 2002-03

Voyager W/Disc-Disc (16"Wheels) 2002-03

DODGE TRK Caravan w/Disc-disc 2002-03

REAR

OEM No.:

Bore Size: 34.00

Air Gap: 53.80

Pin Mounting:

Port Size:

Casting No.: 43

Application

NISSAN Altima Sedan (Mod:u13/u) 1993-01

REAR

OEM No.:

Bore Size: 54.00

Air Gap: 63.60

Pin Mounting: 99.00

Port Size: M10x1.0

Casting No.: 145184,(54)

Application

DODGE Durango Sport Utility 2WD&4WD 2003-05

1500 R1 Pickup 2WD (Exc SRT-10) 2002-05

Ram B1500&B2500 F/S VAN 2003

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2325/26 R/L

2327/28 R/L

2323/24 R/L

AL 2321/22 R/L



REAR

OEM No.: 43210-SB0-982

Bore Size: 30.30

Air Gap: 42.90

Pin Mounting: 106.00

Port Size: M10x1.0

Casting No.: 1047/1046

Application

REAR

OEM No.:

Bore Size: 41.30

Air Gap: 50.00

Pin Mounting: 80.00

Port Size: M10x1.0

Casting No.: NBK R/L

Application

FRONT

OEM No.:

Bore Size: 41.3

Air Gap: 54.8

Pin Mounting: 144.0

Port Size: M10x1.0P

Casting No.: 18-15 AD14V(R,L)

1510 R/L

Application

 NISSAN  PATHFINDER SE 6 CYL(Mod:WD21) REAR  1988-95

FRONT

OEM No.:

Bore Size: 38.14

Air Gap: 45.0

Pin Mounting: 136.0

Port Size: M10x1.0P

Casting No.: 1409 (AD38-10)

Application

 SUBARU  LEGACY WAGON (Exc.4WD-TURBO) & OUTBACK REAR  1990-98

 IMPREZA 2WD WAGON REAR  1995-96

 IMPREZA 4WD WAGON REAR  1993-96

 IMPREZA SEDAN & COUPE REAR  1998

--------------------------------------------------------------------------------------------------------

2333/34 R/L

2329/30 R/L

2331/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2335/36 R/L



FRONT

OEM No.:

Bore Size: 48.12

Air Gap: (54.00)

Pin Mounting: 144.7

Port Size: M10x1.0P

Casting No.: 1717 (AD18VE)

Application

 NISSAN  SENTRA 2.0L (Mod:B13A/B13H)  8/90-94

 NX COUPE 2.0L (Mod:B13G/B13H)  2/92-1993

 ((USA+JAP BUILT CARS w/250X18mm ROTOR))

FRONT

OEM No.: 47730-28150

Bore Size: 60.45

Air Gap: (61.00)

Pin Mounting: 158.00

Port Size: M10x1.0P

Casting No.: 2318 L/R (AD60-25-14)

Application

 TOYOTA  PREVIA-DX w/REAR DRUM (Mods:TRC10/20)  1/90-1/94

 PREVIA-DX w/REAR DRUM (Mods:TRC10/20)  1/94-8/94

FRONT

OEM No.: 47730-60070 or 60110(RH)

Bore Size: 48.13

Air Gap: 53.8

Pin Mounting: 118.0

Port Size: M10x1.0P

Casting No.: F14A

Application

 TOYOTA TRK  LANDCRUISER (Mod:FZJ80) REAR 1993-97

 LEXUS TRK  LX450 SPORT UTILITY REAR 1996-97

FRONT

OEM No.:

Bore Size: 54.04

Air Gap: 60

Pin Mounting: 130

Port Size: M10x1.0P

Casting No.: 22V

Application

 NISSAN SENTRA 1.6 (B14X) (IF=GXE GRADE) (MEXICO VIN=3N1) 8/98-99

SENTRA 2.0 (B14X) (MEXICO VIN=3N1) 7/98-99

200SX COUPE 2.0(Mod:B14U) (USA VIN=1N4##) 11/94-8/97

2343/44 R/L

2339/40 R/L

2341/42 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2337/38 R/L



FRONT

OEM No.:

Bore Size: 54.0

Air Gap: 58.0

Pin Mounting: 148.0

Port Size: M10x1.0P

Casting No.: PE54A

Application

 TOYOTA  RAV 4 SPORT UTILITY (Mod:SXA1#)  1996-00

FRONT

OEM No.:

Bore Size: 60.4

Air Gap: 66.0

Pin Mounting: 154.0

Port Size: M10x1.0P

Casting No.: 28V15 (6020)

Application

 LEXUS  RX300 SPORT UTILITY (Mod:MCU1)  1998-02

FRONT

OEM No.:

Bore Size: 63.55

Air Gap: 68.5

Pin Mounting: 161.0

Port Size: M10x1.0P

Casting No.: 63-28 9,10, AISIN

Application

 TOYOTA  CAMRY SEDAN 4CYL (Mod:ACV30) & 6CYL "LE" (Mod:MCV30) 2002-

 TOYOTA  CAMRY SEDAN 6CYL "SE" & "LXE" (Mod:MCV30) 2002-

FRONT

OEM No.:

Bore Size: 40.5

Air Gap: 45.5

Pin Mounting: 122.0

Port Size: M10x1.0p

Casting No.: 4C16 (11CL 16/17)

Application

 HONDA TRK  ODYSSEY REAR  2005-07

 RIDGELINE REAR  2006-07

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2345/46 R/L

2347/48 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2349/50 R/L

2351/52 R/L



FRONT

OEM No.: 44011-2F500(L) / 44001-2F500®

Bore Size: 34

Air Gap: 52

Pin Mounting:

Port Size:

Casting No.: 1482/5, 1483/5

Application

 NISSAN Primera P10  REAR  10/90-6/96

OEM No.: 47730-35120®, 47750-35120(L)

Bore Size: Φ45.42

Air Gap: 63.5

Pin Mounting: 118.1

Port Size: 3/8-24 UNF

Casting No.: S13WM

Application

TOYOTA TRK 4RUNNER (1996~2002), TACOMA (2004)

OEM No.:

Bore Size: 46.48

Air Gap: 74.0

Pin Mounting: 189.5

Port Size: M10x1.0

Casting No.: Z33

Application

NISSAN TRK FRONTIER , PATHFINDER , XTERRA 2005-07

OEM No.: MR510537(L), MR510538®

Bore Size: 2-Ø45.5

Air Gap: 62.3

Pin Mounting: 160.0

Port Size: M10x1.0p

Casting No.: FS13W

Application

MITSUBISHI TRK MONTERO 2001-06

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2359/60 R/L

2355/56 R/L

2357/58 R/L

2353/54 R/L



OEM No.: 4101137P01, 4100137P01

Bore Size: 4-Ø40.5

Air Gap: N/A

Pin Mounting: 100.0

Port Size: M10x1.0p

Casting No.: in : 2H

out : 41D

Application

NISSAN 300ZX (Coupe Exc. Turbo From 4/92) 1992

300ZX 1993-96

OEM No.:

Bore Size: 2-Ø44.5

Air Gap: 74.0

Pin Mounting: 118

Port Size: M10x1.0p

Casting No.: in : 45T

out : 32V

Application

LEXUS SC430 2002-08

GS400 1998-00

GS300 1998-05

OEM No.:

Bore Size: 38.2

Air Gap: 44.8

Pin Mounting: 112.0

Port Size: M10X1.0p

Casting No.: 108 M18 10CL 15SN

Application

ACURA TRK MDX REAR 2007

HONDA TRK CR-V 2005-07

OEM No.:

Bore Size: Ø30.27

Air Gap: 49.6

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: K32 L 22/ K41 R 22

Application

NISSAN 200SX 1995-98

SENTRA 1995-99

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2361/62 R/L

2363/64 R/L

2365/66 R/L

2367/68 R/L



FRONT

OEM No. :

Bore Size : 62.3

Air Gap : 60

Pin Mounting : 154

Inlet Port Size : M10X1.0p

Casting No. : 5413

Application

CHEVROLET Prizm(02. 01. 00. 99. 98)

TOYOTA Corolla(02. 01. 00. 99. 98)

FRONT

OEM No. :

Bore Size : Ø36.1

Air Gap : 61.5

Pin Mounting : 86

Inlet Port Size : 7/16-20

Casting No. : 120753. 15

Application

FRONT

OEM No. :

Bore Size : 57.25

Air Gap : 61.9

Pin Mounting : 174.0

Inlet Port Size : M10X1.0p

Casting No. : 5728

Application

HONDA ACCORD -Coupe, Sedan Japan Built, Hybrid(07, 06-03, 05)

FRONT

OEM No. :

Bore Size : 57.25

Air Gap : 61.9

Pin Mounting : 174.0

Inlet Port Size : M10X1.0p

Casting No. : 5728

Application

HONDA ACCORD Coupe, Sedan Japan Built, Hybrid(7, 6-3, 5)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2373/74 R/L

2375/76 R/L

2369/70 R/L

2371/72 R/L



FRONT

OEM No. :

Bore Size : 44.50

Air Gap : 58.0

Pin Mounting : 130.0

Inlet Port Size : M10X1.0p

Casting No. : 4501 A/B

Application

MITSUBISHI TRUCK MONTERO(06-01)

FRONT

OEM No. :

Bore Size : 38.15

Air Gap : 47.0

Pin Mounting : 118.0

Inlet Port Size : M10X1.0p

Casting No. : 38 2 L/R

Application

LEXUS ES300(06-04, 03-02)

TOYOTA CAMRY(06-02)

FRONT

OEM No. : 4101137P01

Bore Size : 4-40.5

Air Gap : N/A

Pin Mounting : 100.0

Inlet Port Size : M10x1.0p

Casting No. : in : 2H

out : 41D

Application

NISSAN 300ZX (Coupe Exc. Turbo From 4/92) 1992

                300ZX 1993-96

FRONT

OEM No. :

Bore Size : 54.02

Air Gap : 60.5

Pin Mounting : 138.0

Inlet Port Size : M10x1.0p

Casting No. : 3N L/R

Application

TOYOTA PRIUS(03-01)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2377/78 R/L

2381/82 R/L

2383/84 R/L

2379/80 R/L



FRONT

OEM No. :

Bore Size : 42.85

Air Gap : 50.0

Pin Mounting : 120.0

Inlet Port Size : M10x1.0p

Casting No. : 4306

Application

INFINITI G35(03)

NISSAN 350Z(05-03), Murano(07-03), Quest(09-07, 06-04)

FRONT

OEM No. :

Bore Size : 53.96

Air Gap : 58.0

Pin Mounting : 164.0

Inlet Port Size : M10X1.0p

Casting No. : 5426 14

Application

NISSAN VERSA(08)

FRONT

OEM No. : 47721-33030RF

Bore Size : 57.3

Air Gap : 67.8

Pin Mounting : 161.0

Inlet Port Size : M10X1.0p

Casting No. : K 57-28 L, J 57-28 R

(59 L, 60 R)

Application

TOYOTA  Camry 2.2 &3.0 V6, SXV10 & VCV10 Wagon (3/92-8/93)

                   2.2, SXV 10 (7/91-9/96), Carina E 1.6, AT190 (28mm.Disc/Scheibe) (12/93-)

                  1.8 (95-), 2.0i, ST191 (2/92-), 2.0 Diesel (95-), 2.0 Turbo-diesel (96-),

                   Picnic 2.0/2.2D SMX10/CM10 (10/96-),

                   Sports Van 2.0/2.2D SMX10/CMX10 (10/96-)

FRONT

OEM No. : 3342827-7/3342828-5

Bore Size : 30.2

Air Gap : 45.5

Pin Mounting : 124.0

Inlet Port Size : M10X1.0p

Casting No. : M080 L/R

Application

MAZDA 626 1.8/2.0 GE REAR (8/91-), 2.5 GE REAR (8/91-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2387/88 R/L

2389/90 R/L

2391/92 R/L

2385/86 R/L



FRONT

OEM No. : (T750)

Bore Size : 68.2

Air Gap : 64.0

Pin Mounting : 172.0

Inlet Port Size : M10X1.0p

Casting No. : T545, R2

Application

NISSAN Patrol Y60 2.8 TD (9/88-)

FRONT

OEM No. :

Bore Size : 68.2

Air Gap : 64.0

Pin Mounting : 172.0

Inlet Port Size : M10X1.0p

Casting No. : T545, L2

Application

FRONT

OEM No. : 47840-87101-000(L), 47830-87101-000®

Bore Size : 30.2

Air Gap : 46.0

Pin Mounting : 124.0

Inlet Port Size : M10x1.0p

Casting No. : NBK Y3 L, NBK Y4 R

Application

DAIHATSU Applause 1.6i, A101 REAR (9/89-)

FRONT

OEM No. : 44011-2F500(L) / 44001-2F500®

Bore Size : Ø34.0

Air Gap : 53.8

Pin Mounting : 130.0

Inlet Port Size : M10x1.0p

Casting No. : 43L , 43R

Application

NISSAN ALTIMA SEDAN(Mod:U13/U) REAR 1993-01

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2397/98 R/L

2399/2400 R/L

2393/94 R/L

2395/96 R/L



FRONT

OEM No. : MB858392(L) / MB858393®

Bore Size : 2-Ø42.9

Air Gap : 60.0

Pin Mounting : 184.0

Inlet Port Size : M10x1.0p

Casting No. : T23 12 L/R

Application

MITSUBISHI  L200 2000i, 2400i, 2500D , 2500TD K6 (6/96-)

                   Pajero 2500 Diesel, V34 (94-) , 2500TD, V24,V34 &V44 (94-)

                   Pajero 2800 Diesel, V36/2800TD, V46 (94-), 3000i, V23&V43 (2/91-)

              Pajero 3000, V6 GLS, K9 (98-), 3500i, V25 & V45 (94-)

                 Space Gear 2.4, PD4V/W, 4WD, 2.5TD, PD5V/W, 4WD (12/94-)

FRONT

OEM No. : 4400131U10

Bore Size : Ø34.0

Air Gap : 53.8

Pin Mounting : 130.0

Inlet Port Size : M10x1.0p

Casting No. : 51L , 51R

Application

NISSAN Maxima Sedan(Mod:A32B) REAR (2/94-98)

FRONT

OEM No. : 48350-51210(LH)

Bore Size : Ø34.0

Air Gap : 53.8

Pin Mounting : 130.0

Inlet Port Size : M10x1.0p

Casting No. : 52L , 52R

Application

NISSAN        Almera 2.0i - 2.0i GTI REAR 04/96-07/00

                      Almera Diesel 2.0 REAR 01/98-07/00

                       Almera 1.4i with ABS REAR 01/98-07/00

                       Almera 1.6i with ABS REAR 01/98-07/00

SAMSUNG   SM 5

FRONT

OEM No. : N067-26-71X(L) / N067-26-61Z®

Bore Size : Ø34.94

Air Gap : 38.0

Pin Mounting : 124.0

Inlet Port Size : M10X1.0p

Casting No. : M160

Application

MAZDA MIATA(05, 04-01)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2407/08 R/L

2401/02 R/L

2403/04 R/L

2405/06 R/L



FRONT

OEM No. :

Bore Size : Ø38.22

Air Gap : 51.5

Pin Mounting : 130.0

Inlet Port Size : M10X1.0p

Casting No. : TOKICO R,L

Application

2411/12 R/L

OEM No. :

Bore Size : Ø48.14

Air Gap : 68.5

Pin Mounting : 184

Inlet Port Size : M10x1.0

Casting No. : 14CLT

17VN-28T

Application

HONDA Odyssey(13-11)

2413/14 R/L

OEM No. :

Bore Size : Ø35

Air Gap : 45

Pin Mounting : 144

Inlet Port Size : M10x1.0

Casting No. : 3514,  032

3506,  029

Application

MITSUBISHI (12-04)

2415/16 R/L
OEM No.:

Bore Size: Ø57.25

Air Gap: 61.4

Pin Mounting: 160

Port Size: M10x1.0

Casting No.: TD R+L

19R, 19L

Application

INFINITI G20(02-99)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2409/10 R/L



2417/18 R/L
OEM No.: 43013-ST3-E50(L)

Bore Size: 43012-ST3-E50(R)

Air Gap: Ø34

Pin Mounting: 44.8

Port Size: 110

Casting No.: M10X1.0

2243(LH)

2244(RH)

1777/5

Application

ACURA Integra(97)

2419/20 R/L
OEM No.:

Bore Size: 2-Ø46.02 , 2-Ø40.02

Air Gap: 67

Pin Mounting:

Port Size: M12X1.75

Casting No.:

Application

MITSUBISHI Lancer(06-03)

2421/22
OEM No. :

Air Gap : 30.0

Pin Hole : M10x1.25p- 155

Mounting Hole : M12x1.25p- 131.0

Casting No. : 25V

Application

 LEXUS ES250(91-90)

 TOYOTA Camry(91-89, 88), Celica(93-92, 91-90, 89-88)

2423/24
OEM No. : 43019SEPA00

Bore Size : Ø38.2

Air Gap : 44.8

Pin Mounting : 110

Inlet Port Size : M10x1.0

Casting No. : wf 102

Application

ACURA CL , CL type S 2001-2003, TL 1999-2008, TL type S 2002-2003, 2007-2008

HONDA TRK Element 2WD, 4WD 2003-2009, Element EX 2WD, 4WD 2010-2011, 

Element LX 2WD, 4WD 2010-2011, Element SC 2WD 2010

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



2425/26
OEM No. : 4775007040

Bore Size : Ø38.2

Air Gap : 44.8

Pin Mounting : 110

Inlet Port Size : M10x1.0

Casting No. : 3882

Application

 TOYOTA Avalon 2000-2004

2427/28
OEM No. :

Bore Size : Ø45.46

Air Gap : 53.8

Pin Mounting : 118

Inlet Port Size : M10X1.0p

Casting No. : F12A L/R

Application

TOYOTA TRUCK4Runner(09-03), FJ Cruiser(11-07)

2429/30
OEM No. : 4775053010

Bore Size : 2-Ø44.5

Air Gap : 74.0

Pin Mounting : 161

Inlet Port Size : M10x1.0p

Casting No. : 45T  L/R

Application

 LEXUS IS300 2001-2005

2431/32
OEM No. :

Bore Size : Ø34.0

Air Gap : 53.8

Pin Mounting : 130.0

Inlet Port Size : M10x1.0p

Casting No. : 51 K42 L/R

4Y4 TA

Application

NISSAN Sentra(06-05, 04, 03-02, 01-00)

INFINITI G20(01-99)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



2433/34
OEM No. : 43018S5AJ02

Bore Size : Ø34.02

Air Gap : 53.8

Pin Mounting : 130

Inlet Port Size : M10x1.0

Casting No. : 9CLP14S L/R

Application

 ACURA EL(Canada) 2001-2005, RSX 2002-2006

 HONDA Civic 2002-2005

REAR 2435/36 L/R
OEM No. :

Bore Size : 34.95

Air Gap : 45.00

Pin Mounting : 110.00

Inlet Port Size : M10×1.0

Casting No. : 3510

Application

TOYOTA Camry(01-00), Solara(03-00)

REAR 2437/38 L/R
OEM No. :

Bore Size : 38.15

Air Gap : 47.00

Pin Mounting : 110.00

Inlet Port Size : M10×1.0

Casting No. : 3836

Application

TOYOTA Avalon(07-05), Camry(06-04, 03-02), Solara(08-04)

REAR 2439/40 L/R
OEM No. :

Bore Size : 42.92

Air Gap : 50.00

Pin Mounting : 120.00

Inlet Port Size : M10×1.0

Casting No. : 4311

Application

Infiniti Trucks FX35(08-03), FX45(07-03)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



REAR 2441/42 L/R
OEM No. :

Bore Size : 42.90

Air Gap : 49.90

Pin Mounting : 132.00

Inlet Port Size : M10×1.0

Casting No. : 4305

Application

INFINITI M45(04-03), Q45(06-02)

FRONT 2443/44 L/R
OEM No. :

Bore Size : 45.43

Air Gap : 67.40

Pin Mounting : 128.00

Inlet Port Size : M10×1.0

Casting No. : 13WH

Application

GX470:(03-07)

4RUNNER(03-07)

REAR 2445/46 L/R
OEM No. :

Bore Size : 42.92

Air Gap : 50.60

Pin Mounting : 138.00

Inlet Port Size : M10×1.0

Casting No. :

Application

Toyoda Trucks Sienna(08-04)

FRONT 2447/48 L/R
OEM No. :

Bore Size : 57.30

Air Gap : 61.00

Pin Mounting : 115.00

Inlet Port Size : M10×1.0

Casting No. : 17X 33K R / 17X K41 L

Application

Grang Vitara(03-99), Sidekick 4 Dr. (98-96), XL-7(03-01)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

LEXUS TRUCKS

TOYOTA TRUCKS

SUZUKI TRUCKS



FRONT 2449/50 L/R
OEM No. :

Bore Size : 63.50

Air Gap : 68.00

Pin Mounting : 161.00

Inlet Port Size : M10×1.0

Casting No. : 63-28, L/R, ADVICS

Application

Toyota Trucks RAV4(07-06)

FRONT 2451/52 L/R
OEM No. :

Bore Size : 63.50

Air Gap : 68.00

Pin Mounting : 161.00

Inlet Port Size : M10×1.0

Casting No. : 63-25, L/R, ADVICS

Application

Toyota Trucks RAV4(07-06)

FRONT 2453/54 L/R
OEM No. :

Bore Size : 60.65

Air Gap : 64.70

Pin Mounting : 161.00

Inlet Port Size : M10×1.0

Casting No. : 60-25, R1/L2, 11/12

Application

Toyota Trucks Tacoma(08-05)

REAR 2455/56 L/R
OEM No. :

Bore Size : 45.50

Air Gap : 53.80

Pin Mounting : 118.00

Inlet Port Size : M10×1.0

Casting No. : F13 R/L

Application

4Runner(08-03), FJ Cruiser(08-07)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

TOYOTA TRUCKS



FRONT 2457/58 L/R
OEM No. :

Bore Size : 63.75

Air Gap : 74.00

Pin Mounting : 160.00

Inlet Port Size : M10×1.0

Casting No. : 398, DX9 L/R

Application

NISSAN TRUCKSMurano(07-03)

REAR 2459/60 L/R
OEM No. :

Bore Size : 38.15

Air Gap : 49.00

Pin Mounting : 118.00

Inlet Port Size : M10×1.0

Casting No. : ADVICS 38 L/R

Application

RAV4(08-06)

REAR

OEM No. :

Bore Size : 48.12

Air Gap : 52.60

Pin Mounting : 127.00

Inlet Port Size : M10×1.0

Casting No. : FSX14B L/R

Application

LX470(07-04, 03-03, 02-00)

Land Cruiser(07-04, 03-03, 02-00, 99-99)

REAR

OEM No. :

Bore Size : 40.53

Air Gap : 60.00

Pin Mounting : 130.00

Inlet Port Size : M10×1.0

Casting No. : 12V, R/L

Application

B9 Tribeca(07-06), Tribeca(09-08)

2461/62 L/R

--------------------------------------------------------------------------------------------------------

2463/64 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

TOYODA TRUCKS

TOYOTA TRUCKS

LEXUS TRUCKS

SUBARU TRUCKS



FRONT

OEM No. :

Bore Size : 51.00

Air Gap : 49.20

Pin Mounting : 155.60

Inlet Port Size : M10×1.0

Casting No. : A15CR13VN, L/R

Application

HONDA Insight(06-04, 03-00)

FRONT

OEM No. :

Bore Size : 54.03

Air Gap : 57.60

Pin Mounting : 159.00

Inlet Port Size : M10×1.0

Casting No. : 16CL14VNH

Application

HONDA Fit(10-09)

FRONT

OEM No. :

Bore Size : 60.35

Air Gap : 64.00

Pin Mounting : 174.00

Inlet Port Size : M10×1.0

Casting No. : 6059

Application

Rogue(11-08)

FRONT

OEM No. :

Bore Size : 38.15

Air Gap : 47.00

Pin Mounting : 110.00

Inlet Port Size : M10×1.0

Casting No. : 3822

Application

Toyota Avalon(04-00)

--------------------------------------------------------------------------------------------------------

2471/72 L/R

2467/68 L/R

2465/66 L/R

2469/70 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

NISSAN TRUCKS



FRONT

OEM No. :

Bore Size : 45.10

Air Gap : 74.00

Pin Mounting : 180.00

Inlet Port Size : M10×1.0

Casting No. : L31, T3

Application

Infiniti G35(08-08, 07-07, 06-06, 05-05), M35(08-06), M45(08-06, 04-03), Q45(06-02), EX35(08-08), 350Z(08-06)

FRONT

OEM No. :

Bore Size : 54.02

Air Gap : 87.00

Pin Mounting : 230.10

Inlet Port Size : M10×1.0

Casting No. : 5470, A934X / A935X, L/R

Application

ISUZU NPR VEHICLES With Diesel Engines Disc Pads E-D825-S(04-05)

FRONT

OEM No. :

Bore Size : 57.20

Air Gap : 88.00

Pin Mounting : 230.10

Inlet Port Size : M10×1.0

Casting No. : AD57T, 5702, L/R

Application

ISUZU NPR VEHICLES Class 4 HD Vehicle With Gas Engines with ABS Disc Pads E-D827-S(99-99)

FRONT

OEM No. :

Bore Size : 57.20

Air Gap : 88.10

Pin Mounting : 226.00

Inlet Port Size : M10×1.0

Casting No. : AD57T, A918 / A919, L/R

Application

ISUZU NPR VEHICLES Class 4 HD Vehicles With Gas Engines Disc Pads E-D826-S(97-99)

2475/76 L/R

2477/78 L/R

2479/80 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2473/74 L/R



FRONT

OEM No. : 45210SE0A11 (RH)

Bore Size : 54.00

Air Gap : 53.00

Pin Mounting : 158.00

Inlet Port Size : M10×1.0

Casting No. : 2145 R/L

Application

ACURA Integra (89-86)

HONDA Accord Exc. LXI (88-86); Prelude W/Fuel Injection (87-85)

REAR

OEM No. :

Bore Size : 30.30

Air Gap : 41.00

Pin Mounting : 110.00

Inlet Port Size : M10×1.0

Casting No. : 7CLP13S

Application

Honda Accord(90-97)

REAR

OEM No. :

Bore Size : 38.22

Air Gap : 50.40

Pin Mounting : 118.00

Inlet Port Size : M10×1.0

Casting No. : R/L, 1B, TOKICO

Application

Scion xB(11-08)

FRONT

OEM No. :

Bore Size : 38.20, 42.90

Air Gap : 66.50

Pin Mounting : 174.00

Inlet Port Size : M10×1.0

Casting No. : 17CL15VN R/L

Application

ACURA (95-93)

2487/88 L/R

2481/82 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

2483/84 L/R

2485/86 L/R



FRONT 3001/02 R/L
OEM No.:

Bore Size: 38.02

Air Gap: 52.5

Pin Mounting: 136.0

Port Size: M10-1.0P

Casting No.: AISIN 16V

Lexus (LS400), (90- )

REAR

OEM No.:

Bore Size: 48.02

Air Gap: 50.00

Pin Mounting: 92.00

Port Size: 3/8-24 UV5

Casting No.: 216

Application

JEEP Cherokee (97-94)

FRONT

OEM No.:

Bore Size: 60.00

Air Gap: 68.50

Pin Mounting: 99.00

Port Size: 7/16-20

Casting No.: 12658202/12658201

12658021KH60

Application

CHRYSLER Town&Country APV (97-96)

DODGE Caravan (97-96)

PLYMOUTH Voyager (97-96)

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 63.50

Pin Mounting: 105.00

Port Size: M10-11.5P

Casting No.: 5117L, 5132R

Application

Chrysler Cirrus(95-97)

Dodge Straus(95-98)

Plymouth Breez(96-98)

3003/04 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3005/06 R/L

3007/08 R/L



FRONT

OEM No.:

Bore Size: 51.00

Air Gap: 56.00

Pin Mounting: 158.00

Port Size: m10-1.0p

Casting No.: 2047

Application

Saturh SC(91-95)

FRONT

OEM No.: F75Z2B121AF

Bore Size: 51.05

Air Gap: 71.80

Pin Mounting: 199.00

Port Size: 3/8-24UNF

Casting No.: 129297

Application

Ford Turck F250 Pickup (Under 8500 GVW) 1997-99

F150 Lightning 2WD/4WD Pickup 1998-03

Navigator F/S Sport Utility 1998-02

FRONT

OEM No.:

Bore Size: 48.02

Air Gap: 55.50

Pin Mounting: 92.00

Port Size: M10-1.5P

Casting No.: 173

Application

Ford Crown Victioria Ex : Police (96-)

FRONT

OEM No.:

Bore Size: 74.64

Air Gap: 59.00

Pin Mounting: 179.00

Port Size: 7/16-20UNF

Casting No.: 5470677 R/L

5473510 R/L

Application

Buick Apollo (73-74),(69-79), Chevrolet : Camaro(69-72), NOVA(74-69)

Oldsmobile Omega(72-69), (73-74)

Pontiaac Firdbird(69), Ventura 2(71-74), Chevrolet Truck : (69-72)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3009/10 R/L

3011/12 R/L

3013/14 R/L

3015/16 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 8133846(RH)

Bore Size: 66.10

Air Gap: 64.00

Pin Mounting: 111.00

Port Size: 3/8"-24

Casting No.: 103707

Application

AMC Concord, Spirit (AMX, Hornet, Javelin, Rambler, Rogue) (83-82); Eagle, Sx4, Kammback (87-82)

JEEP Cherokee, Wagoneer, J Series Sport Wagon, Grand Wagoneer, Laredo (89-84); 4X2 (93-90);

         Commanche (90-84); Wrangler, Laredo, Renegade (89-87); 4X2 (92-90);

         CJ5, 6,8, XJ, Scrambler (86-82)

REAR

OEM No.:

Bore Size: 38.00

Air Gap: 45.00

Pin Mounting: 144.00

Port Size: M10-1.5P

Casting No.: 3801 WR/WL

11-15AD38P

Application

PONTIAC 

Chevrolet Lumina Rear(95-97)

Oldsmobile (94-97)

Buick Regal(94-96) Pontiac(94-96)

FRONT

OEM No.: 18021251(RH)

Bore Size: 63.60

Air Gap: 73.30

Pin Mounting: 147.00

Port Size: M10x1.0

Casting No.: 622 R/621 L

Application

BUICK Riviera (95)

CADILLAC Deville (FWD) (96-94)

CHEVROLET Camaro, Iroc-Z, SS (97-94); Lumina APV (97-94)

OLDSMOBILE Regency, Brougham, Regency-Elite (FWD) (96-94)

PONTIAC Bonneville, SE, SSE, SSEI (FWD), Trans AM, Firebird GTA (97-94)

PONTIAC TRUCKTransport Van (97-94)

3017/18 R/L

3019/20 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3021/22 R/L



FRONT

OEM No.:

Bore Size: 74.64

Air Gap: 65.60

Pin Mounting: 179.00

Port Size: M10-1.5P

Casting No.: 18020447/8

Application

Chevrolet Impala Caprice W/Police Pack (94-96)

FRONT

OEM No.:

Bore Size: 41.60

Air Gap: 59.00

Pin Mounting:

Port Size: 7/16-24

Casting No.: 58877

Application

Ford Fairlane, Falcon, Mustang, Mustangll, Ranchero, Cougar, XRT, Cyclone(67), Comet(67-68)

FRONT

OEM No.:

Bore Size: 41.60

Air Gap: 59.00

Pin Mounting:

Port Size: 3/8-24

Casting No.: 58877

Application

Ford Fairlane, Falcon, Mustsng(65-66)

FRONT

OEM No.:

Bore Size: 57.23

Air Gap: 59.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: 2212 R/L, AD57-22

Application

DODGE

(95-87)

3029/30 R/L

3025/26 R/L

3027/28 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MITSUBISHI TRUCK

3023/24 R/L



FRONT

OEM No.:

Bore Size: 57.20

Air Gap: 59.00

Pin Mounting: 158.00

Port Size: M10-1.0P

Casting No.:

Application

DODGE  2WD RAM D50 PICKUP  1987-93

(89-93) Mighty Max Spx(Pick-up) D50 Ram50 Power Ram50 (87-94)

FRONT

OEM No.:

Bore Size: 48.00

Air Gap: 52.00

Pin Mounting: 76.30

Port Size: M10-1.5P

Casting No.: 7532/42

Application

DODGE (94-86)

Fliero Lemans (87-94)

PONTIAC

FRONT

OEM No.:

Bore Size: 60.50

Air Gap: 62.50

Pin Mounting: 116.00

Port Size: 3/8-24UNF

Casting No.:

Application

FORD Mustang(68-73)

FORD TRUCK Ranchero(68-71)

MERCURY Comet Cotgarm Montego Cyclone(68-73)

FRONT

OEM No.:

Bore Size: 54.00

Air Gap: 59.00

Pin Mounting: 120.00

Port Size: M10-1.5

Casting No.: 16(L,R)

Application

FORD Escort W/14"Wheel(91-95)

MERCURY Tracer(91-98)

MAZDA 323 Hatchback 1992-94

PROTÉGÉ 1.5L Sedan 1990-97

3035/36 R/L

3033/34 R/L

3037/38 R/L

3031/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MITSUBISHI TRUCK

MITSUBISHI TRUCK (95-87)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



REAR

OEM No.:

Bore Size: 43.00

Air Gap: 49.00

Pin Mounting: 79.00

Port Size: 3/8-24UNF

Casting No.:

Application

 JAGUAR  XJ6 SEDAN REAR  1974-87;  XJ12 SEDAN REAR  1974-87

 360C COUPE REAR  1974-87;  XJS COUPE REAR  1974-93

TVR  TASMIN ROADSTER REAR  1983-86

FRONT

OEM No.: F752-2B121-BA

Bore Size: 48.02

Air Gap: 68.0

Pin Mounting: 193.40

Port Size: 3/8-24 UNF

Casting No.: 3727

Application

 FORD  F150 2WD & 4WD PICKUP w/DISC-DRUM BRAKE  1997-03

 F150 HERRITAGE PICKUP w/DISC-DRUM BRAKE  2004

FRONT

OEM No.: F582-2552D

Bore Size: 44.02

Air Gap: 51.00

Pin Mounting: 92.00

Port Size: M10-1.5P

Casting No.: 083

Application

FORD Windstar(97-95)

FRONT

OEM No.: 4886072AA

Bore Size: 66.05

Air Gap: 68.0

Pin Mounting: 99.00

Port Size: 3/8"-24

Casting No.: 6608.9(b)

Application

DODGE TRUCK Dakota 2WD (95-91), Dakota(97-98)

3043/44 R/L

3041/42 R/L

3039/40 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3045/46 R/L



REAR

OEM No.: F572-2553-AD

Bore Size: 48.02

Air Gap: 51.00

Pin Mounting: 92.00

Port Size: 3/8-24

Casting No.: 025

Application

 FORD TRUCK  EXPLORER  L/REAR  1995-01

 EXPLORER  SPORT TRAC SUV-P/U R/REAR  2001

 MERCURY TRK  MOUNT AINEER L/REAR  1996-01

FRONT

OEM No.: 4886072AA

Bore Size: 70.03

Air Gap: 67.80

Pin Mounting: 136.50

Port Size: 7/16-20

Casting No.: KH8. 6166

Application

DODGE Challenger(70-73) Charger(70-72)

POYMOUTH Baracuda Cuda RWD(90-74)

FRONT

OEM No.: F572-2552-BA(RH)

Bore Size: 51.02

Air Gap: 55.20

Pin Mounting: 92.00

Port Size: 3/8-24

Casting No.: 799

Application

FORD Expedition Rear(97)

FRONT

OEM No.: MB277879(RH)

Bore Size: 51.20

Air Gap: 46.50

Pin Mounting: 135.00

Port Size: M10x1.0

Casting No.: P15A  R/L

Application

DODGE Colt 1600, 2000 Exc. Turbo Vista (90-85)

MITSUBISHI Mirage Non-Turbo (90-84)

PLYMOUTH Import (90-84)

3053/54 R/L

3047/48 R/L

--------------------------------------------------------------------------------------------------------

3049/50 R/L

3051/52 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 725163181(RH)

Bore Size: 54.00

Air Gap: 53.00

Pin Mounting: 143.50

Port Size: M10x1.0

Casting No.: 2104 L/R

Application

SUBARU Bart (88-84); Sedan, S.W, 1600, 1800, DL, GL, GF, GLF, X7, Loyal Vented Rotor (84-83)

FRONT

OEM No.: E5RY2B120A(RH)

Bore Size: 60.10

Air Gap: 69.00

Pin Mounting: 94.00

Port Size: M10x1.0

Casting No.: 95 or 37 FORD

96 or 38 FORD

Application

MERCURY Merkur XR4Ti (90-87)

FRONT

OEM No.: 94133674(RH)

Bore Size: 54.08

Air Gap: 50.10

Pin Mounting: 115.00

Port Size: M10x1.0

Casting No.: 16D L/R

Application

CHEVROLET Spectrum Non-Turbo (90-85)

ISUZU I-Mark Exc. Turbo (89-85)

FRONT

OEM No.: 96053433(RH)

Bore Size: 51.13

Air Gap: 44.33

Pin Mounting: 130.00

Port Size: M10x1.0

Casting No.: AISIN L/R

Application

CHEVROLET Sprint (88-85)

GEO Metro Non-Turbo (90-87)

3059/60 R/L

3057/58 R/L

3055/56 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3061/62 R/L



FRONT

OEM No.: 25191GA610(RH)

Bore Size:

Air Gap: 

Pin Mounting:

Port Size:

Casting No.:

Application

SUBARU Sedan, Wagon, 1600, 1800, DL, GL, GF, GLF, Loyal (93-85)

FRONT

OEM No.: MB238247(RH)

Bore Size: 57.30

Air Gap: 58.50

Pin Mounting: 118.00

Port Size: M10x1.0

Casting No.: 17K L/R

Application

DODGE Conquest Exc. 5 stud Wheel, Non-Turbo (89-84)

MITSUBISHI Starion (89-83)

FRONT

OEM No.: MB193500(RH)

Bore Size: 54.04

Air Gap: 52.80

Pin Mounting: N/A

Port Size: M10x1.0

Casting No.: 2113 L/R

Application

DODGE TRUCK D50, Power Ram 50 4WD (86-83); Raider (87)

Montero 1 Piston (87-83); Pick-up, Van, Wagon 4WD 1 Piston (86-82)

Arrow Pick-up 4WD (82)

FRONT

OEM No.: MB699460(RH)

Bore Size: 51.30

Air Gap: 46.60

Pin Mounting: 130.20

Port Size: M10x1.0

Casting No.: FS15V

Application

DODGE  Colt 2 Dr. (94-6/92)

EAGLE Summit E21 2 Dr. (96-6/92)

MITSUBISHI Mirage 1500 SOHC 2 Dr. Coupe (96-6/92)

PLYMOUTH Colt 2DR 1993-94

3071/72 R/L

3067/68 R/L

3065/66 R/L

3063/64 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MITSUBISHI TRUCK

PLYMOUTH TRUCK



FRONT

OEM No.: 4773002020(RH)

Bore Size: 51.15

Air Gap: 53.00

Pin Mounting: 155.00

Port Size: M10x1.0

Casting No.: 51-18

Application

CHEVROLET Nova 4 Wheel disc brake (88)

GEO Prizm Exc. Gsi (Before Vin #LZ090311) (92-90)

TOYOTA Corolla, FX. FX16 (92-89); FX16 (88-87)

FRONT

OEM No.: 2621708(RH)

Bore Size: 74.68

Air Gap: 65.60

Pin Mounting: 179.00

Port Size: 7/6"-20

Casting No.: 5473499 R/L

Application

GMC K1500, K10, K2500, K20 (78-71)

JEEP Cherokee, Wagoneer, J Series Sports Wagon, Grand Wagoneer, Laredo (78-74)

PONTIAC Bonneville (70-69); Catalina (70-69)

4WD 140/20 Pickup Blazer 1971-78

FRONT

OEM No.: 5252985(RH)

Bore Size: 66.06

Air Gap: 68.50

Pin Mounting: 111.00

Port Size: 3/8"-24

Casting No.: 12074201

Application

JEEP Cherokee, Wagoneer, J Series Sports Wagon, Grand Wangoneer, Laredo 4X4 (95-90);

          Wrangler, Laredo, Renegade 4X4 (95-90); CJ5, 6, 7, XJ, CJ8 Scrambler 4X4 (95-90)

KIA Carnival

FRONT

OEM No.: 4032824(RH)

Bore Size: 79.00

Air Gap: 71.70

Pin Mounting: N/A

Port Size: 7/16"-20

Casting No.: 4032.821

Application

DODGE TRUCK B300(77-73), Various 1/2ton 3/4ton 1ton 1973-77

3075/76 R/L

3073/74 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3079/80 R/L

3077/78 R/L

CHEVROLET TRK

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 3898114(RH)

Bore Size: 85.80

Air Gap: 86.00

Pin Mounting: 189.10

Port Size: 7/16"-20

Casting No.: 2238451-L

2238452-R

Application

IHC TRK ((MODELS WITH 7/16-20 SAE INLET)

DODGE MR400, 500, 600W/H.D (92-75); W300, 350, 400 4X4 1Ton W/4500 Ibs Front Axle (95-75)

GMC C3500, C30, 3500, G30 (78-74); K3500, K30 (78-77); P3500, P30W/JB-8 & 4Wheel Disk (78)

         Bendix (78-74); 40, 400, 4000, Motor Home Chassis (79-74); W/Dual Rear Wheels (73)

FRONT

OEM No.: 366384(RH)

Bore Size: 49.18

Air Gap: 36.70

Pin Mounting: N/A

Port Size: M10x1.5

Casting No.: 2623.2623687/86

Application

CHEVROLET Chevette (77-76); Monza, 2+2 (77-76)

FRONT

OEM No.: E2TZ2B120A(RH)

Bore Size: 73.13

Air Gap: 69.80

Pin Mounting: N/A

Port Size: 3/8"-24

Casting No.:

Application

FORD TRUCK Bronco (79-76); 3/4 Ton E, F200, 250 1 Piston (79-73);

                     E100, 150, Econoline Van (1/2 Ton) 983-73); F100, 150 4X2 (79-73); F100, 150 4X4 (79-73)

FRONT

OEM No.: 3880588(RH)

Bore Size: 69.95

Air Gap: 65.00

Pin Mounting: N/A

Port Size: 3/8"-24

Casting No.: 4126.508/509

Application

CHRYSLER LeBaron 979-77)

DODGE ASPEN, CHARGER, CORONET, DART, DIPLIMAT, MAGNUM … 1975-81

 PLYMOUTH BELVEDERE, DUSTER, ROADRUNNER, SCAMP, VOLARE… 1975-81

3087/88 R/L

3085/86 R/L

3081/82 R/L

3083/84 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 4313390(RH)

Bore Size: 78.85

Air Gap: 71.50

Pin Mounting: 166.40

Port Size: 7/16"-20

Casting No.: 4037 966 R/4037 967 L

Application

CHRYSLER Imperial (78-74)

DODGE Monaco, Polara (76-74); Royal Monaco, St. Regis (78-74)

DODGE TRUCK B1000, B150, B2000, D100, 150 (1/2 Ton), D200, 250 (3/4 Ton) (95-78);

                       B300, D200, B350, D350, D450 W/Semi-Metallic (95-78); DB300, 350, MB300, 350, 400 (1 Ton),

                       Van (95-78); D300, 350 (1 Ton); D400, 450 (1 1/2 Ton) 4X2 (95-78); MR400, 500, 600 W/1 Piston

                       (92-78); Ramcharger, AD 100, 150 (94-78); 4WD (77-74); W300, W350, W400 4X4 1 Ton

                       W/3500 Ibs. Front Axle(92-84); W100, 150 (1/2 Ton) 4X4 W/3500 Ibs. Axle (92-84)

PLYMOUTH Fury (74); Grand Fury (77-75)

1/2 Ton Sports Utility, Trail Duster (83-78); 4WD (77-74);

                        PB100/150/200/250/300/350 (84-78)

FRONT

OEM No.: 18004611(RH)

Bore Size: 63.58

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 366/367

Application

BUICK Century (81-78); Regal (87-82); Regal, Special, Grand National (84-78)

CHEVROLET Camaro Exc. 91-89 H.D. (92-82); Chevelle, Malibu, Monte Carlo (88-78)

GMC S10, S10 Blazer, S15, S15 Jimmy, T10, 15 2WD (95-82); Sprint, Caballero, El Camino (88-78)

OLDSMOBILE F85, Cutlass, Vista Cruiser (87-78)

PONTIAC Safari, Safari Wagon (89-87); Bonneville, Catalina, Safari Wagon (86-82); Firebird, Trans AM

(92-82); Grand AM (81-80); Grand Prix (87-78) Le Mans, Tempest (81-78)

FRONT

OEM No.: D9ZZ2B120B(RH)

Bore Size: 60.03

Air Gap: 60.00

Pin Mounting: 135.00

Port Size: M14x1.5

Casting No.:

Application

FORD Mustand 4Cyl. Non-Turbo (10/82-80); 4 & 6Cyl. (79)

MERCURY Capri Before 11/82 4Cyl. (83-82); 4Cyl. (81-80);4 & 6Cyl. (79)

3093/94 R/L

--------------------------------------------------------------------------------------------------------

PLYMOUTH TRUCK

3091/92 R/L

3089/90 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: D0BZ2B120A(RH)

Bore Size: 60.00

Air Gap: 60.00

Pin Mounting: 135.00

Port Size: M12x1.0

Casting No.:

Application

FORD Fairmont. Futura (83-79); Granada (83-81); LTD Intermediate (83); Mustang 4Cyl.

          Turbo. 6 & 8Cyl. (10/82-80);8Cyl. (79); Thunderbird (82-80)

MERCURY Capri 6&8Cyl. 4Cyl. Turbo (83-82); Capri 8Cyl. (79); Cougar (82-80); Marquis, Montclair (83); Zephyl (83-79)

FRONT

OEM No.: 18005244

Bore Size: 74.68

Air Gap: 65.50

Pin Mounting: 179.00

Port Size: M10x1.5

Casting No.: 510. B4F 5473499

Application

4WD K10/20 PICKUP, BLAZER 1971-78 APRA #30837/38

CHECKER MARATHON (MOTORS) 1969-70

PONTIAC BONNEVILLE, CATALINA, EXECUTIVE 1969-70

GMC Jimmy 4x4, 4x2, Blazer (91-79); V1500, V10 (91-88); K1500, K10 (87-79);

         V2500, V20 Suburban (89-87); K2500, K20 (87-79)

JEEP Grand Wagoneer & J20 Gladiator (91-84);

         Cherokee, Wagoneer, J Series Sports Wagon, Grand Wagoneer, Laredo (83-79)

FRONT

OEM No.: 18014745(RH)

Bore Size: 74.46

Air Gap: 73.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 649 R/648 L

Application

CADILLAC FWD W/J55, AII W/J55 (93-90)

DODGE TRUCK T300 2WD, R1, 4WD R6 (95-94)

GMC Astro, Safari 4x4 (95-84); Jimmy, Blazer (95-92); C1500, C10 W/H.D. & Exc. Cab (93-88);

         C2500, C20 W/7200 Ibs. GVW (95-89); C2500, C20 (88); 

         K1500, V1500, Suburban 4WD (95-92); K1500, K10 W/H.D. & Exc. Cap 2 15/16" Piston (91-88);

         K2500, K20 W/7200 GVW (95-89); K2500, K20 (88)

3099/100 R/L

3097/98 R/L

3095/96 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHEVROLET TRUCK

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 18015753(RH)

Bore Size: 61.70

Air Gap: 55.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 9341L/32R

Application

BUICK Century JA1, JA8, L.D. (89-84); Less than 1815 GVW (83); All (82); Somerset FWD (88-85);

           Skyhawk (83); W/Vented Rotor (82); Skylark (84-80)

CADILAC Cimarron (88-81)

CHEVROLET Cavalier, Z24, Cadet (91-84); Vented Rotor JA1 (84-82); Celebrity W/JA 1 (L.D) (89-84);

           JA1 (L.D) (89-84); JA1, JA8 (L.D) (84-82); Citation (85-80); Corsica, Bretta (89-87);

OLDSMOBILE Calais FWD (89-85); Cutlass Ciera L.D. (89-84); Firenza (88-84); W/Vented Rotor (83-82);

           Omega (85-80)

PONTIAC 600, STE L.D. (89-84); 6000, STE (82); Less than 1815Kg GVW (83);

           Grand AM (89-85); Phoenix, Ventura ll (84-80); Sunbird, J2000 Vented Rotor (83-82)

FRONT

OEM No.: 18012309(RH)

Bore Size: 74.68

Air Gap: 59.20

Pin Mounting: 179.00

Port Size: M10x1.5

Casting No.: 18002328/29

Application

BUICK Centurion, Electra, LeSabre, Wildcat, Estate Wagon, Park Avenue, Road Master (92-85);

           RWD (84-78); Riviera (78); Skylark (79-78)

CADILLAC SeVille (79-78); DeVille, Fleetwood, Brougham, Limo-RWD W/ABS (93); (REAR) (89-82); DeVille,

           Fleetwood, Brougham (REAR) (81-80)

CHEVROLET Belair, Biscayne, Caprice, Impala, Kingswood, Townsman (93-78); Camaro (81-78);

          Chevy ll, Nova (79-78)

GMC Astro, Safari 2WD (95-85); C1500, C10 W/L.D.Rear Brake (87-81)

OLDSMOBILE Dalta 88, 89, Custom Cruiser, 88 Royal (84-78); RWD (92-85); Omega (79-78)

PONTIAC Bonneville, Cataline, Safari, Safari Wagon (81-78); Firebird, Trans AM (81-78); Parisienne (86-83);

           Phoenix, Venture ll (79-78)

FRONT

OEM No.: 18015384(RH)

Bore Size: 74.68

Air Gap: 65.40

Pin Mounting: 179.00

Port Size: M10x1.5

Casting No.: 5474339 &9 R/5474338 &8 L

Application

CADILAC DeVille, Brougham, Fleetwood, Limo-RWD W/o ABS (95-92); Fleetwood Sedan, cc, Limo (81-80)

CHECKER ALL (82-80)

GMC R1500, R10, Suburban (95-88); C1500, C10 W/H.D. Rear Brakes (87-84); R2500, R20 (95-88);

         C2500, C20 (89-84); G1500, G10, G2500, G20 (95-84); G3500, G30 (89-84); P2500, P20 (89-84)

3103/04 R/L

3101/02 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3105/06 R/L



FRONT

OEM No.: 18015174(RH)

Bore Size: 42.07

Air Gap: 69.00

Pin Mounting: 167.00

Port Size: M10x1.5

Casting No.: 817/816

Application

BUICK Regal FWD (2 Piston) (95-88);

CHEVROLET Lumina, Z34 (95-89)

OLDSMOBILE Cutlass Supreme (95-88);

PONTIAC Grand Prix 2 Piston (95-88)

FRONT

OEM No.: 18014742(RH)

Bore Size: 63.57

Air Gap: 67.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 641 R/640 L

Application

GMC C1500, C10 Exc. H. D. & Exc. Cap (93-88); K1500, K10 Exc. H.D.& Ext. H.D.&Ext. Cap (2.5 Piston) (91-88)

FRONT

OEM No.: 18006613(RH)

Bore Size: 49.18

Air Gap: 36.70

Pin Mounting: N/A

Port Size: M10x1.5

Casting No.: 7017/18

Application

CHEVROLET Chevette (82-80)

PONTIAC T1000 (82-81)

FRONT

OEM No.: E0/E1AZ2120A(RH)

Bore Size: 73.10

Air Gap: 66.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.: 837(L)/838®

Application

FORD Custom, Galaxie, XL (82-80); LTD Crown Victoria, Country Squire Exc. Pilice & Taxi (90-80)

LINCOLN Town Car RWD (89-88); Town Car, Continental (87-80); Mark lll, V, VI, VII, (89-80)

MERCURY Grand Marquis, Colony Park Exc. Police & Taxi (89-80); Marquis, Montclair, Monterey (82-80)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3109/10 R/L

3107/08 R/L

3111/12 R/L

3113/14 R/L



FRONT

OEM No.: E1FZ2B120A(RH)

Bore Size: 54.00

Air Gap: 68.00

Pin Mounting: 96.50

Port Size: M10x1.5

Casting No.:

Application

FORD Escort, EXP, Tempo (3/83-81)

MERCURY Lynx, LN7, Topaz before 4/83 (83-81)

FRONT

OEM No.: 4126842(RH)

Bore Size: 69.96

Air Gap: 65.00

Pin Mounting: N/A

Port Size: 7/6"-20

Casting No.: 4126.642/643

Application

CHRYSLER Cordoba (83-80); LeBaron RWD (81-80); Ner Yorker, New Yorker Landau, New Yorker Turbo,

          Police & Taxi (82)

DODGE Aspen (80); Diplomat (89-80), Mirada (83-80)

PLYMOUTH Grand Fury (89-83); Volare (80)

FRONT

OEM No.: 18014748(RH)

Bore Size: 80.07

Air Gap: 73.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 633 R/632 L

Application

DODGE TRK 3/4 TON T300/R2(2WD), T300/R7(4WD) L/DUTY 1994-99

DODGE TRUCK T300 2WD R2, 4WD R7 (95-94), C,K 30/3500 1 TON SRW w/L.D BRAKE 1988-97

GMC C2500, C20, K2500, K20 W/8600 GVW (95-89)

         C3500, C30 Exc. Dual Rear Wheel (95-88); K3500, K30 (92-88)

FRONT

OEM No.: 4238684(RH)

Bore Size: 54.00

Air Gap: 68.00

Pin Mounting: 94.00

Port Size: 7/16"-20

Casting No.: 5403(L)/5404(R)

423(L)/424(R)

Application

CHRYSLER LeBaron, Town & Country (82)

DODGE Aries (82-81); L.D. (2 Piston) (90-83); Shadow, Sprit ATE, STD. Exc. Turbo (87)

PLYMOUTH Reliant (82-81); L.D. (90-83); Sundance ATE (90-87)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3121/22 R/L

3119/20 R/L

3117/18 R/L

3115/16 R/L



FRONT/REAR

OEM No.: 4138710(RH)

Bore Size: 54.04

Air Gap: 67.80

Pin Mounting: 94.00

Port Size: 7/16"-20

Casting No.:

Application

Laser, XE W/o Sensor (REAR) (86-84); New Yorker, New Yorker Landau, Turbo TC by

        Maserati (91-88); Town & Country (83); 4Dr. S.W (87); W/o Sensor (86-84)

DODGE (2 Pin) 400 (87-83); 600, 600ES, 4Dr. Aries H.D. (87-83); Omni GLH, Shelby Changer (87-84)

PLYMOUTH (2 Pin) Acclaim (90); Caravelle (87-85); Reliant H.D. (87-83); Sundance Turbo (87)

FRONT

OEM No.: E0TZ2B120A(RH)

Bore Size: 73.10

Air Gap: 69.80

Pin Mounting: 156.00

Port Size: 3/8"-24

Casting No.: 8791 R/8790 L

Application

FORD TRUCK Bronco (85-80); 3/4 Ton E, F200, 250 1 Piston (85-80);

         E100, 150, Econoline Van (1/2 Ton) (85-84); F100, 150 4X4 (85-80);

         F150, F100 4X2 4.6-4.7 GVW W/o PB, F100 5.5-5.15GVW W/PB (83-80)

         Eagle, Kammback, SX4 1980-81

AMC F100, 150 4X4 (85-80)

FRONT

OEM No.: E0TZ2B120A(RH)

Bore Size: 66.06

Air Gap: 60.00

Pin Mounting: N/A

Port Size: 3/8"-24

Casting No.: 8790L/91R

Application

FORD TRUCK F100 4X2 4600-4700 GVW W/PB (83-80)

FRONT

OEM No.: 18008664(RH)

Bore Size: 57.04

Air Gap: 45.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 7217/7216

Application

BUICK Skyhawk W/Solid Rotor (82)

CHEVROLET Cavalier, Z24, Cadet W/Solid Rotor JA2 (84-82)

PONTIAC Sunbird, J2000 Solid Rotor (83-82), Firen2A w/Solid Rotoro 1982-84

OLDSMOBILE

3127/28 R/L

3123/24 R/L

3129/30 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHRYSLER (2 Pin)

3125/26 R/L



FRONT

OEM No.: 18011668(RH)

Bore Size: 57.13

Air Gap: 54.70

Pin Mounting: 147.20

Port Size: M10x1.5

Casting No.: 932 RIGHT/931 LEFT

Application

FREIGHTLINER W700 CUSTOM MD TRUCK REAR 1996-98

BUICK Skyhawk (89-84); Shylark (89-85)

CADILLAC Cimarron (88-84)

CHEVROLET Celebrity (91-84)

OLDSMOBILE (90-84)

PONITAC Sunbird, J2000 (91-84)

FRONT

OEM No.: 18003526(RH)

Bore Size: 85.80

Air Gap: 86.00

Pin Mounting: 189.00

Port Size: M10x1.5

Casting No.: 2238462 R/2238461 L

Application

DODGE TRUCK (93-90) 

GMC C3500, C30 W/JB8 W/Perf. Fric. Pad(87-79); G3500, G30 W/JB8 W/Perf. Fric. Pad. (95-79);

          V3500, V30 W/Perf. Fric. Pad (92-88); K3500, K30 W/Perf. Fric. Pad (87-79);

          P3500, P30 W/JB8 W/Perf. Fric. Pad. (94-79); 4 Wheel disk brakes (94-79)

FRONT

OEM No.: 18013452(RH)

Bore Size: 52.00

Air Gap: 37.00

Pin Mounting: 120.00

Port Size: M10x1.5

Casting No.: 9671/9670

Application

CHEVROLET Chevette(88-83)

PONTIAC T1000 (87-83)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3135/36 R/L

3133/34 R/L

3131/32 R/L



FRONT

OEM No.: 8133846(RH)

Bore Size: 66.10

Air Gap: 64.00

Pin Mounting: 111.00

Port Size: 3/8"-24

Casting No.: 103707 02/103707 01

Application

AMC Concord, Spirit (AMX, Homet, Javelin, Rambler, Rogue) (83-82); Eagle, SX4, Kammback (87-82)

JEEP Cherokee, Wagoneer, J Series Sport Wagon, Grand Wagoneer, Laredo (89-84); 4X2 (93-90);

          Commanche (90-84); Wrangler, Laredo, Renegade (89-87); 4X2 (92-90);

          CJ5, 6, 7, 8, XJ, CJ8, Scrambler (86-82)

FRONT

OEM No.: 4238676(RH)

Bore Size: 54.04

Air Gap: 58.00

Pin Mounting: 120.00

Port Size: 7/16"-20

Casting No.: 105396-01(L)/02(R)

Application

DODGE Charger, Charger 2.2, Coronet, Super Bee (88-83); Omni, 024 (1 Pin) (90-83)

DODGE TRUCK Rampage (86-83)

PLYMOUTH Horizon, TC3, Turismo (90-83)

Scamp 1 Pin (84-83)

FRONT

OEM No.: 4383468(RH)

Bore Size: 60.02

Air Gap: 66.20

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 109958

Application

CHRYSLER New Yorker, New Yorker Landau, New Yorker Turbo (90-89); Exc Turbo (88)

DODGE Dynasty (90-88)

FRONT

OEM No.: 18008116(RH)

Bore Size: 80.08

Air Gap: 67.50

Pin Mounting: 179.00

Port Size: M10x1.5

Casting No.: 18003533 R/18003532 L

Application

GMC R2500, R20 W/JB-7, JD-7, R3500, R30 W/JB-7, JD-7 (95-88); G3500, G30 W/JB-7, JD-7 (95-79);

         C3500, C30 W/JB-7, JD-7 (84-79); C2500, C20 W/JB-7, JD-7, K2500, K20, W/JB-7, JD-7 (87-79);

         V2500, V20 W/JB-7, JD-7 (92-87); P2500, P20 W/JB-7, JD-7 (89-79); P3500, P30, W/JB-7, JD-7 (94-79)

3143/44 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3139/40 R/L

3137/38 R/L

PLYMOUTH TRUCK

--------------------------------------------------------------------------------------------------------

3141/42 R/L



FRONT

OEM No.: E4Z2B120A(RH)

Bore Size: 60.05

Air Gap: 66.20

Pin Mounting: 99.00

Port Size: M10x1.5

Casting No.: 106226-1/106226-2

Application

FORD Tempo (93-84); Escort, EXP, Yempo (90-4/83)

MERCURY Lynx, LN7, Topaz After 4/83 (93-83)

FRONT

OEM No.: E3ZZ2B120A(RH)

Bore Size: 60.02

Air Gap: 60.00

Pin Mounting: 160.50

Port Size: M14x1.5

Casting No.:

Application

FORD Mustang 4Cyl. Non-Turbo (86-11/82)

MERCURY Capri After 11/82 4Cyl. (87-83)

FRONT

OEM No.: E3SZ2B120A(RH)

Bore Size: 60.02

Air Gap: 60.00

Pin Mounting: 160.50

Port Size: M12x1.5

Casting No.: 227.9/8.9

Application

FORD Fairmont, Futura (84-83); Ltd (86-11/82); Mustang 4Cyl. (93-87); 4Cyl. W/Turbo, 6 & 8Cyl. (86-83)

MERCURY Capri 4Cyl. W/Turbo, 6 & 8Cyl. (86-11/82); Cougar (88-83); Marquis (87-11/82); Zephyr (83)

FRONT

OEM No.: 4313960(RH)

Bore Size: 53.95

Air Gap: 69.00

Pin Mounting: 146.60

Port Size: 7/16"-20

Casting No.: 106210-01/02

Application

Laser, Laser XE W/Sensor (86-85); Lebaron (88-87); Exc. Turbo (90-89);

       New Yorker Turbo (88); Town & Contry 4 Dr. S.W (88); Town & Country W/Sensor (86-84)

DODGE Aries H.D. (90-88); Shadow, Sprit (90-88); Daytona, Pacifica, Turbo Z(89)

       Daytona, Pacifica, Shelby, Turbo Z (REAR) (88-87); W/14" Wheel (REAR) (90); W/Sensor (86-84);

       W/Sensor (REAR) (85-84); Lancer, Shelby Lancer (89-85)

Acclaim (89); Caravelle (88); Reliant H.D. (90-88); Sundance K-H Exc. Turbo (87)

3145/46 R/L

3147/48 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHRYSLER (1 Pin)

PLYMOUTH (1 Pin)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3149/50 R/L

3151/52 R/L



FRONT

OEM No.: 4313244(RH)

Bore Size: 60.50

Air Gap: 69.02

Pin Mounting: N/A

Port Size: 7/16"-20

Casting No.: 105982 02/105982 01

Application

CHRYSLER Town & County W/14" Wheels (90)

DODGE TRUCK Caravan, Mini Ram, Royal W/14" (90-89); Caravan, Mini Ram 1Pin (87)

Voyager, Grand Voyager (86-84); W/14" Wheels (90-88); W/K-H Caliper (87)

FRONT

OEM No.: 4383922(RH)

Bore Size: 60.02

Air Gap: 66.00

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12205701

Application

CHRYSLER Lebaron (90-89); Town & Country APV (90)

DODGE TRUCK Caravan, Mini Ram, Royal W/15" Wheels (88);

GMC C1500, C10 (80-79); H.D. W/L.D. Rear brakes (83-81);

          C2500, C20, G1500, G10, G2500, G20, G3500, G30, P1500, P10, P2500, P20

Voyager, Grand Voyager W/15" Wheels (90-88); Voyager, Grand Voyager W/ATE Caliper (87);

FRONT

OEM No.: 4383058(RH)

Bore Size: 60.00

Air Gap: 65.70

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 20.9/19.9

Application

DODGE TRUCK Caravan, Mini Ram, Royal W/15" Wheels (90-89)

Voyager, Grand Voyager W/15" Wheels (2 Pin) (88-87)

FRONT

OEM No.: E3TZ2B120C(RH)

Bore Size: 66.00

Air Gap: 60.50

Pin Mounting: 144.00

Port Size: 3/8"-24

Casting No.: 1322 R/L

Application

FORD TRUCK Aerostar (95-3/87); Bronco ll, Ranger (90-3/87), (85-80); Explorer (94-91)

MAZDA TRUCK Navajo (95-91); B1800, B2000, Rotary Pickup, B2200, B2600 (95-94)

3155/56 R/L

3157/58 R/L

3159/60 R/L

3153/54 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

PLYMOUTH TRUCK

PLYMOUTH TRUCK

PLYMOUTH TRUCK



FRONT

OEM No.: D0BZ2B120A(RH)

Bore Size: 66.00

Air Gap: 60.50

Pin Mounting: 139.50

Port Size: 3/8"-24

Casting No.: L017, L024, L05

Application

FORD TRUCK Aerostar (2/87-86);Bronco ll, Ranger (2/87-86)

FRONT

OEM No.: E9DZ2B120A(RH)

Bore Size: 66.05

Air Gap: 66.60

Pin Mounting: 110.00

Port Size: M10x1.5

Casting No.: 8818 B/8817 B

Application

FORD Taurus Exc. SHO (95-86)

LINCOLN Continental (95-88)

MERCURY Sable Exc. SHO (95-86)

FRONT

OEM No.: E9SZ2B120A(RH)

Bore Size: 66.05

Air Gap: 66.20

Pin Mounting: 110.00

Port Size: M10x1.5

Casting No.: 0898/99

Application

FORD Taurus SHO & S.W (93-89); Thunderbird (92-89)

MERCURY Cougar (92-89); Sable SHO & S.W (93-89)

FRONT

OEM No.: 18012691(RH)

Bore Size: 63.55

Air Gap: 49.50

Pin Mounting: 167.20

Port Size: M10x1.5

Casting No.: 183/182

Application

BUICK Riviera (91-86); Reatta (91-88)

CADILLAC Allante (92-87); Eldorado (91-86)

OLDSMOBILE Toronado, Trafeo (91-86)

3167/68 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3165/66 R/L

3163/64 R/L

3161/62 R/L



FRONT

OEM No.: 4383508(RH)

Bore Size: 60.02

Air Gap: 65.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 14.9/13.9

Application

DODGE TRUCK Dakota (90-87)

FRONT

OEM No.: E7TZ2B120A(RH)

Bore Size: 73.13

Air Gap: 69.80

Pin Mounting: 147.70

Port Size: 3/8"-24

Casting No.: 8078

Application

FORD TRUCK Bronco (93-86); E100, 150, Econline Van (1/2 Ton), F100, 150 4X2 (95-86);

         F100, 150 4X4 (95-86)

FRONT

OEM No.: 52007056(RH)

Bore Size: 66.00

Air Gap: 67.90

Pin Mounting: 99.00

Port Size: 3/8"-24

Casting No.: 6608.9

Application

DODGE TRUCK Dakoda 2WD (95-91)

FRONT

OEM No.: 18008319 R/L

Bore Size: 63.57

Air Gap: 58.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 636 L/637 R

Application

BUICK Centurion, Electra, LeSabre, Wildcat, Estate S/W, Park Avenue, Road Master FWD

           W/o ABS (89-85); Century JA2, JA3 H.D. (89-84)

CADILLAC DeVille, Fleetwood, Brougham, Limo-FWD (86-85); W/S.D Rear Brake W/o ABS (89-84)

CHEVROLET Celebrity (90); JA2, JA8 (89-84); JA2, S/W JA3 (84); JA2 (83)

OLDSMOBILE Cruiser (90-84); Cutlass Ciera H.D. (89-84); Delta 88, 98, Custom Cruiser, 88 Royal FWD (89-85)

PONTIAC 6000, STE (91-90); H.D. (89-84); 6000, STE 1815-2000Kg GVW, S/W (83); Bonneville (89-87)

Trans sports Van (90)

3169/70 R/L

3171/72 R/L

3173/74 R/L

3175/76 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

PONTIAC TRUCK



FRONT

OEM No.: 18021252(RH)

Bore Size: 63.50

Air Gap: 73.50

Pin Mounting: 147.05

Port Size: M10x1.5

Casting No.: 201/202

Application

BUICK LeSabre, Park Avenue (96-92)

CADILLAC (93-91)

CHEVROLET (93-91)

(93-91)

 PONTIAC Bonneville (95-92); Firebird, Trans AM (95-93)

OLDSMOBILE (93-91)

FRONT

OEM No.: 18018316(RH)

Bore Size: 57.30

Air Gap: 55.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 735L/734R

95L/96R

Application

BUICK Skylark(N Body) 1991-98 Skylark W/W S6 Susp(N Body) 1990

CHEVROLET Cavalier, Z24, Cadet (95-92), BERETTA (L BLDY) 1992-96

OLDSMOBILE Achieva (95-92); Calais FWD (91)

PONTIAC Grand AM (95-91); Sunbird, J2000 (94-92)

FRONT

OEM No.: 18014745(RH)

Bore Size: 63.60

Air Gap: 73.00

Pin Mounting: 147.10

Port Size: M10x1.5

Casting No.: 516 R/515 L

Application

CADILLAC Eldorado (95-92); DeVille, Fleetwood, Brougham, Limo-FWD W/H.D. Rear brake (93-90); W/S.D. Rear Brake(91)

(92-91)

Silhouette Van (95-92)

BUICK Park Avenue 1991

Trans Sports Van (95-92)

3179/80 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3181/82 R/L

--------------------------------------------------------------------------------------------------------

3177/78 R/L

CHEVROLET TRUCK

CHEVROLET TRUCK

OLDSMOBILE TRUCK

PONTIAC TRUCK



FRONT

OEM No.: E1AZ2B120A(RH)

Bore Size: 73.14

Air Gap: 65.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.: 060 R/059 L

Application

FORD LTD Crown Victoria, Country Squire Exc. Police & Taxi (93-91)

LINCOLN Town Car RWD (95-90)

MERCURY Grand Marquis, Colony Park Exc. Police & Taxi (93-90)

FRONT

OEM No.: 4423716(RH)

Bore Size: 60.00

Air Gap: 68.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12391901-15/60

Application

CHRYSLER Laser, Laser XE, Town & Country W/15" Wheels FWD, LeBaron W/15" & 16" Wheels (93-91)

DODGE Daytona W/15" Wheels (93-91); Shadow, Sprit W/15" Wheels (95-91)

DODGE TRUCK Catava, Mini Ram, Royal W/15" Wheels (95-91)

Voyager (95-91)

PLYMOUTH Acclaim (94-91); 

FRONT

OEM No.: 5273006(RH)

Bore Size: 54.00

Air Gap: 68.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12224901.54

Application

CHRYSLER LeBaron Exc. GTS W/14" Wheels (94-91)

DODGE Daytona W/14" Wheels (93-91); Shadow, Spirit W/14" Wheels (95-91)

PLYMOUTH Acclaim W/14" Wheels (95-91); Sundance (95-91)

Voyager W/14" Wheels (95-91)

3185/86 R/L

3187/88 R/L

3183/84 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

PLYMOUTH TRUCK

PLYMOUTH TRUCK



FRONT

OEM No.: 4423466(RH)

Bore Size: 60.00

Air Gap: 68.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12205501, 14/60

Application

CHRYSLER Imperial (94-91); New Yorker, New Yorker Landau, New Yorker Turbo(93-91); Town& Country W/14" Wheels(93-92)

DODGE Dynasty (94-91); Monaco(Rear) (92-90)

DODGE TRUCK Caravan, Mini Ram, Royal W/14" Wheels (95-91)

Voyager (95-91)

EAGLE Premier (92-91)      

FRONT

OEM No.: 18007118/9 (RH)

Bore Size: 74.67

Air Gap: 65.50

Pin Mounting: 179.00

Port Size: M10x1.59

Casting No.: 118 & 8 R/117 & 7 L

Application

GMC Jimmy 4x4, 4x2, Brazer (91-79); V1500, V10 (91-88); K1500, K10 (87-79);

         V2500, V20 Suburban (89-87); K2500, K20 (87-79)

JEEP Grand Wagoneer & J20 Gladiator (91-84);

          Cherokee, Wagoneer, J Series Sports Wagon, Grand Wagoneer, Laredo (83-79)

FRONT

OEM No.: F3LY2B120A(RH)

Bore Size: 66.00

Air Gap: 71.50

Pin Mounting: 159.00

Port Size: M10x1.5

Casting No.: 5178, 5187, 5189

Application

FORD Taurus SHO (95-94)

LINCOLN Mark VII (95-94)

MERCURY Sable SHO (95-94)

FRONT

OEM No.: F28Z2B120D(RH)

Bore Size: 66.04

Air Gap: 71.50

Pin Mounting: 159.00

Port Size: M10x1.5

Casting No.: 5171-5/51715

Application

FORD TRUCK Windstar (95)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3189/90 R/L

3191/92 R/L

3193/94 R/L

3195/96 R/L

PLYMOUTH TRUCK



FRONT

OEM No.: 4728114(RH)

Bore Size: 60.00

Air Gap: 68.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12580501 R/L

Application

CHRYSLER Concord (96-93); New Yorker, Town & Country (95-93)

DODGE Intrepid (95-93)

EAGLE Vison (97-93)

FRONT

OEM No.: 18014748(RH)

Bore Size: 86.10

Air Gap: 82.50

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 419 R/418 L, 905 R/904 L

Application

(95-90)

DODGE TRUCK R2500, R3500 Pickup (95-94)

GMC C3500, C30 W/Dual Rear Wheels (95-88); K3500, V3500 W/3.146 Piston & Dual Rear Wheels (96-90)

FRONT

OEM No.: F4TZ2B120B(RH)

Bore Size: 73.13

Air Gap: 67.00

Pin Mounting: 126.00

Port Size: 3/8"-24

Casting No.: 3458 R/3457 L

Application

FORD TRUCK Bronco F/S 1994-96

F/50 Pickup 1994-96

E/50 Van 1994-03

FRONT

OEM No.: F5RZ2B120A(RH)

Bore Size: 60.00

Air Gap: 72.00

Pin Mounting: 99.00

Port Size: M10x1.0

Casting No.: 890/889

Application

FORD Contour, Contour-svt 1995-98

MERCURY Mystique 95-98

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3197/98 R/L

3199/200 R/L

3201/02 R/L

3203/04 R/L

CHEVROLET TRUCK



FRONT

OEM No.: 410010B000(RH)

Bore Size: 60.00

Air Gap: 66.50

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.: 1165 R/1164 L

Application

MERCURY Villager (96-93);

NISSAN TRUCK Quest (95-93);

FRONT

OEM No.: F5AZ2B120A9RH)

Bore Size: 66.00

Air Gap: 68.00

Pin Mounting: 188.00

Port Size: M10x1.5

Casting No.: 2829 R/2828 L

Application

FORD LTD Crown Victoria (96-95)

LINCOLN Town Car (96-95)

MERCURY Grand Marquis (96-95)

FRONT

OEM No.: F3SZ2B120A(RH)

Bore Size: 66.00

Air Gap: 68.00

Pin Mounting: 170.30

Port Size: M10x1.5

Casting No.: 1842 R/1841 L

Application

FORD Mustang Exc. Cobra (95-94); Thunderbird (95-94);

MERCURY Cougar (95-94);

FRONT

OEM No.: 4762548(RH)

Bore Size: 54.10

Air Gap: 63.50

Pin Mounting: 99.00

Port Size: 7/16"-20

Casting No.: 12576903/12576904

Application

CHRYSLER Neon w/s Stud Wheels 1995-98

PLYMOUTH Neon (97-94)

3211/12 R/L

3209/10 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3205/06 R/L

3207/08 R/L



FRONT

OEM No.: F1CZ2B120A(RH)

Bore Size: 54.00

Air Gap: 61.50

Pin Mounting: 120.00

Port Size: M10x1.0

Casting No.: HSG : 16

BKT : 22V - 13

Application

FORD Escort W/13" Wheels (98-91)

MAZDA 323 Hatchback 1992-94

PROTÉGÉ 1.5L Sedan 1990-97

MERCURY Tracer (98-91), w/13 wheels 1990-96

FRONT

OEM No.: 1821163(RH)

Bore Size: 74.64

Air Gap: 77.30

Pin Mounting: 179.00

Port Size: M10x1.0

Casting No.: 18020447/8

Application

CHEVROLET Impala, Caprice, Police Park (96-94)

FRONT

OEM No.: 18017232(RH)

Bore Size: 63.60

Air Gap: 58.30

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 636 L/637 R

Application

CHEVROLET Lumina APV 91-96

PONTIAC Transport (91), 6000-Sedan&Wagon-2WD AWD 1991

PONTIAC TRUCK Trans Sport Van (91)

OLDSMOBILE TRUCK Silhoutte Van (91), Cutlass Ciera-A Body 1991-96

FRONT

OEM No.: 18004802(RH)

Bore Size: 63.58

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 21601499

Application

BUICK Riviera (78-77)

3213/14 R/L

3215/16 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3217/18 R/L

3219/20 R/L



FRONT

OEM No.: 18005300(RH)

Bore Size: 63.58

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 450

Application

BUICK Centurion, Electra, LeSabre, Wildcat, Estate Wagon, Park Avenue (82-79)

FRONT

OEM No.: 18005277(RH)

Bore Size: 63.54

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 514L/515R

Application

CADILLAC Eldorado (85-79); SeVille (85-80)

GMC S10, S10 Blazer, S15, S15 Jimmy, T10, 15 4WD (95-82)

OLDSMOBILE Toronado, Trofeo (85-79)

Bracada (95-91)

FRONT

OEM No.: 18008848(RH)

Bore Size: 54.04

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 020L/021R

Application

BUICK Riviera (85-79)

CADILLAC Eldorado (85-79); SeVille (85-80)

OLDSMOBILE Toronado, Trofeo (85-79)

FRONT

OEM No.: 18014442(RH)

Bore Size: 47.73

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: 3/8"-24

Casting No.: 426

Application

CHEVROLET Camaro (88-82)

PONTIAC Firebird, Trans AM (88-82)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3225/26 R/L

3227/28 R/L

3221/22 R/L

3223/24 R/L

--------------------------------------------------------------------------------------------------------

OLDSMOBILE TRUCK



REAR

OEM No.: 3494139(RH)

Bore Size: 35.03

Air Gap: 46.00

Pin Mounting: 100.00

Port Size: M10x1.5

Casting No.: 699 R/698 L

Application

BUICK Regal (89-88)

OLDSMOBILE Cutlass Supreme Auto. Trans. (88)

PONTIAC Grand Prix Auto. Trans. (88)

REAR

OEM No.: 18012692(RH)

Bore Size: 38.06

Air Gap: 46.75

Pin Mounting: 142.10

Port Size: M10x1.5

Casting No.: 752CFD

Application

BUICK Riviera (91-86); Reatta (91-88)

CADILLAC Allante (92-87); Eldorado (91-86); SeVille (91-86)

OLDSMOBILE Toronado, Trofeo (91-86)

REAR

OEM No.: 3487818(RH)

Bore Size: 35.03

Air Gap: 46.00

Pin Mounting: 100.00

Port Size: M10x1.5

Casting No.: 808 R/802 L

Application

BUICK Regal (93-88)

CHEVROLET Lumina, Z34 (93-89)

OLDSMOBILE Cutlass Supreme (95-89); Man. Trans. (88); F/85, Cutlass, Vista Cruiser (93-89)

PONTIAC Grand Prix (93-89); Man. Trans (88)

REAR

OEM No.: F1VY2552(RH)

Bore Size: 48.00

Air Gap: 52.00

Pin Mounting: 99.00

Port Size: M10x1.5

Casting No.:

Application

LINCOLN Continental, Town Car (93-88)

3231/32 R/L

3233/34 R/L

3235/36 R/L

3229/30 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.: D6SZ2552A(RH)

Bore Size: 66.06

Air Gap: 62.00

Pin Mounting: 134.50

Port Size: 7/16"-24

Casting No.:

Application

FORD Thunderbird (80-75)

LINCOLN Mark lll, IV, V, VI, VII (79-75)

OEM No.: D6DZ2552A(RH)

Bore Size: 54.00

Air Gap: 62.00

Pin Mounting: 134.50

Port Size: 7/16"-24

Casting No.:

Application

FORD Granada (80-75)

LINCOLN Versailles (80-77)

MERCURY Monarch (80-75)

OEM No.: E4LY2552A(RH)

Bore Size: 53.88

Air Gap: 63.90

Pin Mounting: 96.10

Port Size: M10x1.5

Casting No.: 107786

Application

FORD Mustand (87-84); Thunderbird (83-81)

LINCOLN Continental, Town Car (87-84); Mark lll, IV, V, VI, VII (90-84)

OEM No.: F1VY2552A(RH)

Bore Size: 48.00

Air Gap: 52.00

Pin Mounting: 99.00

Port Size: M10x1.5

Casting No.: 4806

Application

FORD Crown Victoria Passenger&Police 1999-95

LINCOLN Continental, Town Car (93-88)

MERCURY Grand Marquis Passenger&Police 1992-95

3237/38 R/L

3239/40 R/L

3241/42 R/L

3243/44 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.:

Bore Size: 41.60

Air Gap: 59.00

Pin Mounting:

Port Size: 3/8-24

Casting No.: 71312

Application

 FORD  FAIRLANE  1965-66

 FALCON  1965-66

 MUSTANG  1965-66

OEM No.:

Bore Size: 41.60

Air Gap: 59.00

Pin Mounting:

Port Size: 7/16-24

Casting No.: 71312

Application

 DODGE  DART, DEMON, SWINGER …

 PLYMOUTH  DUSTER, SCAMP, VALIANT …

OEM No.:

Bore Size: 43.0

Air Gap: 60.0

Pin Mounting: 118.2

Port Size: M10x1.0p

Casting No.: 2332 / 2333

Application

 FORD  TAURUS SEDAN & WAGON (S BODY) REAR 1993-03

 TAURUS-SHO & TAURUS POLICE (S BODY) REAR 1993-98

 LINCOLN  CONTINENTAL (DC BODY) REAR 1993-02

 MERCURY  SABLE SEDAN & WAGON (MS BODY) REAR 1993-03

OEM No.:

Bore Size: 54.02

Air Gap: 76.0

Pin Mounting: 242.0

Port Size: M10x1.0P

Casting No.: 5410, 68-009

Application

CHEVROLET EXPRESS 3500 VAN w/DUAL Whs(Mod:GMT610) REAR  2003

GMC SAVANA 3500 VAN w/DUAL REAR Whs REAR  2003

3251/52 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3245/46 R/L

3247/48 R/L

3249/50 R/L

--------------------------------------------------------------------------------------------------------



OEM No.:

Bore Size: 50.8

Air Gap: 78.0

Pin Mounting: 200.0

Port Size: M10 X 1.0P

Casting No.: 5106

Application

CHEVROLET Express 2500 Van w/8500&8600 GVW(Mod:GMT610) REAR 2003

Express 3500 Van w/SRWhs REAR 2003

GMC Savana 2500 Van w/8500 & 8600 REAR 2003

Savana 3500 Van w/SRWhs REAR 2003

OEM No.:

Bore Size: 63.7

Air Gap: 74.0

Pin Mounting: 160.0

Port Size: M10x1.0P

Casting No.: 3T1

Application

INFINITI TRK    FX35,  FX45   2003-05

OEM No.:

Bore Size: 48.15

Air Gap: 73.0

Pin Mounting: 204.0

Port Size: 3/8-24

Casting No.: 262482 R/L

Application

 JEEP TRK COMMANDER  2006-07

GRAND CHEROKEE(Exc. 6.1 Liters)  2006-07

GRAND CHEROKEE  2005

OEM No.:

Bore Size: 50.8

Air Gap: 70.8

Pin Mounting: 225.0

Port Size: 3/8-24

Casting No.: 5110 6L24-2B120

Application

FORD TRK EXPLORER  2006-07;   EXPLORER SPORT TRAC  2007

MERCURY TRK    MOUNTAINEER  2006-07

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3255/56 R/L

3257/58 R/L

3259/60 R/L

3253/54 R/L



OEM No.:

Bore Size: 46.05

Air Gap: 67.5

Pin Mounting: 181.0

Port Size: M10x1.5p

Casting No.: 262862

Application

EQUINOX  2005-06

PONTIAC TRK          TORRENT  2006

SATURN TRK            VUE   2004-07

OEM No.:

Bore Size: 41.60

Air Gap: 59.00

Pin Mounting: 70.00

Port Size: 3/8"-24

Casting No.: 56977

Application

FORD (66-65)

OEM No.:

Bore Size: 54.00

Air Gap: 60.00

Pin Mounting: 164.00

Port Size: M10x1.0

Casting No.: 2182 R/L, 2184 R/L

AD 54-24-14

Application

EAGLE (94-89)

MITSUBISHI (94-89)

PLYMOUTH Import (94-89)

OEM No.:

Bore Size: 36.10

Air Gap: 50.50

Pin Mounting: 86.00

Port Size: 7/16"-20

Casting No.: 123248 01 CY/123248 02 CY

Application

CHRYSLER (95-89)

DODGE

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3261/62 R/L

3263/64 R/L

3265/66 R/L

3267/68 R/L

CHEVROLET TRUCK    



FRONT

OEM No.:

Bore Size: 51.10

Air Gap: 61.00

Pin Mounting: 115.00

Port Size: M10x1.0

Casting No.: F15K R/L

Application

GEO (93-89)

ISUZU (93-89)

FRONT

OEM No.: 18015384

Bore Size: 74.70

Air Gap: 65.30

Pin Mounting: 178.80

Port Size: M10x1.5

Casting No.: 18007153/18007152

5474177/5474176

Application

CADILLAC (95-81)

(95-81)

GMC TRUCK Blazer 1979-82 C10 C20 1979-86, G10 G20 1979-95, Jimmy 1979-82

OEM No.: 8A0615423

Bore Size: 57.05

Air Gap: 56.40

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: 3209341

Application

DODGE Monaco, Polara (90)

EAGLE Premier (90-88)

FRONT

OEM No.:

Bore Size: 85.83

Air Gap: 86.30

Pin Mounting: N/A

Port Size: 7/16"-20

Casting No.: 2235094

Application

DODGE TRUCK (82-79)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3271/72 R/L

3273/74 R/L

3275/76 R/L

3269/70 R/L

CHEVROLET TRUCK



OEM No.:

Bore Size: 46.13

Air Gap: 67.50

Pin Mounting: 182.00

Port Size: M10x1.5

Casting No.: 351 R/350 L

Application

BRAVADA (97)

OEM No.:

Bore Size: 46.03

Air Gap: 67.50

Pin Mounting: 182.00

Port Size: M10x1.5

Casting No.: 356 R/355 L

Application

CHEVROLET TRK S10 BLAZER 1998-03; ENVOY 1998-00

GMC TRK S15 SONOMA 4WD P/U 1998-03; S15 JIMMY 1998-03

ISUZU TRK HOMBRE PICKUP 4WD 1998 APRA #32557/58

BRAVADA 1998-00

OEM No.: 5472434(R,33L)

Bore Size: 74.64

Air Gap: 59.00

Pin Mounting: 179.00

Port Size: 7/16"-20 UNF

Casting No.: 5470677 R/L

5473510 R/L

Application

BUICK Apollo (74-73)

CHEVRPLET Camro (69); Nova (74-69)

OLDSMOBILE Omega (74-73)

PONTIAC Firebird (69); Ventura ll (74-71)

REAR

OEM No.:

Bore Size: 38.00

Air Gap: 45.00

Pin Mounting: 144.00

Port Size: M10-1.5

Casting No.: 11-15AD 38P, 3801

Application

BUICK Regal (96-94)

3283/84 R/L

3279/80 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3281/82 R/L

3277/78 R/L

OLDSMOBILE TRK 



REAR

OEM No.: 18008848(RH)

Bore Size: 54.04

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: M10x1.5

Casting No.: 021 R/020 L

Application

BUICK Riviera (85-79)

CADILLAC Eldorado (85-79); Seville (85-80)

OLDSMOBILE Toronado, Trofeo (85-79)

OEM No.: 18012309(RH)

Bore Size: 74.68

Air Gap: 65.50

Pin Mounting: 179.00

Port Size: M10x1.5

Casting No.: 18002329 & 9R/18002328 & 8L

Application

BUICK Centurio, Electra, LeSabre, Wildcat, Estate Wagon, Park Avenue, Road Master (92-85);

           RWD (84-78); Riviera (78); Skylark (79-78)

CADILLAC Seville (79-78); Deville, Fleetwood, Brougham, Limo-RWD W.ABS (93); Rear (89-82);

           Deville, Fleetwood, Brougham (Rear) (81-80)

CHEVROLET Belaiir, Biscayne, Caprice, Impala, Kingswoods, Townsman (93-78); Comaro (81-78);

           Chevy ll, Nova (79-78)

GMC Astro, Safari 2WD (95-85); C1500, C10 W/L.D. Rear Brakes (87-81)

OLDSMOBILE Delta 88, 98, Custom Cruiser, 88 Royal (84-78); RWD (92-85); Omega (79-78)

PONTIAC Bonneville, Catalina, Safari, Safair Wagon (81-78); Firebird, Trans AM (81-78);

            Parisienne (86-83); Phoenix, Ventura ll (79-78)

OEM No.: 18008664(RH)

Bore Size: 57.04

Air Gap: 45.00

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 7217 RIGHT/7216 LEFT

Application

BUICK Skyhawk W/Solid Rotor (82)

CHEVROLET Cavalier, Z24, Cadet W/Solid Rotor JA2 (84-82)

PONTIAC Sunbird, J2000 Solid Rotor (83-82)

3285/86 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3287/88 R/L

3289/90 R/L



OEM No.:

Bore Size: 74.64

Air Gap: 65.50

Pin Mounting: 179.00

Port Size: M10-1.5

Casting No.: 18020448 R8/18020447 L7

Application

CHEVROLET  Impala, Caprice W/Police Pack (96-94)

B35 Comm, Chassis 1994-96

REAR

OEM No.: 18014442(RH)

Bore Size: 47.13

Air Gap: 59.00

Pin Mounting: 139.00

Port Size: 3/8"-24

Casting No.: 426

Application

CHEVROLET Camaro (88-82)

PONTIAC Firebird, Trans AM (88-82)

OEM No.:

Bore Size: 54.00

Air Gap: 63.50

Pin Mounting: 105.00

Port Size: M10-1.5

Casting No.: 2857/2856

Application

CHRYSLER Cirrus (97-95), Sebring-Jx convertible (Mod:Jx) 1996-00

DODGE Stratus (98-95)

PLYMOUTH Breeze (98-96)

OEM No.: 4886072AA

Bore Size: 70.03

Air Gap: 67.80

Pin Mounting: 136.50

Port Size: 7/16-20 UNF

Casting No.: 86166 KH

Application

DODGE CHALLENGER, CHARGER, SE, CORONET, SUPER BEE 1970-74

PLYMOUTH CARRACUDA, BELVEDERE, CUDA, SATELITE, SAVOY 1970-74

3297/98 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3291/92 R/L

3293/94 R/L

3295/96 R/L



OEM No.:

Bore Size: 60.40

Air Gap: 60.00

Pin Mounting: 164.00

Port Size: M10 x 1.0

Casting No.: 2323 R/L

Application

DODGE COLT VISTA (95-92)

EAGLE (92-91)

MITSUBISHI (94-91)

PLYMOUTH COLT VISTA (95-92), LASER (94-91)

OEM No.: 4238676(RH)

Bore Size: 54.04

Air Gap: 58.00

Pin Mounting: 120.00

Port Size: 7/16"-20

Casting No.: 105396-01/105396-02

Application

DODGE Charger, Charger 2.2, Coronet, Super Bee (88-83); Omni, 024 1Pin (90-83)

DODGE TRUCK Rampage (86-83)

PLYMOUTH Horizon, TC3, Turismo (90-83)

Scamp 1Pin (84-83)

OEM No.: 4886072AA

Bore Size: 66.00

Air Gap: 67.50

Pin Mounting: 99.00

Port Size: 3/8"-24

Casting No.: 6608.9

Application

DODGE TRUCK Dakota (97)

OEM No.:

Bore Size: 70.03

Air Gap: 71.50

Pin Mounting: 110.00

Port Size: M10x1.25

Casting No.: 7001.9

Application

DODGE TRK DAKOTA PICKUP 2WD & 4WD 1999 

DURANGO 4WD SUV 1998-99

3299/3300 R/L

3301/02 R/L

3303/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3305/06 R/L

PLYMOUTH TRUCK



OEM No.: 3898114(RH)

Bore Size: 85.80

Air Gap: 86.00

Pin Mounting: 189.10

Port Size: 7/16"-20

Casting No.: 2238353 R/2238352 L

Application

DODGE MR400, 500, 600 W/H.D. (92-75); W300, 350, 400 4X4 Ton W/4500 Ibs Front Axle (95-75)

GMC C3500, C30, G3500, G30 (78-74)K3500, K30 (78-77); P3500, P30 W/JB-8 & 4 Wheel Disk (78);

         Bendix (78-74); 40, 400, 4000, Motor Home Chassis (79-74); W/Dual Rear Wheels (73)

OEM No.:

Bore Size: 60.50

Air Gap: 62.50

Pin Mounting: 116.00

Port Size: 3/8-24 UNF

Casting No.:

Application

FORD (73-68)

FORD TRUCK (73-68)

MERCURY (73-68)

OEM No.: E0E1AZ2B120A(RH)

Bore Size: 73.10

Air Gap: 66.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.: 838/837

Application

FORD Custom, Galaxie, XL (82-80); LTD Crown Victoria, Country Squire Exc. Police & Taxi (90-80)

LINCOLN Town Car RWD (89-88); Town Car, Continental (87-80); Mark III, IV, V, VI, VII (89-90)

MERCURY Grand Marquis, Clolny Park Exc. Polic & Taxi (89-80); Marquis, Montclair, Monterey (82-80)

OEM No.:

Bore Size: 51.18

Air Gap: 61.50

Pin Mounting: 120.00

Port Size: M10x1.0

Casting No.: 22V-13 15 CR

Application

FORD Import (95-94)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3311/12 R/L

3313/14 R/L

3309/10 R/L

3307/08 R/L



OEM No.:

Bore Size: 48.03

Air Gap: 55.50

Pin Mounting: 92.00

Port Size: M10x1.5

Casting No.: 631

Application

FORD Crown, Victoria (98-96)

MERCURY Grand Marquis (98-96)

OEM No.: E7SZ2B120A(RH)

Bore Size: 60.04

Air Gap: 66.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.: 406/405

Application

FORD MUSTANG 8Cyl. (93-87); Thunderbird Turbo (88-87)

MERCURY Cougar Turbo (88-87)

FRONT

OEM No.: E9SZ2B120A(RH)

Bore Size: 66.05

Air Gap: 66.20

Pin Mounting: 110.00

Port Size: M10x1.5

Casting No.: 8818/8817 (steelp)

Application

FORD Taurus SHO & S/W (93-89); Thunderbird (92-89)

MERCURY Cougar (92-89); Sable SHO & S/W (93-89)

LINCOLN Continental 88-89 Models with Phenolic Piston Caliper

OEM No.:

Bore Size: 73.13

Air Gap: 69.80

Pin Mounting: 147.70

Port Size: 3/8"-24

Casting No.: 8791 R/8790 L

Application

FORD TRUCK (85-80)

NOTE V Slider Groove

3319/20 R/L

3321/22 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3315/16 R/L

3317/18 R/L



OEM No.:

Bore Size: 51.05

Air Gap: 71.80

Pin Mounting: 199.00

Port Size: 3/8"-24

Casting No.: 129297

Application

FORD TRUCK EXPEDITION F-150 (98-97)

REAR

OEM No.: F75Z-2552-BA(RH)

Bore Size: 51.02

Air Gap: 55.20

Pin Mounting: 92.00

Port Size: 3/8-24 UNF

Casting No.: 799

Application

FORD TRK F250 PICKUP (UNDER 8500GVW) REAR 1997-98

EXPEDITION SUV REAR  1997-02

TOWN CAR LIMOUSINE  REAR 2003-07

LINCOLN BLACKWOOD  2002-03

LINCOLN TRK   NAVIGATOR SUV REAR  1998-02

OEM No.: F582-2552D

Bore Size: 44.02

Air Gap: 51.00

Pin Mounting: 92.00

Port Size: M10-1.5

Casting No.: 083, 5171-5, 51715

Application

FORD TRUCK Windstar (97-95)

OEM No.:

Bore Size: 48.00

Air Gap: 52.00

Pin Mounting: 76.2

Port Size: M10-1.5

Casting No.: 7205/7504

Application

PONTIAC Fiero, Lemans (94-87)

3327/28 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3323/24 R/L

3325/26 R/L

3329/30 R/L



FRONT

OEM No.: 18011668(RH)

Bore Size: 57.05

Air Gap: 54.70

Pin Mounting: 147.00

Port Size: M10x1.5

Casting No.: 932 RIGHT/931 LEFT

Application

BUICK Skyhawk (89-84); Skylark (89-85)

PONTIAC Sunbird, J2000 (89-84)

CADILLAC CIMARRON  1984-88

CHEVROLET BERETTA, CORSICA  1987-91,  CAVALIER  1984-91

OLDSMOBILE CIERA W/JA1  1985-89,  CALAIS  1985-87, FIRENZA  1984-88

FRONT

OEM No.:

Bore Size: 64.00

Air Gap: 57.65

Pin Mounting: 117.00

Port Size: M10x1.0

Casting No.: F18N R/L

Application

TOYOTA (92-88)

REAR

OEM No.:

Bore Size: 42.9

Air Gap: 58.70

Pin Mounting: 117.00

Port Size:

Casting No.: 67321(052/4)

Application

FORD Scorpio Lim 2.9i24V (1) (1/91-94)

FRONT

OEM No.:

Bore Size: 65.50

Air Gap: 74.50

Pin Mounting:

Port Size:

Casting No.: ATE

Application

FORD Mondeo 2.0i-16V, 4WD (1/95-)

(ATE) Mondeo 2.5 V6 (1) (8/94-)

3337/38 R/L

3335/36 R/L

--------------------------------------------------------------------------------------------------------

3331/32 R/L

3333/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 63.55

Air Gap: 72.00

Pin Mounting: 178.00

Port Size:

Casting No.: 16. 154

Application

GM Mini van Front (97)

BUICK H BODY} LESABREE W/16" 2000-04

G BODY} PARK AVENUE 1997-04

CADILLAC E BODY} ELDORADO COUPE 1997-02

CHEVROLET W BODY} IMPALA SEDAN & MONTE CARLO 2000-04

PONTIAC H BODY} BONNEVILLE W/17" % 18" WHEELS 2000-04

FRONT

OEM No.:

Bore Size: 60.55

Air Gap: 71.00

Pin Mounting: 184.00

Port Size:

Casting No.: 18021886

Application

CHEVROLET Malibu (99-)

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 55.50

Pin Mounting: 147.00

Port Size:

Casting No.: 095/096

Application

OLDSMOBILE Pontiac Grand AM Front (98)

REAR

OEM No.:

Bore Size: 38.10

Air Gap: 43.30

Pin Mounting: 142.00

Port Size: M10x1.0

Casting No.: 18023250

Application

OLDSMOBILE Pontiac Rear (99)

PONTIAC Grand Am 1999-04

3341/42 R/L

3343/44 R/L

3345/46 R/L

3339/40 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 18040100/101

Bore Size: 51.10

Air Gap: 74.50

Pin Mounting: 202.00

Port Size: M10x1.5

Casting No.: 18025700/01

GMC Silverado, Sierra 2 piston Front (99-01), Safari Van 2003-04

CHEVROLET Astro Van 2003-04

REAR

OEM No.: 18040087

Bore Size: 54.13

Air Gap: 64.00

Pin Mounting: 164.00

Port Size: M10x1.0

Casting No.: K244-079C

Application

GMC 1500 Front & Rear (99)

CADILLAC Commercial Deville Limo 2000-3

CHEVROLET Avalan Che 1500 2500 2002-03, Suburbah 2500 w/Quaraster2003

FRONT

OEM No.: 18025476

Bore Size: 48.12

Air Gap: 60.00

Pin Mounting: 164.00

Port Size: M10x1.0

Casting No.: 18021225

Application

GM TRUCK S-10, S-15, Blazer, Jimmy, Sonoma, T-10, T-15 (S Series) Rear (97-02)

ISUZU Hombra rear (98-00)

OLDSMOBILE Bravada Rear (97-01)

FRONT

OEM No.:

Bore Size: 63.55

Air Gap: 72.00

Pin Mounting: 178.00

Port Size: M10x1.5

Casting No.: 15. 456

Application

 H BODY} LESABREE W/15" 2000-04

BUICK  W BODY} REGAL & GS 1997-04

CHEVROLET  U BODY} VENTURE 2WD VAN 1997-03

OLDSMOBILE  U BODY} SILHOUETTE 2WD VAN 1997-03

PONTIAC  H BODY} BONNEVILLE W/16" WHEELS 2000-04

3347/48 R/L

AL 3351/52 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3353/54 R/L

AL 3349/50 R/L

Chevy venture Front (97-00)



FRONT

OEM No.:

Bore Size: 60.30

Air Gap: 60.00

Pin Mounting: 164.00

Port Size: M10x1.0p

Casting No.: 6006

Application

 SEBRING COUPE(Mod:FJ-CH/CP/CS-22) 1995-98

CHRYSLER  AVENGER(Mod:FJ-DH-DS-22) 1995-97

DODGE  TALON Esi, Tsi w/2WD(Mod:FJXP24, FJXH24) 1995-98

EAGLE  ECLIPSE w/2WD (Mod:F24) 1995-97

MITSUBISHI  GALANT (Mod:F141) 1994-97

FRONT

OEM No.:

Bore Size: 37.15

Air Gap: 15.00

Pin Mounting: 144.00

Port Size:

Casting No.: 11-15 AD38(3811)

Application

BUICK  REGAL (W BODY) REAR 1997-04

CHEVROLET  IMPALA (W BODY) REAR 2000-04

OLDSMOBILE  INTRIGUE (W BODY) REAR 1998-02

PONTIAC  GRAND PRIX (W BODY) REAR 1997-03

FRONT

OEM No.:

Bore Size: 48.05

Air Gap: 60.00

Pin Mounting: 84.00

Port Size:

Casting No.: 8135

Application

JEEP Cherokee rear (00)

FRONT

OEM No.: XF2Z2B121SA

Bore Size: 48.15

Air Gap: 72.50

Pin Mounting: 185.00

Port Size: M10x1.5

Casting No.: 5296/5295

Application

FORD TRK WINDSTAR VAN 1999-03

3361/62 R/L

3357/58 R/L

3359/60 R/L

3355/56 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 54.02

Air Gap: 74.00

Pin Mounting: 104.00

Port Size: M10x1.0

Casting No.: 22

Application

FORD FOCUS (00-02)

REAR

OEM No.:

Bore Size: 48.05

Air Gap: 61.00

Pin Mounting: 92.00

Port Size: 318.24

Casting No.: 742

Application

 CROWN VICTORIA & POLICE CRUISER & TAXI (A BODY) REAR 2003-04

 FORD  TOWN CAR (A BODY) REAR 2003-04

 LINCOLN  GRAND MARQUIS (A BODY) REAR 2003-04

 MERCURY  MARAUDER SPORT SEDAN (A BODY) REAR 2003-04

FRONT

OEM No.:

Bore Size: 38.25

Air Gap: 68.50

Pin Mounting:

Port Size:

Casting No.:

Application

FORD MUSTANG

FRONT

OEM No.:

Bore Size: 51.15

Air Gap: 55.90

Pin Mounting: 158.00

Port Size: M10-1.0

Casting No.: 2047

Application

SATURN Sedan&Coupe&Wagon 1991-97

3363/64 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3365/66 R/L

AL 3367/68 R/L

3369/70 R/L



FRONT

OEM No.:

Bore Size: 74.67

Air Gap: 65.50

Pin Mounting: 178.80

Port Size: 7/16"-20

Casting No.: 547173/547172

Application

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 63.70

Pin Mounting: 174.00

Port Size: M10x1.0

Casting No.: 0173 17CL-C

BKT : 15VN-23T

Application

HONDA  ACCORD SEDAN w/6 CYL ENG. 2003-

 ACCORD COUPE w/6 CYL ENG & AUTO TRANS  2003-04

FRONT

OEM No.:

Bore Size: 50.80

Air Gap: 30.0

Pin Mounting:

Port Size: 3/8-24 UNF

Casting No.: in : 2937722

out : 2 C SM

Application

AMC Ambassador Amx Marlin Rambler Classic

Rogue Rebel 1965-70

w/Bendix 49 Caliper

HYUNDAI TRK ENTOURAGE 2007-08

FRONT

OEM No.:

Bore Size: 63.60

Air Gap: 65.50

Pin Mounting: 178.80

Port Size:

Casting No.: 224R 2621 224/

223L 2621 223

Application

CADILLAC E Body Eldorado 1976-78

K Body Seville 1997-98

3375/76 R/L

3377/78 R/L

3371/72 R/L

3373/74 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 135418

Bore Size: 66.00

Air Gap: 73.40

Pin Mounting: 174.00

Port Size: 3/8-24UNF

Casting No.: 135418

Application

JEEP TRK Liberty(KJ) 2002-05

FRONT

OEM No.:

Bore Size: 66.00

Air Gap: 73.40

Pin Mounting: 174.00

Port Size:

Casting No.: 135418

Application

FRONT

OEM No.:

Bore Size: 40.00

Air Gap: 59.60

Pin Mounting: 150.50

Port Size: 3/8"-24

Casting No.:

Application

FRONT

OEM No.:

Bore Size: 42.88

Air Gap: 63.60

Pin Mounting: 199.00

Port Size: M10-1.0

Casting No.: S12WN

Application

3379/80 R/L

3379/80 R/L

3383/84 R/L

3381/82 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 63.60

Air Gap: 84.00

Pin Mounting:

Port Size: 7/16"-24

Casting No.:

Application

FRONT

OEM No.:

Bore Size: 48.03

Air Gap: 70.50

Pin Mounting: 193.50

Port Size: M10-1.5

Casting No.: 4696

Application

FORD CROWN VICTORIA (A BODY) 1998(L)-02

LINCOLN TOWN CAR (A BODY) 1998-02 APRA #32583/84

MERCURY GRAND MARQUIS (A BODY) 1998-02

FRONT

OEM No.:

Bore Size: 48.10

Air Gap: 75.50

Pin Mounting: 150.10

Port Size: 3/8"-24

Casting No.: 4835

Application

JEEP Grand Cherokee 2WD&4WD (Mod:wj) 1999-03

FRONT

OEM No.:

Bore Size: 51.13

Air Gap: 75.00

Pin Mounting: 202.00

Port Size: M10-1.5

Casting No.: 18025701 L07

Application

3385/86 R/L

3387/88 R/L

3389/90 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3391/92 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 18024109(R / 08L)

Bore Size: 57.18

Air Gap: 86.1

Pin Mounting: 242.00

Port Size: M10-1.5

Casting No.: 18025722 (L)

18025723(R)

Application

CHEVROLET Express Van 2500 H/D w/8500 & 8600 GVW 2003-04

Silverado 1500 DOHC 4DR Crew Cab 2/4WD 2001-04

GMC Savana Van 2500 H/D W/8500&8600 GVW 2003

HAMMER H2 Sport Utility 2003

FRONT

OEM No.:

Bore Size: 45.05

Air Gap: 72

Pin Mounting: 199.4

Port Size: 3/8"-24

Casting No.: 132705 (132795)

Application

FORD TRK ECONOLINE VAN E250 & E350 REAR 1999-03

REAR

OEM No.:

Bore Size: 45.00

Air Gap: 79.50

Pin Mounting: 199.40

Port Size: 3/8-24

Casting No.: 13544402(45)

Application

DODGE 2WD&4WD R2500 3/4ton Pickup 2003

2WD&R3500 1ton Pickup w/45x45mm 2003(E)

2WD&4WD R2500 4/3ton Pickup 2001-02

FRONT

OEM No.: 1L2Z2B120AA/21AA

Bore Size: 56.12

Air Gap: 78.00

Pin Mounting: 182.00

Port Size: 3/8-24UNF

Casting No.: 134247

Application

FORD Econoline Van E250&E350 2002-03

3397/98 R/L

3399/3400 R/L

3393/94 R/L

3395/96 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 12497784(RH)

Bore Size: 45.00

Air Gap: 71.00

Pin Mounting: 206.00

Port Size: M10x1.0

Casting No.: K247-061C

Application

CHEVROLET  TRAILBLAZER LWB (Mod:S/T 158#129") SUV 2002-03

 TRAILBLAZER 5.3Ltr SUV 2004

GMC  ENVOY-XL LWB (Mod:S/T 158#129") SUV 2002-03

ISUZU  ASCENDER 2003

FRONT

OEM No.: 5453

Bore Size: 54.04

Air Gap: 85.50

Pin Mounting: 166.00

Port Size: 3/8-24UNF

Casting No.: 5453

Application

 FORD  EXPEDITION SUV 2003-04

 LINCOLN  NAVIGATOR SUV 2003-04

FRONT

OEM No.: 5134582AA / 83AA

Bore Size: 54.00

Air Gap: 71.00

Pin Mounting: 199.40

Port Size: M10x1.0

Casting No.: 143477(54)

Application

DODGE DURANGO SUV 2003

B1500 RAM VAN F/S 2003

B1500 RAM VAN F/S 1998-02

FRONT

OEM No.: 45018-SHJ-A01

Bore Size: 45.50

Air Gap: 68.00

Pin Mounting: 184.00

Port Size: M10x1.0

Casting No.: 13CLT

BKT : 16VN-28T

Application

HONDA TRK ODYSSEY 2005-07, CR-V 2007

ACURA TRK RDX 2007

AL 3401/02 R/L

3407/08 R/L

3403/04 R/L

3405/06 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: F81A2K327DE

Bore Size: 45.45

Air Gap: 70.00

Pin Mounting: 184.00

Port Size: 3/8"-24

Casting No.: 4507

Application

FORD TRK F250&F350 SD 1998-99

F250&F350 SD R 2000-03

Excurion SUV 2000-03

FRONT

OEM No.: 1L2Z2B121AC

Bore Size: 46.07

Air Gap: 67.50

Pin Mounting: 181.00

Port Size: 3/8-24

Casting No.: 5456

Application

FORD Explorer 4DR 2002-04, Sport 2DR 2001-02, Trac P/U 2001-02

Ranger Pickup 2003-04

MERCURY Mountaineer SUV 2002-04

FRONT

OEM No.:

Bore Size: 60.10

Air Gap: 91.20

Pin Mounting: 190.00

Port Size: 3/8"-24

Casting No.: 130307

Application

FRONT

OEM No.: F75Z2B121BA

Bore Size: 51.13

Air Gap: 67.80

Pin Mounting: 193.00

Port Size: 3/8-24

Casting No.: 6182

Application

 FORD  TRK PICKUP F150 1/2 TON W/4 WHEEL DISC BRAKE  1999-03

LINCOLN TRK    BLACKWOOD SPORT UTILITY P/U  2002-03

3411/12 R/L

3415/16 R/L

3409/10 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3413/14 R/L



REAR

OEM No.: XC2Z2553AD

Bore Size: 45.05

Air Gap: 72.00

Pin Mounting: 199.40

Port Size:

Casting No.: 132795

Application

FORD Econoline Van E250&E350 1999-03

FRONT

OEM No.: 5137 670AA/671AA

Bore Size: 42.00

Air Gap: 70.20

Pin Mounting: 210.00

Port Size: M10x1.5

Casting No.: K247-185C

Application

 CHRYSLER  300  2005-07

 DODGE  CHARGER  2006-07;  MAGNUM  2005-07

FRONT

R-18043521/88967107

OEM No.: H-18043520/8896106

Bore Size: 45.10

Air Gap: 71.50

Pin Mounting: 204.00

Port Size: M10x1.0

Casting No.: K247-049C

Application

CADILLAC Escalade 2002-03

CHEVROLET Suburan 1500 STD 2002-03, Avalanche 1500 Sat L/D 2002-03

GMC Yukon&Denali STD 2000-04

FRONT

OEM No.: 41001-10G01(R) / 41011-10G01(L)

Bore Size: 42.95

Air Gap: 70.20

Pin Mounting: 190.00

Port Size: M10x1.0p

Casting No.: 81G, 82G

Application

NISSAN TRK Frontier 1998-04

D21 Pickup 1992-97

AL 3421/22 R/L

AL 3419/20 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3417/18 R/L

--------------------------------------------------------------------------------------------------------

3423/24 R/L



FRONT

OEM No.:

Bore Size: 51.17

Air Gap: 68.80

Pin Mounting: 204.00

Port Size: M10x1.0p

Casting No.: 262232

Application

DODGE TRK Dakota Pickup 2WD/4WD 2003-04

FRONT

OEM No.:

Bore Size: 45.45

Air Gap: 69.90

Pin Mounting: 144.00

Port Size: M10-1.5

Casting No.: 2424

Application

FORD Taurs, Sable, Continental(93-91), TAURUS-SHO REAR 1989-92

Lincoln Continental(88-92), Mark VII 1991-92

MERCURY Sable w/ABS 1991-92

OEM No.: 5018990AA, 5072551AA

Bore Size: 60

Air Gap: 72.0

Pin Mounting: 99.0

Port Size: 7/16 20UNF

Casting No.: 6051.9

Application

 CHRYSLER  SEBRING SEDAN & COVERTIBLE  2001-04

 DODGE  STRATUS SEDAN  2001-04

OEM No.: 5018570AA/71AA

Bore Size: 51.0

Air Gap: 79.2

Pin Mounting: 199.4

Port Size: 3/8-24

Casting No.: 13544401, 51

Application

 DODGE TRK 2WD & 4WD R3500 1ton Pickup Drw w/51x51 Caliper Rear 2003-05

2WD & 4WD R3500 1ton Pickup w/51x51 Caliper Rear 2001-02

3429/30 R/L

3425/26 R/L

AL 3427/28 R/L

3431/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.: 18046219(L), 18046220®

Bore Size: 60.15

Air Gap: 86.0

Pin Mounting: 242.0

Port Size: M10x1.5p

Casting No.: 18025830(R)/29(L)

Application

 CHEVROLET  SILVERADO 3500 2WD & 4WD 2001-04

 GMC  SIERRA 3500 2WD & 4WD 2001-04

OEM No.:

Bore Size: 54.05

Air Gap: 76.6

Pin Mounting: 205.0

Port Size: M10x1.0p

Casting No.: 14900801

Application

 DODGE TRK DAKOTA 2005-07

RAM 1500 PICKUP(Exc.10 Cyl)  2006;  RAM 1500 PICKUP  2007

RAIDER  2006-07

OEM No.:

Bore Size: 45.45

Air Gap: 67.5

Pin Mounting: 159.0

Port Size: M10x1.0p

Casting No.: 2B302/294, R/L

Application

 FORD TRK EDGE  2007

 LINCOLN TRK MKX  2007

OEM No.: 4238710(RH)

Bore Size: 54.04

Air Gap: 67.80

Pin Mounting: 94.00

Port Size: 7/16-20

Casting No.:

Application

 CHRYSLER  (2 Pin) LASER XE W/o SENSOR(REAR)  1984-86

 DODGE  (2 Pin) 400  1983-87;  600, 600ES, 4DR  1983-87; SHELBY CHANGER  1984-87

 PLYMOUTH  (2 Pin) ACCLAIM  1990;  CARAVELLE  1985-87

3439/40 R/L

3437/38 R/L

3435/36 R/L

3433/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

 MITSUBISHI TRK



OEM No.:

Bore Size: 54.0

Air Gap: 60.0

Pin Mounting: 164.0

Port Size: M10x1.0p

Casting No.: K244-075C

Application

 CHEVROLET  CAPRICE POLICE, IMPALA-SS REAR  1994-96

 ((w/JB9 & JL9 BRAKE))

OEM No.: 1 144 076R, 1 144 079(L)

Bore Size: 38.10

Air Gap: 51.6

Pin Mounting: 145.0

Port Size: M10X1.0p

Casting No.: Y01134(L), Y01135(R)

Application

 FORD MONDEO REAR 11/00-08/04

OEM No.: 1 144 076R

Bore Size: 38.10

Air Gap: 51.6

Pin Mounting: 145.0

Port Size: M10X1.0p

Casting No.: Y01134(L), Y01135(R)

Application

 FORD MONDEO REAR 11/00-08/04

OEM No.:

Bore Size: 38.25

Air Gap: 68.5

Pin Mounting: N/A

Port Size: M10x1.5

Casting No.: 4261444, 4611693

Application

 FORD MUSTANG COBRA 5.7L H/PERF ENG.  1994-97

A3447/48 R/L

3441/42 R/L

3443/44 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3445/46 R/L



OEM No.: F2UZ2B120A(RH)

Bore Size: 56.12

Air Gap: 83.50

Pin Mounting: 274.0

Port Size: 3/8-24

Casting No.: 12514901

Application

 FORD TRK  w/KELSEY HAYES BRAKE  1992-94

 E250 & E350 VAN/CLUB WAGON  1992-94

OEM No.: D6AZ2552A(RH)

Bore Size: 66.06

Air Gap: 62.00

Pin Mounting: 134.50.

Port Size: 7/16-24

Casting No.:

Application

 FORD  CUSTOM REAR  1975-78

 MERCURY  MARQUIS REAR  1975-78

 LINCOLN  CONTINENTAL SEDAN REAR  1975-79

OEM No.:

Bore Size: 64.03

Air Gap: 79.7

Pin Mounting: 174

Port Size: M10X1.5p

Casting No.: 135398

Application

 BUICK  RENDEZVOUS w/ALL WHEEL DRIVE (B BODY) 2002-04

 CHEVROLET  VENTURE MINIVAN w/ALL WHEEL DRIVE (U BODY) 2003-04

 OLDSMOBILE  SILHOUETTE MINIVAN w/ALL WHEEL DRIVE (U BODY) 2003-04

 PONTIAC  AZTEK w/ALL WHEEL DRIVE (B BODY) 2002-04

OEM No.:

Bore Size: 45.0

Air Gap: 72.0

Pin Mounting: 204.2

Port Size: M10X1.0P

Casting No.: 18023839 

Application

 CHEVROLET  CAMARO (F BODY)  1998-02

 PONTIAC  FIREBIRD (F BODY)  1998-02

3455/56 R/L

3449/50 R/L

3451/52 R/L

3453/54 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.:

Bore Size: 42.02

Air Gap: 52.5

Pin Mounting: 99.0

Port Size: 7/16-20 

Casting No.: 4200

Application

TOWN & COUNTRY  1997-99

DODGE TRK          CARAVAN,  GRAND CARAVAN   1997-99

VOYAGER,  GRAND VOYAGER   1997-99

OEM No.: 18025189(RH)

Bore Size: 60.55

Air Gap: 71.0

Pin Mounting: 184.0

Port Size: M10X1.0p

Casting No.: 18024886  or

K246-037C

Application

 CHEVROLET MALIBU (N BODY-P90) 1997-03

 OLDSMOBILE  CUTLASS (N BODY-P90) 1997-99

 OLDSMOBILE  ALERO (N BODY-P90) 1999-03

 PONTIAC  GRAND AM (N BODY-P90) 1999-04

OEM No.:

Bore Size: 4-Ø49.5

Air Gap: (78)

Pin Mounting: 169.2

Port Size: 3/8-24 UNF

Casting No.: in : 56086(R)/56087(L)

out : EE71308

Application

 FORD COUNTRY SEDAN, CUSTOM, GALAXIE, RENCH WAGON….  1965-67

 LINCOLN CONTINENTAL  1965-69

 MERCURY COLONY PARK, COMMUTER, MARAUDER, MONTCLAIR …. 1965-67

OEM No.:

Bore Size: 4-Ø49.5

Air Gap: (78.0)

Pin Mounting: 169.2

Port Size: 3/8-24 UNF

casting No.: in : 74494(R)/74495(L)

out : EE71308

Application

 CADILLAC ELDORADO  1967-68

 OLDSMOBILE TORONADO   1967-68

 PLYMOUTH TRK   

AL3459/60 R/L

3461/62 R/L

3463/64 R/L

3457/58 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHRYSLER TRK    



OEM No.: MB151022(RH)

Bore Size: 54.10

Air Gap: 53.0

Pin Mounting: N/A

Port Size: M10X1.0p

Casting No.: 2113-1 A/B

Application

DODGE 2WD RAM D50 PICKUP 1980-86

MITSUBISHI 2WD MIGHTY MAX, SPX PICKUP 1980-86

PLYMOUTH 2WD ARROW PICKUP 1980-83

OEM No.:

Bore Size: 2-Ø48.2

Air Gap: 83.1

Pin Mounting: 190.0

Port Size: 3/8-24 UNF

Casting No.: 144150, 48

Application

FORD TRK F-350 SUPER DUTY PICKUP(w/Single Rear Wheels) REAR 2005-07

F-250 SUPER DUTY PICKUP(w/Single Rear Wheels) REAR 2005-07

OEM No.:

Bore Size: 2-Ø60.05

Air Gap: 89.5

Pin Mounting: 220.0

Port Size: 3/8-24 UNF

Casting No.: 154518, 60

Application

FORD TRK F-350 SUPER DUTY PICKUP(w/Dual Rear Wheels) 2005-07

F-250 SUPER DUTY PICKUP(w/Dual Rear Wheels) 2005-08

OEM No.:

Bore Size: 2-Ø54.05

Air Gap: 84.0

Pin Mounting: 205.0

Port Size: 3/8-24 UNF

Casting No.: 144133, 54

Application

FORD TRK F-350 SUPER DUTY PICKUP(w/Dual Rear Wheels) REAR 2005-07

F-250 SUPER DUTY PICKUP(w/Dual Rear Wheels) REAR 2005-08

3467/68 R/L

3465/66 R/L

3471/72 R/L

3469/70 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.:

Bore Size: 2-Ø54.1

Air Gap: 77.1

Pin Mounting: 203.0

Port Size: 3/8-24 UNF

Casting No.: 302 694

Application

FORD TRK F-150 PICKUP 2005-09

LINCLON TRK MARK LT 2006-08

OEM No.:

Bore Size: 60.05

Air Gap: 75.5

Pin Mounting: 95.0

Port Size: M10X1.0p

Casting No.: 6058 R / 6057 L

Application

FORD TRK ESCAPE 2002-04

MAZDA TRK TRIBUTE 2002-04

OEM No.:

Bore Size: 4-Ø52.40

Air Gap: 56.0

Pin Mounting: 173

Port Size: 3/8-24 UNF

Casting No.: in : 5456008

out : 5455946

Application

BUICK GRAN SPORT 1967, GS350 1968, GS400 1967-68, SKYLARK 1967-68

CHEVROLET CHEVELLE 1967-68

OLDSMOBILE CUTLASS 1967-68, 442 1967-68, F85 1967-68, VISTA CRUISER 1967-68

PONTIAC FIREBIRD 1967-68, GTO 1967-68, LEMANS 1967-68, TEMPEST 1967-68

OEM No.:

Bore Size: 4-Ø52.40

Air Gap: 62.0

Pin Mounting: 173

Port Size: 1/2-20 UNF

Casting No.: in : 5456008

out : 5455946

Application

OLDSMOBILE 98 1967-68, DELTA 88 1967-68

PONTIAC GRAND PRIX 1967-68

3477/78 R/L

3479/80 R/L

3473/74 R/L

3475/76 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.: 7710 200 588(L) / 7701 200 595®

Bore Size: 36.04

Air Gap: N/A

Pin Mounting: N/A

Port Size: M10X1.0p

Casting No.: 431251 (L), 431252 (R)

Application

RENAULT R 18 Turbo R1345/134A REAR (7/82-)

R 25 GTX B29E REAR (1/84-); R 25 TD/GTD B296 REAR (1/84-)

R 30 TS R1273/1275 REAR (2/75-84); R 30 TX R1278 REAR (8/78-84)

Fuego Turbo R1365 REAR (7/83-)

Espace 2000 Turbo D & DX REAR (J115) REAR (9/84-12/91)

OEM No.:

Bore Size: 36.04

Air Gap: N/A

Pin Mounting: N/A

Port Size: M10X1.0p

Casting No.: 338481(L), 338482(R)

Application

RENAULT R 21 GTX/RX/TXE L483 REAR (3/87-); R 21 GTX/RX/TXE L48K REAR (9/87-)

R 21 TI Break L48K REAR (9/87-); R 21 Turbo L485 REAR (9/87-)

Nevada GTX/TXE K483 REAR (7/86-); Nevada GTX/TXE K48K REAR (7/86-)

Nevada TD/GTD K486 REAR (7/86-)

Nevada TBD/TDX K488 REAR (7/86-); Nevada TD S486 REAR (10/78-)

OEM No.:

Bore Size: 2-Ø60.04

Air Gap: 59.0

Pin Mounting:

Port Size: M10X1.0p

Casting No.: in : 60

out : 55

Application

MERCEDES 380SL 1981-85, 380SLC 1981,

450SL 1973-80, 450SLC 1973-80

3481/82 R/L

3483/84 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3485/86 R/L

--------------------------------------------------------------------------------------------------------



OEM No.:

Bore Size: 2-Ø60.04

Air Gap: 59.0

Pin Mounting:

Port Size: M10X1.0p

Casting No.: in : 60

out : 31

Application

MERCEDES 280SE 1977-80, 380SD 1978-85, 380SE 1984-85, 380SEL 1981-83

450SEL 1973-80, 500SEL 1984-85

FRONT

OEM No. : E3TZ2B120C(RH)

Bore Size : Ø66.00

Air Gap : 60.5

Pin Mounting : 144.0

Inlet Port Size : 3/8-24

Casting No. : L06, 8 / L01, 7

Application

FORD TRK       AEROSTAR 2WD/4WD VAN 4/1987-97

                            EXPLORER 1991-94; BRONCO II 3/1987-90

                            RANGER PICKUP 3/1987-94

MAZDA TRK   NAVAJO 2WD/4WD 1991-94

                            PICKUP B2300, B3000, B4000 1994

FRONT

OEM No. :

Bore Size : 45.0

Air Gap : 68.8

Pin Mounting : 204.0

Inlet Port Size : M10X1.0p

Casting No. : K247-047C

Application

 FORD  MUSTANG w/MACH 1 SPECIAL EDITION  2003-04

FRONT

OEM No. :

Bore Size : 2-45.0

Air Gap : 68.8

Pin Mounting : 204.0

Inlet Port Size : M10X1.5p

Casting No. : K247-047C

Application

FORD MUSTANG w/MACH 1 SPECIAL EDITION 2003-04

3489/90 R/L

3491/92 R/L

3493/94 R/L

3487/88 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. : 5018237AA

Bore Size : 2-Ø54.04

Air Gap : 72.5

Pin Mounting : 199.4

Inlet Port Size : 3/8-24

Casting No. : 131072

Application

 DODGE TRK R1500 RAM PICKUP 2WD W/INDEPENDENT FRONT SUSPENSION  2000-01, R1500 VAN  1999-02

B1500 VAN  1998

FRONT

OEM No. :

Bore Size : 63.64

Air Gap : 83.50

Pin Mounting : N/A

Inlet Port Size : 7/16-24

Casting No. : 472T 17

Application

 FORD TRK TRUCK 600, 6000 SCHOOL BUS(93-84), 800, 850, 8000 SERIES SCHOOL BUS,

W/6000, W/7000(93-86)

FRONT

OEM No. : 18043521(R) / 18043520(L)

Bore Size : 2-Ø45.1

Air Gap : 71.5

Pin Mounting : 204.0

Inlet Port Size : M10X1.0p

Casting No. : 796589A (K247 - 049C)

Application

CADILLAC ESCALADE REAR 2002-03

CHEVROLET SUBURBAN 1500 STD. REAR 2002-03 

AVALANCHE 1500 SUT L/D BRAKE REAR 2002-03

GMC YUKON & DENALI 1500 STD. REAR 2000-04

FRONT

OEM No. : (96549788/89)

Bore Size : Ø53.96

Air Gap : 63.0

Pin Mounting : 160.0

Inlet Port Size : M10X1.0p

Casting No. : HSB 54

Application

GM DAEWOO LACETTI - FRONT

3497/98 R/L

A3499/3500 R/L

3503/04 R/L

3495/96 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. : (96800085/86)

Bore Size : Ø32.0

Air Gap : 44.2

Pin Mounting : 126.0

Inlet Port Size : M10X1.0

Casting No. : HSB 32

Application

GM DAEWOO  LACETTI - REAR

FRONT

OEM No. : F57Z2B120A(RH)

Bore Size : 2-Ø67.20

Air Gap : 66.80

Pin Mounting : 181.00

Inlet Port Size : 3/8-24

Casting No. : 4131R / 4131L

Application

FORD TRK LIGHT TRUCK w/BENDIX-BOSCH BRAKE 1995-02

RANGER PICKUP 4WD 1995-02

EXPLORER (ALL) 1995-01

MAZDA TRK PICKUP 4WD B2300, B3000, B4000 1995-02

MERCURY TRK MOUNTAINEER 2WD & AWD 1997-01

FRONT

OEM No. :

Bore Size : Ø41.55

Air Gap :

Pin Mounting : 70

Inlet Port Size : 7/16-24

Casting No. :

Application

FORD Mustang 1965-66

FRONT

OEM No. :

Bore Size : Ø57.18

Air Gap : 64.0

Pin Mounting : 174.0

Inlet Port Size : M10X1.0p

Casting No. : 5739

Application

CRYSLER SEBRING(10-07)

DOGDE AVENGER(11-08), CALIBER(11-07)

JEEP TRUCK COMPASS(11-07), PATRIOT(11-07)

3509/10 R/L

3511/12 R/L

3507/08 R/L

3505/06 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : Ø60.50

Air Gap : 62.0

Pin Mounting : 115.4

Inlet Port Size : 3/8-24

Casting No. : (775)

Application

FORD ELITE, FAIRLANE, FALCON, TORINO 1968-71; MUSTANG 1971-73

MERCURY COMET, MONTEGO 1968-71

FRONT

OEM No. :

Bore Size : Ø48.13

Air Gap : 53.7

Pin Mounting : 92

Inlet Port Size : 3/8-24

Casting No. : 938

Application

FRONT

OEM No. :

Bore Size : Ø74.64

Air Gap : 65.2

Pin Mounting : 178.8

Inlet Port Size : 7/16-20

Casting No. : 173(R), 172(L)

5471173(R) 5471172(L)

Application

Blazer(71), C10, C20 Pickup(71), C10, C20 Suburban(71), G20 Van(71), P10, 

P20 Van(71),

GMC TRUCK C15, C1500, C25, C2500 Pickup(71), C15, C1500, C25, C2500 Suburban(71),

G25, G2500 Van(71), Jimmy(71), P15, P1500, P25, P2500 Van(71)

FRONT

OEM No. : 5019988AA

Bore Size : Ø64.05

Air Gap : 73.8

Pin Mounting : 174.3

Inlet Port Size : 7/16-20

Casting No. : 134731

`

Application

CHRYSLER TRK Town & Country(05-03, 02-01), Voyager(03, 02-01)

DODGE TRK Caravan(05-03, 02-01), Grand Caravan(05-03, 02-01)

3513/14 R/L

3515/16 R/L

3517/18 R/L

3519/20 R/L

CHEVROLET TRUCK 

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : 2-Ø47.07

Air Gap : 72.8

Pin Mounting : 190.0

Inlet Port Size : 3/8-24UNF

Casting No. : 4802

Application

JEEP TRUCK GRAND CHEROKEE 1999-04

FRONT

OEM No. :

Bore Size : 2-Ø56.15

Air Gap : 84.5

Pin Mounting : 182.0

Inlet Port Size : M10X1.0p

Casting No. : 134248

Application

DODGE TRUCK RAM 1500 PICKUP(08-07), RAM 2500 PICKUP(08-03), RAM 3500 PICKUP(08-03)

FRONT

OEM No. :

Bore Size : Ø66.02

Air Gap : 76.7

Pin Mounting : 110

Inlet Port Size : M10X1.0p

Casting No. : 6647 T0833

5L84-2L231/1-A

Application

FORD TRUCK ESCAPE 2005-06

FRONT

OEM No. :

Bore Size : Ø45.6

Air Gap : 66

Pin Mounting : 188

Inlet Port Size : M10X1.5p

Casting No. : 846

Application

CHEVROLET Colorado(08-04)

GMC TRK Canyon(08-04)

ISUZU TRK i-280(06), i-290(08-07), i-350(06), i-370(08-07)

PONTIAC G6(05)

--------------------------------------------------------------------------------------------------------

3521/22 R/L

--------------------------------------------------------------------------------------------------------

3527/28 R/L

3523/24 R/L

3525/26 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. : F8VZ-2B120-AA(RH)

Bore Size : Ø42.07

Air Gap : 50.5

Pin Mounting :

Inlet Port Size : M10X1.0p

Casting No. : 6F93-2K328 42

Application

FORD, TRUCK FIVE HUNDRED (2005-07), FREESTYLE (2005-07),

MERCURY MONTEGO (2005-07)

FRONT

OEM No. :

Bore Size : Ø42.85

Air Gap : 59.0

Pin Mounting : 144.0

Inlet Port Size : M10X1.0p

Casting No. : 15812301

Application

TOWN&COUNTRY(10-08)

DODGE TRUCK GRAND CARAVAN(10-08)

OEM No. :

Bore Size : Ø51.1

Air Gap : 84.6

Pin Mounting : 234

Inlet Port Size : M10X1.0

Casting No. : 16277401

16277701

Application

DODGE TRUCK Ram 3500 (10-09), 3500 (11-13)

3535/36 R/L

OEM No.: (L)542096, 5542465, 93179158

Bore Size:      93186062, 542126, 93168711

Air Gap: (R) 542196, 5542464, 93179159

Pin Mounting:       93186061, 542127, 93168712

Port Size: Ø38.2

Casting No.: 55.3

118

M10X1.5

878(L),  38

879(R)  38

0396-B 

Application

SATURN (09-08)

--------------------------------------------------------------------------------------------------------

3533/34 R/L

--------------------------------------------------------------------------------------------------------

3529/30 R/L

3531/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHRYSLER TRUCK 



FRONT

OEM No.: D6TZ2B120A(RH)

Bore Size: 55.55

Air Gap: N/A

Pin Mounting: 232.00

Port Size: 3/8"-24

Casting No.: 697103808

Application

FORD TRUCK 1 Ton E, F350 (75-72); 3/4 Ton E, F200, 250 2 Piston (75-72)

FRONT

OEM No.: E0TZ2B120C(RH)

Bore Size: 55.55

Air Gap: N/A

Pin Mounting: 203.20

Port Size: 3/8"-24

Casting No.: 697103872

Application

FORD TRUCK 1 Ton E, F350 (79-76); 3/4 Ton E, F200, 250 2 Piston (79-76)

FRONT

OEM No.: E4TZ2B120B(RH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 271.20

Port Size: 3/8"-24

Casting No.: 390

Application

FORD TRUCK 1 Ton E, F350 (85-80); 3/4  Ton E, F200, 250 2 Piston (85-80)

FRONT

OEM No.: E9TZ2B120B(RH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 254.00

Port Size: 3/8"-24

Casting No.: 471

Application

FORD TRUCK 1 Ton E, F350 Exc. E350 (91-86); 3/4 Ton E, F200, 250 Exc. E350 (93-86)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3539/40 R/L

3541/42 R/L

3543/44 R/L

3537/38 R/L

--------------------------------------------------------------------------------------------------------



  FRONT/REAR

OEM No.: E4HZ2B120A(RH)

Bore Size: 63.62

Air Gap: 83.50

Pin Mounting: 271.50

Port Size: 7/16"-24

Casting No.: 22602

Application

FORD TRUCK 600, 6000 Series School Bus (2.5 Piston) (93-84);

          800, 850, 880, 8000 Series School Bus W/6000 & 7000 Ibs. F/A Disc (2.5 Piston) (93-86)

GMC C5D042 (Rear) (93-83); 50, 500, 5000, C5D042 Truck & Bus Series Dayton (Front & Rear) (93-83);

          C6D042 (Rear 2.5 Piston) (93-88);

          60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Dayton / Bendix (2.5 Piston) (93-83);

          70, 700, 7000, 7500, C7D042, S7T042 Truck & Bus Series Dayton / Bendix 4 Wheel disc (Front) (2.5 Piston) (93-83)

  FRONT/REAR

OEM No.: E4HZ2B120A(RH)

Bore Size: 63.62

Air Gap: 83.50

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.: 563

Application

FORD TRUCK 600, 6000 Series School Bus Disc (All Dayton) (2.5 Piston) (93-84);

          800, 850, 880, 8000 Series School Bus W/6000 & 7000 Ibs. F/A Disc (2.5 Piston) (93-86)

GMC C5D042 (Rear) (93-83); 50, 500, 5000, C5D042 Truck & Bus Series Dayton (Front & Rear) (93-83);

          C6D042 (Rear 2.5 Piston) (93-88)

          60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Dayton / Bendix (2.5 Piston) (93-83);

          70, 700, 7000, 7500, C7D064, S7T042 Truck & Bus Series Dayton / Bendix 4 Wheel disc (Front) (2.5 Piston) (93-83)

FRONT/REAR

OEM No.: E87Z2B120A(RH)

Bore Size: 60.03

Air Gap: 88.00

Pin Mounting: 193.70

Port Size: 3/8"-24

Casting No.: 12068401

Application

FORD TRUCK F450, F53 (95-88); F450, F53 (95-88), F53/F59 Cab&Chassis Vehicles 1996-03

F BODY} TRUCK w/KELSEY HAYES H/D BRAKE REAR 1989-03

F350,F450,F470,SUPER DUTY CLASS 1996-03

3545/46 R/L

3549/50 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3547/48 R/L



FRONT

OEM No.: E7SZ2B120A(RH)

Bore Size: 60.04

Air Gap: 66.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.: 405L/06R

Application

FORD Mustang 8Cyl. (93-87); Thunderbird Turbo (88-87)    MERCURY: Cougar Turbo (88-87)

FRONT

OEM No.: 4032968(RH)

Bore Size: 60.50

Air Gap: 78.00

Pin Mounting: 194.00

Port Size: 7/16"-20

Casting No.: 9113, 97202

Application

DODGE TRUCK M300, M400, M500, M600, R300, R400, R500 (82-79);

            W/Dual Piston Kelsey Hares Exc. M300 (78)

FRONT

OEM No.: F2UZ2B120A(RH)

Bore Size: 56.12

Air Gap: 83.50

Pin Mounting: 274.00

Port Size: 3/8"-24

Casting No.: 12514901

Application

FORD TRUCK 3/4 Ton E200, E250 2 Piston (95-92)

FRONT

OEM No.: 15501012(RH)

Bore Size: 73.10

Air Gap: 99.00

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.: 4150844

Application

BLUEBIRD Hed Duty Truck (91-89)

GMC 60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Bendix (2.88 Piston) (93-83)

IHC TRUCK (95-82)

MACK TRUCK (93-73)

3557/58 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3553/54 R/L

3555/56 R/L

3551/52 R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: F1TZ2B120DA(TH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 254.00

Port Size: 3/8"-24

Casting No.: 573

Application

FORD TRUCK 1 Ton E, F350 Dayton W/ Large groove, Phenolic Piston (94-89);

           3/4 Ton E, F200, 250 W/ Large groove Phenolic Piston (93-86)

FRONT

OEM No.: 582024C91(RH)

Bore Size: 66.00

Air Gap: 85.00

Pin Mounting: 139.00

Port Size: 7/16"-24

Casting No.: 4151733

Application

GMC IHC School Bus (2.6 Piston) (95-78)

MEDIUM & HEAVY DUTY L/R 1975-83

FRONT

OEM No.: F2TZ2B120A (RH)

Bore Size: 56.18

Air Gap: 77.50

Pin Mounting: 182.00

Port Size: 3/8"-24

Casting No.: 12795101

Application

FORD TRUCK 1 Ton E, F350, Dual Kelsey Hayes (97-95); 3/4 Ton E250, F250 (95), E450 Superduty 1998-02

F250/F350 PICKUP 2WD/4WD 1995-97

FRONT

OEM No.: 18005519(RH)

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473795

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

         RH In Board Front

3559/60 R/L

3561/62 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3563/64 R/L

3565/3566 R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 18005519(LH)

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473795

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          LH in Board Front

FRONT

OEM No.: 18005519

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473796

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH/ LH Out Board Front

REAR

OEM No.: E6HZ-2B120C

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 0456

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH in Board Rear

REAR

OEM No.: 2621208

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473806

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          LH in Board Rear

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3569/70 R/L

3571/72 R

3567/68 L

3573/74 L



REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473806

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH Out Board Rear

REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473807

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

           LH Out Board Rear

FRONT

OEM No.: F51Z2B120A(RH)

Bore Size: 46.00

Air Gap: 66.80

Pin Mounting: 181.00

Port Size: 3/8"-24

Casting No.: 2802 R/L

Application

FORD TRUCK Explorer (96-95); Ranger (97-95), Light Truck w/Bendix-Bosch Brake 1995-02

MAZDA TRUCK Pickup (96-95)

Mountaineer (97)

OEM No.: E6HZ-2B120C

Bore Size: 73.13

Air Gap: (102.50)

Pin Mounting: 295.00

Port Size: 7/16-24

Casting No.: 0456

Application

FORD TRK B600/B700/B800 SERIES 1984-94; C700/C800 SERIES 1984-90

F700 SERIES 1984-98, F800 SERIES 1984-99

L800/L900 SERIES 1984-97; LN600 1984-90, LN700 1984-97

((w/2.88" Piston w/Dayton Caliper)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3579/80 R/L

3577/78 L

MERCURY TRUCK

3575/76 R

3581/82  R/L



FRONT

OEM No.: F65Z-2B221-BA

Bore Size: 48.02

Air Gap: 67.00

Pin Mounting: 193.40

Port Size: 3/8"-24

Casting No.: 3727

Application

FORD F150 4X2, 4X4 WEEL (97)

FRONT

OEM No.:

Bore Size: 73.10

Air Gap: 103.60

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.:

Application

FORD TRUCK B600, 6000, C600, F600, 6000, LN600 (92-84)

         B700, 7000, C700, 7000, F700, 7000, LN700, 7000 (92-84)

         B800, 8000, F, FT800, 8000, L, LN, LNT, LT, LTS800, 8000 (92-84)

FRONT

OEM No.:

Bore Size: 42.05

Air Gap: 64.50

Pin Mounting: 170

Port Size: M10x1.0p

Casting No.: 2011BD - L

2010BC - R

Application

FORD Transit (14″hjul/wheels/Felge) (1) (6/91-94)

Transit (14″hjul/wheels/Felge) (1) (95 Model) (8/94-)

Turneo 2.0/2.5D/2.5TD (14″Hjul/Wheels/Felge) (7/94-11/94)

Turneo 2.0/2.5D/2.5TD (14″ Hjul/Wheels/Felge) (12/94-)

FRONT

OEM No.: 5018237AA

Bore Size: 54.04

Air Gap: 72.50

Pin Mounting: 199.30

Port Size: 3/8-24

Casting No.: 131072

Application

 DODGE TRK R1500 RAM PICKUP 2WD W/INDEPENDENT FRONT SUSPENSION  2000-01, R1500 VAN  1999-02

B1500 VAN  1998

3583/84 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3587/88 R/L

3589/90 R/L

3585/86 R/L



FRONT

OEM No.: 5003906AA/AB

Bore Size: 56.17

Air Gap: 79.00

Pin Mounting: 182.00

Port Size:

Casting No.: 134254

Application

DODGE Ram Van 2500/3500 56mm (98-99)

FRONT

OEM No.: 5011973AA

Bore Size: 48.05

Air Gap: 75.50

Pin Mounting: 150.00

Port Size: 3/8-24

Casting No.: 4835

Application

JEEP Cherokee 2 piston Front (00)

JEEP TRK GRAND 4WD (MOD : WJ) 1999-03

FRONT

OEM No.: 4152828

Bore Size: 66.05

Air Gap: 84.60

Pin Mounting:

Port Size: M10x1.5

Casting No.: 4152828

Application

CHEVROLET C3500 PICKUP CAB & CHASSIS H/DUTY FOR W RECKER VEHICLE

L+R FRONT & L+R REAR 1995-99

FRONT

OEM No.: F8VZ-2B120-AA(RH)

Bore Size: 48.08

Air Gap: 70.50

Pin Mounting: 193.50

Port Size:

Casting No.: 4696

Application

FORD Crown victoria exc. P/C (98), Mercury Front (99-02)

LINCOLN Town car (99-02)

--------------------------------------------------------------------------------------------------------

3593/94 R/L

3597/98 R/L

--------------------------------------------------------------------------------------------------------

3591/92 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3595/96 R/L



FRONT

OEM No.:

Bore Size: 63.55

Air Gap: 72.00

Pin Mounting: 178.00

Port Size:

Casting No.: 18025722/23

Application

GMC 2500 Front (99)

FRONT

OEM No.: 3WIZ-2B121-AB®

Bore Size: 48.05

Air Gap: 70.05

Pin Mounting: 215.00

Port Size: 3/8-24UNF

Casting No.: 202220

Application

 FORD  CROWN VICTORIA & POLICE CRUISER & TAXI (A BODY) 2003-04

 LINCOLN  TOWN CAR (A BODY) 2003-04

 MERCURY  GRAND MARQUIS (A BODY) 2003-04

 MARAUDER SPORT SEDAN (A BODY) 2003-04

FRONT

OEM No.: 25011839C91

Bore Size: 66.06

Air Gap: 87.00

Pin Mounting: 284.00

Port Size:

Casting No.: 4153269.66

Application

INTERNATIONAL 1652SC  REAR (1998-2000)

            (2.60" Piston)

                                        3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 REAR (1998-2000)

FRONT

OEM No.:

Bore Size: 56.17

Air Gap: 78.00

Pin Mounting: 182.0

Port Size: 3/8-24

Casting No.: KH13144701

Application

DODGE TRK B2500,B3500 VAN W/DUAL PISTON CALIPER 1998

RAM 2500, 3500 VAN 1999-02

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3599/3600 R/L

3603/04 R/L

3605/06 R/L

3601/02 R/L



FRONT

OEM No.: F81A2B120GG

Bore Size: 54.00

Air Gap: 80.80

Pin Mounting: 225.80

Port Size: M10-1.0

Casting No.: 5403

Application

FORD TRUCK F250SD & F350SD 2WD/4WD PICKUP 1998(L)-03

EXCURSION SUV 2000-04

(MODELS w/TWIN I-BEAM FRONT AXLE OVER 8,5000 GVW)

FRONT

OEM No.:

Bore Size: 47.65

Air Gap: 55.80

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545530

Application

CHEVROLET Camaro(69-67) Stainless Sreel Steeve, RH InBoard Front

FRONT

OEM No.:

Bore Size: 47.83

Air Gap: 56

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545530

Application

CHEVROLET Camaro(69-67) Stainless Sreel Steeve, CHEVY II, NOVA 1967-68

FRONT

OEM No.:

Bore Size: 47.83

Air Gap: 56

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545533

Application

CHEVROLET Camaro(69-67) Stainless Steel Sleeve, RH/LH InBoard Front

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3611/12 R/L

3613/14 R/L

3607/08 R/L

3609/10 R/L



FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 76.00

Pin Mounting: 174.00

Port Size:

Casting No.: LUCAS, OPEL

Application

CADILLAC V Body Catera Sedan 1997-01

FRONT

OEM No.: LUCAS

Bore Size: 40, 48

Air Gap: 66.30

Pin Mounting: 174.0

Port Size: M10X1.0p (1 inlet)

Casting No.: 4399/5 14(29) - L

4400/5 - R

Application

CITROEN  Jumper 27-31, ABS (2/94-)

FRONT

OEM No.: LUCAS/GIR

Bore Size: 48. 40

Air Gap: 66.30

Pin Mounting: 174.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 4494/11

L-4493/6

R-4494/6

Application

CITROEN Jumper 27-31, ABS (2/94-)

FRONT

OEM No.: LUCAS

Bore Size: 48. 45

Air Gap: 72.50

Pin Mounting: 190.0

Port Size: M10X1.0p (5 inlet)

Casting No.: L-4671-1

R-4677-1

Application

CITROEN Jumper 35 (1.8 T.) (1) ABS (2/94-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3619/20 R/L

3621/22 R/L

3615/16 R/L

3617/18 R/L



FRONT

OEM No.: LUCAS

Bore Size: 48. 45

Air Gap: 72.50

Pin Mounting: 190.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 7174

(L-4548-5)

( R-4549-5)

Application

CITROEN Jumper 35 (1.8 T.) (1) (-ABS) (2/94-)

FRONT 1 inlET

OEM No.: LUCAS

Bore Size: 48. 40

Air Gap: 72.50

Pin Mounting: 174.0

Port Size: M10X1.0p (1 inlet)

Casting No.: 4516/9

R-32324516/5

L-32324515/5

Application

CITROEN Jumper 27-31, ABS (13+32)

FRONT 2 inlET

OEM No.: LUCAS

Bore Size: 40. 48

Air Gap: 72.50

Pin Mounting: 174.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 4531/9

L-4531/3

R-4532/3

Application

CITROEN Jumper 27-31 (1) (-ABS) (2/94-)

REAR

OEM No.: 47840-87101-000(L), 47830-87101-000®

Bore Size: 30.20

Air Gap: 46.00

Pin Mounting:

Port Size:

Casting No.: NBK

Application

DAIHATSU APPLAUSE 1.6i, A101 (9/89-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3629/30 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3627/28 R/L

3623/24 R/L

3625/26 R/L



REAR

OEM No.: BREMBO

Bore Size: 36.00

Air Gap: 49.50

Pin Mounting: 106.0

Port Size: M10X1.0p

Casting No.: 5336, 5337

Application

Renault Laguna, Espace Ⅲ 3.0 L (96-98)

FRONT

OEM No.:

Bore Size: 41.35

Air Gap: 106 x 18.5

Pin Mounting: 89.0

Port Size: M10X1.0p

Casting No.: I - 3247 638C/637C

O - 3247 653C/654C

Application

Leyland Daf Light commercial van

REAR

OEM No.: BOSCH

Bore Size: 34.00

Air Gap: 49.0

Pin Mounting:

Port Size: M10X1.5p

Casting No.: 796876, 77

Application

Opel Vauxhall Astra (Rear)

VAUXHALL Astra Mkiv 02/98-

REAR

OEM No.: 88982662, 88982663

Bore Size: 70.12

Air Gap: 51.2+51.2

Pin Mounting: 254.0

Port Size: 7/16-24

Casting No.: in: 595B, out: 597B

Application

INTERNATIONAL1652SC (1998-2000)

3000FE, 3000FE, 3400, 3600, 4700, LP, 4900 (1998-2000)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3631/32 R/L

3637/38 R/L

3633/34 R/L

AL 3635/36 R/L



FRONT

OEM No. : 5018570AA/71AA

Bore Size : 2-Ø51.0

Air Gap : 79.2

Pin Mounting : 199.4

Inlet Port Size : M10x1.0

Casting No. : 13544401, 51

Application

DODGE TRK Ram 3500 Pickup(08-03)

FRONT

OEM No. :

Bore Size : 4-Ø49.5

Air Gap : (78.0)

Pin Mounting : 169.2

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 56086(R)/56087(L)

out : EE71308

Application

 FORD  COUNTRY SEDAN, CUSTOM, GALAXIE, RENCH WAGON….  1965-67

 LINCOLN  CONTINENTAL  1965-69

 MERCURY  COLONY PARK, COMMUTER, MARAUDER, MONTCLAIR …. 1965-67

FRONT

OEM No. :

Bore Size : 4-Ø49.5

Air Gap : (78.0)

Pin Mounting : 169.2

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 74494(R)/74495(L)

out : EE71308

Application

 CADILLAC  ELDORADO  1967-68

 OLDSMOBILE  TORONADO  1967-68

FRONT

OEM No. :

Bore Size : 2-Ø51.1

Air Gap : 73.1

Pin Mounting : 216.0

Inlet Port Size : M10x1.5p

Casting No. : 246C6  /  245C6

Application

ESCALADE  2007-08, ESCALADE ESV  2007-08,  ESCALADE EXT  2007-08

AVALANCHE 1500   2007-08,  SILVERADO 1500  2005-08,  TAHOE  2007-08, SUBURBAN 1500   2007-08

GMC TRK SIERRA 1500   2005-08, YUKON  2007-08,  YUKON XL 1500   2007-08 . . . . ..

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3645/46  R/L

CADILLAC TRUCK      

CHEVROLET TRUCK    

3641/42 R/L

3643/44  R/L

3639/40  R/L



FRONT

OEM No. :

Bore Size : 60.05

Air Gap : 89.0

Pin Mounting : 250.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 157693 T60

Application

 FORD TURCK E-150/250 Econoline, E-350/450 Super Duty (09-08)

FRONT

OEM No. :

Bore Size : 47.67

Air Gap : 75.0

Pin Mounting : 230.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 4813 R/L

Application

FORD TRUCK E-150/250 ECONOLINE, E-350/450 SUPER DUTY (09-08) REAR

FRONT

OEM No. :

Bore Size : 54.03

Air Gap : 85.9

Pin Mounting : 230.0

Inlet Port Size : 3/8-24 UNF

Casting No. : R/L (8C24-2K327/8-B)

Application

FORD TRUCK E-450 SUPER DUTY (09-08) REAR

FRONT

OEM No. :

Bore Size : 51.10

Air Gap : 68.7

Pin Mounting : 204.0

Inlet Port Size : M10X1.0p

Casting No. : 262569

Application

INFINITY TRUCK   QX56(06-04)

NISSAN TRUCK ARMADA(06-04),  TITAN(07-04)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3647/48  R/L

3649/50  R/L

3651/52  R/L

3653/54  R/L



FRONT

OEM No. :

Bore Size : 2-Ø48.15

Air Gap : 70.5

Pin Mounting : 206.0

Inlet Port Size : M10X1.5p

Casting No. : 2J2416-C

Application

BUICK TRUCK RAINIER(07-06)

S10 TRAILBLAZER(09-06)

GMC TRUCK S15 ENVOY(09-06)

FRONT

OEM No. : 8C3Z2B120A, 8C3Z2B121A

Bore Size : 2-Ø60.05

Air Gap : 89.5

Pin Mounting : 220.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 144296

Application

FORD TRUCK F-250 super Duty pickup(11, 10, 09, 08, 07, 06, 05),

       F-350 super Duty pickup(11, 10, 09, 08, 07, 06, 05)

FRONT

OEM No. :

Bore Size : 4-Ø60.25

Air Gap : 57.4

Pin Mounting : 175

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 91514

out : 91521

Application

 CHRYSLER 300   1966-68,  IMPERIAL  1966-69,  NEW YORKER  1966-68,  

NEWPORT  1966-68,  TOWN & COUNTRY  1966-68

 DODGE MONACO  1965-68,  POLARA  1968

FRONT

OEM No. :

Bore Size : Ø36.0

Air Gap : 49.0

Pin Mounting : N/A

Inlet Port Size : M10X1.5p

Casting No. : 796876(L), 796877(R)

Application

OPEL Astra G REAR 02/98-

VAUXHALL Astra MK IV REAR 02/98-

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3657/58  R/L

3655/56  R/L

CHEVROLET TRUCK 

3659/60  R/L

3661/62  R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : Ø38.0

Air Gap : 49.0

Pin Mounting : N/A

Inlet Port Size : M10X1.5p

Casting No. : 796876(L), 796877(R)

Application

OPEL  Various GRP.35 900 E

      Zapira 1.8, 2.0D (~99.04)

FRONT

OEM No. :

Bore Size : 73.12

Air Gap : 101.4

Pin Mounting : 284.0

Inlet Port Size : 7/16-24

Casting No. : 4153222,  73

Application

INTERNATIONAL1652SC  (1998-2000)

3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 (1998-2000) (2.88" Piston)

FRONT

OEM No. : 25011839C91

Bore Size : 66.06

Air Gap : 87.0

Pin Mounting : 284.0

Inlet Port Size : 7/16-24

Casting No. : 4153269,  66

Application

INTERNATIONAL1652SC  REAR (1998-2000)

(2.60" Piston)

3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 REAR (1998-2000)

FRONT

OEM No.: D6TZ2B120A(RH)

Bore Size: 55.55

Air Gap: N/A

Pin Mounting: 232.00

Port Size: 3/8"-24

Casting No.: 697103808

Application

FORD TRUCK 1 Ton E, F350 (75-72); 3/4 Ton E, F200, 250 2 Piston (75-72)

--------------------------------------------------------------------------------------------------------

3665/66  R/L

3667/68  R/L

3663/64  R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3669/70 R/L



FRONT

OEM No.: E0TZ2B120C(RH)

Bore Size: 55.55

Air Gap: N/A

Pin Mounting: 203.20

Port Size: 3/8"-24

Casting No.: 697103872

Application

FORD TRUCK 1 Ton E, F350 (79-76); 3/4 Ton E, F200, 250 2 Piston (79-76)

FRONT

OEM No.: E4TZ2B120B(RH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 271.20

Port Size: 3/8"-24

Casting No.: 390

Application

FORD TRUCK 1 Ton E, F350 (85-80); 3/4  Ton E, F200, 250 2 Piston (85-80)

FRONT

OEM No.: E9TZ2B120B(RH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 254.00

Port Size: 3/8"-24

Casting No.: 471

Application

FORD TRUCK 1 Ton E, F350 Exc. E350 (91-86); 3/4 Ton E, F200, 250 Exc. E350 (93-86)

 FRONT/REAR

OEM No.: E4HZ2B120A(RH)

Bore Size: 63.62

Air Gap: 83.50

Pin Mounting: 271.50

Port Size: 7/16"-24

Casting No.: 22602

Application

FORD TRUCK 600, 6000 Series School Bus (2.5 Piston) (93-84);

          800, 850, 880, 8000 Series School Bus W/6000 & 7000 Ibs. F/A Disc (2.5 Piston) (93-86)

GMC C5D042 (Rear) (93-83); 50, 500, 5000, C5D042 Truck & Bus Series Dayton (Front & Rear) (93-83);

          C6D042 (Rear 2.5 Piston) (93-88);

          60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Dayton / Bendix (2.5 Piston) (93-83);

          70, 700, 7000, 7500, C7D042, S7T042 Truck & Bus Series Dayton / Bendix 4 Wheel disc (Front) (2.5 Piston) (93-83)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3671/72 R/L

3673/74 R/L

3675/76 R/L

3677/78 R/L



FRONT/REAR

OEM No.: E4HZ2B120A(RH)

Bore Size: 63.62

Air Gap: 83.50

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.: 563

Application

FORD TRUCK 600, 6000 Series School Bus Disc (All Dayton) (2.5 Piston) (93-84);

          800, 850, 880, 8000 Series School Bus W/6000 & 7000 Ibs. F/A Disc (2.5 Piston) (93-86)

GMC C5D042 (Rear) (93-83); 50, 500, 5000, C5D042 Truck & Bus Series Dayton (Front & Rear) (93-83);

          C6D042 (Rear 2.5 Piston) (93-88)

          60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Dayton / Bendix (2.5 Piston) (93-83);

          70, 700, 7000, 7500, C7D064, S7T042 Truck & Bus Series Dayton / Bendix 4 Wheel disc (Front) (2.5 Piston) (93-83)

FRONT/REAR

OEM No.: E87Z2B120A(RH)

Bore Size: 60.03

Air Gap: 88.00

Pin Mounting: 193.70

Port Size: 3/8"-24

Casting No.: 12068401

Application

FORD TRUCK F450, F53 (95-88); F450, F53 (95-88), F53/F59 Cab&Chassis Vehicles 1996-03

F BODY} TRUCK w/KELSEY HAYES H/D BRAKE REAR 1989-03

F350,F450,F470,SUPER DUTY CLASS 1996-03

FRONT

OEM No.: E7SZ2B120A(RH)

Bore Size: 60.04

Air Gap: 66.50

Pin Mounting: 171.00

Port Size: M10x1.5

Casting No.:

Application

FORD Mustang 8Cyl. (93-87); Thunderbird Turbo (88-87)    

MERCURY Cougar Turbo (88-87)

FRONT

OEM No.: 4032968(RH)

Bore Size: 60.50

Air Gap: 78.00

Pin Mounting: 194.00

Port Size: 7/16"-20

Casting No.: 9113, 97202

Application

DODGE TRUCK M300, M400, M500, M600, R300, R400, R500 (82-79);

            W/Dual Piston Kelsey Hares Exc. M300 (78)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3681/82 R/L

3683/84 R/L

3685/86 R/L

3679/80 R/L



FRONT

OEM No.: F2UZ2B120A(RH)

Bore Size: 56.12

Air Gap: 83.50

Pin Mounting: 274.00

Port Size: 3/8"-24

Casting No.: 12514901

Application

FORD TRUCK 3/4 Ton E200, E250 2 Piston (95-92)

FRONT

OEM No.: 15501012(RH)

Bore Size: 73.10

Air Gap: 99.00

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.: 4150844

Application

BLUEBIRD Hed Duty Truck (91-89)

GMC 60, 600, 6000, 6500, B6P042, C6D042, P6T042 Truck & Bus Series Bendix (2.88 Piston) (93-83)

IHC TRUCK (95-82)

MACK TRUCK (93-73)

FRONT

OEM No.: F1TZ2B120DA(TH)

Bore Size: 55.55

Air Gap: 73.00

Pin Mounting: 254.00

Port Size: 3/8"-24

Casting No.: 573

Application

FORD TRUCK 1 Ton E, F350 Dayton W/ Large groove, Phenolic Piston (94-89);

           3/4 Ton E, F200, 250 W/ Large groove Phenolic Piston (93-86)

FRONT

OEM No.: 582024C91(RH)

Bore Size: 66.00

Air Gap: 85.00

Pin Mounting: 139.00

Port Size: 7/16"-24

Casting No.: 4151733

Application

GMC IHC School Bus (2.6 Piston) (95-78)

MEDIUM & HEAVY DUTY L/R 1975-83

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3687/88 R/L

--------------------------------------------------------------------------------------------------------

3693/94 R/L

3689/90 R/L

3691/92 R/L



FRONT

OEM No.: F2TZ2B120A (RH)

Bore Size: 56.18

Air Gap: 77.50

Pin Mounting: 182.00

Port Size: 3/8"-24

Casting No.: 12795101

Application

FORD TRUCK 1 Ton E, F350, Dual Kelsey Hayes (97-95); 3/4 Ton E250, F250 (95), E450 Superduty 1998-02

F250/F350 PICKUP 2WD/4WD 1995-97

FRONT

OEM No.: 18005519(RH)

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473795

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH In Board Front

FRONT

OEM No.:

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473795

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          LH in Board Front

FRONT

OEM No.: 18005519

Bore Size: 47.65

Air Gap: 62.00

Pin Mounting: 222.50

Port Size: 7/16"-20

Casting No.: 5473796

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH/ LH Out Board Front

--------------------------------------------------------------------------------------------------------

3697/98 R

3699/3700 L

3701/02 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3695/96 R/L



REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473806

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH in Board Rear

REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473806

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          LH in Board Rear

REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473807

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

          RH Out Board Rear

REAR

OEM No.: 2621208(RH)

Bore Size: 34.00

Air Gap: 63.00

Pin Mounting: 131.00

Port Size: 5/16"-24

Casting No.: 5473807

Application

CHEVROLET Corvette (82-65) W/o Stainless Steel Sleeve

           LH Out Board Rear

3709/10 L

3703/04 R

3705/06 L

3707/08 R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: F51Z2B120A(RH)

Bore Size: 46.00

Air Gap: 66.80

Pin Mounting: 181.00

Port Size: 3/8"-24

Casting No.: 2802 R/L

Application

FORD TRUCK Explorer (96-95); Ranger (97-95), Light Truck w/Bendix-Bosch Brake 1995-02

MAZDA TRUCK Pickup (96-95)

Mountaineer (97)

OEM No.: E6HZ-2B120C

Bore Size: 73.13

Air Gap: (102.50)

Pin Mounting: 295.00

Port Size: 7/16-24

Casting No.: 0456

Application

FORD TRK B600/B700/B800 SERIES 1984-94; C700/C800 SERIES 1984-90

F700 SERIES 1984-98, F800 SERIES 1984-99

L800/L900 SERIES 1984-97; LN600 1984-90, LN700 1984-97

((w/2.88" Piston w/Dayton Caliper)

FRONT

OEM No.: F65Z-2B221-BA

Bore Size: 48.02

Air Gap: 67.00

Pin Mounting: 193.40

Port Size: 3/8"-24

Casting No.: 3727

Application

FORD F150 4X2, 4X4 WEEL (97)

FRONT

OEM No.:

Bore Size: 73.10

Air Gap: 103.60

Pin Mounting: N/A

Port Size: 7/16"-24

Casting No.:

Application

FORD TRUCK B600, 6000, C600, F600, 6000, LN600 (92-84)

         B700, 7000, C700, 7000, F700, 7000, LN700, 7000 (92-84)

         B800, 8000, F, FT800, 8000, L, LN, LNT, LT, LTS800, 8000 (92-84)

MERCURY TRUCK

3711/12 R/L

3713/14  R/L

3717/18 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3715/16  R/L

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 42.05

Air Gap: 64.50

Pin Mounting: 170

Port Size: M10x1.0p

Casting No.: 2011BD - L

2010BC - R

Application

FORD Transit (14″hjul/wheels/Felge) (1) (6/91-94)

Transit (14″hjul/wheels/Felge) (1) (95 Model) (8/94-)

Turneo 2.0/2.5D/2.5TD (14″Hjul/Wheels/Felge) (7/94-11/94)

Turneo 2.0/2.5D/2.5TD (14″ Hjul/Wheels/Felge) (12/94-)

FRONT

OEM No.: 5018237AA

Bore Size: 54.04

Air Gap: 72.50

Pin Mounting: 199.30

Port Size: 3/8-24

Casting No.: 131072

Application

DODGE TRK R1500 RAM PICKUP 2WD W/INDEPENDENT FRONT SUSPENSION  2000-01, R1500 VAN  1999-02

B1500 VAN  1998

FRONT

OEM No.: 5003906AA/AB

Bore Size: 56.17

Air Gap: 79.00

Pin Mounting: 182.00

Port Size:

Casting No.: 134254

Application

DODGE Ram Van 2500/3500 56mm (98-99)

FRONT

OEM No.: 5011973AA

Bore Size: 48.05

Air Gap: 75.50

Pin Mounting: 150.00

Port Size: 3/8-24

Casting No.: 4835

Application

JEEP Cherokee 2 piston Front (00)

JEEP TRK GRAND 4WD (MOD : WJ) 1999-03

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3719/20 R/L

3721/22 R/L

3723/24 R/L

--------------------------------------------------------------------------------------------------------

3725/26 R/L



FRONT

OEM No.: 4152828

Bore Size: 66.05

Air Gap: 84.60

Pin Mounting:

Port Size: M10x1.5

Casting No.: 4152828

Application

CHEVROLET C3500 PICKUP CAB & CHASSIS H/DUTY FOR W RECKER VEHICLE

L+R FRONT & L+R REAR 1995-99

FRONT

OEM No.: F8VZ-2B120-AA(RH)

Bore Size: 48.08

Air Gap: 70.50

Pin Mounting: 193.50

Port Size:

Casting No.: 4696

Application

FORD Crown victoria exc. P/C (98), Mercury Front (99-02)

LINCOLN Town car (99-02)

FRONT

OEM No.:

Bore Size: 63.55

Air Gap: 72.00

Pin Mounting: 178.00

Port Size:

Casting No.: 18025722/23

Application

GMC 2500 Front (99)

FRONT

OEM No.: 3WIZ-2B121-AB®

Bore Size: 48.05

Air Gap: 70.05

Pin Mounting: 215.00

Port Size: 3/8-24UNF

Casting No.: 202220

Application

 FORD  CROWN VICTORIA & POLICE CRUISER & TAXI (A BODY) 2003-04

 LINCOLN  TOWN CAR (A BODY) 2003-04

 MERCURY  GRAND MARQUIS (A BODY) 2003-04

 MARAUDER SPORT SEDAN (A BODY) 2003-04

3731/32 R/L

3733/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3727/28 R/L

3729/30 R/L



FRONT

OEM No.: 25011839C91

Bore Size: 66.06

Air Gap: 87.00

Pin Mounting: 284.00

Port Size:

Casting No.: 4153269.66

Application

INTERNATIONAL1652SC  REAR (1998-2000)

(2.60" Piston)

3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 REAR (1998-2000)

FRONT

OEM No.:

Bore Size: 56.17

Air Gap: 78.00

Pin Mounting: 182.0

Port Size: 3/8-24

Casting No.: KH13144701

Application

DODGE TRK B2500,B3500 VAN W/DUAL PISTON CALIPER 1998

RAM 2500, 3500 VAN 1999-02

FRONT

OEM No.: F81A2B120GG

Bore Size: 54.00

Air Gap: 80.80

Pin Mounting: 225.80

Port Size: M10-1.0

Casting No.: 5403

Application

FORD TRUCK F250SD & F350SD 2WD/4WD PICKUP 1998(L)-03

EXCURSION SUV 2000-04

(MODELS w/TWIN I-BEAM FRONT AXLE OVER 8,5000 GVW)

FRONT

OEM No.:

Bore Size: 47.65

Air Gap: 55.80

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545530

Application

CHEVROLET Camaro(69-67) Stainless Sreel Steeve, RH InBoard Front

3735/36 R/L

3737/38 R/L

3739/40 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3741/42 R/L



FRONT

OEM No.:

Bore Size: 47.83

Air Gap: 56

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545530

Application

CHEVROLET Camaro(69-67) Stainless Sreel Steeve, CHEVY II, NOVA 1967-68

FRONT

OEM No.:

Bore Size: 47.83

Air Gap: 56

Pin Mounting: 173.00

Port Size: 7/16"-24

Casting No.: 545533

Application

CHEVROLET Camaro(69-67) Stainless Steel Sleeve, RH/LH InBoard Front

FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 76.00

Pin Mounting: 174.00

Port Size:

Casting No.: LUCAS, OPEL

Application

CADILLAC V Body Catera Sedan 1997-01

FRONT

OEM No.: LUCAS

Bore Size: 40, 48

Air Gap: 66.30

Pin Mounting: 174.0

Port Size: M10X1.0p (1 inlet)

Casting No.: 4399/5 14(29) - L

4400/5 - R

Application

CITROEN Jumper 27-31, ABS (2/94-)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3749/50 R/L

3743/44 R/L

3745/46 R/L

3747/48 R/L



FRONT

OEM No.: LUCAS/GIR

Bore Size: 48. 40

Air Gap: 66.30

Pin Mounting: 174.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 4494/11

L-4493/6

R-4494/6

Application

CITROEN Jumper 27-31, ABS (2/94-)

FRONT

OEM No.: LUCAS

Bore Size: 48. 45

Air Gap: 72.50

Pin Mounting: 190.0

Port Size: M10X1.0p (5 inlet)

Casting No.: L-4671-1

R-4677-1

Application

CITROEN Jumper 35 (1.8 T.) (1) ABS (2/94-)

FRONT

OEM No.: LUCAS

Bore Size: 48. 45

Air Gap: 72.50

Pin Mounting: 190.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 7174

(L-4548-5)

( R-4549-5)

Application

CITROEN Jumper 35 (1.8 T.) (1) (-ABS) (2/94-)

FRONT 1 inlET

OEM No.: LUCAS

Bore Size: 48. 40

Air Gap: 72.50

Pin Mounting: 174.0

Port Size: M10X1.0p (1 inlet)

Casting No.: 4516/9

R-32324516/5

L-32324515/5

Application

CITROEN Jumper 27-31, ABS (13+32)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3757/58 R/L

3751/52 R/L

3753/54 R/L

3755/56 R/L



FRONT 2 inlET

OEM No.: LUCAS

Bore Size: 40. 48

Air Gap: 72.50

Pin Mounting: 174.0

Port Size: M10X1.0p (2 inlet)

Casting No.: 4531/9

L-4531/3

R-4532/3

Application

CITROEN Jumper 27-31 (1) (-ABS) (2/94-)

REAR

OEM No.: 47840-87101-000(L), 47830-87101-000®

Bore Size: 30.20

Air Gap: 46.00

Pin Mounting:

Port Size:

Casting No.: NBK

Application

DAIHATSU APPLAUSE 1.6i, A101 (9/89-)

REAR

OEM No.: BREMBO

Bore Size: 36.00

Air Gap: 49.50

Pin Mounting: 106.0

Port Size: M10X1.0p

Casting No.: 5336, 5337

Application

Renault Laguna, Espace Ⅲ 3.0 L (96-98)

FRONT

OEM No.:

Bore Size: 41.35

Air Gap: 106 x 18.5

Pin Mounting: 89.0

Port Size: M10X1.0p

Casting No.: I - 3247 638C/637C

O - 3247 653C/654C

Application

Leyland Daf Light commercial van

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3765/66 R/L

3761/62 R/L

3763/64 R/L

3759/60 R/L



REAR

OEM No.: BOSCH

Bore Size: 34.00

Air Gap: 49.0

Pin Mounting:

Port Size: M10X1.5p

Casting No.: 796876, 77

Application

VAUXHALL Astra Mkiv 02/98-

REAR

OEM No.: 88982662, 88982663

Bore Size: 70.12

Air Gap: 51.2+51.2

Pin Mounting: 254.0

Port Size: 7/16-24

Casting No.: in: 595B, out: 597B

Application

INTERNATIONAL1652SC (1998-2000)

3000FE, 3000FE, 3400, 3600, 4700, LP, 4900 (1998-2000)

FRONT

OEM No. : 5018570AA/71AA

Bore Size : 2-Ø51.0

Air Gap : 79.2

Pin Mounting : 199.4

Inlet Port Size : M10x1.0

Casting No. : 13544401, 51

Application

DODGE TRK Ram 3500 Pickup(08-03)

FRONT

OEM No. :

Bore Size : 4-Ø49.5

Air Gap : (78.0)

Pin Mounting : 169.2

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 56086(R)/56087(L)

out : EE71308

Application

 FORD  COUNTRY SEDAN, CUSTOM, GALAXIE, RENCH WAGON….  1965-67

 LINCOLN  CONTINENTAL  1965-69

 MERCURY  COLONY PARK, COMMUTER, MARAUDER, MONTCLAIR …. 1965-67

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

AL 3767/68 R/L

3769/70 R/L

3771/72  R/L

3773/74 R/L



FRONT

OEM No. :

Bore Size : 4-Ø49.5

Air Gap : (78.0)

Pin Mounting : 169.2

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 74494(R)/74495(L)

out : EE71308

Application

 CADILLAC ELDORADO  1967-68

 OLDSMOBILE TORONADO  1967-68

FRONT

OEM No. :

Bore Size : 2-Ø51.1

Air Gap : 73.1

Pin Mounting : 216.0

Inlet Port Size : M10x1.5p

Casting No. : 246C6  /  245C6

Application

CADILLAC TRK ESCALADE  2007-08, ESCALADE ESV  2007-08,  ESCALADE EXT  2007-08

AVALANCHE 1500(2007-08), SILVERADO 1500(2005-08), TAHOE(2007-08), SUBURBAN 1500(2007-08)

GMC TRK SIERRA 1500   2005-08, YUKON  2007-08,  YUKON XL 1500   2007-08 . . . . ..

FRONT

OEM No. :

Bore Size : 60.05

Air Gap : 89.0

Pin Mounting : 250.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 157693 T60

Application

 FORD TURCK E-150/250 Econoline, E-350/450 Super Duty (09-08)

FRONT

OEM No. :

Bore Size : 47.67

Air Gap : 75.0

Pin Mounting : 230.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 4813 R/L

Application

FORD TRUCK E-150/250 ECONOLINE, E-350/450 SUPER DUTY (09-08) REAR

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3775/76  R/L

3777/78  R/L

3779/80  R/L

3781/82  R/L

--------------------------------------------------------------------------------------------------------

CHEVROLET TRK    



FRONT

OEM No. :

Bore Size : 54.03

Air Gap : 85.9

Pin Mounting : 230.0

Inlet Port Size : 3/8-24 UNF

Casting No. : R/L (8C24-2K327/8-B)

Application

FORD TRUCK E-450 SUPER DUTY (09-08) REAR

FRONT

OEM No. :

Bore Size : 51.10

Air Gap : 68.7

Pin Mounting : 204.0

Inlet Port Size : M10X1.0p

Casting No. : 262569

Application

INFINITY TRUCKQX56(06-04)

NISSAN TRUCK ARMADA(06-04),  TITAN(07-04)

FRONT

OEM No. :

Bore Size : 2-Ø48.15

Air Gap : 70.5

Pin Mounting : 206.0

Inlet Port Size : M10X1.5p

Casting No. : 2J2416-C

Application

BUICK TRUCK RAINIER(07-06)

S10 TRAILBLAZER(09-06)

GMC TRUCK S15 ENVOY(09-06)

FRONT

OEM No. : 8C3Z2B120A, 8C3Z2B121A

Bore Size : 2-Ø60.05

Air Gap : 89.5

Pin Mounting : 220.0

Inlet Port Size : 3/8-24 UNF

Casting No. : 144296

Application

FORD TRUCK F-250 super Duty pickup(11, 10, 09, 08, 07, 06, 05),

            F-350 super Duty pickup(11, 10, 09, 08, 07, 06, 05)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3789/90  R/L

3783/84  R/L

--------------------------------------------------------------------------------------------------------

3785/86  R/L

3787/88  R/L

CHEVROLET TRUCK 



FRONT

OEM No. :

Bore Size : 4-Ø60.25

Air Gap : 57.4

Pin Mounting : 175

Inlet Port Size : 3/8-24 UNF

Casting No. : in : 91514

out : 91521

Application

 CHRYSLER 300   1966-68,  IMPERIAL  1966-69,  NEW YORKER  1966-68,  

NEWPORT  1966-68,  TOWN & COUNTRY  1966-68

 DODGE MONACO  1965-68,  POLARA  1968

FRONT

OEM No. :

Bore Size : Ø36.0

Air Gap : 49.0

Pin Mounting : N/A

Inlet Port Size : M10X1.5p

Casting No. : 796876(L), 796877(R)

Application

OPEL Astra G REAR 02/98-

VAUXHALL Astra MK IV REAR 02/98-

FRONT

OEM No. :

Bore Size : Ø38.0

Air Gap : 49.0

Pin Mounting : N/A

Inlet Port Size : M10X1.5p

Casting No. : 796876(L), 796877(R)

Application

OPEL Various GRP.35 900 E

Zapira 1.8, 2.0D (~99.04)

FRONT

OEM No. :

Bore Size : 73.12

Air Gap : 101.4

Pin Mounting : 284.0

Inlet Port Size : 7/16-24

Casting No. : 4153222,  73

Application

INTERNATIONAL1652SC  (1998-2000)

      3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 (1998-2000) (2.88" Piston)

3791/92  R/L

3793/94  R/L

3795/96  R/L

3797/98  R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. : 25011839C91

Bore Size : 66.06

Air Gap : 87.0

Pin Mounting : 284.0

Inlet Port Size : 7/16-24

Casting No. : 4153269,  66

Application

INTERNATIONAL1652SC  REAR (1998-2000)

         3000 FE, 3000FE, 3400, 3600, 3800, 4700, LP, 4900 REAR (1998-2000) (2.60" Piston)

FRONT

OEM No. : F6AZ2552BA

Bore Size : Ø48.0

Air Gap : 55.0

Pin Mounting : 92.0

Inlet Port Size : M10X1.5p

Casting No. : 668

Application

 FORD Crown Victoria(02-01,00-98, 97-96) & Police & Taxi Rear(02-98)

 LINCOLN Town Car(02-01)

 MERCURY Grand Marquis(02-01, 00-98)

OEM No. : 18004802

Bore Size : Ø63.6

Air Gap : 65.5

Pin Mounting : 178.8

Inlet Port Size : 7/16-20UNE

Casting No. : 2621223 / 223L 

Application

 BUICK LeSabre(78-77), Riviera(78-77)

 CADILLAC DeVille(78-77), Fleetwood(78-77)

OEM No. : 60450480/81

Bore Size : 4-Ø64.12

Air Gap : 57+57

Pin Mounting : 254.0

Inlet Port Size : 7/16-24

Casting No. : in: 602C, out: 603C

Application

C4 Series(03), C5 Series(09-03), C6 Series(09-03, 02)...

FORD TRUCK  F650 Series (03-00), F750 Seies(03-00)

GMC TRUCK C4 Series(03), C5 Series(09-03), C6 Series(09-03, 02), C7 Series(09-03, 02)…

HINO TRUCK 185(10-05), 238(10-05), 238(10-05), 258LP(10-06), 268(10-05)

ISUZU TRUCK FTR(10-04), FVR(10-04), FXR(10-04)

3805/3806

3799/3800

3801/3802

3803/3804

--------------------------------------------------------------------------------------------------------
CHEVROLET TRUCK(MD)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No. :

Bore Size : 4-Ø70.12

Air Gap : 58.8

Pin Mounting : 254

Inlet Port Size : M10x1.5 

Casting No. : in: 581F, out: 583F

Application

Medium Duty (95-02),

GMC TRUCK Medium Duty (95-02),

OEM No. :

Bore Size : Ø74.64

Air Gap : 65.2

Pin Mounting : 178.8

Inlet Port Size : 7/16-20

Casting No. : 499 R/L

Application

 BUICK Centurion 1973-71, Electra, Estate Wagon, LeSabre, Riviera 1976-71

 CADILLAC Commercial Chassis 1978-77, Fleetwood 1978-77

 CHECKER Marathon 1979-71

 CHEVROLET Bel Air 1975-71, Biscayne, Brookwood, 1972-71, Caprice 1976-71

OEM No. :

Bore Size : 4-Ø47.83  (With Sleeve)

Air Gap : 56.0

Pin Mounting : N/A

Inlet Port Size : 1/2-20 UNF

Casting No. : in : 5455530

out : 5455533

Application

 CHEVROLET CAMARO,  CHEVY II,  NOVA   1967-68

OEM No. : 18025476

Bore Size : Ø48.12

Air Gap : 60.0

Pin Mounting : 164.0

Inlet Port Size : M10X1.0p

Casting No. : 18024225

Application

GMC TRUCK  S/T BODY} 1/2 TON W/F46 ALL-WHEEL-DRIVE REAR 1997-99

 CHEV/GMC  T10 BLAZER & SONOMA P/U 1998-03

 OLDSMOBILE  BRAVADA 1998-03

3807/3808

3809/3810

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3811/3812

3813/3814

CHEVROLET TRUCK  



OEM No. : 88964133/4,15190983

Bore Size : Ø41.3

Air Gap : 49

Pin Mounting : 154

Inlet Port Size : M10x1.5

Casting No. : 4103

Application

 BUICK Terraza 2WD 2005-2007, Terraza AWD 2005-2006

 CHEVROLET Uplander 2WD 2005-2008, Uplander AWD 2005-2006

 PONTIAC Montana 2WD 2005-2006, Montana AWD 2005-2006

 SATUEN Relay 2WD 2005-2007, Relay AWD 2005-2006

FRONT

OEM No. :

Bore Size : 60.60

Air Gap : 74.30

Pin Mounting : 174.00

Inlet Port Size : M10×1.5

Casting No. : K246-059C

Application

CHRYSLER 300(10-06, 05-05)

DODGE Challenger(10-09), Charger(10-06), Magnum(08-06, 05-05)

REAR

OEM No. :

Bore Size : 42.00

Air Gap : 56.00

Pin Mounting : 126.00

Inlet Port Size : M10×1.5

Casting No. : K242-049C

Application

Chrysler 300(2.7 Liters, 3.5,5.7 Liters RWD Exc.(08-06)

Dodge Magnum(3.5,5.7 Liters RWD Exc., 2.7 Liters (08-06)

REAR

OEM No. :

Bore Size : 50.97

Air Gap : 64.00

Pin Mounting : 164.00

Inlet Port Size : M10×1.0

Casting No. : K244-093C

Application

Escalade(10-07), Escalade ESV(10-07), Escalade EXT(10-07)

Avalanche 1500(10-07), Silverado 1500(10-08, 07-07), Suburban(10-07), Tahoe(10-07)

GMC TRUCKS Sierra 1500(10-08, 07-07), Yukon(10-07), Yukon XL 1500(10-07)

3817/3818 L/R

3819/3820 L/R

3821/3822 L/R

--------------------------------------------------------------------------------------------------------

3815/3816

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CADILLAC TRUCKS

CHEVROLET TRUCKS

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : 54.00

Air Gap : 67.00

Pin Mounting : 160.00

Inlet Port Size : M10×1.5

Casting No. : L/R

Application

Chevrolet Cobalt(08-05)

Pontiac GS(08-07), Pursuit(canada 06-05)

Saturn ION(07-04)

FRONT

OEM No. :

Bore Size : 49.05

Air Gap : 41.30

Pin Mounting : 147.20

Inlet Port Size : M10×1.5

Casting No. : 831-5/830-4, A-50

Application

Pontiac Fiero(87-84)

FRONT

OEM No. :

Bore Size : 66.00

Air Gap : 76.50

Pin Mounting : 110.00

Inlet Port Size : M10×1.0

Casting No. : 6661 14 6012, TO833

7L84-2011-A

Application

FORD TRUCKS Escape(09-07)

Tribute(08-08, 06-05)

Mariner(09-07)

REAR

OEM No. :

Bore Size : 54.00

Air Gap : 63.80

Pin Mounting : 98.80

Inlet Port Size : 7/16-20

Casting No. : 145868, 54, GD10

Application

FORD TRUCKS E-150 Econoline(07-04)

3823/3824 L/R

3825/3826 L/R

3829/3830 L/R

3827/3828 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

MAZDA TRUCKS 

MERCURY TRUCKS 



REAR

OEM No. :

Bore Size : 42.05

Air Gap : 52.80

Pin Mounting : 99.00

Inlet Port Size : 7/16-20

Casting No. : 4Z00, ST5L

Application

Town & Country(99-97), Voyager(97-97)

Caravan(99-97), Grand Caravan(99-97)

Grand Voyager(99-97)

REAR

OEM No. :

Bore Size : 42.10

Air Gap : 67.50

Pin Mounting : 126.00

Inlet Port Size : M10×1.5

Casting No. : K242 051C

Application

Dodge Trucks Sprinter 3500(04-03,2002)

REAR

OEM No. :

Bore Size : 48.10

Air Gap : 57.20

Pin Mounting : 144.00

Inlet Port Size : M10×1.0

Casting No. : 159538

Application

Dodge Trucks Nitro(11-07)

Jeep Trucks Liberty(11-08), Wrangler(11-07)

REAR

OEM No. :

Bore Size : 70.04

Air Gap : 70.40

Pin Mounting : 110.10

Inlet Port Size : M10×1.0

Casting No. : 7018.8

Application

DAKOTA(2002-00), DURANGO(2002-00)

3833/3834 L/R

3835/3836 L/R

3837/3838 L/R

DODGE TRUCKS 

PLYMOUTH TRUCKS

DODGE(CHRYSLER) LIGHT TRUCKS & VANS

3831/3832 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

CHRYSLER TRUCKS



OEM No. :

Bore Size : 60.02

Air Gap : 73.60

Pin Mounting : 94.00

Inlet Port Size : M10×1.0

Casting No. : 888/887

Application

FORD

MERCURY Passenger(2002-98)

OEM No. :

Bore Size : 45.04

Air Gap : 80.50

Pin Mounting : 199.40

Inlet Port Size : M10×1.0

Casting No. : 14599301, 45

Application

Dodge Trucks R1500 Pickup(08-07), R2500, R3500 Pickup(03-03), R2500,R3500 Pickup(08-04)

FRONT

OEM No. :

Bore Size : 45.08

Air Gap : 69.00

Pin Mounting : 203.40

Inlet Port Size : M10×1.5

Casting No. : No. 979

Application

BUICK Lucerne(10-06)

CHEVROLET Impala(10-06), Monte Carlo(07-06)

FRONT

OEM No. :

Bore Size : 45.04

Air Gap : 75.10

Pin Mounting : 224.00

Inlet Port Size : M10×1.0

Casting No. : 18044096

Application

Cadillac CTS(07-06), STS(08-05)

Cadillac Trucks SRX(08-04)

3843/3844 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3839/3840 L/R

3841/3842 L/R

3845/3846 L/R



FRONT

OEM No. :

Bore Size : 44.47

Air Gap : 77.50

Pin Mounting : 200.00

Inlet Port Size : M10×1.0

Casting No. : 68-003, 4530

Application

Express 2500(06-03) Savana 2500(06-03)

REAR

OEM No. :

Bore Size : 44.50

Air Gap : 68.60

Pin Mounting : 206.00

Inlet Port Size : M10×1.0

Casting No. : E4527

Application

Escalade(06-03, 02-02)

Avalanche 1500(06-03), Express 1500(10-03), Silverado 1500(05-05)

Suburban 1500(06-03, 02-02), Tahoe(06-02)

GMC TRUCKS Savana 1500(10-03), Sierra 1500(05-05), Yukon(06-03, 02-02), Yukon XL 1500(06-03, 02-02)

REAR

OEM No. :

Bore Size : 42.00

Air Gap : 72.50

Pin Mounting : 176.00

Inlet Port Size : M10×1.0

Casting No. : K247-293C 5

Application

Pontiac G8(09-08)

REAR

OEM No. :

Bore Size : 48.06

Air Gap : 72.30

Pin Mounting : 204.00

Inlet Port Size : M10×1.0

Casting No. : Y04133/Y04134, BOSCH

Application

Sprinter 3500(08-07)

3851/3852 L/R

3853/3854 L/R

Chevrolet Trucks

CADILLAC TRUCKS

CHEVROLET TRUCKS

3847/3848 L/R

3849/3850 L/R

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

DODGE TRUCKS

FREIGHTLINER TRUCKS



FRONT

OEM No. :

Bore Size : 60.00

Air Gap : 90.20

Pin Mounting : 254.00

Inlet Port Size : M10×1.0

Casting No. : 15883001, 60

Application

Dodge Pick up R2500(10-09), R3500(10-09)

REAR

OEM No. :

Bore Size : 48.10

Air Gap : 60.00

Pin Mounting : 164.00

Inlet Port Size : M10×1.0P

Casting No. : 180224225

Application

LIGHT TRUCKS & VANS(2000),(2003-98)

ISUZU LIGTH TRUCKS & VANS(2000-98)

OLDSMOBILE LIGHT TRUCKS & VANS(2001-97)

FRONT

OEM No. :

Bore Size : 45.43

Air Gap : 69.00

Pin Mounting : 128.00

Inlet Port Size : M10×1.5

Casting No. : 13WO

Application

H3(08-06)

FRONT 4001/02 R/L

OEM No.: 5819033A00(RH)

Bore Size: 57.30

Air Gap: 61.65

Pin Mounting: 160.00

Port Size: 3/8"-24

Casting No.:

Application

HYUNDAI Elantra (95-92); Sonata (95-89)

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

3855/3856 L/R

3857/3858 L/R

CHEVROLET/GMC 

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

HUMMER TRUCKS

3859/3860 L/R



FRONT

OEM No.:

Bore Size: 57.25

Air Gap: 61.50

Pin Mounting: 160.00

Port Size: M10x1.0

Casting No.: BC141003 R/L

Application

HYUNDAI Sonata ll, Sonata lll, Marcia

REAR

OEM No.:

Bore Size: 38.20

Air Gap: 52.50

Pin Mounting: 110.00

Port Size: M10x1.0

Casting No.: BC140004 R/L

Application

HYUNDAI Sonata ll, Sonata lll, Marcia

FRONT

OEM No.: KK15033980D

Bore Size: 48.15

Air Gap: 51.50

Pin Mounting: 102.00

Port Size: M10x 1.0

Casting No.: C0514A R/L

Application

KIA Pride

FORD Festiya 1987-93

FRONT

OEM No.:

Bore Size: 60.65

Air Gap: 61.00

Pin Mounting: 156.00

Port Size: M10x1.0

Casting No.: 18BC R/L

Application

KIA Besta, Wide Bongo

4003/04 R/L

4005/06 R/L

4007/08 R/L

4009/10 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 60.65

Air Gap: 65.00

Pin Mounting: 156.00

Port Size: M10x1.0

Casting No.: 18V R/L

Application

KIA Hi Besta

FRONT

OEM No.:

Bore Size: 54.03

Air Gap: 69.00

Pin Mounting: 187.50

Port Size: M10x1.0

Casting No.: 738 R/L

Application

KIA Sephia

REAR

OEM No.:

Bore Size: 34

Air Gap: 49.5

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: BC141011-R

BC140011-L

Application

HYUNDAI Elantra w/ABS REAR 7/93-1995

REAL

OEM No.: 583102DA00

Bore Size: 34.02

Air Gap: 49.5

Pin Mounting: 110.0

Port Size: M10X1.0p

Casting No.: BC141018-R

BC140018-L

Application

 HYUNDAI Avante SEDAN&WAGON w/ABS REAR 1996(L)-97

4011/12 R/L

4013/14 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

4015/16 R/L

--------------------------------------------------------------------------------------------------------

4017/18 R/L



REAR

OEM No.: OK2N3 49980(RH)

Bore Size: 34.04

Air Gap: 45.00

Pin Mounting: 128.00

Port Size:

Casting No.: 8A HH

Application

KIA SEPHIA REAR 1998-01

SPECTRA REAR 2000-04

FRONT

OEM No.:

Bore Size: 51.10

Air Gap: 46.50

Pin Mounting: 142.00

Port Size: M10-1.0

Casting No.: 1035/1034

Application

DAEWOO Damas, Tico

FRONT

OEM No.:

Bore Size: 48.0
Air Gap: 52.3
Pin Mounting: 154.0
Port Size: M10X1.5P
Casting No.: DAC 48/L, R

Application

GM (DAEWOO) MATIZ

FRONT

OEM No.:

Bore Size: 51.1

Air Gap: 46.5

Pin Mounting: 142.0

Port Size: M10X1.0

Casting No.: DAC R,L NY

Application

GM (DAEWOO) DAMAS

4023/24 R/L

4025/26 R/L

4019/20 R/L

4021/22 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.: 96264948

Bore Size: 54.04

Air Gap: 63.0

Pin Mounting: 160.0

Port Size: M10X1.5P

Casting No.: 54 DAC R/L

Application

GM(DAEWOO) ESPERO, LANOS(NEXIA) DOHC

FRONT

OEM No.: 96273701(RH)

Bore Size: 48.1

Air Gap: 58.0

Pin Mounting: 154.0

Port Size: M10X1.5P

Casting No.: DAC 48 20R/L

Application

GM (DAEWOO) ESPERO, LANOS(NEXIA) SOHC

FRONT

OEM No.: 5818128B00(RH)

Bore Size: 57.30

Air Gap: 61.65

Pin Mounting: 160.0

Port Size: 3/8-24

Casting No.: OBC 0399 L 22/

OBC 0398 L 22

Application

 HYUNDAI  ELANTRA(16vDOHC)  1993-96(E)

OEM No.: 51FR-A0011, 51FL-A0011

Bore Size: 60.6

Air Gap: 66.0

Pin Mounting: 160.0

Port Size: M10x1.0p

Casting No.:

Application

SAMSUNG TRK YAMOUZINE

4029/30 R/L

4027/28 R/L

4031/32 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

4033/34 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



OEM No.: 581901GA00, 581801GA00

Bore Size: 2-Ø46.0

Air Gap: 67.1

Pin Mounting: 185.0

Port Size: M10x1.0p

Casting No.: CNV

Application

 KIA TRK CARNIVAL

OEM No.: 58130-4D500, 58110-4D500

Bore Size: 2-Ø48.16

Air Gap: 67.0

Pin Mounting:

Port Size: M10X1.0p

Casting No.: BC140110

Application

 KIA TRK SEDONA   2006-08

 HYUNDAI TRK ENTOURAGE   2007-08

OEM No.: 581901GA00, 581801GA00

Bore Size: 2-Ø46.0

Air Gap: 67.1

Pin Mounting: 185.0

Port Size: M10x1.0p

Casting No.: CNV 9LO

Application

 KIA TRK PRESIO

OEM No.: (88982726)

Bore Size: 2-Ø66.0

Air Gap: 93

Pin Mounting: 203.2

Port Size: 7/16-24 UNEF

Casting No.: 135607 66

Application

4035/36 R/L

--------------------------------------------------------------------------------------------------------

4037/38 R/L

4039/40 R/L

4041/42 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : 40.46

Air Gap : 31.6

Pin Mounting : 128.0

Inlet Port Size : M10X1.0

Casting No. :

Application

HYUNDAI GRANDEUR XG TUNING

FRONT

OEM No. :

Bore Size : 2-Ø42.88, 2-Ø45.0

Air Gap : 67.0

Pin Mounting : 185.0

Inlet Port Size : M10X1.0

Casting No. : SEM 1051/52

Application

HYUNDAI GRANDEUR XG TUNING

FRONT

OEM No. : 581104E000

Bore Size : Ø46.06

Air Gap : 68.0

Pin Mounting : 185.0

Inlet Port Size : M10X1.0

Casting No. : H3, kasco

Application

KIA BONGO-Ⅲ

FRONT

OEM No. : 1 581104E000 / 582104F000

Bore Size : Ø46.06

Air Gap : 68

Pin Mounting : 185

Inlet Port Size : M10X1.0

Casting No. : H3/H4

Application

HYUNDAI PORTER-Ⅱ

4043/44 R/L

4045/46 R/L

4047/48 R/L

4049/50 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No. :

Bore Size : Ø48.16

Air Gap : 67

Pin Mounting : 185

Inlet Port Size : M10X1.0

Casting No. : BC140077

Application

KIA SORENTO-Front

FRONT

OEM No. :

Bore Size : 2-Ø60.05

Air Gap : 91.5

Pin Mounting : 203.2

Inlet Port Size : 7/16-24

Casting No. : 136743

Application

C4 SERIES(03), C5 SERIES(03)

GMC Truck C4 SERIES(03), C5 SERIES(03)

FRONT

OEM No. : (89040518)

Bore Size : 2-Ø66.05

Air Gap : 92.0

Pin Mounting : 203.0

Inlet Port Size : 7/16-24

Casting No. : 145513

Application

C4, C5 SERIES(08-04)

GMC TRUCK C4, C5 SERIES(08-04)

4057/58 R/L

OEM No. :

Bore Size : Ø34.02

Air Gap : 50

Pin Mounting : 126

Inlet Port Size : M10x1.0

Casting No. : BC141182 R / BC140182 L

Application

HYUNDAI Accent(12-13)

CHEVROLET TRUCK

CHEVROLET TRUCK

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

4055/56 R/L

--------------------------------------------------------------------------------------------------------

4051/52 R/L

4053/54 R/L

--------------------------------------------------------------------------------------------------------



4059/60 R/L

OEM No. :

Bore Size : Ø31.06

Air Gap : 49

Pin Mounting : 124

Inlet Port Size : M10x1.0

Casting No. : CTK 6

Application

HYUNDAI Accent(06-07)

KIA Forte,Rio, Rio5(06-10)

DODGE Attitude(06-09)

OEM No. : 94566890 / 94566891

Bore Size : Ø52.05

Air Gap : 59

Pin Mounting : 160

Inlet Port Size : M10x1.5

Casting No. : T2 52/20 R/L

Application

GM-DAEWOO Kalos. Gentra, AVEO

OEM No. : 581802HA05

Bore Size : Ø57.20

Air Gap : 65.5

Pin Mounting : 160

Inlet Port Size : M10x1.0

Casting No. : BC 140088  25

Application

HYUNDAI Elantra (07-10), Sonata (06-10)

KIA Optima (06-10), Soul (10-13)

OEM No. : 581802SA50

Bore Size : Ø60.6

Air Gap : 68

Pin Mounting : 170

Inlet Port Size : M10x1.0

Casting No. : 3R 60 LML/R, YFR/L

Application

HYUNDAI TUCSON 2010-2015

KIA SPORTAGE 2011-2015

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

4065/66

4061/62 R/L

4063/64



FRONT

OEM No. :

Bore Size : 57.26

Air Gap : 63.50

Pin Mounting : 190.00

Inlet Port Size : M10×1.0

Casting No. : 17 FS17B

Application

KIA TRUCKS Sportage(02-98)

FRONT

OEM No.:

Bore Size: 43.48

Air Gap: 69.40

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: JC-001

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 43.48

Air Gap: 69.00

Pin Mounting: 158.00

Port Size: M10x1.0

Casting No.: JC-002

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 38.44.50

Air Gap: 64.80

Pin Mounting: 151.70

Port Size: M10x1.5

Casting No.: JC-003

Application

4 Piston Racing Car aluminium Caliper

4067/68 L/R

AL 6001/02 R/L

AL 6003/04 R/L

AL 6005/06 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 38.42

Air Gap: 58.00

Pin Mounting: 151.70

Port Size: M10x1.5

Casting No.: JC-004

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.: 3W1Z2553AA

Bore Size: 38.1 ,  41.5

Air Gap: 135.4 x 35

Pin Mounting: N/A

Port Size: M10X1.0

Casting No.: 20.7679.00

Application

RACING CAR (Brembo #20.4862.07/08)

FRONT

OEM No. :

Bore Size : 30.2x2 , 34.02x2

Air Gap : 135.4 x 33.7

Pin Mounting : 130.0

Inlet Port Size : M10X1.0

Casting No. :

Application

RACING CAR (BREMBO #20.4862.07/08)

FRONT

OEM No. :

Bore Size : 42.88, 45.0

Air Gap : 67.0

Pin Mounting : 185.0

Inlet Port Size : M10X1.0

Casting No. : SEM 1051/52

Application

HYUNDAI   GRANDEUR XG TUNING

6013/14 R/L

AL 6007/08 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

6009/10 R/L

6011/12 R/L



FRONT

OEM No.:

Bore Size: 38.1X2 ,41.5X2

Air Gap: 135.4 x 35

Pin Mounting:       151.7

Port Size: M10X1.0

Casting No.: JC-006

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 38.1X2 ,41.5X2

Air Gap: 135.4 x 35

Pin Mounting: 151.7

Port Size: M10X1.0

Casting No.: JC-007

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 38.1X2 ,41.5X2

Air Gap: 135.4 x 35

Pin Mounting: 151.7

Port Size: M10X1.0

Casting No.: JC-008

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 36X2, 34X2, 26X2

Air Gap: 190X37

Pin Mounting: N/A

Port Size: M10X1.0

Casting No.: 20.9733.01

Application

RACING CAR(Brembo #20.9733.01)

AL 6015/16 R/L

AL 6017/18 R/L

AL 6019/20 R/L

AL 6023/24 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



FRONT

OEM No.:

Bore Size: 36X2, 29X2, 28X2, 27X2

Air Gap: 155x36

Pin Mounting: 162

Port Size: M10X1.0

Casting No.: JC-009

Application

8 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size:

Air Gap: 202X36

Pin Mounting: 120

Port Size: M10X1.0

Casting No.:20.7907.03

Application

RACING CAR(Brembo #20.7907.03)

REAR

OEM No.:

Bore Size: 31.5X2

Air Gap: 67X15

Pin Mounting: 120

Port Size: M10X1.0

Casting No.: JC-011

Application

2 Piston Racing Car aluminium Caliper

REAR

OEM No.:

Bore Size: 41.5X2

Air Gap: 122X15

Pin Mounting: 100

Port Size: M10X1.0

Casting No.: JC-012

Application

2 Piston Racing Car aluminium Caliper

AL 6025/26 R/L

AL 6027/28 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

AL 6029/30 R/L

AL 6031/32 R/L



FRONT /REAR

OEM No.:

Bore Size: 31.5X4

Air Gap: 97X15

Pin Mounting: 150

Port Size: M10X1.0

Casting No.: JC-013

Application

4 Piston Racing Car aluminium Caliper

FRONT 

OEM No.: MONO BOLCK

Bore Size: 43X48X4

Air Gap: 128X34

Pin Mounting: 158

Port Size: M10X1.0

Casting No.: JC-014

Application

4 Piston Racing Car aluminium Caliper

FRONT

OEM No.:

Bore Size: 28X6

Air Gap: 162 X 34

Pin Mounting: 180

Port Size: M10X1.0

Casting No.: JC-015

Application

6 Piston Racing Car aluminium Caliper

FRONT 

OEM No.:

Bore Size: 28 X 8

Air Gap: 193 X 34

Pin Mounting: 173

Port Size: M10X1.0

Casting No.: JC-016

Application

8 Piston Racing Car aluminium Caliper

AL 6035/36 R/L

AL 6037/38 R/L

AL 6039/40 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------

AL 6033/34 R/L



FRONT 

OEM No.:

Bore Size: 340 X 4

Air Gap: 135 x 34

Pin Mounting: 150

Port Size: M10X1.0

Casting No.: JC-017

Application

4 Piston Racing Car aluminium Caliper

FRONT 

OEM No.:

Bore Size: 40 X 4

Air Gap: 132 X 34

Pin Mounting: 146

Port Size: M10X1.0

Casting No.: JC-018

Application

4 Piston Racing Car aluminium Caliper

AL 6041/42 R/L

AL 6043/44 R/L

--------------------------------------------------------------------------------------------------------

--------------------------------------------------------------------------------------------------------



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형





Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Fenster
사각형



Bar Parts



P
JC

art No.
I.B.I

Part No.
Part Name Specification Picture

B1003 5177 Bridge Bolt 9/16-18UNF-φ14.1x62.7+H20.5

B1004 5178 Bridge Bolt 7/16-20UNF-φ10.8x60+H15.9

B1005 Lock Bolt M6x1.0-12  (110712)

B1006 4204 Guide Bolt 7/16-20x111

B1007 5161
Guide Bolt
(SUS304)

M9x1.25-φ12x54.3

B1007-1 5161 Guide Bolt M9x1.25-φ12x54.3

B1008 Bridge Bolt M9x1.25-60.0

B1011 Plug M30x1.5-17.6

B1012 Spring Bolt M6x1.0-31.55.0W

B1015 4202 Guide Bolt 7/16-20x105-

B1016 Guide Bolt M10x1.25x57-14H

1



P
JC

art No.
I.B.I

Part No.
Part Name Specification Picture

B1017 Guide Bolt M10x1.25-φ9.85x73H-14

B1018 Flange Bolt M10x1.25-20-H14

B1020 Bridge Bolt M12x1.25-32

B1021 20522 Guide Bolt M10x1.25-φ9.1x77H14

B1022 21027
Guide Bolt

(Flg)
M10x1.25-φ9.1x86.5H14

B1023 20805 Guide Bolt M15x1.5-φ10.7x89

B1024 20804 Guide Bolt M15x1.5-φ10.9x89

B1025 22490 Guide Bolt M8x1.25-φ7.9x65.4-H13

B1026 23818 Guide Bolt M8x1.25-φ7.96xφ14.1x66.3

B1026-1 21233 Guide Bolt M8x1.25-φ7.96x59.5

B1027 6070 Guide Bolt M10x1.0-φ11.85x70

2



P
JC

art No.
I.B.I

Part No.
Part Name Specification Picture

B1028 6071 Guide Bolt M10x1.0-φ10.3x67-14H

B1029 23001 Lock Bolt M8x1.0-φ7.8x21.2-H14

B1030 6052 Guide Bolt M11x1.5-φ10.9x80.6

B1031 BKT Bolt 3/8x16unc-15.2

B1032A
BKT Bolt
+ Spring
Washer

M10x1.25-21.6-H14

B1033 20776 Lock Bolt M10x1.0-φ10x24-H14

B1035 Spring Bolt M6x1.0-33

B1036 Axle Bolt M10x1.25-10.6

B1037 22412 Guide Bolt M14x1.5-φ10.8x92

B1038 22431 Guide Bolt M12x1.25-81.28

B1039 22432 Guide Bolt M12x1.25-φ8.2x82.6-H14

3



 

JC
Part No.

I.B.I
Part No.

Part Name Specification Picture

B1040 Guide Bolt M12x1.75-φ11.85x72.2

B1041 21041 Guide Bolt M9x1.25-φ12.0x54

B1042 Plug Bolt M10x1.5-φ13x13

B1043 23362 Lock Bolt M10x1.5-30

B1044 Key Bolt M10x1.25-15

B1045 Lock Bolt M6x1.0-20

B1045-1 Lock Bolt M6x1.0x15 -H5-머리φ10x8L

B1046 Lock Bolt  M6x1.0-12

B1046A

Lock
Bolt+Washer

B1046+F1028

 M6x1.0-12+M6

B1048 Spring Bolt M6x1.0x314.0W

B1049 5959 Guide Bolt M8x1.25- φ7.1x62.5

4



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B1050 5750 Guide Bolt M8x1.25-φ8.3x56-10Hex

B1051 21037 Guide Bolt M9x1.25-φ13.6x65

B1053 Piston Bolt M5x0.8-φ10.9x15

B1054 Key Bolt M10x1.0-20.6

B1055 Lock Bolt M8x1.25-12

B1056 Bridge Bolt 7/16x20-57.2(23.5)

B1057 Bridge Bolt M7x1.0-φ6.85x50-S21.5

B1057-1 Bridge Bolt
M7x1.0-φ6.85x38-S15
(부영:φ6.24x40-S21

B1058 Bridge Bolt M14x2.0-φ13.9 x110(S-42.5)

B1058-1 Bridge Bolt M14x2.0-φ13.9 x90 (S-40)

B1059 Lock Bolt M10x1.5-16

5



 
I.B.I

Part No.
Part Name Specification Picture

B1060 Lock Bolt M5 x 0.8-10

B1061 Bridge Bolt M12x1.75xS40-75

B1061-1 Bridge Bolt M12x1.75xS40-70

B1061-2 Bridge Bolt M12x1.75xS40-65 (S34)

B1061-3 Bridge Bolt M12x1.75xS32-60

B1062 Key Bolt M12x1.0-28.1

B1063 Guide Bolt M10x1.25-13.75x67.5-H8.0

B1064 Guide Bolt M10x1.25-13.95x52.5

B1065 Inlet Bolt M10x1.5-22.5

B1066A
Mountin Bolt

Ass'y
 (+S/Washer)

M12x1.25-26.5

B1067 Inlet Bolt M10x1.5-24.2

6

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1068A
Mountin Bolt

Ass'y
 (+S/Washer)

M12x1.25-26.5

B1069A
Mountin Bolt

Ass'y
 (+S/Washer)

M12x1.5-40

B1070 22612 Guide Bolt M16x1.5-φ10.8x103-H17

B1071 23173 Lock Bolt M10x1.25-φ9.9x26.5-H14

B1072 Bridge Bolt M10x1.5-55

B1074 24342 Lock Bolt M8x1.25-φ7.9x21.2-H14

B1075 22830 Guide Bolt M14x1.25-φ11.2x79.5-H17

B1076 22831 Guide Bolt M14x1.25-φ9.3x67.5-H17

B1077 Stopping Bolt

B1078 22411 Lock Bolt M8x1.25-φ7.9x25-H12

B1079A Bridge Bolt 1/2-13Nx38-19H +F1043

7

JC 
Part No



 
I.B.I

Part No.
Part Name Specification Picture

B1080 Plug Bolt M10x1.25-19.2

B1081 Hook Bolt M10x1.25-29

B1082 Guide Bolt M10x1.25-φ11.5x70

B1083A Bridge Bolt
5/8-11x41.3-16H

-부영구매:5/8-11x38-24H+F1044

B1084 Bridge Bolt M12x1.25-40

B1085 Bridge Bolt 9/16-12x85-H19

B1086 Bridge Bolt M10x1.5-40

B1087 Guide Bolt M14x1.25-φ9.85x72.6-17H

B1088 Guide Bolt M14x1.25-φ9.85x72.6-17H

B1089 Bridge Bolt
5/8-18UNF-

  φ15.9xS40x50-H24

B1090 Bridge Bolt
7/16-20UNF-

φ10.87xS35x50-H16

8

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1091 Bridge Bolt M9x1.25-φ8.1x65-H14

B1092 Bridge Bolt M10x1.5-φ9.8x65-H17

B1093 22109 Round Bolt 5/16-18 x9

B1094 Bridge Bolt M12x1.75-φ11.9xS39x60

B1095 Bridge Bolt M12x1.75-40

B1096 Pad Pin Bolt M6x1.0xS35x92.5

B1097 Inlet Bolt M10x1.0-22.3-H12

B1097-1 Inlet Bolt M10x1.0-20.0

B1098 4200 Guide Bolt
3/8-16 x46-H14
 + Lock Tite 202

B1099 Mounting Bolt M12x1.25-S33-70

B1100 Bridge Bolt M10x1.5-30

9

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1101 Bridge Bolt M10x1.5-35

B1103 Hub Bolt M12x1.5-43.5+4.3H

B1105 S/Head Bolt M5x0.8-25

B1106 Bridge Bolt M8x1.25-φ7.85x45-S28

B1106-1 Bridge Bolt M8x1.25-φ7.85x40-S28

B1107 Bridge Bolt M8x1.25-φ7.85x60-S28

B1107-1 Bridge Bolt M8x1.25-φ7.85x55-S28

B1108 23696 Guide Bolt M10x1.5-φ9.9x92.7

B1109 Guide Bolt M10x1.25-φ15.98x83.5

B1112 23396 Guide Bolt M12x1.25-φ9.84x71.5-H14

B1113 23397 Guide Bolt M12x1.25-φ9.68x71.5-H14

10

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1114 Lock Bolt M6x1.0-10

B1115 Plug Bolt 3/8-24x15

B1116 Bridge Bolt M10x1.5-xφ9.85x65-S32

B1117 Bridge Bolt M10x1.25xφ9.85x70-S28-H17

B1118 Mounting Bolt M14x1.5-45 H22

B1119 Plug Bolt M8x1.25-23

B1120 Bridge Bolt M10x1.5-φ9.8x60-S32

B1121 Bridge Bolt M10x1.5-φ9.8x70-S32

B1122 23272 Lock Bolt M8x1.0-27.6-H14

B1123 Hub Stud Bolt M12x1.5-47+4.5-φ17.5

B1124 23131 Guide Bolt M12x1.25-φ9.85x77.7-H14

11

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1125 23132 Guide Bolt M12x1.25-φ9.7x77.7-H14

B1126 Wheel Bolt M12x1.5-50

B1127 23221 Guide Bolt φ15.80-M10x1.25px55-H7.0

B1128
Round Socket

Bolt
M8x1.25-10

B1129 22782 Guide Bolt M10x1.25-φ15.1x63.25

B1130 22921 Guide Bolt M10x1.25-φ13.95x(8.0+50.7)

B1131 Bridge Bolt 1/2-20Nx32-19H

B1132 Inlet Bolt M12x1.0-28.5 (36.0)

B1133 Mouning Bolt M18x1.5-50(S25)-H27

B1134 Mouning Bolt M6x1.0-25-H10

B1135 23244 Guide Bolt M8x1.25-φ7.87x87.4-10Hex

12

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1136 Stopper Bolt M6x1.0-φ8.0x30.9-10Hex

B1137 22897 Guide Bolt M12x1.25-φ9.90x67.5-H14

B1138 22733 Guide Bolt M12x1.25-φ9.7x67.5-H14

B1139 23349 Guide Bolt M8x1.25-89.9-H10

B1140 24110 Guide Bolt M10*1.0-Ø15.85x76.7-H10

B1141 24111 Guide Bolt M10*1.0-Ø15.85x76.7-H10

B1142 24484 PLUG M10*1.25-27-H10

B1143 21707 Inlet Bolt M10*1.0-H12-29.2

B1144 24037 Inlet Bolt M10*1.0-H11-32.6

B1401 21078 Guide Pin M8x1.25-φ8.4x77.5-H15

B1401-1 23886 Guide Pin M8x1.25-φ8.4x66.3-H15

13

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1401-2 22218 Guide Pin M8x1.25-φ8.4x60.0-H15

B1402 Guide Pin M8x1.25-φ8.4x82.5-H15

B1403 22307 Guide Pin M8x1.0-φ9.8-59.5-φ22.1xB17

B1403-1 Guide Pin M8x1.0-φ9.8-59.5-φ22.1xB17

B1404 22234 Guide Pin M8x1.25-φ9.9x70-φ24

B1406-1 5730 Guide Pin M8x1.0-φ9.8x59.5-φ22.1xB17

B1407 Guide Pin M10x1.0-φ10.7x84.6-H19

B1408 22968 Guide Pin M10x1.0-φ10.90x84.6-H19

B1409 23639 Guide Pin M10x1.0-φ10.9x84.6-H19

B1410 23011 Guide Pin M8x1.0-φ11.3x70-H17

B1411-1 21935 Guide Pin M8x1.0-φ10.9x70-H17

14

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1412 22935 Guide Pin M10x1.5-φ9.78x77-H18

B1416 22050 Guide Pin M8x1.0-φ9.85x73-φ24xB20

B1416-1 23066 Guide Pin M8x1.0-φ9.85x73-φ24

B1416-2 22326 Guide Pin M8x1.0-φ9.85x73-φ24

B1417 22587 Guide Pin M10x1.25-φ11.85x85-φ27.0

B1417-1 Guide Pin M10x1.25-φ11.85x85-φ27.0

B1417-2 Guide Pin M10x1.25-φ12.85x100-φ27.0

B1418 23525 Guide Pin M8x1.0φ9.6x79-φ24.8

B1419 Guide Pin M8x1.0-φ10.9x65.7-H17

B1419-1 Guide Pin
M8x1.0-φ10.9x65.7-H17

B1420 5322 Guide Pin M8x1.25-φ9.8x60-H17

15

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1421-1 Guide Pin M8x1.0-φ9.87x60-H17

B1422 22829 Guide Pin M8x1.0-φ10.9x70.0-H17

B1422-1 22828 Guide Pin M8x1.0-φ10.9x70.0-H17

B1423 22564 Guide Pin M8x1.25-φ9.78x72.5-B16

B1424 23299 Guide Pin M8x1.0-φ9.9x72-H17

B1424-1 Guide Pin M8x1.0-φ9.9x60-H17

B1425 24039 Guide Pin M8x1.0-φ9.8x72-H17

B1426 Guide Pin M8x1.0-φ9.9x60-H17

B1427 Guide Pin M8x1.0-φ9.9x55.5-H17

B1428 23314 Guide Pin M10x1.25-φ11.85x80.5-φ27

B1429 23315 Guide Pin M10x1.25-φ11.85x80.5-φ27

16

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1430 23524 Guide Pin M8x1.0-φ9.9x78.7-φ24

B1431 23531 Guide Pin M8x1.25-φ9.86x75-H17

B1432 24475 Guide Pin M8x1.25-φ9.60x75-H17

B1433 22591 Guide Pin - A M8x1.0-φ9.85x60-H17

B1701-R/L Pivot Stud φ13.97x51.6

B1702-R/L Cam Shaft/L φ15.86x53.5L-M10x1.0

B1703 Stud /L(φ11) φ11xφ22xM8x44.8

B1704 Stud-φ10 φ9.96xφ27.8-M8x1.25-40.5

B1704-1 Stud-φ10 φ9.96xφ27.8-M8x1.25-40.5

B1706-R/L cam Shaft φ15.96x44-용접

B1707-R/L Lever Stud/L φ14.0x42.4-Hex.10

17

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1708-R/L Lever Stud/L φ15.97x43.8-Hex.12

B1709-R/L Cam Shaft/L φ15.88x47.5-M10x1.25

B1710-R/L Lever Stud/L φ15.88x53.8-M10x1.0

B1711-R/L Cam Shaft/L φ15.88x48.1-M10x1.25

B1712-R/L Lever Stud φ9.5xφ11.0-40

B1713-R/L Lever Stud/L φ15.88x48.0-M10x1.25

B1714-R/L Lever Stud/L φ15.88x48.5-M10x1.0

B1715-R/L Lever Stud/L φ15.96x46.9-Hex12

B1716-R/L Cam Shaft/L φ13.95x47.8-Hex11.0

B1717-R/L
Cam Shaft/L

φ15.88x47.5-M10x1.25

B1717-1-
R/L

Cam Shaft  /L φ15.88x47.5-M10x1.25

18

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1718-R/L Cam Shaft/L φ15.85x54-M10x1.0

B1720-R/L Cam Shaft/L φ15.85x53.5-M10x1.0

B1721-R/L Lever Stud/L φ12.96x72.2-60˚

B1722
Cam Shaft

(LH)
φ13.95x42.5-Hex11.0

B1723
Cam Shaft

(RH)
φ13.95x42.5-Hex11.0

B1801 9403 Bleeder Screw 5/16-24x25.5

B1802 Bleeder Screw 7/16-24x26.7

B1803 9495 Bleeder Screw 7/16-24x28

B1804 9427 Bleeder Screw 7/16-24x37.5

B1805 Bleeder Screw M10x1.0-30

B1806 9412 Bleeder Screw M10x1.0-38.5

19

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B1807 9406 Bleeder Screw M10x1.5-29.6

B1808 9402 Bleeder Screw 3/8-24x30

B1809 9401 Bleeder Screw 3/8-24x38.8

B1810 9430 Bleeder Screw M8x1.0-26.7

B1811 9409 Bleeder Screw M10x1.0-33.1

B1814 9421 Bleeder Screw M10x1.25-31.2

B1815 9407 Bleeder Screw M10x1.0-27

B1817 9411 Bleeder Screw M7x1.0-31

B1818 9428 Bleeder Screw M8x1.25-35.5

B1819 9422 Bleeder Screw M8x1.25-32

B1820 9415 Bleeder Screw 7/16-20x32

20

JC 
Part No.



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B1823 Bleeder Screw 7/16-24x33

B1824 23225 Bleeder Screw 7/16-24x40.0

B1825 Bleeder Screw M8x1.25-26.2

B1826 23624 Bleeder Screw 7/16-24x36

B1827 9400 Bleeder Screw 3/8-24x34.5

B1828 Bleeder Screw M10x1.0x65

B1829 Bleeder Screw M10x1.0-27

B1830 Bleeder Screw M10x1.0-29.6

B1901-R/L 20645/46 Actuator Screw
φ19-φ11.78xRH7-13N-70.2
φ19-φ11.78xLH7-13N-70.2

B1902 Actuator Screw M0.6X23T-φ9.4x2.0x1R-45.2

B1903 Actuator Screw φ27.4-φ9.5x4RxL10-44.5

21



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B1903-1 Actuator Screw
φ27.4-φ9.5x4RxL10-44.5

B1903 면취간섭-수정

B1903A
A/Screw

Ass'y-φ11
φ10.98+keyφ4.95-

       14.0HxFφ37.3x88.8L

B1903B
A/Screw

Ass'y-φ10
φ9.99+holeφ3.1-

       11.6HxFφ37.5x84.5L

B1903C
A/Screw

Ass'y-φ10
φ9.99+holeφ4.1-

       11.6HxFφ37.5x84.5L

B1903D
A/Screw

Ass'y-φ10
φ9.99+holeφ4.2-

       11.6HxFφ37.5x84.5L

B1903E
A/Screw

Ass'y-φ10
φ9.99+keyφ4.95-

       12.6HxFφ33.5x84.0L

B1903F
A/Screw

Ass'y-φ10
φ9.99+keyφ4.95-

       12.6HxFφ33.5x84.0L

B1904 Actuator Screw φ14.18-φ9.08x4RxL10-51.0

B1906 Actuator Screw φ12.96-φ9.5x4RxL10-60.2

B1907 Actuator Screw φ24.6-φ9.5x4RxL3/8-52.0

B1908 Actuator Screw φ12.0U-φ8.1x5RxL10-68.8

22



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B1908-1 Actuator Screw φ12.0U-φ8.1x5RxL10-68.8

B1909 Actuator Screw φ16.98-φ8.1x5RxL10-53.7

B1910 Actuator Screw φ12.0U-φ8.1x5RxL10-59.6

B1911 Actuator Screw φ12.98-φ8.1x5RxL10-58.8

B1912 Actuator Screw φ12.96-φ9.08x4RxP2.5-52.5

B1913 Actuator Screw φ12.9-φ9.5x4RxL10-60

B1914 Actuator Screw φ12.98-φ9.5x4RxL10-54

B1914-1 Actuator Screw φ13.0-φ9.6x(8.2)- 4R-L10x54

B1915 Actuator Screw φ12.96-φ10.16x4RxL10-54

B1916 Actuator Screw φ26.2-φ9.5x4RxL10-44.5

B1916-L Actuator Screw φ26.2-φ9.5x4LxL10-44.5

23



 
I.B.I

Part No.
Part Name Specification Picture

B1917 Actuator Screw φ30.5-φ9.74x3RxL7.5-54.0

B1918-L Actuator Screw φ26.25xφ9.9xL4-51

B1918 Actuator Screw φ26.25xφ9.9xR4-51

B1919 Actuator Screw φ14.3U-φ8.1x5RxL10-65.6

B1920-L
Actuator
Screw-L

φ21.04x49.6-φ9.04-4LxP2.5

B1920 Actuator Screw φ21.00x50.0-φ9.08-4RxP2.5

B1920-1 Actuator Screw φ21.00x50.0-φ9.5-4RxP2.5

B2001 Flange Nut M10x1.0-17Bx17L

B2002 Hex Nut M30x1.5-4.0

B2005 Flange Nut M10x1.25-17B-17L

B2006 Lever Nut 7/16x20UNC-17Bx9.5L

24

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B2007 Flange Nut M8x1.25-17Bx17L

B2009 Flange Nut M8x1.25-12Bx7.5H

B2010 Flange Nut M8x1.0-14hxH17

B2011 Nyloc Nut M12x1.5-12hxH19

B2012 Flange Nut M8x1.0-7.5hxH12

B2901
B2901-L

Actuator Nut H15.9X40.7-φ11.78x7R/L-13N

B2902 Actuator Nut φ17x25.6-1Rxφ9.4-P2.0

B2902A
Actuator Nut

Ass'y

B2903 Actuator Nut φ29x36.0-4R-φ9.5xP2.5

B2904 Actuator Nut φ19.9x20.1-φ9.08-4RxP2.5

B2906 Actuator Nut φ23x14.9-37.2-4Rxφ9.5-L10

25

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B2906-1 Actuator Nut φ23x17.6x38-4R-φ9.5xP2.5

B2907 Actuator Nut ㅁ17.5x29.2-4R-φ9.5xL9.525

B2913 Actuator Nut φ28.6x42.6-4R-φ9.4xP2.5

B2914 Act./ Nut φ24.6x14.2x33.6-4R-φ9.5xP2.5

B2915 Actuator Nut φ21.5x24.5-4R-φ10.16xP2.5

B2916-2-
R/L

Actuator Nut φ24.8x344-φ9.65xP2.5

B2916-
2A-R

Actuator Nut
Ass'y

φ14.0

B2916-
3A-R/L

Actuator Nut
Ass'y

φ17.0

B2916-4-
R/L

Actuator Nut φ20.45x34.2-φ9.5-4R-P2.5

B2916-
4A-R/L

Actuator Nut
Ass'y

φ14-φ31.0x74.2-
           4R-φ9.5xP2.5

B2916-
5A-R/L

Actuator Nut
Ass'y

φ17xφ31.0x74.2-
           φ9.5x4R-P2.5

26

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B2918-R/L Actuator Nut φ28.5x35.8-φ9.65x4R-P2.5

B2919 Actuator Nut φ15.0x19.0-φ8.1x5RxL10

B2920-R/L Actuator Nut φ29.1x33L-φ9.04-4Rxp2.5-key33.0

B2920-1-
R

Actuator Nut φ29.1x33L-φ9.5-4Rxp2.5-key32.4

B3001 Pivot φ5.0x24.1

B3002A
A/Screw
Housing

φ12.69xφ29.7x25.3

B3006 Pivot φ6.0x22.0

B3007 Pivot φ6.0x20.0

B3008 Lock Pin φ6.0x23

B3009 20886 Pad Pin φ6.2x(82+H3.7)

B3010 Pivot φ6.0x20.6

27

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B3011 Key Pin φ3.0x10.7

B3012 Pivot φ6.0x22.3

B3013 Pivot φ5.0x23.2

B3014 Key Pin φ2.6-φ3.5x2.9

B3015 Pad Pin φ6.35x(72+H3.2)

B3017 Lock Pin φ6.1x20

B3018 Pad Pin φ8.0x70.2

B3020 Lock Pin φ6.0x27

B3021 Pad Pin φ4.9x(60+H3.2)  Hole:12.5

B3022 Pad Pin φ6.35x(60+H3.7) Hole:12.5

B3022-1 Pad Pin φ6.35x(62+H3.7),  Hole:6.0

28

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B3022-2 Pad Pin φ6.35x(60+H3.7),   Hole:56.0

B3022-3 Pad Pin φ6.35x(63.5+H3.7),   Hole:11.5

B3022-4 Pad Pin φ6.35x(58+H3.7),   Hole:9.3

B3022-5 Pad Pin φ6.35x(65+H3.7),   Hole:9.0

B3022-6 Pad Pin φ6.35x(65+H3.7),   Hole:12.5

B3023 Cable Holder φ9.95xφ18.5x42.0

B3024 Pad Pin φ5.9+φ6.3 x 96+1

B3024-1 Pad Pin :φ5.9+φ6.3 x 88+1(7.8)

B3025 Pad Pin φ6.0+φ5.0 x 62

B3026 Pad Pin φ6.35x(103+H3.7)- Hole:100

B3027 Pad Pin φ6.35x(100+H3.2)- Hole:96.5

29

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B3028 Pad Pin φ6.35x(84+H3.2) - Hole:8.5xφ1.5

B3028-1 Pad Pin φ6.35x(84+H3.2) - Hole:8.5xφ1.5

B3029 Pad Pin φ7.56x95.8 +φ9.3x2.5

B3030A 23824 Pad Pin Ass'y φ6.0x91.7

B3031 Pad Pin φ6.35x(78+H3.2) - Hole:6.0

B3032A 24351 Pad Pin Ass'y φ5.95x113.6

B3033 24352 Bracket Pin M8x1.0-φ12.85x100L

B3034 Guide Pin φ19.92x190

B3035 Pad Pin M12x1.5-φ20.90x30

B3036A Pad Pin Ass'y φ5.95x105.6

B3037A Pad Pin Ass'y φ6.0x90.7

30

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B3038A 23824 Pad Pin Ass'y φ5.95x91.5

B4001 Tube Seat φ2.8-φ7.5X8.7φ5.0

B4002 Tube Seat φ2.8-φ8.0xAφ5.3-9.2L

B4003 9446 Tube Seat φ2.5-φ9.5xAφ5.0-10.0L

B4005 SUS Sleeve φ47.83x φ50.40x22.75

B4006 SUS Sleeve φ34.97xφ37.70x25.25

B4009 4208 Guide Sleeve φ11.2xφ15.77x15.9

B4021 Key Bushing φ13.5xφ17.5x8.35

B4022 Thrust Bushing φ14.0xφ29.2x10.1

B4022-1 Thrust Bushing φ17xφ29.4x4.0

B4023 Bushing φ10.5xφ16.96x8.5

31

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B4024 Monting Collar φ14.3xφ28x4.0t

B4025 Monting Collar φ14.3xφ28x12.5

B4026 Monting Collar φ14.6xφ24x13.5

B4201-1 Cross Tube φ4.8x226=-(Form219)

B4201-1A
Cross Tube

Ass'y
φ4.8x219+

      2-M10x1.0-18

B4201-3A
Cross Tube

Ass'y
φ4.8x195+ 2-M10x1.0-18

B4201-4A
Cross Tube

Ass'y
φ4.8x188+2-M10x1.0-18

B4201-5A
Cross Tube

Ass'y
φ4.8x188+

      2-M10x1.0-18

B4202A
Cross Tube

Ass'y
φ6.35x335- (2-7/16-24)

B4202-1A
Cross Tube

Ass'y
φ6.35x335- (2-7/16-24)

B4203A
Cross Tube

Ass'y
φ4.8x163+

      2-M10x1.0)

32

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B4204A
Inlet Tube

Ass'y
φ4.8x229.2(55.4+186)

      1-M10x1.0)

B4205A
Cross Tube

Ass'y
φ4.8x195+

      2-M10x1.0-18

B4206A
Cross Tube

Ass'y
φ4.8xForm215+

      2-M10x1.0-18

B4207A
Cross Tube

Ass'y
φ4.8x217L(Form)

B4208A
Cross Tube

Ass'y
φ4.8x234L(Form) +2-M10x1.0-17

B4209A
Cross Tube

Ass'y
φ4.8x230L(Form) +2-M10x1.0-17

B4210A
Cross Tube

Ass'y
φ4.8x221.4L(Form) +2-M10x1.0-17

B4211A
Cross Tube

Ass'y
φ4.8x245L(Form) +2-M10x1.0-17

B4401 21017
Guide Sleeve

(SUS)
φ12.5xφ23.45x58

B4401-1 21017
Guide Sleeve

(AL)
φ12.5xφ23.45x58

B4402 Guide Sleeve φ10.3x φ15.85x46

33

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B4403 21563 Guide Sleeve φ10.3x φ15.85x61.5

B4404 21039 Guide Sleeve φ10.3x φ15.95x68

B4405 21036 Guide Sleeve φ10.3x φ15.95x77

B4407 20592 Guide Sleeve φ10.5xφ15.65x52

B4408 6053 Guide Sleeve φ11.2xφ15.85x64

B4411 22058 Guide Sleeve φ8.3xφ14.1x54.0

B4412 5553
Guide Sleeve-

L
φ8.6xφ13.68x52

B4413 21566
Guide Sleeve-

S
φ8.6xφ13.88x45.5

B4414 Guide Sleeve φ12.7xφ19.94x62.5-2G

B4415
Guide Sleeve-

S
φ8.3xφ12.94x50.8

B4416
Guide Sleeve-

L
φ12.3xφ21.93x69-2G

34

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B4418 23429 Guide Sleeve φ10.3x φ15.95x73.2

B4419 23245 Guide Sleeve φ8.3xφ14.1-69.1

B4701
Bronze
Bushing

φ10.05xφ14.0x7φ12.05x6.0

B4702
Bronze
Bushing

φ15.95xφ20.7x22.2

B4703
Bronze
Bushing

φ22.0xφ28.7x26

B4704
Oilless

Bushing
φ14xφ16-21.8

B4705
Oilless

Bushing
φ14xφ16-26

B4706
Oilless

Bushing
φ14.3xφ20-17.4

B4707
Oilless

Bushing
φ16xφ18-25

B4708
Oilless

Bushing
φ16xφ18-20.5

B4709
Bronze
Bushing

φ16.0xφ20.7x18

35

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B4710
Bronze
Bushing

φ15.85xφ20.7x20

B4711
Oilless

Bushing
φ14xφ16-20

B4712
Bronze
Bushing

φ11.05xφ13.55 -φ15.0x9.0

B4713
Lever Bushing

(DU)
φ13.1xφ15x10

B4714
Slice Bush

(DU)
φ16.0xφ18.0x10

B4715
Bronze
Bushing

(φ10.05xφ14.0x11φ12.05x7.0)

B4716 Du Bushing φ20.0xφ23.0-30

B4717
Bronze
Bushing

Ø10.0xØ13.9x11.2Ø12.6

B6001
Act. Cone

       (Fe소결)
φ29.85x17.4L-H16.3

B6003
Nut

Ring(Forged)
φ17.2xφ25.5-9.4

B6005-4 Key Plate φ29.0x7.6t-key3-4.4+3.2-2.0H

36

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B6006(R-
5)

Nut Stud φ13.98xφ29x30.5

B6006-1 Nut Stud φ17xφ29x30

B6007-R/L Stud φ16.97xφ30.5x27.5L

B6009
Back Cup

  (2006/12)
φ24.5x5.0-φ16.8

B6010 Nut housing φ10.04xφ32x22.3

B6011 Stud φ9.97-φ24.3x36

B6012 Key Pivot 4.8t-23.6x12

B6013 Support Key 3.9t-46.2x23.9

B6019 Lever Stud M8x1.0-φ9.95xφ29.5-55.5

B6020 Lever Stud M8x1.0-φ9.95xφ29.5-49.8

B7002 Pipe Nipple CAP:M10x1.0-φ5.05x17-H11

37

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

B7004 Pipe Nipple 7/16x24-22.0

B7005A Pipe Nipple PT1/8-28-3/16-27

B7007 Banjo M12x1.0-φ25x13Bx45L

B9001 Bearing Ball Sφ6.5

B9002 Bearing Ball Sφ5.5

B9003 Thrust Bearing B6-φ2.0-φ13.7xφ20.1

B9004 Thrust Bearing B8-φ2.0-φ15.5xφ20.6

B9005 Thrust Bearing B16-φ3.2-φ17.8xφ26.2

B9005-1 Thrust Bearing B8-φ3.2-φ17.8xφ26.2

B9006 Thrust Bearing B3-φ3.2-φ16.0xφ26

B9007 Ball Bearing  6002LLB: φ15xφ32x9

38

JC 
Part No.



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B9008 Bearing Ball Sφ3.18

B9009 Bearing Ball Sφ7.5

B9012 Thrust Bearing B6-φ3.2-φ14.4xφ22.4

B9013
Thrust Needle

B/R
R22-φ2.0-φ17.1xφ29.8

B9014 Bearing Ball Sφ8.0 (7.94)

B9015 Thrust Bearing B6-φ4.0-φ15xφ25.5

B9016
Needle
Bearing

N15-φ1.7-φ15.88xφ20.67-(18.9)

B9017 Thrust Bearing B3-φ5.55xφ10.3xφ24.4

B9018 Thrust Bearing B11-φ3.0-φ12.7xφ20.2

B9019 Thrust Bearing B3-φ5.55xφ12.1xφ28

B9020
Thrust
Needle
Bearing

14xφ2.0-φ10.xφ23.7

39



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

B9021 Thrust Bearing B8-φ2.0-φ12.0xφ17.6

40



Flat Parts



 
I.B.I

Part No.
Part Name Specification Picture

F1001 Spring Washer 2.5t-φ10.2xφ18.4

F1002 Oilless Washer 1.0t xφ3.5xφ22

F1006 Spring Washer 0.4t-φ20.5xφ31.6

F1007
A/Screw
Washer

1.0t xφ10.2xφ20.5

F1008 Wave Washer 0.3t xφ15.8xφ23.1

F1009 9453 Cu-Washer 1.5tx φ10.1xφ15.9

F1011 Thrust Washer
0.5txφ18xφ26

(BW:0.6txφ18xφ26.6)

F1012 Wave Washer 0.3txφ19.5xφ26

F1013 23872 Cu-Washer 1.5t xφ12.1xφ16.8

F1015 4390 Cu-Washer 1.5t xφ11.2xφ16.8

F1016 21020 Round Washer 2.0txφ16.1xφ22.4

1

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

F1017 Thrust Washer 0.8t xφ16.05xφ27.9

F1018
Round Washer

M6
1.0txφ6.3xφ12

F1019 Saddle Washer 0.4t xφ13.6xφ22

F1020
Support
Washer

0.2t xφ8.8xφ23

F1021  Washer 1.5t xφ8.5xφ16.9

F1022 Act. Washer 4S-0.8txφ10.5xφ18.5

F1023 Wave Washer 0.2t xφ14.9xφ21.2

F1024 Thrust Washer 1.0t xφ13.2xφ21.1

F1025 Wave Washer 0.3t xφ13.9xφ20.9

F1027 Cu-Washer 1.0t-φ10.2xφ14.1

F1028 Round Washer 1.0t-φ6.0xφ14.0

2

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

F1029 Thrust Washer 1.0t-φ17.2x29.8

F1030 Thrust Washer 0.8t-φ16xφ25.6

F1031 Wave Washer 0.3t-φ18.8xφ25.4

F1032 Oilless Washer 1.0t-φ14.1xφ28.8

F1032-1 Oilless Washer 1.0t-φ17.1xφ28.8

F1033 Round Washer 1.4t-φ8.3xφ21

F1034 Spring Washer φ8.2xφ15.6-2.5t

F1036 Round Washer 3.0t-φ15.0xφ25.4

F1037 Round Washer 2.0t-φ16.8xφ24.5

F1038 Spring Washer 1.6t-φ6.5xφ11

F1039 Dish Washer 0.8t-φ6.3xφ10

3

JC 
Part No.



 
I.B.I

Part No.
Part Name Specification Picture

F1040 Cu-Washer 1.5tx φ10.1xφ15.0

F1041 Oiless Washer 1.0txφ10.4xφ22.1

F1042 Thrust Washer 0.6txφ17.9xφ26.7

F1043 Spring Washer  1/2''-φ13xφ22.3x3.2t

F1044 Spring Washer 5/8''-φ16.7xφ26.6x4.1t

F1045 Dish Washer 0.8t-φ11.2xφ28.0-1.8H

F1046 Round Washer
OE:3.0t-φ12xφ21

(QT+착색)

F1050 Dish Washer 3.5t-φ31xφ63-

F1051 Spring Washer 3.5t-φ14.6xφ24.2

F1052 Thrust Washer 1.6txφ10.3xφ26.5

F1053 Spring Washer M6-φ6.2xφ12.2x2T

4

JC 
Part No.



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F1054 Thrust Washer 0.4txφ11.6xφ18.4

F1055 Round Washer STS 30306 M6

F1056 Round Washer S45CM16

F1060 Round Washer 2.0t-φ13xφ24

F1061 Key Washer 1.0t-φ18.5xφ35-41x96.3

F3002C
Snap Ring
RTW-26

1.2t-φ27.9

F3003 Snap Ring φ34.8x1.1t

F3005

(=F3008)

Snap Ring
IRTW-H32

1.2t-φ27.4xφ34

F3006 20722
Snap Ring
IRTW-30

1.2t-φ25.7xφ32.1

F3006C
Snap Ring
RTW-30

1.2txφ32

F3007C
Snap Ring
RTW-28

1.2t-φ30.1

5



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F3008C
Snap Ring
RTW-32

1.2t-φ34.4

F3009 6089
Snap Ring
IRTW-H48

1.6t-φ50.5

F3010
Snap Ring
IRTW-38

1.5t-φ40.7

F3011C
Snap Ring
RTW-16

1.0t-φ17.4

F3012E
Snap Ring E-

12
φ11.8xφ20.8x1.2t

F3013
Snap Ring
IRTW-24

1.2t-φ25.4

F3014E Snap Ring E-7
0.8t-φ7.0xφ14x0.8t

F3015C
Snap Ring
RTW-24

1.2t-φ26.2

F3016C
Snap Ring
RTW-23

1.0t-φ25

F3017 Snap Ring 0.8t-ID25.7xOD33.2-2.9H

F3018 Spring Pin-10 1.8t-φ10.3x25

6



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F3019C
Snap Ring

           RTW-
22

1.0t-φ23.5

F3020
Coil Snap Ring
(SUS304-H)

0.7t-φ59.1xφ66.5x2N

F3021G
Snap Ring-

C13)
1.0t-IDφ12.0

F3022 Spring Pin-3.0 φ3.0x18

F3023
Snap Ring -

H34
1.0t-ODφ36.2

F3024 Spring Pin-8 1.5t-φ8.4x25

F3025C
Snap Ring
RTW-21

1.0t-φ22.3

F3028C
Snap Ring
RTW-36

1.2t-φ37.4

F3029
Snap Ring
IRTW-34

1.0t-φ29.1xφ36.5

F3030 Spring Pin-4.0 φ4.0x25

F4001 Key Plate K5.0-φ11.2xφ33.3-4.5t

7



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F4002 Key Plate KHφ3.1-φ10.2xφ31.2x4.0t

F4002-1 Key Plate KHφ4.2-φ10.2xφ31.2x4.0t

F4002-2 Key Plate Kφ5.0-φ10.2xφ31.2x4.5t

F4003 Key Plate 2P 3.2txφ26.4xA9.2w

F4004 Axle Plate  4S 0.8txφ9.5xφ18+key

F4005 Axle Plate  4S 1.0txφ15.6xφ23.1

F4006 5458 Heat Shield 0.4t-φ63.8xφ76.2

F4007 21709 Heat Shield 0.7txφ57.0xφ74.5

F4010 5448 Heat Shield 0.8txφ64.4xφ80.40

F4011 Axle Plate   4S 0.8txφ9.0xφ18

F4012 Axle Plate   6S 0.4t-φ15.2xφ29

8



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F4013 Axle Plate   2P 3.2t-B12.2xφ29.6

F4014 Cover 1.0T-φ31.6

F4016 Axle Key Plate 3.0T-B9.8xφ29.4

F4017 Key Plate 2.3t-B9.8xφ25

F4018 Axle Plate 1.0txφ18.5xφ28

F4019 Axle Plate  4S
0.4txφ15.3xφ23.5

(BW:0.4txφ15.1xφ23.4)

F4021 Key Plate  2P 3.0txB10.6xφ29.5

F4022 Axle Plate 5S 1.0txφ14.6xφ23.9

F4023 Thrust Washer 1.5t-φ12.7xφ26.0-20B

F4026 Key Plate  2P 4.5t-φ10.18xφ29.45-key33.0

F5001-R/L Lever 5t-69x74x28

9



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5002-R/L Lever 4t-58x63x10.8

F5003-R/L Lever spcc-4.0t

F5004-R/L Lever 4.0t-30x67x30H

F5005-R/L Lever 4t-51.5x53.4x10.7

F5006-R/L Lever Ass'y

F5009-R/L Cable Bracket spcc-4.0t

F5010-R/L Cable Bracket spcc-4.0t

F5011-R/L Cable Bracket spcc-4.0t

F5012-R/L Cable Bracket SM45C-5t

F5013A-
R/L

Lever Ass'y φ13.97x29.2-3.2tx2

F5016A-
R/L

Lever Ass'y SPCC-4.0t

10



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5017A-
R/L

Lever

F5018A-
R/L

Lever SPCC-4.0t

F5019A-
R/L

Lever Ass'y φ15.97x40+4.0t

F5020A-
R/L

Lever Ass'y φ15.88x28.6+4.5t

F5021A-
R/L

Lever Ass'y φ15.88x35.3+5.0t

F5022A-
R/L

Lever Ass'y 4.4t-φ15.88x29.2

F5023A-
R/L

Lever Ass'y 4.5t+SCM415φ11.0x40

F5024A-
R/L

Lever Ass'y φ15.88x55.8-4.5tx58.8x37.8

F5026A
F5026A-L

Lever Ass'y φ15.88x29.2+4.4t

F5027-R/L Lever 4.0tx120x43

F5028-R/L Cable Bracket 4.0tx115x60

11



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5029-R/L Cable Guide 7.0tx115x32W

F5030-R/L Cable Bracket 4.0t-46.5x87.6

F5031 Lever 5.0t-41.7x117

F5032 Lever 5.0t-42.2x101.7

F5033-R/L Cable Bracket 4.0t-54x77x44.2H

F5034A-
R/L

Lever Ass'y φ13.95- 4.5tX34.8x71.4

F5035-R/L Lever 4.0tx30x67

F5036A-
R/L

Lever 4.5tx39x86.5

F5037-R/L Cable Bracket 7.0t-55x75

F5038A-
R/L

Lever Ass'y 4.5tx32x65-20.4

F5039-R/L Cable Bracket 7.0t-36x58-54

12



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5040-R/L Cable Bracket 7.0t-32x66+54

F5041A-
R/L

Lever Ass'y 4.5t-39.5x83

F5042-R/L Cable Bracket 7.0t-47x47

F5043A-
R/L

Lever Ass'y 4.5t-41x66SPCC

F5044-R/L Cable Bracket 7tx32.4x86.5+50.5

F5045A-
R/L

Lever Ass'y 5t-42.6  SPCC

F5046-R/L Cable Bracket 8t-53.5x77.6

F5048-R/L Lever 5.0t-36.5x89

F5050-R/L Lever 4.0t-29.5x74.6x25H

F5051-R/L Cable Bracket 4.0t-37.4x72x37H

F5052-R/L Lever 4.0t-29x75x25

13



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5053-R/L Cable Bracket 4.0t-57x98x50

F5056-R/L Lever 4.0t-33.8x80.6

F5057-R/L Cable Guide 4.0t-39.9x161.5

F5058A-
R/L

Lever Ass'y 4.6t-39.5x58.7

F5059A-
R/L

Lever Ass'y φ12.96x72.2

F5060-R/L Lever 4.0t-30x71+30.5

F5061A Lever Ass'y 4.5t-33.8x70.7+φ13.95x42.5

F5062A Lever Ass'y 4.5t-33.8x70.7+φ13.95x42.5

F5063 Cable Bracket 4.0t-35.9x121.8x43.5H

F5064 Cable Bracket 4.0t-35.9x121.8x43.5H

F5065 Lever 4.0t-3.9.4x72x26

14



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5066 Lever 4.0t-3.9.4x72x26

F5067 Lever 4.0t-34x72.3x25.3H

F5068 Lever 4.0t-34x72.3x25.3H

F5069 Cable Bracket 4.0t-54.4x70.2x35.73H

F5070 Cable Bracket 4.0t-54.4x70.2x35.73H

F5075 Cable Bracket 4.0tx91x84x31.5

F5076 Cable Bracket 4.0tx91x84x31.5

F5077 Lever 4.0t-20.2x56.6x27.0

F5078 Lever 4.0t-20.2x56.6x27.0

F5079 Cable Bracket 4.0t-66x74.15x45H

F5080 Cable Bracket 4.0t-66x74.15x45H

15



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5081 Lever 4.0tx30x70x31.2H

F5082 Lever 4.0tx30x70x31.2H

F5083 Cable Bracket 4.0t-66.5x86x42.5H

F5084 Cable Bracket 4.0t-66.5x86x42.5H

F5085 Lever 4.0tx30x67.5x26.8

F5086 Lever 4.0tx30x67.5x26.8

F5087
Cable

Bracket-LH
4.2t-64*62*22.8H

F5088
Cable

Bracket-RH
4.2t-64*62*22.8H

F5089 Lever-LH 4.2t-37*80*43

F5090 Lever-RH 4.2t-37*80*43

F5091A Lever Ass'y 4.5t-38*60.5*17

16



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F5092A Lever Ass'y 4.5t-38*60.5*17

F5093 Cable Bracket 8tx42x58x43

F5094 Cable Bracket 8tx42x58x43

F6001 Retainer-φ11
1.2t-H17.2xφ27-

      Aφ33.5xFφ37.3

F6002 Retainer
1.2t-φ17xφ27-

     Aφ31.8xFφ37.5

F6002-1 Retainer
1.2t-φ17xφ27-

      Aφ31.8xFφ33.5

F6002-2 Retainer
1.2t-φ17xφ27-

     Aφ31.8xFφ37.8

F6002-3 Retainer
1.2t-φ17xφ25-

     Aφ31.8xFφ33.5

F6003 Spring Holder 0.8t-φ14.5xφ29.6x10.6h

F6007
Spring

Retainer
10.t-φ16.2xφ24.5
       xφ31.5x24H

F6008
Spring

Retainer
0.6t-φ16xφ24

       xφ31.4x15.4H

17



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F6009
Spring

Retainer
1.0t-φ16.9xφ30.37

       x10.35H

F6010
Spring

Retainer
0.8t-φ16.0xφ24.8
      xφ31.4x19.4

F6011 Nut Housing 0.8t-φ17.5xφ31.0x44.4

F6012
Spring

Retainer
0.8t-φ15.5xφ22

       xφ29.6x15.4h

F6013 Guide Cap 0.7txIDφ17.97x6.5

F6014
Spring

Retainer
0.8t-φ16Xφ23

      xφ29.4x23.2H

F6017 Piston Plug 0.6t-φ45.3xφ44.1x6.5

F6018
Spring

Retainer
0.8t-φ29.4x30.5

F6019
Spring

Retainer
0.8t-φ16.0xφ29.6x19.5

F6022 5827
Spring

Retainer
0.8t-φ26.2xφ37-21.7

F6023 Piston Plug 0.6tφ38.2x6.4H

18



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F6024
Spring

Retainer
0.8t-ID17.0xφ29.7x14.5h

F6025
Spring

Retainer
0.8t-φ16.5xφ33.2-11.8H

F6026 22624 Boot Shield SUS0.T-0.7t-φ82.4x6.4h

F7001-R/L Pad Liner 0.3t

F7002 5947 Anti Rattle Clip 0.5t-31.9x69.5

F7003 22586 Anti Rattle Clip 0.4t-31x70

F7004 22066 Anti Rattle Clip 0.5t-42.3x68.6

F7005 22231 Pad Clip 0.7t-58.6x75.1x17.5

F7006 22232 Anti Rattle Clip 0.5t-31.5x68.2

F7009 6064 Anti Rattle Clip 0.4t-46x54

F7010 20725 Anti Rattle Clip 0.4t-52x66.5

19



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7011 6096 Pad Clip

F7012 21159 Anti Rattle Clip 0.4t-48x61

F7017 23506
Anti-Rattle

Clip
0.4t-43.1x90.4

F7018 21735 Pad Clip 0.6t-52.8x80

F7019
Anti-Rattle

Clip
0.5t-20.2x56

F7020-R 22523
Anti-Rattle

Clip-R
0.6t-28x17.6x17.6

F7020-L 22524
Anti-Rattle

Clip-L
0.6t-28x17.6x17.6

F7021 22978
Anti-Rattle

Clip
0.4t-31.0x56L-17.8H

F7022 22805
Anti-Rattle

Clip
0.4t-50x69x28H

F7023 22804
Anti-Rattle

Clip
0.4t-49.2x118.4

F7024 Pad Clip 0.6t-51.8x74.2

20



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7025
Anti-Rattle

Clip
0.5t-19.5x53

F7026 Pad Clip 0.6t-49.2x72

F7027
Anti-Rattle

Clip
0.5t-15.0x50.2

F7028 22581
Anti-Rattle

Clip
0.5t-9.6x65

F7029 23388
Anti-Rattle

Clip
0.4tx36x84x25H

F7030
Anti-Rattle

Clip
0.4t-36x88x25H

F7031 21734
Anti-Rattle

Clip
0.4t-21x57

F7032 21689
Anti-Rattle

Clip
0.4t-25.4x12.4x46.5

F7033 21073
Anti-Rattle

Clip
0.4t-50x48.4x24.9

F7034 22616 Pad Clip 1.5t-144x169

F7035 22618
Anti-Rattle

Clip
1.5t-18x40x95

21



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7036 Pad Clip  SUS
1.5tx50x17

Rev-1:1.5t-50x15x14.5

F7037
Anti-Rattle

Clip
0.5t-35.4x63x24

F7040
Anti-Rattle

Clip
0.5t-37.2x66.6x24.2

F7043
Anti-Rattle

Clip
0.5t-37x67.5x24.1H

F7044
Anti-Rattle

Clip
0.7t-43x95

F7045 23698
Anti-Rattle

Clip
0.4t-40x80x21

F7046 23474
Anti-Rattle

Clip
0.4t-31x84.5x20

F7047 23280
Anti-Rattle

Clip
0.5t-34x94.5x12

F7048-L 23504
Anti-Rattle

Clip
0.4t-38.5x68x12.5

F7048-R 23505
Anti-Rattle

Clip
0.4t-38.5x68x12.5

F7050 23444
Anti-Rattle

Clip
0.4t-23x20x14.3

22



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7051-R 22303
Anti-Rattle

Clip
0.3t-27x23x18.5

F7051-L 22304
Anti-Rattle

Clip
0.3t-27x23x18.5

F7052 22594
Anti-Rattle

Clip
0.6t-34x98.2-12.4

F7053 20526 Pad Clip
0.6t-45x27x78

(=0.6t-44x83x26H)

F7054 20527
Anti-Rattle

Clip
0.4t-27x48x11

F7055-R 23432
Anti-Rattle

Clip
0.4t-26x57

F7055-L 23433
Anti-Rattle

Clip
0.4t-26x57

F7056 23546
Anti-Rattle

Clip
0.5t-30.5x95x9.5

F7057 22131
Anti-Rattle

Clip
0.5t-32x88.6x33

F7058 22298
Anti-Rattle

Clip
0.5t-32x88.6x33

F7059 20421 Sensor Clip 0.5t-22x34x19

23



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7060 22595
Anti-Rattle

Clip
0.6tx26x45.2x28h

F7061 22596
Anti-Rattle

Clip
0.6tx26x45.2x28h

F7062 22602
Anti-Rattle

Clip
0.7t-40x86x23h

F7063 22603
Anti-Rattle

Clip-B
0.7t-40x86x23h

F7064 22653 Pad Clip 0.6tx61.6x65x27h

F7065 22652
Anti-Rattle

Clip
0.4tx32x74x14

F7066 22409
Anti-Rattle

Clip
0.5tx19x76.6x18

F7067 22410
Anti-Rattle

Clip
0.5tx20.6x86x18

F7068 22562 Pad Clip 0.6t-60.8x61x23.2

F7069 22561
Anti-Rattle

Clip
0.4t-33.6x67x11.8

F7070 22746 Pad Clip OE:0.8t-33x72x20H

24



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7071 22747
Anti-Rattle

Clip
0.4tx38x89x12

F7072-A/B
22655
22654

Anti-Rattle
    Clip/B

0.3tx20x23x15h

F7073-A/B
22656
22657

Anti-Rattle
    Clip/B

0.3tx20x23x15

F7074 23000
Anti-Rattle

Clip
0.4t-0.5x66x8.0h

F7075-A/B
22823
22824

Anti-Rattle
    Clip/B

0.3t-23x22x13

F7076 22305 Sensor Clip 0.5t-25x8.9x8.2

F7077 23055
Anti-Rattle

Clip
0.4t-70x34.8x21.8

F7078 22592 Pad Clip 0.7T-73.3X58.8X17.3

F7079 22593 Anti Rattle Clip 0.4t-70x37.8x8.6

F7080 23210 Anti Rattle Clip 0.4t-31x89.3x18.2

F7081-A/B
23270
23271

Anti Rattle Clip
      /B

0.6t-26x39.2x25.7

25



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7083 4380 Pad Clip 0.9T-13.2x69x25.3

F7084 22663 Pad Clip 0.8t-33.1x63.8x20.3h

F7085-A/B
22664
22665

Anti Rattle Clip 0.4t-31x77.2x21h

F7087 22892
Anti-Rattle

Clip
0.5t-18.4x83.4x18

F7088 22893
Anti-Rattle

Clip
0.5t-18.4x92.6x18

F7089 22450 Pad Clip 0.7t-34x67x15.5

F7090 22449
Anti-Rattle

Clip
0.4t-31.8x73.4x15.5

F7091 23214
Anti-Rattle

Clip
0.5t-85.2x18x18.1

F7092 23215
Anti-Rattle

Clip
0.5t-85.2x18x18.1

F7093-A/B
22023
22024

Anti-Rattle
Clip

0.5t-29x25.3x14

F7094
22025
22026

Anti-Rattle
Clip

0.5t-29x25.3x14

26



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7095
Anti-Rattle

Clip
0.4t-50x67x17

F7096 23811
Anti-Rattle

Clip
0.4t-44.2x71.6x12.7

F7097-R/L 20842
Anti-Rattle

Clip
0.3t-27.8x19.6x.8

F7098 5642 Pad Clip 0.6t-44.3x71.4x11.5

F7099 22197
Anti-Rattle

Clip
0.5t-31.6x49x6.9

F7100-R/L Pad Clip 0.4t-18x114x17.5

F7101A 23760 Pad Clip 2.0t-40.5x182.7x24H

F7102A
      Rev-3

Pad Clip 0.7x126+1.0tx67wx17H

F7105
Antirattle Clip

SUS
1.5tx13x46x14.5

F7106A Pad Clip  SUS 0.7x109.8+1.0tx40x12.4H

F7107 Dust Cover 0.8t-150x83x28h

27



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7108
Anti-Rattle

Clip
0.5t-38.8x66.2x24.7

F7109
Anti-Rattle

Clip
0.6t-43.3x52x17.3

F7110
Anti-Rattle

Clip
0.5t-43.5x73.5x15

F7111 23691
Anti-Rattle

Clip

F7112 23692
Anti-Rattle

Clip

F7113 Antirattle Clip 0.6t-50x67.5x23H

F7115 23590 Support Spring 1.5t-27.7x128.7x14.6

F7116 22384 Support Spring 1.5t-18.4x123.3x16.6

F7117 23287 Antirattle Clip 0.4t-81.5x36x20.2

F7118 Antirattle Clip 0.4t-28x62.6x17

F7119A Pad Clip 0.7tx126+1.0tx64x17H

28



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7120 23310
Anti-Rattle

Clip
0.4t-35x77x14H

F7121 23337
Anti-Rattle

Clip
0.4t-33x63x17

F7124 Pad Clip 1.0t-66+0.7x120x30w

F7125A Pad Clip 1.0t-62X15w+0.7tx126x30w

F7126
Anti-Rattle

Clip
0.3t-62x48x14h

F7127 6024 Sensor Clip 0.5t-25x8.9x8.2

F7128 23277
Anti-Rattle

Clip
0.4t-38x88.3x12H

F7129 22810 Sensor Clip 0.8t-12x13.5x8.0

F7130 23504
Anti-Rattle

Clip
0.4t-38.5x68x12.5

F7131 23505
Anti-Rattle

Clip
0.4t-38.5x68x12.5

F7132 23212
Anti-Rattle

Clip
0.4t-40x68x25.5H

29



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7133 Antirattle Clip 0.5t-31x55x10.6

F7134 23627 Antirattle Clip 0.4t-22.8x15x29.8

F7135 23628 Antirattle Clip 0.4t-22.8x15x29.8

F7136 23629 Sensor 0.5t-20.5x9.7x32.1

F7137 23630 Sensor-L 0.5t-20.5x9.7x32.1

F7139 23334 Antirattle Clip 0.4t-32x60.9x12.4h

F7140 22205
Anti-Rattle

Clip
0.5t-9.15x58.5

F7141 22940
Anti-Rattle

Clip
0.4t-37x70x13H

F7142 22598
Anti-Rattle

Clip
0.4t-37x70x13H

F7143 22875
Anti-Rattle

Clip
0.4t-36x75x12.4H

F7144 22527 Sensor 0.6t-10.2x27.5x8.6

30



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7145 23279
Anti-Rattle

Clip
0.6t-10.2x27.5x8.6

F7146 22876
Anti-Rattle

Clip
S-0.5t-22x99x17.8H

F7147 22878
Anti-Rattle

Clip
S-0.5t-22x89x17.5H

F7148 24010
Anti-Rattle

Clip
0.4t-38x57x13.8

F7149 23740
Anti-Rattle

Clip
0.45t-43x53.9x18.4

F7150 24354
Anti-Rattle

Clip
0.4t-42.8x70x15

F7155 24272
Anti-Rattle

Clip
0.5t-14.7x27.2x12.2

F7156 22877 Support Spring 2.0t-21.8x16.5x151.6

F7157 22386
Anti-Rattle

Clip
S-0.4t-48x46x18

F7159
Anti-Rattle

Clip
S-0.4t-61x40-14.5

F7160-R/L
Anti-Rattle

Clip
1.5t-13.5x20x69.3

31



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7161 23018 Antirattle Clip 0.4t-41x58x20

F7162 21729 Sensor Clip 0.6t-13.5x11.8x8.0

F7163
Anti-Rattle

Clip
0.6t-40x88x18.5H

F7164
Anti-Rattle

Clip-B
0.6t-40x88x18.5H

F7165A 24350 Pad Clip 1.0t-29x168-1.0tx68.5

F7166 Pad Clip 0.8t-30.3 (70.5)x96.5L

F7167
Taper Plate

Spring
0.5tx6.0-φ22-56L (450L)

F7168A Pad Clip 0.8tx126+1.0tx67wx17H

F7169 Pad Clip 0.4tx48x26wx17.5H

F7170 22851
Anti-Rattle

Clip
0.4t-16.8x23 (A19.1x14.7)

F7171 22852
Anti-Rattle

Clip
0.4t-16.8x23 (A19.1x14.7)

32



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7172 23634 Sensor Clip-R 0.6t-21.2x25.4-13h

F7173 23635 Sensor Clip-L 0.6t-21.6x25.2-14h

F7174 24782
Anti-Rattle

Clip
0.5t-0.5t-9.7x77.8x6.4

F7175 5985
Anti-Rattle

Clip
0.4t-14.4x28.7x5.0

F7176 23211
Anti-Rattle

Clip
1.0t-13.4x96.3x8.3

F7177 23520
Anti-Rattle

Clip
0.4t-38x55.7x12.3H

F7178 22734 Sensor Clip 0.4t-17.8x21x16.6H

F7179 22735 Sensor Clip-R 0.5t-17.3x20.7x12H

F7183 23501
Anti-Rattle

Clip
0.45t-70.0x53-21.7

F7185 25325
Anti-Rattle

Clip
0.4t-16.6*28.2*31.7

F7186 25326
Anti-Rattle

Clip
0.4t-16.6*28.2*31.7

33



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

F7188 24392
Anti-Rattle

Clip
0.5t-76.2x45-13.6

F7189 24153
Anti-Rattle

Clip
0.45t-62.6x27-17

34



Piston Parts



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1306 Steel Piston φ35.94x29.9-φ25

P1314 Piston Shell φ34.97x52.5-φ30.15

P1314A-
R/L

7657
7658

Piston Ass'y
φ34.97x52.5+7R/L

  -φ11.78x13N

P1316 Piston Shell φ33.90x41.0xφ29.5

P1316A Steel Piston φ33.9x41.0

P1317 Piston Shell φ38.0x42-φ32.5

P1317A Piston Ass'y φ38.0x42-φ32.5

P1318 Piston Shell φ38.14x46.8-φ33

P1318A Piston  Ass'y φ38.14x46.8-φ33

P1319 Piston Shell φ30.1x45.5-φ25.8

P1319A Piston  Ass'y φ30.1x45.5-φ25.8

1



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1320 Piston Shell φ33.93x46.7-φ29

P1320A Piston  Ass'y φ33.93x46.7-φ29

P1320-1 Piston Shell φ33.93x46.7-φ29

P1320-1A Piston  Ass'y φ33.93x46.7-φ29

P1321 Steel Piston φ34.85x44.7-φ23

P1322 Piston Shell φ38.14x51.2-φ33

P1322A Piston  Ass'y φ38.14x51.2-φ33

P1322-1A Piston  Ass'y φ38.14x51.2-φ33

P1323 Piston Shell φ33.94x47.0xφ30.0

P1323A Piston Ass'y φ33.94x47.0xφ30.0

P1324 Piston Shell φ34.82x40.0-φ29.3

2



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1324A Piston Ass'y φ34.82x40.0-φ29.3

P1327 Steel Piston φ34.87x28.5-φ21.6

P1327-1 Steel Piston φ34.97x28.5-φ21.5

P1327-2 Steel Piston φ34.97x28.5-φ21.5

P1328 Steel Piston φ37.96x30.-φ25.0

P1328-1 Steel Piston φ37.94x29.9-φ25.0

P1329 Steel Piston φ38.09x28.6-φ25.0

P1330 Piston Shell φ30.18x43.8-φ27.5

P1331 Piston Shell φ33.90x47.0-φ27.5

P1331A Piston Ass'y φ33.90x47.0-φ27.5

P1332 Piston Shell φ32.97x44.1-φ25.83

3



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1333 Piston Shell φ35.97x47.0-φ30

P1333A Piston Ass'y φ35.97x47.0-φ30

P1334 Piston Shell φ35.93x50.8-φ25.8

P1334A Piston Ass'y φ35.93x50.8-φ25.8

P1336 Piston Shell φ37.98x51-φ33.8

P1336A-R Piston Ass'y φ37.98x51-R4-φ9.5

P1336A-L Piston Ass'y φ37.98x51-L4-φ9.5

P1340G Steel Piston φ38.13x46.2-φ29.8

P1340-1 Steel Piston φ38.13x46.2-φ29.8

P1341 Piston Shell φ30.20x46.7-φ25.7

P1341A Piston Ass'y φ30.20x46.7-φ25.7

4



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1342 Piston Shell φ33.93x39.6xφ26.3

P1342A Piston Ass'y φ33.93x39.6xφ26.3

P1345 Steel Piston φ30.10x22.0xφ22.0

P1346 Steel Piston φ31.96x45.7xφ23.35

P1347 Piston Shell φ38.06x51.1-φ33

P1347A Piston  Ass'y φ38.06x51.1-φ33

P1348 Piston Shell φ34.86x45.5-φ25.8

P1348A Piston  Ass'y φ34.86x45.5-φ25.8

P1349 Steel Piston φ38.05x35-φ25

P1350 Steel Piston φ38.05x29.2-φ25

P1351 Steel Piston φ33.92x35-φ23

5



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1352 Steel Piston φ33.92x27-φ23

P1353 Steel Piston φ30.10x35-φ19

P1354 Piston Shell φ37.96x47.0-φ30

P1354A Piston Ass'y φ37.96x47.0-φ30

P1355 Piston Shell φ37.97x49.0-φ33

P1355A-
L/R

Piston Ass'y φ37.97x49.0-φ33

P1357 Steel Piston φ30.98x47.9xφ22

P1358 Steel Piston φ34.92x45xφ24

P1359 Steel Piston φ38.06x45.0-φ26.5

P1360 Steel Piston φ38.00x45.7-φ25.5

P1361 Steel Piston  φ29.95x30xφ15.5

6



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1362 Steel Piston φ33.95x30.0-φ18.5

P1363 Steel Piston φ37.95x30-φ22.5

P1364 Steel Piston φ35.95x28.0-φ20.0

P1410G Steel Piston φ47.92x50.0xφ24

P1410G-1 Steel Piston φ47.92x47.4xφ22.8

P1411 Steel Piston φ47.92x50.0xφ38

P1411-1 Steel Piston φ47.92x50.0xφ38

P1411-2 Steel Piston φ47.92x50.0xφ38

P1412G Steel Piston φ47.92x50.0xφ38

P1412G-1 Steel Piston φ47.92x50.0xφ38

P1413 Steel Piston φ47.92x52xφ38

7



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1413-1 Steel Piston φ47.92x52xφ38

P1414 Steel Piston φ47.95x26.0xφ40.7

P1415 Steel Piston 47.95x33.0-φ40

P1415-1 Steel Piston 47.95x33.0-φ38

P1417 Piston Shell φ45.37x52.7x37.2

P1417A Piston Ass'y φ45.37x52.7

P1418 7800 Steel Piston φ45.90x51.1-φ37.9

P1419 7586 Steel Piston φ48.05x50.0xφ38

P1419-1 Steel Piston φ48.05x50.0xφ38

P1420 Piston Shell φ42.8x51.5xφ37.2

P1420A Piston Ass'y φ42.8x51.5xφ37

8



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1421 Steel Piston φ45.36x53.4xφ37.9

P1422 Steel Piston φ46.0x52.1-φ37.9

P1423 Steel Piston φ48.07x45-φ40.5

P1424 Steel Piston φ48.03x53.6-φ38

P1425 Steel Piston φ41.20x33.7-φ31.0

P1426G Steel Piston φ47.94x50.9-φ34.1

P1427 Steel Piston φ47.97x49-φ38

P1428 Piston Shell φ42.8x46.8-φ34.6

P1429 Steel Piston φ42.75x48-φ32

P1430 Steel Piston φ42.8x28.5-φ30.9

P1431 Steel Piston φ44.35x56.6-φ33

9



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1436 Steel Piston φ47.95x48.5-φ38.8

P1436-1 Steel Piston φ47.95x48.5-φ38.8

P1437G Steel Piston φ47.92x52xφ24

P1438 Steel Piston φ40.42x46.2xφ31.7

P1440 Steel Piston φ46.36x50.8xφ38.0

P1441 7625 Steel Piston φ41.45x28.6xφ28.5

P1441-1 Steel Piston φ41.45x26.95xφ28.5

P1442 Steel Piston φ45.40x46xφ34.3

P1443 Steel Piston φ49.40x29-φ34.6

P1444 Steel Piston φ40.4x29.7xφ28.5

P1445 Steel Piston φ44.40x51-φ33

10



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1446 Steel Piston φ48.06x47.8xφ39

P1447 Steel Piston φ39.97x30.10-φ25.0

P1448 Steel Piston φ45.95x47.0-φ30.5

P1449 Steel Piston φ45.06x50.0xφ35.6

P1450 Steel Piston φ41.94x50.5-φ30.1

P1453 Steel Piston φ42.75x44.7xφ31

P1454 Steel Piston Rev4→φ43.50x32-φ30

P1455 Steel Piston φ42.80x48.0-φ35

P1456 Steel Piston φ45.36x48.8-φ34.2

P1457 Piston Shell φ41.00x51.0xφ35

P1457A Piston Ass'y φ41.00x51.0xφ35

11



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1458 Steel Piston φ44.92x50.5-φ20

P1459 Steel Piston φ48.06x53.4-φ38

P1460 Steel Piston φ44.95x48-φ36

P1461 Steel Piston φ45.45x52.9-φ34

P1462 Steel Piston φ41.45x30-φ31

P1463A Steel Piston φ45.45x52.9-φ34

P1464A Piston Ass'y φØ41.20x43.5-Ø33.4

P1514 7684 Steel Piston φ53.94x44.5-φ44.5

P1515 7674 Steel Piston φ57.12x54.4-φ48.4

P1516 7572 Steel Piston φ53.94x45.3-φ44.5

P1517 7642 Steel Piston φ57.15x50.5-φ48.4

12



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1518G Steel Piston φ53.96x55.5-φ40.1

P1521 Steel Piston φ53.92x49.7-φ43.8

P1522 Steel Piston φ53.95x28.9-φ42.0

P1523 Steel Piston φ53.94x51.5-φ43.8

P1530 Steel Piston φ57.10x47.3-φ48.4

P1531 Steel Piston φ56.02x55-φ37

P1532 Steel Piston φ56.94x58.5-φ36

P1533 Steel Piston φ53.97x48.3xφ44.0

P1534 7865 Steel Piston φ53.95x53.2xφ45.0

P1535 7837 Steel Piston φ53.90x58.0xφ45.0

P1536 Steel Piston φ56.95x53.7xφ48.0

13



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1537 Steel Piston φ50.70x25.5-φ33

P1542 Steel Piston φ53.86x47.5xφ42.5

P1543 7591 Steel Piston φ57.04x48.4xφ47.2

P1544 7617 Steel Piston φ57.18x46.4-φ48.1

P1545 Steel Piston φ51.97x48.2-φ43.0

P1547 Steel Piston φ53.92x49.3xφ45.5

P1601 7513 Steel Piston φ63.45x43.5-φ54.2

P1601-1 Steel Piston φ63.45x43.5-φ54.2

P1602 7615 Steel Piston φ63.37x55.2-φ53.6

P1603 Steel Piston φ63.43x49.0-φ52.6

P1605 Steel Piston
φ63.54x50.8-φ53.5
       (P570 :φ54.7)

14



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1606 7603 Steel Piston φ59.95x59.0-φ48.0

P1607 Steel Piston φ59.95x29.9-φ42.0

P1610 7500 Steel Piston φ60.32x45.2-φ49

P1611G Steel Piston φ65.93x55.6xφ51.1

P1612 Steel Piston φ60.54x51.0xφ49.9

P1613 Steel Piston φ63.43x50.5-φ53.3

P1702 7502 Steel Piston φ74.55x49.7-φ62.2

P1703 7594 Steel Piston φ74.55x55.0xφ63

P1704 7819 Steel Piston φ69.85x55.1-φ58.4

P1801 7540 Steel Piston φ85.6x57.0-φ70

P1802 7677 Steel Piston φ85.98x55.5-φ70

15



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P1803 7595 Steel Piston φ79.93x54.8-φ68.8

P2301 7514 Al-Piston φ34.8x32-φ14.0

P2302 Al-Piston  φ38.14x49.2xφ27.7

P2303 Al-Piston
 φ29.95x30.0-φ16.5
             (BG:φ23.0)

P2304 Al-Piston
 φ33.95x30.0-φ18.5
             (BG:φ26.6)

P2304-1 Al-Piston
 φ33.95x33.5-φ18.5
             (BG:φ26.6)

P2305 Al-Piston
 φ37.95x30.0-φ22.5
             (BG:φ30.6)

P2305-1 Al-Piston
 φ37.95x33.5-φ22.5
             (BG:φ30.6)

P2401 7515 Al-Piston φ47.5x29.7-φ21.3

P2403 Al-Piston φ39.95x32xφ23.5

P2404 Al-Piston φ43.95x32xφ27.5

16



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P2405 Al-Piston φ45.95x30xφ29.3

P2406 Al-Piston φ39.94x29xφ23.4

P2407 Al-Piston Ø40.05*24.5

P2501 7538 Al-Piston φ55.37x48.5-φ45.5

P2502 Al-Piston φ52.20x30.0-φ26.0

P2503G Al-Piston φ59.90x55.5xφ45.2

P2601 7838 Al-Piston φ60.45x53.5-φ49.0

P2602 7569 Al-Piston φ63.45x56.5-φ53.0

P2603 Al-Piston φ65.91x58.55-φ40.0

P2604 Al-Piston φ60.15x30.6-φ26.0

P2701 7571 Al-Piston φ72.95x75.0-φ59.7

17



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P2702 Al-Piston φ73.05x70.5-φ45.5

P3301G 7654 F-Piston φ35.95x48.7-φ16.1

P3401 7715 F-Piston φ42.80x48.0-φ23

P3402 7815 F-Piston φ47.85x49.7-φ27.8

P3403M 7821 F-Piston φ45.05x53.0xφ23.9

P3405M 7859 F-Piston φ41.94x53.1xφ20.9

P3406M F-Piston φ44.32x56.35xφ23.6

P3407M 7820 F-Piston φ44.88x47.5xφ23.8

P3409M 7825 F-Piston φ48.05x49.2xφ27.9

P3410G 7862 F-Piston 47.97x52.5x30

P3412 F-Piston φ45.42x52.7-φ28.36

18



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P3413 7842 F-Piston
φ45.86x51.1-φ28

DM:φ45.87x51.1xφ30

P3414G 7710 F-Piston
φ47.93x50.4-φ24

DM:φ47.90x50.5xφ24

P3415 7822 F-Piston
φ48.02x49.7-φ31

DM:φ48.00x49.8xφ31.3

P3416G 7793 F-Piston φ47.92x50.0xφ24

P3418G 7813 F-Piston φ41.91x50.3

P3419 7868 F-Piston φ47.99x53.4xφ30

P3420G 7718 F-Piston φ47.88x47.25xφ30

P3501 7707 F-Piston φ55.40x48.5-φ33.3

P3502M 7809 F-Piston φ50.86x47.5φ34.3

P3504M 7823 F-Piston φ54.04x54.5x32.9

P3505M 7817 F-Piston φ50.88x57.2xφ29.8

19



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P3506M 7852 F-Piston φ50.7x62.8-φ30

P3507 7871 F-Piston φ50.67x50.6-φ23.9

P3508M 7818 F-Piston
φ56.90x64.8-

DM:φ56.89x58.5xφ35.8

P3509M 7794 F-Piston
(OE:φ56.12x55.1xφ35.6)
DM:φ56.03x55.1xφ35.5

P3510G 7696 F-Piston φ53.9x52xφ32.5

P3511 7827 F-Piston φ51.00x48.8xφ27.8

P3512M 7853 F-Piston φ53.90x58.4-φ32.9

P3513M 7811 F-Piston φ50.8x50.3

P3514 7874 F-Piston φ54.10x56.4-φ34.7

P3515G 7848 F-Piston φ50.98x52.4-φ32.4

P3516M 7865 F-Piston φ53.88x53.4-φ34.5

20



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P3517M 7869 F-Piston φ50.90x52.8xφ31.9

P3518M 7886 F-Piston φ50.98x59-φ33.2

P3519G 7849 F-Piston φ50.98x56.4-φ32.4

P3520M 7899 F-Piston OE : φ57.0x53.6xφ34.6

P3601G 7698 F-Piston φ66.0x52.0-φ36

P3602 7870 F-Piston φ65.87x60.5-φ42.9

P3606 7801 F-Piston φ59.95x52.0-φ39

P3607 7541 F-Piston
φ65.95x46.5xφ34.7

P3608M 7712 F-Piston φ65.94x58.7-φ35.8

P3609M 7828 F-Piston φ65.96x58-φ37

P3611M 7810 F-Piston φ59.89x59.7-φ38.6

21



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

P3612G 7816 F-Piston φ59.90x51-φ35.8

P3613M 7844 F-Piston φ63.975x54.25-φ38.15

P3614 7836 F-Piston φ63.9x55.88-φ42.82

P3615 7879 F-Piston φ60x53.4-φ

P3701 7533 F-Piston φ73.0x48.1-φ47.8

P3702M 7656 F-Piston φ73.08x70.5-φ42.0

P3703M 7826 F-Piston φ72.98x71.8-φ44

P3704M 7900 F-Piston φ69.975x54.25-φ

22



Rubber Parts



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1011 4212 Bolt O-Ring φ9.65xφ13.97

R1011-1 5924 Bolt O-Ring φ9.65xφ13.97

R1023 5631 O-Ring(EP70) φ2.0xIDφ9.8

R1027 O-Ring(EP70) φ2.49-φ9.7xφ14.68

R1028 Squre Seal φ4.8xφ8.0x2.1H

R1029 5222
Cross Over

Seal
φ2.0x5.84x9.65

R1030 23535 O-Ring P-8 φ2.-ID8.0xφ12.0

R1033 Cup-Seal φ5.1xφ10.45x2.9

R1034
Cross Over
      Seal

φ1.9-φ8.8xφ12.5

R1037 22646 Lip Seal Idφ6.6xODφ12.7x3.0h

R1038 22238 Lip Seal IDφ8.0xφ13.4x3.6

1



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1103 4211 Sleeve O-Ring φ15.8xφ21.8x5.0H

R1103-1 4346
Sleeve O-Ring

Teflon 3
Coated

φ15.8xφ21.8x5.0H

R1104 5632 Lip Seal φ13.0xφ18.6x2.8t

R1105 22422
Cross Over

Seal
ID12.0x2.1wx2.0t

R1107 20597 O-Ring
BBP:φ1.86xφID10.61
       ±0.07, ±0.12

R1109 O-Ring P14.2-φ2.65xID14.2

R1110 O-Ring G11.2-φ2.0xID11

R1111 O-Ring P17.7-φ2.5xID17.5

R1112 O-Ring P12.7-φ2.6xID12.5

R1113 O-Ring G19-φ1.8xID18.6

R1202 21075 Lip Seal φ23.0xφ31.8-4.07

2



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1203 4252 Lip Seal φ26.3xφ36.8-3.7

R1204 23798 Piston Seal φ28.32x2.92wx3.18cut

R1301 5362 Piston Seal φ38.23x3.05wx3.18cut

R1303 4946 Piston Seal φ34.42x3.05x3.18cut

R1304 5363 Piston Seal φ36.32x2.92wx3.18cut

R1305 6088 Piston Seal φ35.18x2.92wx3.3cut

R1306 4251 Lip Seal φ37.8xφ49.5x4.8

R1307 5637 Piston Seal φ30.48x2.9wx3.3c

R1309 22539 Piston Seal φ35.94x3.18wx3.18c

R1311 Piston Seal φ36.3x3.0wx3.2c

R1313 5989 Piston Seal φ33.78x2.92wx3.05c

3



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1316 23411 Piston Seal φ32.00x2.92wx3.18c

R1401 21991 Piston Seal φ47.9x3.0wx3.7cut

R1405 23458 Piston Seal φ45.7x3.0wx3.2c

R1406 4949 Piston Seal φ43.7x2.92wx3.3c

R1407 22224 Piston Seal φ46.03x3.0wx3.8c

R1409 22448 Piston Seal φ49.0x4.4wx3.2c

R1411 22404 Piston Seal φ46.03x3.0wx3.4c

R1412 5226 Piston Seal φ48.26x2.92x3.3c

R1413 22975 Φ46.56x3.05x3.18c

R1415 23223 Piston Seal φ42.92x3.05wx3.3c

R1416 24505 Piston Seal φ48.39x3.05x3.23c

4



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1417 20847 Piston Seal φ45.6x3.05wx3.2c

R1420 5303 Piston Seal φ40.97x2.92wx3.18c

R1421 22134 Piston Seal φ44.2x3.0wx3.6c

R1423 4231 Piston Seal Φ41.2x2.5Wx2.3c

R1424 4232 Piston Seal φ49.4x2.5wx2.32c

R1426 Cup-Seal φ41.6xφ54.2x4.4

R1427 Cup-Packing φ39xφ52.6x5.2

R1429 23379 Piston Seal φ44.4x2.9wx3.3cut

R1430 4359 Cup-Seal φ48.4xφ59x3.7

R1432 23371 Piston Seal φ43.6x3.1x3.15cut

R1433 20499 Piston Seal φ42.16x3.05Wx3.18c

5



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1434 24639 Piston Seal φ46.03x2.9wx3.2c

R1435 4438 Piston Seal φ40.64x2.92wx3.18c

R1502 4759 Piston Seal φ54.2x3.05x3.2c

R1503 4986 Piston Seal φ57.12x3.05x3.18c

R1504 21435 Piston Seal φ55.2x3.0x3.6c

R1505 22455 Piston Seal φ50.6x2.95wx3.56c

R1507 22601 Piston Seal φ50.8x3.0wx3.2c

R1508 22706 Piston Seal φ55.63x3.05wx3.55c

R1509 5655 Piston Seal φ51.3x3.2wx3.2c

R1510 Piston Seal φ54.4xX2.85wx3.2c

R1511 4287 Piston Seal φ55.25x2.48x3.48c

6



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1513 4352 Piston Seal 53.85x3.05x3.18c

R1515 4617 Piston Seal φ51.31x2.92wx3.18c

R1516 5471 Piston Seal φ58.67x2.9Wx3.3c

R1517 23826 Piston Seal φ54.0x3.05wx3.68c

R1518 Piston Seal φ52.4x2.8wx3.2c

R1519 23240 Piston Seal φ51.18x3.05Wx3.56c

R1520 23038 Piston Seal φ58..29x3.32Wx3.18c

R1521 5351 Piston Seal φ52.53x305Wx3.18c

R1522 5469 Piston Seal φ57.76x2.92Wx3.175c

R1601 22342 Piston Seal φ63.68x3.0.5wx3.18c

R1602 4296 Piston Seal φ66.04x3.05wx3.18c

7



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1603 22710 Piston Seal φ65.96x3.05wx3.8c

R1604 20950 Piston Seal φ61.7x3.05wx3.3c

R1605 Piston Seal φ70.5x3.0wx3.3c

R1606 4388 φ59.94x3.05wx3.2c

R1607 22820 Piston Seal φ64.77x3.05wx3.3c

R1608 5464 Piston Seal φ62.74x3.3wx3.6c

R1609 23049 Piston Seal φ63.5x3.05wx3.56c

R1610 4228 Piston Seal φ60.2x3.05wx3.84c

R1702 4224 Piston Seal Φ74.68x3.05x3.18c

R1705 4302 Piston Seal φ73.2x3.0wx4.0c

R1706 22623 Piston Seal Φ69.47x3.10wx3.51c

8



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R1801 22377 Piston Seal φ86.2x3.0wx3.3c

R1802 4411 Piston Seal φ80.01x3.05wx3.2c

R1803 4322 Piston Seal φ85.60x3.2wx4.0c

R2003 5483
Piston Boot -

P73
IDφ59xφ98x18-φA80

R2006 5629 Guide Boot φ12.0xφ22.2x22.0

R2007 5463 Piston Boot φ52xφ83x20.6φ72.0x1.9

R2007-S 23884 Piston Boot
φ52xφ83x20.6φ72.0x1.9
R2007 Siliconee version

R2008 Stud Boot φ13xφ26-7.5

R2009 Piston Boot φ24xφ47-11.3φ41.5

R2010 6056 Guide Boot φ12.2xφ24x23.0φ23x2.5

R2011 5635 Piston Boot φ34xφ55x12.5φ50x2.5

9



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2012 20719 Guide Boot φ11xφ19-26.5

R2013 4442 Piston Boot φ46xφ69x11.0φ64.0x2.5

R2014 20802 Guide Boot φ10.2xφ22-36.5

R2015 4286 Piston Boot φ43.7xφ71.6x16.7φ63.9x1.8

R2015-S 22084 Piston Boot
φ43.7xφ71.6x16.7φ63.9x1.8

R2015 Siliconee Version

R2016 20726 Piston Boot φ40.0xφ62x9.0φ59.0x1.9

R2017 20544 Guide Boot φ12xφ26-26

R2018 20543 Guide Boot φ11.5xφ28-12.2

R2019 5381 Guide Boot φ9.6xφ22.6-14.0

R2020 21976 Guide Boot φ16xφ34.92-13φ28x2.0

R2021 20569 Piston Boot φ42.4xφ62-11.8φ56.7

10



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2022 5316 Guide Boot φ11xφ18-29.5

R2023 5304
Piston Boot -

P48
 φ37.6xφ60x11.5φ55

R2024 22447
Piston Boot -

P48
φ40.0xφ58x13φ55.5x2.0

R2026

POS:
106035130
 (BC360-
012-00Z3)

Piston Boot  -
P38

φ30xφ49.4x11.5φ46.0x2.2

R2027 20874
Piston Boot -

P30
φ24xφ46.7x11φ39.3x2.0

R2028 21034 Guide Boot φ10.5xφ24.5x18.2

R2029 5944 Piston Boot φ25x φ46x11.5φ42

R2030 20724 Cam Boot φ12.5x φ26x7.0φ22.0x

R2032 20509 Piston Boot
φ23.5xAφ45.5x7.3

(IBI:φ21.8xAφ45.97)

R2033 23326 Guide Boot S φ8.0xφ20x20.8

R2034 23012
Piston Boot -

P63
φ50.0xAφ78.8x7.0

11



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2035 22521
Piston Boot -

P38
φ29.0xφ46.6x11.3φ46.3x1.9

R2036 4964
Piston Boot -

P38
φ23.4x6.0φ48.8x4.7

R2037
Piston Boot -

P48
φ38xφ58x10.5φ

R2038 5404 Guide Boot φ11.0xφ23.5x13.5

R2039 21769 Guide Boot-L φ10xφ26.5x29.5φ17.0x3.0

R2040 20464 Guide Boot-S
φ10xφ25.4x26φ15.2x3.0

(BBP:φ11.7xφ25.5x24.9- )

R2042 (21153대체)
Piston Boot -

P36
φ28xφ47x11.5φ43x1.9

R2042-1
Piston Boot -

P30
φ28xφ47x11.5φ43x1.9

R2043 Guide Boot φ15.0xφ32x15.8φ27.5x2.2

R2044 22454
Piston Boot -

P60
φ51xφ72.9x13.5 68

R2045 21924 Guide Boot
    φ10.2xφ24x27φ16
 →φ10xφ21.6x27φ16

12



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2046
Piston Boot -

P48
φ38xφ58.5X10φ55.4x2.0

R2049 20774 Guide Boot φ9.9xφ21.2x28.3

R2050 Guide Boot φ13xφ26x27

R2051 23268 Piston Boot (φ38.7xφ62.5x12φ58.5)

R2052 5788 Piston Boot φ46xφ63.5x10.5φ61x2.0

R2053 22597 Guide Boot φ11.4xφ27.7x35.0φ16.5

R2055 23213 Piston Boot φ51xφ77x13.0φ72.0

R2057 23632
Piston Boot -

P40
φ31xφ53.3x9.0φ48.0

R2058 5586 Guide Boot φ9.7xφ19x14.2φ15.2

R2059 22548 Piston Boot φ35.3xφ59.4

R2060 22390 Guide Boot φ9.7xφ19.6x21.3φ18.2

13



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2061 4431 Piston Boot φ42.7xφ69x11.5φ63

R2062 20563 Piston Boot φ47xφ77.5x11.6φ66.8

R2062-S 23030 Piston Boot
φ47.2xφ77.5x11.6φ66.8
R2062 Silicone Version

R2063 Stud Boot φ9.6xφ16.3x3.9

R2064 24065 Guide Boot φ9.5xφ22x35φ15.5

R2065 4242 Piston Boot φ33.5xφ60.5x12H49.0

R2066 4321 Piston Boot φ719xφ106.9x127-φ93.6

R2067 23267 Piston Boot φ43xφ65.5x12.5φ61.6

R2068 4243 Piston Boot φ40xφ68.5x13.5H-

R2069 20880 Piston Boot φ28.2xφ49.5x5.5

R2070 20983 Piston Boot φ29xAφ52.6x8.6

14



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2070-1 5935 Piston Boot φ25.4xAφ52.3x8.0

R2071 Piston Boot φ40.0xφ63.8-11.2

R2072 Piston Boot φ39xφ66-8.4

R2073 20437 Piston Boot φ22x φ42.2x12φ38

R2074 Dust Boot φ58x65.6Lx37.5

R2075 Piston Boot φ23.4xφ47.4x9.5φ45.8

R2076 Piston Boot φ23.0xφ44x6.7φ38.2

R2077
Piston Boot -

P32
(φ22.3xφ42.7x10.7φ39.5)

R2078 Guide Boot φ10.1xφ21.0-20.8

R2079 22842 Guide Boot φ11.8xφ23.8x28.4

R2080 23781 Guide Boot φ10.7xφ22.8x32.4-φA18.6

15



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2081 5932 Piston Boot φ42xAφ72.3x7.5

R2082 5429 Guide Boot φ9.8xφ17.7x21.6φ16.0

R2083 4975 Piston Boot φ47.3xφ72.6x11.6

R2084 23321 Guide Boot φ13.7xφ22.9x32.5

R2085 23329 Stud Boot φ9.0xφ29.5x9.8φ18

R2086 22748 Guide Boot φ13.8xφ28.5-27

R2087 4370 Piston Boot φ48.8xφ78.0x9

R2088 23841 Guide Boot φ8.4xφ23x28φ15.6

R2089 5946 Piston Boot φ31.0xφ51.8x11.2φ

R2090 24256 Guide Boot φ8.0xφ22.0x21φ14.0

R2091 Piston Boot φ24.2xφ43.2x12.2φ38.2

16



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2092 22330 Guide Boot φ8.1xφ20x28xφ14

R2094 Dust Seal φ19.0xφ28.0-6.0(4.5)

R2095 22726 Guide Boot S:φ8.7xφ22.6-21.8

R2096 20571 Piston Boot φ31.5xφ56.9x9

R2097 24301 Guide Boot φ9.4xφ23.9x21.1

R2098 24012 Guide Boot Ø11.43xØ22.1x29.5

R2099 23213 Piston Boot Ø50.29xØ76.2-11

R2501 21529 Piston Boot φ38xφ61.5x13.1φ58.7x5.5

R2502 22489 Piston Boot φ40xφ63.0x9.7φ60.5x5.5

R2503 5229 Piston Boot φ55.9xAφ87.45x11.9

R2504-S 20562 Piston Boot
φ59.2xφ82x8.8Hφ79.8x4.9

-Siliconee Boot-

17



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2505 Piston Boot φ35xφ58.2x14φ55.1x5.8

R2506 4337 Piston Boot φ46xAφ78.3-6.0

R2508 3540 Piston Boot φ52.5xφ79.4x9.8φ76.6x5.3

R2509 20505 Piston Boot φ26.0xφ50.2x9.0φ45.5x6.5

R2510 6014 Piston Boot φ62.0xφ91.2x7.6φ85.6x5.2

R2511 2225 Piston Boot φ38xφ60.6x12.0φ56.6x9.2

R2512 5372 Piston Boot φ48.0xφ74.2x9.5φ69.6x7.5

R2513 20680 Giude Cap Aφ15.82xφ18x6.0

R2514 20843 Piston Boot φ66.0x6.6φ98.9-4.6

R2515 6090 Locator Aφ31.37xφ42.4-4.4t

R2516 6087 Piston Boot φ25.7x9.8φ51.1-5.2

18



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2517 4342 Screw Boot φ15.3xφ26.15-2.6t

R2518 6032 Piston Boot φ59.0x6.6φ92.8x4.4

R2519 6001 Bolt Cover φ13.4xAφ24.7x4.5

R2520 5276 Guide Boot φ15.5xφ28.3-22.5φ24.0

R2521 4246 Piston Boot φ29.4x8.1φ54.25x3.7

R2522 4247 Piston Boot φ18.1x8.5φ41.5-3.7

R2523-S 22712 Piston Boot
φ60.5xφ87x10φ84.7x5.8

-Siliconee-

R2524 21708 Piston Boot φ49xφ74.6x10φ71.9x6.5

R2525 6031 Piston Boot φ56xAφ87.5-7.0

R2526 5196 Piston Boot φ46xAφ78.9-8.8

R2527 6060 Piston Boot φ44.5xAφ76.2-7.0

19



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2528 22415 Stud Boot φ9.8xφ25x10.0φ20.4x6.0

R2529 22521 Guide Boot φ10.1xφ25.4x36.5φ19.66x7.5

R2530
20876
22415

Cam Boot φ13.5x5.0φ21.2x4.0

R2531 22403 Piston Boot φ38.6x8.6φ61.0x5.6

R2532 22836 Piston Boot φ41.6xφ70.8x12.563.8x2.5

R2533 21913 Guide Boot φ11.0xφ24x26φ17.1

R2534 23390 Piston Boot φ33.8x9.0φ58.0x6.3

R2535 22928 Guide Boot φ10.0xφ25.4x12.7φ19.65x7.4

R2536 Stud Boot φ13.7xφ30x5.0

R2537 Piston Boot φ22xAφ49.2x8.0(4.0)

R2538 20530 Cam Boot φ12xφ31.1x12φ25.6x4.8

20



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2539 21771 Giude Cap φ19.6x9.4 φ17.96x4.6

R2540 Giude Boot φ10.2xφ25.1x24φ23.45x8.7

R2541 Stud Boot φ16.6xφ31x1.8/4.8

R2543 Stud Boot φ16.6xφ30x5.0

R2544-S 22709 Piston Boot
φ57xφ80x9.2φ77.5x5.8

-Siliconee-

R2545 22133 Piston Boot φ32.5xφ58.5x9.0φ54.6x5.5

R2546 22700 Piston Boot φ38xφ63.6x14/IDφ57.6

R2547 22600 Piston Boot φ38xAφ65.8x8.5

R2548 23731 Piston Boot φ33.0xAφ61.5x7.8

R2549 23460 Piston Boot φ38xφ61.9x10.5φ58.8x8.8

R2550 22674 Piston Boot φ45xAφ68.7-8.0

21



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2551 22883 Piston Boot φ44xφ68x10.2φ64.4x6.2

R2552 23465 Piston Boot φ32.5xAφ59.5x7.3

R2553 22615 Piston Boot φ44xAφ71.88x9.5

R2554 Piston Boot φ35xφ59.0-8.7

R2555 Piston Boot φ30xφ50.0x6.6

R2556 Piston Boot φ34xφ54x7.5

R2557 Piston Boot φ30.5xφ50.6x5.5

R2558 23082 Piston Boot φ49xφ73.0x5.3-φ68.9

R2559 22622 Piston Boot
φ59xφ82.8x13.8-φ80.5

-Silicone-

R2560 23302 Piston Boot φ50.4xφ76x13.5 69.8

R2561 23303 Piston Boot φ32xφ57.6x13.4-φ51.3

22



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2562 23828 Piston Boot ABS:φ41.15xφ69.4x9.0φ64.8

R2562-S Piston Boot ABS:φ41.15xφ69.4x9.0φ64.8

R2563 23239 Piston Boot φ41.5xφ64.8x10φ61.8

R2564 Piston Boot φ22.1xAφ38.15x6.3 (28, 30)

R2565 Piston Boot φ25.9xAφ41.9x6.3 (32, 34)

R2566 Piston Boot φ29.0xAφ46.0x6.3 (38)

R2567 Piston Boot φ32.4xAφ49.6x6.3 (41.5)

R2568 21267 Piston Boot φ51.6xφ78x8.0

R2569 23048 Piston Boot
φ51xφ77x13.5-φ74.3

-Silicone-

R2570 Piston Boot φ35.6xAφ55.2x5.3

R2571 22551 Piston Boot φ29.6xφ56.4x10.3-φ52.5

23



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R2572 23839 Piston Boot φ34xφ56.1x9.4-φ52.1

R2573 24656 Cam Boot φ8.8xφ22.2x1018.4

R2574 23898 Piston Boot φ35.3xφ56x6.3-IDA51.7

R2575 23523 Piston Boot φ28.7xφ50x6.3-IDA45.7

R2577 23625 Piston Boot (S:φ56.4xφ81.8x13.5=IDAφ75.7)

R2578 4383 Piston Boot φ59.4xAφ90.17x7.4 (10.2)

R2579 Piston Boot φ51xAφ90.2x11.0

R2582 24366 Piston Boot φ41.65xAφ70.9x9.5

R3001 22341 Guide Bushing
φ12.0xφ21.2x38.7φ19.2
(IBI:φ11.4x38.6φ19.56)

R3002 5751 Guide Bushing φ10.0xφ22.8x63

R3003 Guide Bushing φ12.5xφ24-54.4

24



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R3004 6057 Guide Bushing φ12.6xφ24-74

R3005 20801 Pin Bushing φ7.0xφ11.1-8

R3006 20851 Guide Bushing φ15.6xφ22.7-57.8

R3007 23368 Pin Bushing φ7.32xφ9.9-18.6

R3008 20587 Guide Bushing φ15.2xφ21.0x49.3

R3009 23236 Guide Bushing φ11.3xφ21.5x39.0φ19.5

R3010 4366 Guide Bushing φ13xφ18-52

R3011 21692 Guide Bushing φ9.4xφ24x38φ19.2

R3012 23640 Pin Bushing φ7.0xφ10.87x9.9

R3013 22522 Pin Bushing φ7.5xφ12x26.8

R3014 25102 Pin Bushing φ4.57xφ8.64x7.87

25



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R3015 21936 Pin Bushing φ8.9xφ11.4-5.0

R3016 5444 Guide Bushing φ10.0xφ24-56

R3017 21768 Guide Bushing φ10xφ24.2x43.5φ18.4

R3018 24389 Pin Bushing φ8.1xφ10.4-21.3

R3019 22896 Pin Bushing φ6.1xφ10-8.0

R3020 22389 Guide Bushing φ10xφ18-86.7φ13.2

R3021 23805 Pin Bushing φ6.5xφ10-9.5

R3022 22688 Guide Bushing φ12.5xφ28.4x83

R3023 23320 Pin Bushing φ8.89xφ11.68-17.8

R3024 5424 Guide Bushing φ10xφ18.4x77φ12.8

R3025 23231 Guide Bushing φ15.6xφ25.4X39.5φ23.9

26



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R3026 22737 Giude Bushing φ11.68xφ26.4x41.2φ20.0

R3027 23246 Guide Bushing φ9.9xφ18.8-79.8

R3029 24096 Pin Bushing Ø11.4xØ16.0x12.6

R4003 21783 Support Pin 14.5x14.35x92.7

R4004 22540 Support Pin 14.5x14.8x138.9

R5001 9460 B/Screw Cap M10-φ5.5xφ12x11.4

R5002 9461 Hole Plug M10 φ9.9xφ14-12

R5004 Hole Plug 7/16"-φ10.9x19.2x11.6

R5005 4417 Check Valve φ4.9xφ11.7-5.7t

R5006 B/Screw Cap M8, 5/16

R5007 21661 Bushing Cap φ12.8xφ15-18.2

27



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R5008 B/Screw Cap M10, 3/8

R5009
Protector

(Protective cap
M10-49

R5010 Hole Plug 1/2"

R5011 5452 Guide Plug φ12x6.4φ7.1

R5012 B/Screw Cap M10 φ12x9.0x49L

R5013 24609 Guide Plug Ø24.1x4.8

R9004 Nylon Bushing
Nyron 66

  φ22.2xφ28.4x20.2

R9005 4343 Nylon Washer 0.4t-φ16.0xφ22.0

R9008 Bearing Clip 3xφ8-φ30.5-2.6

R9009 Backup Ring 1.6t-IDφ14.4x17.8

R9010 Roter Cover φ32x0.35t

28



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

R9011
Backup Ring

P10A
1.1t-IDφ10.2xφ14.0

R9012 23237 Bushing Cap φ13.3xφ19.5x13.3φ16.8

R9013 Hole Plug-8.7 3/8-24UNF- φ8.8x9.5

R9014
Hole Plug-

10.5
7/16-20UNF
    φ10.5x9.5

R9015 Hole Plug-1/4
1/2-20UNF

    φ11.5xφ16.8x9.5

R9018 Hole Plug Aφ14.4xφ24.6x9.6

R9019 23232 Bushing Cap φ23.3xφ20.7x13.7

29



Wire Parts



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W1001 Inner Spring φ3.6-ODφ23.2x22.2 -RH3.8N

W1003 5175 Piston Spring φ1.2-ODφ24.5x52 -LH5.5N

W1004 5176 Piston Spring φ1.2-ODφ20.3x55.5 -LH8.0N

W1009 Return Spring φ3.2-ID15.0x28 -RH5.4N

W1009-1 Return Spring φ3.2-ID15.0x22.5 -RH4.3N

W1010 Return Spring φ3.2-ID14.6x23.4 -RH5N

W1011 Balance Spring φ1.8-ID25.7x63 -RH6.5N

W1012 Inner Spring φ3.0-ID21.5x24.5 -RH4.0N

W1013 Taper Spring φ2.3-ID11.8x16.5-RH3.75N

W1014 Return Spring φ3.0-OD21.0x28.0-RH5.4N

W1015 Return Spring φ3.8-OD24.4x26-RH4.25N

1



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W1016 Balance Spring φ1.3-OD28.8x17.3-RH3.25N

W1017 Return Spring φ1.6-OD18.4x29.5-RH5.0N

W1018 Return Spring φ1.6-OD18.2x13.0-RH3.2N

W1019 Cone Spring
φ2.8-ID15.2xOD30.2
       x10.3-LH1.75N

W1020 Return Spring φ3.0-OD23.2x28-4.8N

W1021 Taper Spring
φ1.1-IDφ26xODφ51
       x60-RH5.75N

W1024 A/Nut Spring
φ2.2-D20.5+OD23.5)

 x16.5-RH3.75N

W1025 A/Nut Spring φ2.6-IDφ14.8x27.2L-RH4.8N

W1026 Piston Spring
φ3.0xODφ22.3x20.6-RH4.2N

→φ3.0xODφ22.3x20.6
                    -LH4.2N

W1027 Taper Spring
Ø2.2-IDØ16.3*IDØ19
               -16.3x3.7N

W2001-
R/L

Lever Spring φ3.2-φ20.7x12.8

2



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W2002 Return Spring 2.6-ODφ17.18x62.6L-LH14N

W2003 Lever Spring φ1.6xOD12x65

W2004 Lever Spring φ2.1xOD13x6 -13.5N

W2005 Lever Spring φ2.0xOD12.2x79

W2007 Lever Spring φ1.7xOD11.6x40.8-RH12.5N

W3001-
R/L

Lever Spring
φ4.5-ID31x32H-LH3.5N
                   -RH3.5N

W3002-
R/L

Lever Spring-
SUS

φ3.0-ID21x20H-LH4.5N
                   -RH4.5N

W3003-
R/L

Lever Spring
φ3.2-ID20.6x29.2H-RH4.5N

                      -LH4.5N

W3004-
R/L

Lever Spring
φ3.2-ID20.6x20H-RH5.5N

                     -LH5.5N

W3005-
R/L

Lever Spring
φ3.0-ID12.2x16.8H-RH4.25N

                       -LH4.25N

W3006 Nut Spring φ1.0-ID15.1x(8.2H)-LH1.8N

3



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W3007-
R/L

Lever Spring
φ3.5-ID20.8x21H-LH5.3N
                     -RH5.3N

W3008-
R/L

Lever Spring
φ3.2-ID20.8x28.6-LH5.3N

                     -RH5.3N

W3009-
R/L

Lever Spring
φ3.8-ID21.6x32.6H-RH6.0N

                       -LH6.0N

W3010-
R/L

Lever Spring
φ3.2-ID20.8x27H-RH5.0N

                     -LH5.0N

W3011-
R/L

Lever Spring
φ3.0-ID19x29-RH4.5N
                 -LH4.5N

W3012-
R/L

Lever Spring
φ3.0-IDφ50x(31.9H)
          -RH1+5/8N
          -LH1+5/8N

W3014-
R/L

Lever Spring
φ3.5-ID21x32.7H
          -RH5+1/3N
          -LH5+1/3N

W3015 Nut Spring
φ1.7-ID15.0x13.5H
           -RH4.5N

(대진:φ1.6)

W3016-
R/L

Lever Spring
φ2.5-ID20x59.2x61-17.5H

           -3.3NR
           -3.3NL

W3017-
R/L

Lever Spring
φ3.0-IDφ17.9x   -RH4.5N

                    -LH4.5N

W3018-
R/L

Lever Spring φ2.6-ODφ17.3x43.1-LH4.5N

4



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W3019 Lever Spring φ2.6-ODφ17.3x43.1-RH4.5N

W3020-
R/L

Lever Spring
φ4.0-ID23.6x27H-RH3.5N

                     -LH3.5N

W3021-
R/L

Lever Spring φ3.2-OD25.5x69.5x55-15H

W3023-
R/L

Lever Spring
R φ3.2-ID21.7x16.1-LH3.4N
L: φ3.2-ID21.7x16.1-3RH.4N

W3024-
R/L

Lever Spring φ3.2-ID21.2x4.25N

W3025-
R/L

Lever Spring

R φ3.0-ID23.6x63.7x22
                          -LH3.3N

L:φ3.0-ID23.6x63.7x22
                         -RH3.3N

W3026-
R/L

Lever Spring Ø4.5-IDØ57.7-3N

W3028-
R/L

Lever Spring

W4001 4749 Spring Clip-M φ1.2-74x44

W4002 5984 Spring Clip-V φ1.4-18.4x87.4x8.8H

W4003 3541 Spring Clip-W φ2.0-15x76.4X12.5

5



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W4004 22960 Spring Clip-Z φ3.8-84x175x(9.9H)

W4005 21272 Spring Clip-W φ2.2-17.5x71.6x10.8

W4007 22022 Spring Clip-V φ1.2-33x85x7

W4010 Spring Clip-M φ1.2x65.4x49.4

W4011 Spring Clip-W φ1.2x14x66

W4012 21690 Spring Clip-V  φ1.2-75x42

W4013 Spring Clip-T φ2.5-137.5x31x16.6

W4014 22697 Spring Clip-V φ3.0-35x18x220

W4015 22749 Spring Clip-V φ1.7-44x95x8.9H

W4016 Pad Spring φ1.8x40x62x18

W4017 Spring Clip φ2.4-55x45

6



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W4018 Pad Spring φ2.0x40x72x18

W4019 Pad Spring φ1.8x63x54

w4022 24521 Spring Clip φ1.4-37.4x103.6x10.8

W4023 22699 Spring Clip

W5001 Boot Spring φ1.8 - ID62

W5002 Wire Ring-C φ2.6 - OD28.2

W5003 Boot Spring φ1.6-φ45

W5004 20864 Boot Spring φ1.6xODφ76

W5005 Wire Ring-C H28-φ1.6-OD31

W5006 4950 Boot Spring  φ1.6-ID44.8

W5007 Boot Spring  φ1.8 - ID52

7



 
JC 

Part No.
I.B.I

Part No.
Part Name Specification Picture

W5008 Boot Spring φ1.6-IDφ48

W5009 Wire Ring-C H25.8-φ2.5-OD27.4

W5010 Wire Ring-C φ1.5-ODφ23.5

W5011 5975 Boot Spring φ1.6-IDφ45

W5012 5936 Boot Spring
φ1.4-ODφ53.6

BBP:φ1.4-ODφ55.5-31)

W5013 Wire Ring-H26 φ2.0-ODφ29.1

W5014 Boot Spring φ1.6-IDφ41-7mm겹침

W5015 Boot Spring φ1.6-O.Dφ83

W6001 Snap Pin-φ6 φ1.2 - 21.2

W6002 Split Pin-φ2.5 φ2.3 x 15

W6003 Split Pin-φ5 φ5.0x50 (3/16-2")

8



Carbon
Clutch
System

 Troque Capacity : 112Kgf.m
 Pressure Plate : 1,300Kg
 Clutch Kit Wt(Kg) : 4.2Kg
 Application : Street, Racing

Carbon
Triple
Clutch

 Carbon Brake & Pad
 Size : OD400, T 38mm
 Assembly Wt(kg) : 4.2Kg
 Application : F-1

Carbon-Ceramic Disc Brakes

  C-Sic Disc Brakes have been produced as an extension of carbon-ceramic 

  disc brakes technology developed in conjunction with the Hyundai Motor Company.

  C-SiC Disc Brakes utilize carbon fiber reinforcement and silicon carbide(SiC)

  matrix, materials which offer excellent braking performance and greater safety

 Carbon Brake & Pad
 Size : OD330, T 25mm
 Assembly Wt(kg) : 3.6Kg
 Application : Drag Racing

Carbon
Single
Clutch

Carbon Clutch Carbon Brake Disk & Pads

Carbon
Disk Brake

Drag
Racing

Racing
Car

 Troque Capacity : 50Kgf.m
 Pressure Plate : 1,000Kg
 Clutch Kit Wt(Kg) : 1Kg
 Application : Street, Racing

 



 Single Brake Dynamometer

 System  구성 및 사양
조정범위 1.0~16.9kgms2 Objective

관성용량 고정관성 1.0 kgms2 To evaluate the performance of

최대관성 16.9kgms2 the brake system in vehicles.

조정  PITCH 0.1kgms2

가속능력 6.5kgms2  시 30secs/2000rpm

최대 관성시 30secs/1000rpm

구동원 DC Moter 147kw

회전수 MAX. 2000rpm

최대정격 HYD, Pressure MAX.300 kgf/㎠

Torque MAX.400 kgm,600 kgm

Test items
ㆍPerformance and durability of the brake pads and lining

ㆍRotor performance and disc thickness variations

ㆍOperating durability of a Master cylinder, a wheel cylinder, a proportional value

ㆍPerformance of a parking brake system

ㆍBrake pereformance and durability test by using a corner module of a vehicle

 Disc Brake Dynamometer
Objective
To evaluate the over all 

performances of the caliper 

assembly parts in a automobile 

brake system.

Test items
ㆍDisc & Drum

ㆍDisc

ㆍDisc for parking

 System  구성 및 사양
Loadcell 수용량-50kgf, 500kgf, 20ton-f

측정 Sensor Linner Sensor Range 10mm, 50mm (Strain Gage Type)

사양 Dial Gage Range 0~10mm (Strain Gage Type)

Dial-Mano Meter Range 0~10kgf/㎠(Air)

Pressure Sensor 수용량 300kgf/㎠

Signal Conditioner for Strain Gage Analog Output DC 0~10V 비직선성 0.02%F.S

액압 전용 액압 발생 장치를 이용하여 액압발생

발생장치 액압 발생 0~200kgf/㎠(ITT PUMP UNIT)

System 수동 액압 발생 0~350kgf/㎠

압력 Sensor수용량 300kgf/㎠

 



 Residual Torque

Objective
To measure a residual torque of the caliper 

assembly parts after disassembling 

the brake system.

Test items
ㆍResidual torque

ㆍOver adjust pressure limit

 System  구성 및 사양
전용 액악 발생 장치를 이용하여 액압을 발생

액압 발생 : 0-200kgf/㎠

액압 발생 장치 수동 액압 발생 : 0~350kgf/㎠

액압 Sensor 수용량 : 300kgf/㎠

Torque 수용량 : 5.5kgf.m (Loadcell 수용량 : 1ton-force)

Residuel Torque 장치 Motor속력 : 50~500RPM 가변 (실차 50km/hr 상당, Inverter 채용)

Disc 취부면의 Caliper 취부면과의 편행도 : 0.05mm 이하

Vacuum 충전장치 Vacuum Pump 채용, 759mmHg 이상의 진공압으로 진공 충진 가능

온도 범위 : -40℃~300℃, (온도 회전 시간 : 10분)

Chamber 온도 제어장치 : Analog OutPut 기능 내장

Cooling System 및 Heater 내장, 탈부착형 구조

 Hardware In the Loop Simulation for advanced brake systems

Objective
To evaluate the performances of the  

new developed control systems

in vehicles.

Test items
ㆍBrake performance of an

   ABS and a TCS

ㆍPerformance of an EPS or an ECU

ㆍDeveloping and evaluating the control 

   algorithsm of various controllers 

   in a vehicle.

 System  구성 및 사양
Signal conditioning / Real load simulatio / Fault simulation unit

Processor board, 32-CH A/D, 4-CAN interface, HIL-IO(in PX20box)

RTI, ControlDESK, MLIB/MTRACE

브레이크 실리더 내부의 압력조정

Engine, Transmisson (MT/AT), FT/RR axle kinematics,

Tire model, Drive train

Full-size HILS simulator

standard software

Valve signal detection Unit 

VE-DYNA 

(Vehicle Dynamic modeller)

(or Hydraulic unit)

 



 Brake Noise Dynamometer

Test items
ㆍPad Temp.

ㆍVehicle Speed & acceleration

ㆍBrake Pressure & Torque

ㆍVibraion & Noise

 System  구성 및 사양
110kw / 1450~2400rpm

Radius 795.75mm Width 600mm

1000kg / 1Each Roller

Fixed 350kg, Max. 1000kg

Max. 180km/h

10 sec per 0~100km/h at 1250kg

 Anechoic Room

Test items
ㆍSound Pressure Level

ㆍPower Level

ㆍSound Intensity

ㆍAnalysis for Sound Propagation

 System  구성 및 사양
Cut-off Frequency 125Hz

Dimensions 6400W×10400L×3800H

Max. Weight

Inertia

Revolution

Acceleration

Main Motor

Wheel Radius

 



ITEM NO OEM NO CASTING NO ITEM NO OEM NO CASTING NO
1001/02 191615424A(RH) 1832-5/1831-5 1127/28 0204 Y01128/29 57

1003/04 853615424(RH) 2619/3, 2618/3 1129/30 20.7047.04/03, 20.7046.04 /03

1005/06 8A0615423 2625/4, 2624/4 1131/32 107 420 04 83(L), 107 420 05 83® 68 26P(I), 65 3P(O)

1005-1/06-1 1693/1692 1133/34 4182767(L)/4182768(R)

1007/08 8A0615423A 4061-3/4060-3 1135/36 8N0 615 423C(L) / 8N0 615 424C® 38

1009/10 2710/7, 2709/7 1137/38

1011/12 E7RY2552A(RH) 0659-4/0658-4 1139/40 89 5.8 (RL), 89 11 (RR)

1013/14 535615423 2729/5, 2728/5 1141/42 913.1

1015/16 E7RY2552A 0659/7, 0658/7 1143/44 308633163/155 5512/6 (L), 5513/6 (R)

1017/18 12205501 1145/46 10526.26003.01 / 10526.26004.01 155R(I), 113R(O)

1019/20 N/A 1147/48 98, 11

1021/22 281615107/108 1149/50 10541.22053.00(L), 10541.22052.00® G13

1023/24 2451-1, 2450/1 1151/52 1H0 615 123B(L), 1H0 615 124B® 4782/2(L), 4783/2(R)

1025/26 1153/54 32325188/1L, 32325187/1R

1027/28 1330416-7/417-5 38 1155/56 8E0 615 123(L), 8E0 615 124® 5842/2(L), 5843/2(R)

1029/30 1157/58 4566873(L) / 4566881®

1031/32 36 1159/60 657846-2(L), 657847-0® I-E64323816, O-64325793

1033/34 1387945-7(L) / 1387946-5® 40 1161/62 107 420 04 83(L), 107 420 05 83® 68 26P(I), 65 3P(O)

1035/36 1163/64 60(I), 31(O)

1037/38 57/25 BMW 1165/66 163 420 00 83(L), 163 420 01 83® 4904

1039/40 67321205/04 1167/68 98, 11

1041/42 99G, 2G 14 1169/70 737(L)  38, 738(R)  38 578012

1043/44 30 (99G, 2G 14) 1171/72 I: 973 (L), 974 ® 0:6008 716

1045/46 67321205/04 1173/74 SOB500050 / SOB500040 2895/B 2896/B  

1047/48 3516840-0/8 1511/4 R/L 1175/76 291615107 13

1049/50 281615107/08 1177/78 77363519/20 0204Y01611  38

1051/52 281615107 ATE 1179/80 I: 38  17G  /  O: 52G

1053/54 4A0615423 L-4060/5, R-4061/3 1181/82 I: 23 / O: 27

1055/56 25163179 82.38 1183/84 I: 124 VW / O: 82

1057/58 GIR/LUCAS 4432/3-R, 4433/2-L 1185/86

1059/60 LUCAS 32325075/76 1187/88

1061/62 BREMBO 20381200 1189/90 40/312

1063/64 LUCAS 5215/2-L, 5216/2-R 1191/92 42/12

1065/66 DBA 216093 1193/94 46/24

1067/68 14183011/12 1195/96 60/30/348

1069/70 DBA 330037/38 1197/98 No. 91

1071/72 DBA 330037/38 1199/1200 977, 42/20, BMW

1073/74 1201/02 949, 40/20

1075/76 308633163/155 5512/2-L, 5513/2-R 1203/04 950/949, 38



1077/78 ATE 26. 43 1205/06 44/22, 957

1079/80 ATE I-155R, O-113R 1207/08 85, 66

1081/82 ATE MO, DE 1209/10 65R, 136R/171R, 118R

1083/84 10541.22053.00(L) 1211/12 1493400(IN), 1494400(OUT)

1085/86 1213/14 1330418-3/1330419-1 40

1087/88 4400G9 66AFC 6 8273(L-65,R-66) 1215/16 046/047

1089/90 L-65, R-66 1217/18 313/1 314/1, 41

1091/92 65 AFC1 8027(0071) 1219/20 996/995, BMW

1093/94 32325187/1, 5188/1

1095/96 8E0 615 123(L), 8E0 615 124® 5843/42

1097/98 3843/2, 3844/2

1099/1100 3516840-0(L) / 3516841-0(R) 71, 72

1101/02 1551/2

1103/04 34/10 995, 34/10 996

1105/06 1330416-7/17-5 40

1107/08 5003813-2/14-0 38

1109/1110 3342828-5/27-7

1111/12 3516840-0(L) / 3516841-0(R) 71Volvo. 72volvi

1113/14 0026(I), 0029(O)

1115/16 1228345-3(L) / 1228346-1® 0026(I), 0029(O)

1117/18

1119/20 1J0 615 423(L) 607/7

1121/22 981 / 982

1123/24 281615107 / 281315108

1125/26 657846-2(L) E64323816(I), 64325793(O)

ITEM NO OEM NO CASTING NO ITEM NO OEM NO CASTING NO
2001/02 N/A 54-22 3A R/54-22 3B 2259/60 44011-05J00(L), 44001-05J00® AD20VC, 22-15 2038R

2003/04 LA1233980E FS12WE 2261/62 4401125500 2187/2-L, 2188/2-R

2005/06 25-14 2263/64 MR249220(L), MR249221® 32325198/5-R, 197/5-L

2007/08 43-18 2GO(4515) 2265/66 47750-17-140(L), 47730-17-140® 36T30, AISIN

2009/10 477302815084(RH) 2318R/L, AD60,25-14 2267/68 3,(L.G)T

2011/12 P12E R/L 2269/70 44011-0N600(L) , 44001-0N600® 51

2013/14 10CL15SN 2271/72 48350-51210(LH) 52

2015/16 51-18 2B/A 2273/74 NONE

2017/18 N/A 57-25 R/L 2275/76 17CL15VN

2019/20 41001N7190RE(H) N/A 2277/78 6005

2021/22 45210SA5671(RH) 2017 L/R 2279/80 4503

2023/24 45210SA6673(RH) 2028 L/R 2281/82 47730-60110(R) / 47750-60110(L) F14



2025/26 45210692671 TOKIKO L/R 2283/84 47730-04030(R), 47750-04030(L) F18Z

2027/28 45210SA5602 TOKIKO 2285/83 16 154R/L

2029/30 45210SH3A05 V L/R 2287/88 4400 G9(L) / 4400 H0® 66/65

2031/32 45210SB0674 Vll 2289/90 48/12.7 387

2033/34 4100126L91 2129 L/R 2291/92 32325291/5, 90/5

2035/36 4100103P90RE 28AB L/R 2293/94 870/869

2037/38 4773032041 54-22 L/R 2295/96 648/647

2039/40 4773032022 N/A 2297/98 3516840-0(L) / 3516841-0® 4829

2041/42 8943867020 51-22 NO. 2/1 2299/2300 T750 T 750

2043/44 477301217(RH) 17BR/17BL 2301/02 K241-022C

2045/46 4773012310 N/A 2303/04 44011-71J00(L), 44001-71J00® 1531/4, 1532/4

2047/48 UB3933980B 2132 L/R AD54-20 2305/06 134469C

2049/50 4773035010(RH) S12 + 8 2307/08 5003891AB 4203

2051/52 894124771 2208 L/R 2309/10 477

2053/54 41000D1711 2009 A/B 2311/12 47730-08030(F), 47750-08030(F) 63-28 AISIN

2055/56 45210SE0A11 2145 L/R  AD54 19-13 2313/14 44001-8J100R, 44011-8J100(L) 3513

2057/58 G04033980 2124 L/R AD54, 19-13 2315/16 7019. 9

2059/60 B10733980(RH) 15A-18Y 2317/18 296

2061/62 45210SH3A06 2042 L/R 2319/20 TOKICO, 41

2063/64 45210SM4A02 2224L/R, 2227L/R 2321/22 BC140053, GM/MANDO

2065/66 45210SH3G33 16C13VN L/R 2323/24 5019806AA/07AA 662393265

2067/68 4100188E00(RH) 19(68, 89) 2325/26 43

2069/70 45210SD4671(RH) 17CL14VN R/L 2327/28 145184,(54)

2071/72 4100160Y02(RH) B61/B60 2329/30 43210-SB0-982 1047/46

2073/74 30010282 TOKICO 2331/32 NBK R/L

2075/76 45210SM4A00 17CL14VN23T L/R 2333/34 18-15AD14V(R.L)1510

2077/78 30014541(RH) 89X6D 22A/T4 2335/36 1409(AD38-10)

2081/82 8944386851(RH) 2307 L /R AD60-22-14 2337/38 1717(AD18VE)

2083/84 GA2A3361X(RH) 5707L/08R 2339/40 47730-28150 2318L/R(AD60-25-14)

2085/86 LAY333982R FS12WD L/R 2341/42 47730-60070 60110 F14A

2087/88 41001N7190RE(RH) T1, T3 2343/44 22V

2089/90 4773016011 NO1/NO2 2345/46 PE54A

2091/92 4773016040 48-11 M/48-11N 2347/48 28V15(6020)

2093/94 4773032070(RH) 57-22 L/R 2349/50 63-28 9.10. AISIN

2095/96 4773026040 AISIN 2351/52 4C16(11CL 16/17)

2097/98 4773060021(RH) S12 + 8 2353/54 44011-2F500(L) / 44001-2F500® 1482/5, 1483/5

2099/100 4773028100 2317 2355/56 47730-35120R, 47750-35120(L) S13WM

2101/02 4773035050(RH) F18Q L/R 2357/58 Z33

2103/04 8943867020 F18H L/R 2359/60 MR510537(L), MR510538® FS13W

2105/06 4773035030 17S L/R 2361/62 4101137P01, 4100137P01 2H(I), 41D(O)



2107/08 4773035080(RH) S12W L/R 2363/64 45T(I), 32V(O)

2109/10 4773035090(RH) S13WB 2365/66 108 M18 10CL 15SN

2111/12 4773014200/20 2313 L/R 2367/68 K32 L 22/ K41 R 22

2113/14 4.77303E+11 2321 L/R 2369/70 5413

2115/16 4773022180 F18N L/R 2371/72 120753. 15

2117/18 4773020260(RH) 35-10 L/R 2373/74 5728

2119/20 41001P9190RE(RH) KL3# / KR3# 2375/76 5728

2121/22 44011P7290RE(LH) 12 2377/78 4501 A/B

2123/24 4400FS400(RH) 11 2379/80 38 2 L/R

2125/26 4100105A90(RH) PD212 L/R 2381/82 4101137P01 2H(I), 41D(O)

2127/28 41001W2291(RH) N/A 2383/84 3N L/R

2129/30 4100113E00(RH) N/A 2385/86 4306

2131/32 41000U9500(RH) N/A 2387/88 542614

2133/34 4773012030(RH) 1708A/B 2389/90 K 57-28 L, J 57-28 R

2135/36 D77Z2B120A(RH) AKEBONO L/R 2391/92 M080 L/R

2137/38 853233980B/610(RH 8532 L/R 2393/94 T545, R2

2139/40 4773012070(RH) N/A 2395/96 T545, L2

2141/42 4773020060(RH) N/A 2397/98 47840-87101-000(L), 47830-87101-000® NBK Y3 L, NBK Y4 R

2143/44 477301250(RH) 2008 2399/2400 44011-2F500(L) / 44001-2F500® 43L , 43R

2145/46 41000H6200(RH) N/A 2401/02 MB858392(L) / MB858393® T23 12 L/R

2147/48 41000M6600(RH) N/A 2403/04 4400131U10 51L , 51R

2149/50 4773014041(RH) N/A 2405/06 48350-51210(LH) 52L , 52R

2151/52 GA9933980(RH) 2123 L/R 2407/08 N067-26-71X(L) / N067-26-61Z® M160

2153/54 94230529(RH) 2108 L/R 2409/10 TOKICO R,L

2155/56 4773012210(RH) 51-13-5 NO. 2/1 2411/12 14CLT 17VN-28T

2157/58 45210SA3671(RH) 2016 B/A 2413/14 3514, 032 3506, 029

2159/60 45210SA0772(RH) N/A 2415/16 TD R+L, 19R, 19L

2161/62 B00133980A(RH) 16 CL/R 2417/18 43013-ST3-E50(L) 2243(L) 2244® 1777/5

2163/64 4773014140(RH) 2204 A/B 2419/20

2165/66 477301211(RH) PS15 L/R 2421/22 25V

2167/68 4773032040(RH) 2022 A/B 2423/24 43019SEPA00 wf 102

2169/70 4100106R00(RH) 2027 L/R 2425/26 4775007040 3882

2171/72 41001B9800/01(RH) N/A 2427/28 F12A L/R

2173/74 4400104S90(RH) N/A 2429/30 4775053010 45T  L/R

2175/76 41000W2400(RH) N/A 2431/32 51 K42 L/R           4Y4 TA  

2177/78 4101/1522 2433/34 43018S5AJ02 9CLP14S L/R

2179/80 2153 R/L AD54 24-14 2435/36 3510

2181/82 57-28, 3/57-28.4 2437/38 3836

2183/84 54-18 2A/2B/RL 2439/40 4311

2185/86 B37 R/B36 L 2441/42 4305



2187/88 2211 R/L 2443/44 13WH

2189/90 45018-SDB-A01 17CL15VN 53AT 2445/46

2191/92 17CL15VN 53AT 2447/48 17X 33K R / 17X K41 L

2193/94 8E0 615 123(L), 8E0 615 124® S12WE 2449/50 63-28, L/R, ADVICS

2195/96 48-18 1702 R/L 2451/52 63-25, L/R, ADVICS

2197/98 8563-64 57-28-1/2 2453/54 60-25, R1/L2, 11/12

2199/2200 17CL15VN R/L 2455/56 F13 R/L

2201/02 17CL 15VN 23T R/L 2457/58 398, DX9 L/R

2203/04 30010282(RH) T2-080N 2459/60 ADVICS 38 L/R

2205/06 45210SM4A00(RH) 17CL14VN 23T R/L 2461/62 FSX14B L/R

2207/08 45210SA5671(RH) 2017 R/L 2463/64 12V, R/L

2209/10 45210SA5602(RH) TOKICO 2465/66 A15CR13VN, L/R

2211/12 45210SH3A05(RH) V R/V L 2467/68 16CL14VNH

2213/14 45210692671(RH) TOKICO R/L 2469/70 6059

2215/16 45210SB0674(RH) V ll 2471/72 3822

2217/18 4101 R/L 2473/74 L31, T3

2219/20 4100103P90RE(RH) 28AB 28R/28L 2475/76 5470, A934X / A935X, L/R

2221/22 2329 R/L 2477/78 AD57T, 5702, L/R

2223/24 2479/80 AD57T, A918 / A919, L/R

2225/26 38-16V R/L 2481/82 45210SE0A11 (RH) 2145 R/L

2227/28 C13WA 2483/84 7CLP13S

2229/30 2403 2485/86 R/L, 1B, TOKICO

2231/32 2321R 2487/88 17CL15VN R/L

2233/34 43-18 2G R/2H L

2235/36 AISIN 1 R/L

2237/38 51-13.5C NO.1/D N0.2

2239/40 4773012210(RH)

2241/42 1106(AD30-10)

2243/44 NKB

2245/46 BK/T266/XA AD35P, 3509(05R,81L)

2247/48 AD30-9, 56, 1112R

2249/50 47840-87101-000(L) NBK/18/M 065

2251/42 44011-62C00(L), 44001-62C00® 42L, 42R

2253/54 44011-78N00(L) / 44001-78N00® 41L, 41R

2255/56 3502, 52

2257/58 44011-99B02(L), 44001-99B02(R) 1926/1, 1927/1



ITEM NO OEM NO CASTING NO ITEM NO OEM NO CASTING NO
3001/02 AISIN 16V 3491/92 K247-047C

3003/04 216 (R.L) 3493/94 K247-047C

3005/06 12658201 KH60 3495/96 131072

3007/08 5117L/5132R 3497/98 472T 17

3009/10 2047 A3499/3500 18043521(R) / 18043520(L) 796589A (K247 - 049C)

3011/12 129297 3501/02

3013/14 173 3503/04

3015/16 510 3505/06 (96800085/86) HSB 32

3017/18 1805384 547417686L/77&7R 3507/08 F57Z2B120A(RH) 4131R / 4131L

3019/20 3801WR/WL 3509/10

3021/22 18021251(RH) 621(L),622(R) 3511/12 5739

3023/24 18020447/8 3513/14 775

3025/26 58877 3515/16 938

3027/28 58877 3517/18 173(R),172(L) 5471173

3029/30 2212 R/L AD 57-22 3519/20 5019988AA 134731

3031/32 N/A 3521/22 4802

3033/34 7532/42 3523/24 134248

3035/36 N/A 3525/26 6647 T0833 5L84-2L231/1-A

3037/38 22V14 3527/28 846

3039/40 7791/92 3529/30 F8VZ-2B120-AA(RH) 6F93-2K328 42

3041/42 F75Z-2B121-BA 3727 3531/32 15812301

3043/44 F582-2552D 083 3533/34 16277401/1627701

3045/46 52007256(RH) 6608.9 3535/36 542096 5542465 93179158 878(L) 38, 879(R)  38

3047/48 F572-2553-AD 025 3537/38 D6TZ2B120A(RH) 697103808

3049/50 4886072AA KH8 6166 3539/40 E0TZ2B120C(RH) 697103872

3051/52 F752-2552-BA(RH) 799 3541/42 E4TZ2B120B(RH) 390

3053/54 MB277879(RH) P 15A L/R 3543/44 E9TZ2B120B(RH) 471

3055/56 725163181(RH) 2104 L/R 3545/46 E4HZ2B120A(RH) 22602

3057/58 E5RY2B120A(RH) 95/96, 37/38 3547/48 E4HZ2B120A(RH) 563

3059/60 94133674(RH) 16D L/R 3549/50 E87Z2B120A(RH) 12068401

3061/62 96053433(RH) AISIN L/R 3551/52 E7SZ2B120A(RH) 405L/06R

3063/64 25191GA610(RH) N/A 3553/54 4032968(RH) 9113, 97202

3065/66 MB238247(RH) 17K L/R 3555/56 F2UZ2B120A(RH) 12514901

3067/68 MB193500(RH) 2113 L/R 3557/58 15501012(RH) 4150844

3069/70 MB151022(RH) 2113-1 A/B 3559/60 F1TZ2B120DA(RH) 573

3071/72 MB699460(RH) FS15V L/R 3561/62 582024C91(RH) 4151733

3073/74 4773002020(RH) 51-18 3563/64 F5TZ2B120A(RH) 12795101

3075/76 2621708(RH) 5473499 L/R 3565/66 18005519(RH) 5473795

3077/78 5252985(RH) 12074201 3567/68 18005519(LH) 5473806

3079/80 4032824(RH) 4032 3569/70 2802 L/R

3081/82 3898114(RH) 2238451 L2238452-R 3571/72 2621208(RH) 5473806



3083/84 366384(RH) 2623686 L/R 3573/74 2621208(RH) 5473806

3085/86 E2TZ2B120A(RH) N/A 3575/76 2621208(RH) 5473807

3087/88 3880588(RH) 4126. 508/509 3577/78 2621208(RH) 5473807

3089/90 4313390(RH) 4037, 967L/66R 966R 3579/80 F51Z2B1201A 2802

3091/92 18004611(RH) H4G. 366/367 3581/82 E6HZ-2B120C 456

3093/94 D9ZZ2B120B(RH) N/A 3583/84 F65Z-2B221-BA 3727

3095/96 D0BZ2B120A(RH) N/A 3585/86

3097/98 18005244(RH) 510. B4F. 5473499 3587/88 2011BD-L, 2010BC-R

3099/100 18014745(RH) 648L/49R 3589/90 5018237AA 131072

3101/02 18015753(RH) 9341L/32R 3591/92 5003906AA/AB 134254

3103/04 18012309(RH) 18002328/29 3593/94 5011973AA 4835

3105/06 18015384(RH) 5474339&9R/38&8L 3595/96 4152828 4152828

3107/08 18015174(RH) 816/17 3597/98 F8VZ-2B120-AA(RH) 4696

3109/10 18014742(RH) 640L/41R 3599/3600 18025722/23

3111/12 18006613(RH) 7017 / 18 3601/02 3WIZ-2B121-AB 202220

3113/14 E0/E1AZ2B120A(RH) 837/38 3603/04 25011839C91 4153269.66

3115/16 E1FZ2B120A(RH) N/A 3605/06 KH13144701

3117/18 4126842(RH) 4126.642/643 3607/08 F81A2B120GG 5403

3119/20 18014748(RH) 633R/632L 3609/10 545530

3121/22 4238684(RH) 423/24 3611/12 545530

3123/24 4138710(RH) N/A 3613/14 545533

3125/26 E0TZ2B120A(RH) 8791R/8790L 3615/16 LUCAS

3127/28 E0TZ2B120A(RH) 8790L/91R 3617/18 LUCAS

3129/30 18008664(RH) 7216L/7217R 3619/20 LUCAS/GIR 4494/11 L-4493/6 R-4677-1

3131/32 18011668(RH) 931L/32R 3621/22 LUCAS L-4671-1, R-4677-1

3133/34 18003526(RH) 2238461L/62R 3623/24 LUCAS 7174 L-4548-5. R-4549-5

3135/36 18013452(RH) 9670/71 3625/26 LUCAS R-32324516/6

3137/38 8133846(RH) 103707-01/02 3627/28 LUCAS 4531/9 L-4531/3 R-4532/3

3139/40 4238676(RH) 105396-02/01 3629/30 47840-87101-000(L) NBK

3141/42 4383468(RH) 109858 3631/32 BREMBO 5336.5337

3143/44 18008116(RH) 180035323L/R 3633/34 I-3247 638C/637C O-3247 653C/654C

3145/46 E4Z2B120A(RH) 106226-2/1 3635/36 BOSCH 796876.77

3147/48 E3ZZ2B120A(RH) N/A 3637/38 88982662 88982663 I-595B, O-597B

3149/50 E3SZ2B120A(RH) 227.9/8.9 3639/40 5018570AA/71AA 13544401.51

3151/52 4313960(RH) 106210 02/01 3641/42 I-560869(R)/56087(L) O-EE71308

3153/54 4313244(RH) 105982 02/01 3643/44 I-74494(R)/74495(L)

3155/56 4383922(RH) 12205701 3645/46 246C6/145C6

3157/58 4383058(RH) 19.9/20.9 3647/48 157693 T60

3159/60 E3TZ2B120C(RH) 1322R/L 3649/50 4813

3161/62 D0BZ2B120A(RH) L017,L024,L05 3651/52 BC24-2K327/8-B

3163/64 E9DZ2B120A(RH) 8817/18 3653/54 262569

3165/66 E9SZ2B120A(RH) 0898/99 3655/56 2J2416-C

3167/68 18012691(RH) 182/83 3657/58 BC3Z2B120A. BC3Z2B121A 144296



3169/70 4383508(RH) 13.9/14.9 3659/60 I-91514, O-91521

3171/72 E7TZ2B120A(RH) 8078 3661/62 796876/796877

3173/74 52007056(RH) 6608.9 3663/64 796876/796877

3175/76 18008319(RH) 636L/37R 3665/66 4153222. 73

3177/78 18021252(RH) 201/02 3667/68 25011839C91 4153269. 66

3179/80 18018316(RH) 43 R/L.735L/734R 3669/70 D6TZ2B120A(RH) 697103808

3181/82 18014745(RH) 515L/16R 3671/72 E0TZ2B120C(RH) 697103872

3183/84 E1AZ2B120A(RH) 059L/60R 3673/74 E4TZ2B120B(RH) 390

3185/86 4423716(RH) 12391901-15 3675/76 E9TZ2B120B(RH) 471

3187/88 5273006(RH) 12224901 3677/78 E4HZ2B120A(RH) 22602

3189/90 4423466(RH) 12205501-14 3679/80 E4HZ2B120A(RH) 563

3191/92 18007118/9(RH) 117&7L/118&8R 3681/82 E87Z2B120A(RH) 12068401

3193/94 F3LY2B120A(RH) 5178, 5187, 5189 3683/84 E7SZ2B120A(RH) 405L/06R

3195/96 F28Z2B120D(RH) 5170/71 3685/86 4032968(RH) 9113, 97202

3197/98 4728114(RH) 12580501L/R 3687/88 F2UZ2B120A(RH) 12514901

3199/200 18014748(RH) 418L/19R, 095/094 3689/90 15501012(RH) 4150844

3201/02 F4TZ2B120B(RH) 3457L/58R 3691/92 F1TZ2B120DA(RH) 573

3203/04 F5RZ2B120A(RH) 889/90 3693/94 582024C91(RH) 4151733

3205/06 410010B000(RH) 1164/65 3695/96 F5TZ2B120A(RH) 12795101

3207/08 F5AZ2B120A(RH) 2828L/29R 3697/98 18005519(RH) 5473795

3209/10 F3SZ2B120A(RH) 1841L/42R 3699/3700 2621208(RH) 5473806

3211/12 4762548(RH) 12576904/03 3701/02 F57Z2B120A(RH) 2802 L/R

3213/14 F1CZ2B120A(RH) 22V13WL/R.16 3703/04 E6HZ-2B120C 456

3215/16 1821163(RH) 18020447L/8R 3705/06 F65Z-2B221-BA 3727

3217/18 18017232(RH) 636L/37R 3707/08

3219/20 18004802(RH) 21601499 3709/10 DBA 2011BD-LH/2010BCRH

3221/22 18005300(RH) 423/24 3711/12 5018237AA 131072

3223/24 18005277(RH) 514L/15R 3713/14 5003906AA/AB 134254

3225/26 18008848(RH) 020/21 3715/16 4835

3227/28 18014442(RH) 426 3617/18 4152828 4152828

3229/30 3494139(RH) 698L/699R 3619/20 F8VZ-2B120-AA(RH) 4696

3231/32 18012691(RH) 752CFD 3621/22 18025722/23

3233/34 3487818(RH) 808R/802L 3623/24 3WIZ-2B121-AB R 202220

3235/36 Y1VY2552(RH) N/A 3625/26 25011839C91 4153269, 66

3237/38 D6SZ2552A(RH) N/A 3627/28 KH13144701

3239/40 D6DZ2552A(RH) N/A 3629/30 F81A2B120GG 5403

3241/42 E4LY2552A(RH) 107786 3631/32 5455530

3243/44 F1VY2552A(RH) 4806 3633/34 5455530

3245/46 71312 3635/36 5455533

3247/48 71312 3637/38 LUCAS, OPEL

3249/50 2332/2333 3639/40 LUCAS 4399/5 14(29)-L, 4400/5-R

3251/52 5410. 68-009 3641/42 LUCAS,/GIR 4494/11(L-4493/6,R-4494/6)

3253/54 5106 3643/44 LUCAS 4671-1/4677-1



3255/56 3 T1 3645/46 LUCAS 7174(L-4548-5, R-4549-5)

3257/58 262482 R/L 3647/48 LUCAS 4516/9(L-32324515/5)

3259/60 5110 6L-24-2B120 3649/50 LUCAS 4531/9(L-4531/3,R-4532/3)

3261/62 262862 3651/52 47840-87101-000(L), 47830-87101-000® NBK

3263/64 56977 3653/54 BREMBO 5536/37

3265/66 2182R/L, 2184R/L 3655/56 O-3247 653C654C I-3247 638C/637

   3267/68 123248 01 CY/012328 3657/58 BOSCH 796876/77

3269/70 3843/2, 3844/2 3659/60 88982662, 88982663 595B(I), 597B(O)

3271/72 18015384 18007153/52 3661/62 (i)56086(R)/56087(L) (o)EE71308

3273/74 8A0615423 3209341 3663/64 5018570AA/71AA 13544401, 51

3275/76 2235094 3665/66 3843/2, 3844/2

3277/78 351R/350L 3667/68 246C6  /  245C6

3279/80 356R/355L 3669/70 8A0615423 157693 T60

3281/82 5472434(R,33L) 5470677R/L, 5473510R/L 3671/72 4813 R/L

3283/84 11-15 AD 38P 3801 3673/74 R/L (8C24-2K327/8-B)

3285/86 18008848(RH) 021R/020L 3675/76 262569

3287/88 18012309(RH) 18002329 9R/8L 3677/78 2J2416-C

3289/3290 18008664(RH) 7217R/16L 3679/80 8C3Z2B120A, 8C3Z2B121A 144296

3291/92 18020448 R8/L7 3681/82 (i)91514 (o)91521

3293/94 18014442(RH) 426 3683/84 796876(L), 796877(R)

3295/96 2857/2856 3685/86 796876(L), 796877(R)

3297/98 4886072AA 8 6166 KH 3687/88 4153222,  73

3299/3300 2323 R/L 3689/90 25011839C91 4153269,  66

3301/02 4238676(RH) 1053 96-01/02 3691/92 F1TZ2B120DA(TH) 573

3303/04 4886072AA 66089 3693/94 582024C91(RH) 4151733

3305/06 7001.9 3695/96 F2TZ2B120A (RH) 12795101

3307/08 3898114 (RH) 2238353R/52L 3697/98 18005519(RH) 5473795

3309/10 3699/3700 5473795

3311/12 E0E1AZ2B120A(RH) 838/837 3701/02 18005519 5473796

3313/14 22V-13 15 CR 3703/04 2621208(RH) 5473806

3315/16 F6AZ2552A 631 3705/06 2621208(RH) 5473806

3317/18 E7SZ2B120A(RH) 406/405 3707/08 2621208(RH) 5473807

3319/20 E9SZ2B120A(RH) 8818/17 (steelp) 3709/10 2621208(RH) 5473807

3321/22 8791R/90L 3711/12 F51Z2B120A(RH) 2802 R/L

3323/24 129297 3713/14 E6HZ-2B120C 456

3325/26 F75Z-2552-BA(RH) 799 3715/16 F65Z-2B221-BA 3727

3327/28 F582-2552D 083, 5171-5, 51715 3717/18

3329/30 7504 3719/20 2011BD - L / 2010BC - R

3331/32 18011668(RH) 932R/931L 3721/22 5018237AA 131072

3333/34 F18N R/L 3723/24 5003906AA/AB 134254

3335/36 67312(052/4)RH 3725/26 5011973AA 4835

3337/38 ATE 3727/28 4152828 4152828

3339/40 16. 154 3729/30 F8VZ-2B120-AA(RH) 4696



   3341/42 18021886 3731/32 18025722/23

3343/44 095/096 3733/34 3WIZ-2B121-AB® 202220

3345/46 18023250 3735/36 25011839C91 4153269.66

3347/48 18040100/101 18025700/01 3737/38 KH13144701

3349/50 18040087 K244-079C 3739/40

3351/52 18025476 18024225 3741/42 545530

3353/54 15. 456 3743/44 545530

3355/56 6006 3745/46 545533

3357/58 11-15 AD38(3811) 3747/48

3359/60 8135 3749/50 LUCAS 4399/5 14(29) - L / 4400/5 - R

3361/62 XF2Z2B121SA 5296/5295 3751/52 LUCAS/GIR 4494/11 L-4493/6 R-4494/6

3363/64 22 3753/54 LUCAS L-4671-1 / R-4677-1

3365/66 742 3755/56 LUCAS 7174 (L-4548-5) ( R-4549-5) 

3367/68 3757/58 LUCAS 4516/9 R-32324516/5 L-32324515/5 

3369/70 2047 3759/60 LUCAS 4531/9 L-4531/3 R-4532/3

3371/72 547173/72 3761/62 47840-87101-000(L), 47830-87101-000® NBK

3373/74 0173 17CL-C 3763/64 BREMBO 5336, 5337

3375/76 2937722(I), 2 C SM(O) 3765/66 I - 3247 638C/637C  O - 3247 653C/654C

3377/78 18014426/27 224R 2621 224/ 223L 3767/68 BOSCH 796876, 77

3379/80 135418 135418 3769/70 88982662, 88982663 in: 595B, out: 597B

3381/82 3771/72 5018570AA/71AA 13544401, 51

3383/84 S12WN 3773/74 in : 56086(R)/56087(L) out : EE71308

3385/86 3775/76 in : 74494(R)/74495(L)  out : EE71308

3387/88 4696 3777/78 246C6  /  245C6

3389/90 4835 3779/80 157693 T60

3391/92 18025701 L07 3781/82 4813 R/L

3393/94 18024109(R / 08L) 18025722 L04 3783/84 R/L (8C24-2K327/8-B)

3395/96 132705 (132795) 3785/86 262569

3397/98 13544402(45) 3787/88 2J2416-C

3399/3400 1L2Z2B120AA/21AA 134247 3789/90 8C3Z2B120A, 8C3Z2B121A 144296

3401/02 12497784(RH) K247-061C 3791/92 in : 91514 / out : 91521

3403/04 5453 5453 3793/94 796876(L), 796877(R)

3405/06 5134582AA / 83AA 143477(54) 3795/96 796876(L), 796877(R)

3407/08 45018-SHJ-A01 13CLT 3797/98 4153222,  73

3409/10 F81 A2K327DE 4507 3799/3800 25011839C91 4153269,  66

3411/12 1L2Z2B121AC 5456 3801/02 F6AZ2552BA 668

3413/14 130307 3803/04 18004802 2621223 / 223L 

3415/16 F75Z2B121BA 6182 3805/06 60450480/81 in: 602C, out: 603C

3417/18 XC2Z2553AD 132795 3807/08 in: 581F, out: 583F

3419/20 5137 670AA/671AA K247-185C 3809/10 499 R/L

3421/22 18043521(RH) K247-049C 3811/12 in : 5455530 out : 5455533

3423/24 41001-10G01(R) / 41011-10G01(L) 81G, 81F 3813/14 18025476 18024225

3425/26 262232 3815/16 88964133/4,15190983 4103



3427/28 2424 3817/18 K246-059C

3429/30 5018990AA, 5072551AA 6051.9 3819/20 K242-049C

3431/32 5018570AA/71AA 1354401, 51 3821/22 K244-093C

3433/34 18046219(L), 18046220® 18025830(R)/29(L) 3823/24 L/R

3435/36 14900801 3825/26 831-5/830-4, A-50

3437/38 2B302/294, R/L 3827/28 6661 14 6012, TO833, 7L84-2011-A

3439/40 4238710(RH) 3829/30 145868, 54, GD10

3441/42 K244-075C 3831/32 4Z00, ST5L

3443/44 1 144 076(R), 1 144 079(L) Y01134(L),Y01135® 3833/34 K242 051C

3445/46 1 144 076® Y01134(L),Y01135® 3835/36 159538

3447/48 4261444, 4611693 3837/38 7018.8

3449/50 F2UZ2B120A(RH) 12514901 3839/40 888/887

3451/52 D6AZ2552(RH) 3841/42 14599301, 45

3453/54 135398 3843/44 No. 979

3455/56 18023839 3845/46 18044096

3457/58 4200 3847/48 68-003, 4530

3459/60 18025189(RH) 18024886 or K246-037C 3849/50 E4527

3461/62 56086(R)/56087(L) 3851/52 K247-293C 5

3463/64 74494(R)/74495(L) 3853/54 Y04133/Y04134, BOSCH

3465/66 2113-1 A/B 3855/56 15883001, 60

3467/68 144150, 48 3857/58 180224225

3469/70 154518, 60 3859/60 13WO

3471/72 144133, 54

3473/74 302694

3475/76 6058 R / 6057 L

3477/78 IN:5456008 OUT:5455946

3479/80 IN:5456008 OUT:5455946

3481/82 7710 200 588(L) / 7701 200 595® 431251 (L), 431252 (R)

3483/84 338481(L), 338482(R)

3485/86 60(I), 55(O)

3487/88 60(I), 31(O)

3489/90 L06, 8 / L01, 7

ITEM NO OEM NO CASTING NO ITEM NO OEM NO CASTING NO
4001/02 5819033A00(RH) 0287L/88R 6001/02 JC-001

4003/04 BC 141003 R/L 6003/04 JC-002

4005/06 BC 14004 R/L 6005/06 JC-003

4007/08 KK15033980D CO514A R/L 6007/08 JC-004

4009/10 18BC R/L 6009/10 3W1Z2553AA 20.7679.00

4011/12 18V R/L 6011/12

4013/14 738 R/L 6013/14 SEM 1051/52



4015/16 BC141011-R/140011-L 6015/16 JC-006

4017/18 583102DA00 BC141018-R/140018-L 6017/18 JC-007

4019/20 OK2N3 49980(RH) 8A HH R/L 6019/20 JC-008

4021/22 1035/34 6021/22 JC-009

4023/24 DAC 48 L/R 6023/24 20.9733.01

4025/26 DAC R,L NY 6025/26 JC-010

4027/28 96264948 54 DAC R/L 6027/28 20. 7907.03

4029/30 96273701(RH) DAC 48 20R/L 6029/30 JC-011

4031/32 5818128B00(RH) OBC 0399 L 22 6031/32 JC-012

4033/34 51FR-A0011, 51FL-A0011 6033/34 JC-013

4035/36 581901GA00. 581801GA00 CNV 6035/36 JC-014

4037/38 58130-4D500. 58100-4D500 BC140110 6037/38 JC-015

4039/40 581901GA00, 581801GA00 CNV 9LO 6039/40 JC-016

4041/42 -88982726 13560766 6041/42 JC-017

4043/44 6043/44 JC-018

4045/46 SEM 1051/52 6045/46

4047/48 581104(E000 H3, kasco

4049/50 1 581104E000 / 582104F000 H3/H4

4051/52 BC140077

4053/54 136743

4055/56 89040518 145513

4057/58 BC141182 R / BC140182 L

4059/60 CTK 6

4061/62 94566890 / 94566891 T2 52/20 R/L

4063/64 581802HA05 BC 140088  25

4065/66 581802SA50 3R 60 LML/R, YFR/L

4067/68 17 FS17B





















I - 3247 638C/637C  O - 3247 653C/654C


	4  Component Parts.pdf
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48


